Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Maureen Honish	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	96.50	\$40.53	10-28-23-21-0043
284 Albert St S	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOTS 4 AND	Alley Sweeping	0.13	69.00	\$8.97	
St Paul MN 55105-2459	LOT 5 BLK 4	Citywide Street Lighting	0.66	96.50	\$63.69	
*284 ALBERT ST S				_	\$113.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	agus out.		\$113.19	
		This Paym			\$0.00	
		•	ent. ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$113.19	
Saloua Thompson	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential Stree	0.42	55.00	\$23.10	10-28-23-21-0095
334 Albert St S	COUNTY, MINNESOTA N 40 FT OF	Citywide Street Lighting	0.66	55.00	\$36.30	
St Paul MN 55105-2401	LOTS 4 AND LOT 5 BLK 8			_	\$59.40	
*334 ALBERT ST S		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$59.40	
3		This Paym	ent:		\$0.00	
		-	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$59.40	
Donald E Grimaluskus	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	84.00	\$35.28	10-28-23-21-0094
338 Albert St S	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA EX N 40 FT	Alley Sweeping	0.13	70.00	\$9.10	
St Paul MN 55105-2401	LOTS 4 AND LOT 5 BLK 8	Citywide Street Lighting	0.66	84.00	\$55.44	
*338 ALBERT ST S				_	\$99.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$99.82	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$99.82	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Claire Kennedy	SUBDIVISION OF BLOCK 2,	Street Sweeping - Residential Stre		63.00	\$26.46	10-28-23-44-0046
Bruce Kennedy	LEXINGTON PARK PLAT 5 LOT 7 BLK 2	Citywide Street Lighting	0.66	63.00	\$41.58	
1210 Bayard Ave				_	\$68.04	
St Paul MN 55116-1650		*** Owner and Taxpayer ***				
*1210 BAYARD AVE						
*Ward: 3			sessment:		\$68.04	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$68.04	
		-				
Michael H Makredes	LEXINGTON PARK PLAT 3 LOT 7	Street Sweeping - Residential Stre		50.00	\$21.00	10-28-23-44-0034
Margery G Makredes	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
1215 Bayard Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1637				_	\$60.50	
*1215 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	.mount:		\$60.50	
	SUBDIVISION OF BLOCK 2,	Street Sweeping - Residential Stre		99.50		10-28-23-44-0047
Kristine Somerville	LEXINGTON PARK PLAT 5 LOT 8	Citywide Street Lighting	0.66	99.50	\$65.67	10 20 20 11 0017
1216 Bayard Ave	BLK 2			_	\$107.46	
St Paul MN 55116-1650		*** Owner and Taxpayer ***			Ψ10,1.10	
*1216 BAYARD AVE						
*Ward: 3		Total As	sessment:		\$107.46	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current \	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	mount:		\$107.46	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian Murphy Trustee	LEXINGTON PARK PLAT 3 LOT 8	Street Sweeping - Residential Stre	ee 0.42	87.50	\$36.75	10-28-23-44-0035
1219 Bayard Ave	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-1637		Citywide Street Lighting	0.66	87.50	\$57.75	
*1219 BAYARD AVE				_	\$101.00	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					*****	
			sessment:		\$101.00	
		This Pay			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$101.00	
		Tayon A	amount.		\$101.00	
	DANIELS SUB. NO. 2 S 45 FT OF LOTS	Street Sweeping - Residential Stre	ee	92.50		10-28-23-43-0011
1221 Bayard Ave	12 13 AND LOT 14	Citywide Street Lighting	0.66	92.50	\$61.05	10-20-23-43-0011
St Paul MN 55116-1639				_	\$99.90	
*1221 BAYARD AVE		*** Owner and Taxpayer ***			ψ>>.>0	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	sessment:		\$99.90	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$99.90	
	EINAR T. SCHULSTAD SUBD. LOT 3	Street Sweeping - Residential Stre	<u> </u>			10-28-23-43-0056
Karen Auran		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-43-0030
1228 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1638				_	\$48.40	
*1228 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	sessment:	_	\$48.40	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
		•				

11:18:56 11/5/2019	Public Improvement Assessment F	Page				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carrie Ball	EINAR T. SCHULSTAD SUBD. LOT 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0057
Jeff Ball		Alley Sweeping	0.13	40.00	\$5.20	
1232 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1638				=	\$48.40	
*1232 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
1 chang as of. 6/21/2017		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Karen L Scheinmann	DANIELS SUB. NO. 2 LOTS 8 AND LOT	Street Sweeping - Residential Stree	0.42	80.00	\$33.60	10-28-23-43-0008
William K Ryan	9	Alley Sweeping	0.13	80.00	\$10.40	
1243 Bayard Ave		Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55116-1639				_	\$96.80	
*1243 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$96.80	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$96.80	
Barbara J Wasmund	EINAR T. SCHULSTAD SUBD. LOT 7	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0060
1246 Bayard Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55116-1638		City wide Succi Lighting	0.00	40.00		
*1246 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer ***				
		Total Asse	ssment:	=	\$48.40	
		This Paym	ent:		\$0.00	

Current Year Principal:

Current Year Interest:

Payoff Amount:

\$0.00

\$0.00

\$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Property Buyers R Us Llc	EINAR T. SCHULSTAD SUBD. LOT 8	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-43-0061
16153 Northwood Rd Nw		Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0001
Prior Lake MN 55372-1674		Citywide Street Lighting	0.66	40.00	\$26.40	
*1250 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Erin Buie	LEXINGTON PARK PLAT 2 LOT 18 BLK 3	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	50.00 50.00	\$21.00 \$6.50	10-28-23-43-0025
1253 Bayard Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1639		City wide Street Dighting	0.00	=		
*1253 BAYARD AVE		*** Owner and Taxpayer ***			\$60.50	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 6/21/2017		Total Ass	essment:	=	\$60.50	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$60.50	
Pablo M Luchsinger	LEXINGTON PARK PLAT 2 LOT 16	Street Sweeping - Residential Street		50.00	\$21.00	10-28-23-43-0023
Marina A Morero	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
1263 Bayard Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-5215					\$60.50	
*1263 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$60.50	
-		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$60.50	

Owner or Taxpayer Jeremiah Schuster Lani Schuster 1267 Bayard Ave St Paul MN 55116-1639 *1267 BAYARD AVE

*Pending as of: 8/21/2019

r	Roll by Address (Fee to Asmt) Project Ratification Date: Resolution			Ianager: LM	
Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
LEXINGTON PARK PLAT 2 LOT 15	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-43-002
BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
	Citywide Street Lighting	0.66	50.00	\$33.00	
			_	\$60.50	
	*** Owner and Taxpayer ***				
	Total Asses	ssment:	-	\$60.50	
	This Payme	ent:		\$0.00	
	Current Ye	ar Principal:		\$0.00	
	Current Ye	ar Interest:		\$0.00	
	Payoff Am	ount:		\$60.50	
EINAR T. SCHULSTAD SUBD. LOT 14	Street Sweening Decidential Sween				
LIVAR 1. SCHOLSTAD SUBD. LOT 14	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	*	10-28-23-43-006
	Alley Sweeping	0.13	40.00	\$5.20	

St Paul MN 55116-1638
*1272 BAYARD AVE

Francis X Garcia Zaavedra 1272 Bayard Ave

*Ward: 3

*Ward: 3

*Pending as of: 8/21/2019

*** Owner and Taxpayer ***

Total Assessment:	\$48.40
This Payment:	\$0.00
Current Year Principal:	\$0.00
Current Year Interest:	\$0.00
Payoff Amount:	\$48.40

Matthew C Troyer 1273 Bayard Ave	LEXINGTON PARK PLAT 2 EX W 40 FT LOT 13 AND ALL OF LOT 14 BLK	Street Sweeping - Residential Stree	0.42 0.13	63.00 63.00	\$26.46 \$8.19	10-28-23-43-0021
St Paul MN 55116-1639	3	Citywide Street Lighting	0.66	63.00	\$41.58	
*1273 BAYARD AVE					\$76.23	
*Ward: 3		*** Owner and Taxpayer ***				

*Pending as of: 8/21/2019

Total Assessment: \$76.23 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount: \$76.23

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Jessica A Deegan	EDWARD L. MCADAM ADDITION E	Street Sweeping - Residential Street	0.42	82.50	\$34.65	10-28-23-43-0039		
Gregory J Deegan	40 FT OF LOTS 1 2 AND LOT 3 BLK 3	Alley Sweeping	0.13	40.00	\$5.20			
1281 Bayard Ave		Citywide Street Lighting	0.66	82.50	\$54.45			
St Paul MN 55116-1641				-	\$94.30			
*1281 BAYARD AVE		*** Owner and Taxpayer ***						
*Ward: 3		T 1 A		=	#04.20			
*Pending as of: 8/21/2019		Total Ass			\$94.30			
		This Pays	nent:		\$0.00 \$0.00			
			ear Principal: 'ear Interest:		\$0.00			
		Payoff A			\$94.30			
		1 ayon A	mount.		φ/ 1.3 0			
Thomas L Anderson	EDWARD L. MCADAM ADDITION W	Street Sweeping - Residential Street	0.42	40.00		10-28-23-43-0040		
Michelle F Anderson	40 FT OF E 80 FT OF LOTS 1 2 AND	Alley Sweeping	0.13	40.00	\$5.20			
1285 Bayard Ave	LOT 3 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40			
St Paul MN 55116-1641				_	\$48.40			
*1285 BAYARD AVE		*** Owner and Taxpayer ***						
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40			
-		This Payr	ment:		\$0.00			
		Current Y	ear Principal:		\$0.00			
		Current Year Interest:		\$0.00				
		Payoff A	mount:		\$48.40			
Kevin Obrien	EDWARD L. MCADAM ADDITION LOT 4 BLK 3	Street Sweeping - Residential Street Alley Sweeping	0.42	40.00 40.00	\$16.80 \$5.20	10-28-23-43-0042		
Mollie Obrien		Citywide Street Lighting	0.66	40.00	\$26.40			
1293 Bayard Ave		City wide Street Eighting	0.00	=				
St Paul MN 55116-1641 *1293 BAYARD AVE		*** Owner and Taxpayer ***			\$48.40			
*Ward: 3				_				
*Pending as of: 8/21/2019		Total Ass			\$48.40			
		This Payr			\$0.00			
			ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff A	mount:		\$48.40			

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John P Stein	HACKETT'S SUBDIVISION OF BLOCK	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-43-0085
Eve G Stein	4, LEXINGTON PARK PLAT 5,	Alley Sweeping	0.13	40.00	\$5.20	
1302 Bayard Ave	RAMSEY CO., MINN LOT 6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1640				_	\$48.40	
*1302 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
						· — — — — — —
Thomas J Machtemes	EDWARD L. MCADAM ADDITION LOT 8 BLK 3	Street Sweeping - Residential Str Alley Sweeping	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-43-0046
Bonnie L Machtemes		Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
1311 Bayard Ave		City wide Street Lighting	0.00	+0.00 =	•	
St Paul MN 55116-1641		*** Owner and Taxpayer ***			\$48.40	
*1311 BAYARD AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	=	\$48.40	
Fending as 01. 6/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
Mathew P Johnson	HACKETT'S SUBDIVISION OF BLOCK	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-43-0088
Meredith E Leary Johnson	4, LEXINGTON PARK PLAT 5, RAMSEY CO., MINN LOT 9	Alley Sweeping	0.13	40.00	\$5.20	
1314 Bayard Ave	iamos eo, imilitar y	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1640				_	\$48.40	
*1314 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
John C Cisney	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-43-0047
1315 Bayard Ave	LOT 9 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1641		Citywide Street Lighting	0.66	40.00	\$26.40	
*1315 BAYARD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass	essment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Peter Benolken	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-43-0048
Jennifer Benolken	LOT 10 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
694 2nd Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
Mendota Heights MN 55118-2810				_	\$48.40	
*1319 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=======================================		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			- — -			
Josilyn Meyer	EDWARD L. MCADAM ADDITION LOT 12 BLK 3	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-43-0050
Nicholas Johnson	EOT IZ BEK 3	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1327 Bayard Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-1641		****			\$48.40	
*1327 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 4		=	040.40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A				
		rayon A	mount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John Cole	HACKETT'S SUBDIVISION OF BLOCK	Street Sweeping - Residential Str	eε 0.42	40.00	\$16.80	10-28-23-43-0093
Alexandra Cole	4, LEXINGTON PARK PLAT 5, RAMSEY CO., MINN LOT 14	Alley Sweeping	0.13	40.00	\$5.20	
1332 Bayard Ave	RAMSET CO., MINN LOT 14	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1640				=	\$48.40	
*1332 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
1 cliding as 01. 6/21/2017		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
1338 Bayard Llc	HACKETT'S SUBDIVISION OF BLOCK	Street Sweeping - Commercial/A		125.00	\$127.50	10-28-23-43-0094
1338 Bayard Ave	4, LEXINGTON PARK PLAT 5, RAMSEY CO., MINN LOT 15	Street Sweeping - Residential Str		40.00	\$16.80	
St Paul MN 55116-1640	RAWSET CO., WINN EOT 15	Alley Sweeping	0.13	40.00	\$5.20	
*1338 BAYARD AVE		Citywide Street Lighting	0.66	165.00	\$108.90	
*Ward: 3				_	\$258.40	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total As	Total Assessment:			
		This Pay	This Payment: Current Year Principal: Current Year Interest:			
		Current				
		Current				
		Payoff A	Amount:	\$258.40		
Daniel Smith	SATTLER'S ADDITION LOTS 1 AND	Street Sweeping - Commercial/A		42.00	\$42.84	10-28-23-34-0027
Tracie Smith	LOT 2 BLK 4	Street Sweeping - Residential Str		62.50	\$26.25	
1346 Bayard Ave		Alley Sweeping	0.13	84.00	\$10.92	
St Paul MN 55116-1642		Citywide Street Lighting	0.66	104.50	\$68.97	
*1346 BAYARD AVE *Ward: 3		*** Owner and Taxpayer ***			\$148.98	
*Pending as of: 8/21/2019						
			ssessment:		\$148.98	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$148.98	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Jeffrey K Christensen	SATTLER'S ADDITION E 1/2 OF LOT 26	Street Sweeping - Residential Stre	0.42	50.00	\$21.00	10-28-23-34-0025		
Karen B Christensen	AND W 30 FT OF LOT 27 BLK 1	Alley Sweeping	0.13	50.00	\$6.50			
1361 Bayard Ave		Citywide Street Lighting	0.66	50.00	\$33.00			
St Paul MN 55116-1643					\$60.50			
*1361 BAYARD AVE		*** Owner and Taxpayer ***						
*Ward: 3 *Pending as of: 8/21/2019		Total As	essment:	=	\$60.50			
Fending as 01. 6/21/2019		This Pay			\$0.00			
		-	ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff A	mount:		\$60.50			
	SATTLER'S ADDITION W 1/2 OF LOT 8	Street Sweeping - Residential Stre		60.00		10-28-23-34-0033		
Mary Jane Thie	AND ALL OF LOT 9 BLK 4	Alley Sweeping	0.13	60.00	\$7.80	10 20 20 01 0000		
1362 Bayard Ave		Citywide Street Lighting	0.66	60.00	\$39.60			
St Paul MN 55116-1642				=	\$72.60			
*1362 BAYARD AVE		*** Owner and Taxpayer ***						
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	sessment:	=	\$72.60			
-		This Payment: Current Year Principal: Current Year Interest:		\$0.00				
				\$0.00				
				\$0.00				
		Payoff A	mount:		\$72.60			
Michael T Heller	SATTLER'S ADDITION E 6 FT OF LOT	Street Sweeping - Residential Stre		46.00	\$19.32	10-28-23-34-0034		
1368 Bayard Ave	11 AND ALL OF LOT 10 BLK 4	Alley Sweeping	0.13	46.00	\$5.98			
St Paul MN 55116-1642		Citywide Street Lighting	0.66	46.00	\$30.36			
*1368 BAYARD AVE		444 C 177 444		_	\$55.66			
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***						
1011amg as 617 (721/2017)		Total Ass	essment:	-	\$55.66			
		This Pay			\$0.00			
			ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff A	mount:		\$55.66			

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Justin Uran	SATTLER'S ADDITION E 1/2 OF LOT 22	Street Sweeping - Residential Stre	<u> </u>	60.00	\$25.20	10-28-23-34-0022
Mary Uran	AND ALL OF LOT 23 BLK 1	Alley Sweeping	0.13	60.00	\$7.80	
1379 Bayard Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1643				_	\$72.60	
*1379 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$72.60	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.60	
Mark J Oconnell	SATTLER'S ADDITION W 20 FT OF LOT 13 AND E 30 FT OF LOT 14 BLK	Street Sweeping - Residential Stre		50.00	\$21.00	10-28-23-34-0037
1382 Bayard Ave	4	Alley Sweeping Citywide Street Lighting	0.13 0.66	50.00 50.00	\$6.50 \$33.00	
St Paul MN 55116-1642		Citywide Street Lighting	0.00	30.00		
*1382 BAYARD AVE					\$60.50	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
rending as of. 6/21/2019		Total As	ssessment:	\$60.50		
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff A	Amount:		\$60.50	
Ronald S Weislow Trustee	SATTLER'S ADDITION W 1/2 OF LOT	Street Sweeping - Residential Stre	ee 0.42			
	22 AND ALL OF LOT 21 BLK 1	Alley Sweeping	0.42	60.00	\$23.20 \$7.80	10-28-23-34-0021
Sandra L Weislow Trustee		Citywide Street Lighting	0.66	60.00	\$39.60	
1385 Bayard Ave		City wide Succe Eighting	0.00	=	_	
St Paul MN 55116-1643 *1385 BAYARD AVE		*** Owner and Taxpayer ***			\$72.60	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$72.60	
g v.—		This Pay	ment:		\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff A	Amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Katherine M Jedrzejek	SATTLER'S ADDITION W 10 FT OF	Street Sweeping - Residential Str	<u>eε</u> 0.42	50.00	\$21.00	10-28-23-34-0038
1388 Bayard Ave	LOT 14 AND ALL OF LOT 15 BLK 4	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-1642		Citywide Street Lighting	0.66	50.00	\$33.00	
*1388 BAYARD AVE				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T . 1 .			0.00.50	
			ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott A	Amount:		\$60.50	
	SATTLER'S ADDITION LOT 16 BLK 4	Street Sweeping - Residential Str	<u></u>			10-28-23-34-0039
Nikole K Eischens		Alley Sweeping Residential Str	0.13	40.00	\$5.20	10-28-23-34-0039
1392 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55118-3525		,		_	\$48.40	
*1392 BAYARD AVE		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$48.40	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current	Current Year Interest:			
		Payoff A	Amount:		\$48.40	
Steven J Wermus	SATTLER'S ADDITION LOT 5 BLK 2	Street Sweeping - Residential Str		47.00	\$19.74	10-28-23-34-0126
Jean A Wermus		Alley Sweeping	0.13	47.00	\$6.11	
1415 Bayard Ave		Citywide Street Lighting	0.66	47.00	\$31.02	
St Paul MN 55116-1645					\$56.87	
*1415 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			ssessment:		\$56.87	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$56.87	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joel S Schroeder	TWIN CITY VIEW LOT 7 BLK 2	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-34-0140
Jennifer R Schroeder		Alley Sweeping	0.13	40.00	\$5.20	
1444 Bayard Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1644				_	\$48.40	
*1444 BAYARD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payı			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	TWIN CITY VIEW LOT 11 BLK 1	Street Sweeping - Residential Stre				
Everett A Geske 1457 Bayard Ave	1,111,1011,111,111,111,111,111,111,111,	Alley Sweeping	0.42	50.00	\$6.50	10-28-23-34-0117
St Paul MN 55116-1645		Citywide Street Lighting	0.66	89.00	\$58.74	
*1457 BAYARD AVE		,		_	\$102.62	
*Ward: 3		*** Owner and Taxpayer ***			\$102.02	
*Pending as of: 8/21/2019						
1 chang as of. 0/21/2019		Total Ass	essment:		\$102.62	
		This Payı	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$102.62	
			- — — — -			. — — — — — —
Anne M Robinson	REDWING ADDITION LOT 24 BLK 2	Street Sweeping - Residential Stre		82.00	\$34.44	10-28-23-12-0020
1223 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2802		Citywide Street Lighting	0.66	82.00	\$54.12	
*1223 BERKELEY AVE					\$93.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=	***	
		Total Ass			\$93.76	
		This Pays			\$0.00	
			ear Principal:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$93.76	
		rayon A	mount.		\$75.70	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David Hovda	REDWING ADDITION LOTS 1 AND	Street Sweeping - Residential Stre	0.42	102.00	\$42.84	10-28-23-12-0021
1746 Eleanor Ave	LOT 2 BLK 3	Alley Sweeping	0.13	80.00	\$10.40	
St Paul MN 55116-1438		Citywide Street Lighting	0.66	102.00	\$67.32	
*1226 BERKELEY AVE					\$120.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T-4-1 A			¢120.56	
		Total Ass This Payr			\$120.56 \$0.00	
		•	rear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$120.56	
		24,011.1			\$1 2 0100	
Natalio Diaz Felipe	REDWING ADDITION LOT 21 BLK 2	Street Sweeping - Residential Stre		40.00		10-28-23-12-0017
1235 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-12-0017
St Paul MN 55105-2802		Citywide Street Lighting	0.66	40.00	\$26.40	
*1235 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Total Assessment:			
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	REDWING ADDITION LOT 20 BLK 2	Street Sweeping - Residential Stre				<u> </u>
1239 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	10-20-25-12-0010
St Paul MN 55105-2802		Citywide Street Lighting	0.66	40.00	\$26.40	
*1239 BERKELEY AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	sessment:		\$48.40	
		This Pay			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine M Mcgirl	REDWING ADDITION LOT 6 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0025
1240 Berkeley Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2801		Citywide Street Lighting	0.66	40.00	\$26.40	
*1240 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paymo	ent: ar Principal:		\$0.00 \$0.00	
			=			
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	REDWING ADDITION LOT 18 BLK 2	Street Sweeping - Residential Stree				10 20 22 12 0014
Katie H Lewis		Alley Sweeping	0.13	40.00	\$5.20	10-28-23-12-0014
1247 Berkeley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2802		, , , ,		_	\$48.40	
*1247 BERKELEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payme	\$0.00			
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff Amount:			\$48.40	
	FRIENDSVILLE E 40 FT OF FOL LOTS	Street Sweeping - Residential Stree				10-28-23-12-0051
1268 Berkeley Ave	9 10 AND 11 AND EX N 23 6/10 FT	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-12-0051
St Paul MN 55105-2801	LOT 8 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1268 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			£40.40	
		This Payme			\$48.40 \$0.00	
		-	ent: ar Principal:		\$0.00 \$0.00	
		Current Ye	=		\$0.00 \$0.00	
		Payoff Am			\$48.40	
		rayon Am	ount:		340.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shelly A Kirchoff	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/A	rt 1.02	41.00	\$41.82	10-28-23-21-0025
1345 Berkeley Ave	OF ST. PAUL, MINN. LOT 2 & LOT 3	Street Sweeping - Residential Street	εε 0.42	70.00	\$29.40	
St Paul MN 55105-2422	BLK 1	Citywide Street Lighting	0.66	111.00	\$73.26	
*1345 BERKELEY AVE				_	\$144.48	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$144.48	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$144.48	
	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Stre	<u> </u>			
Annie S Larson	OF ST. PAUL, MINN. LOT 18 BLK 2	Alley Sweeping	0.42	83.00	\$17.04 \$10.79	10-28-23-21-0052
1358 Berkeley Ave St Paul MN 55105-2421		Citywide Street Lighting	0.66	42.00	\$27.72	
		,		_	\$56.15	
*1358 BERKELEY AVE *Ward: 3		*** Owner and Taxpayer ***			\$30.13	
*Pending as of: 8/21/2019		o wher and Taxpayer				
1 Chaing as 01. 8/21/2019		Total As	Total Assessment: \$56.1			
		This Pay		\$0.00		
		Current	Year Principal:	\$0.00		
		Current	Year Interest:	\$0.00		
		Payoff A	Amount:	\$56.15		
Tara R Edlund	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 17 BLK 2	Street Sweeping - Residential Stre		42.00	\$17.64	10-28-23-21-0051
1362 Berkeley Ave	OF ST. PAGE, WINN. LOT 17 BER 2	Alley Sweeping	0.13	42.00 42.00	\$5.46 \$27.72	
St Paul MN 55105-2421		Citywide Street Lighting	0.66	42.00		
*1362 BERKELEY AVE					\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T. 4 1 A	a a a a a ma a mata		\$50.82	
		Total As	ssessment:		\$50.82 \$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$50.82	
		1 ayon 2			ψ30.02	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Laura Jean Warner	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Street	<u> </u>	42.00	<u>\$17.64</u>	10-28-23-21-0022
1365 Berkeley Ave	OF ST. PAUL, MINN. LOT 6 BLK 1	Alley Sweeping	0.13	42.00	\$5.46	10 10 20 11 0021
St Paul MN 55105-2422		Citywide Street Lighting	0.66	42.00	\$27.72	
*1365 BERKELEY AVE				_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$50.82	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current \	Year Interest:		\$0.00	
		Payoff A	Amount:		\$50.82	
Danielle E Hart	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Stre		42.00	\$17.64	10-28-23-21-0049
1370 Berkeley Ave	OF ST. PAUL, MINN. LOT 15 BLK 2	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55105-2421		Citywide Street Lighting	0.66	42.00	\$27.72	
*1370 BERKELEY AVE				_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			sessment:		\$50.82	
			This Payment:			
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$50.82	
Charles Arnet	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 13 BLK 2	Street Sweeping - Residential Stre		42.00	\$17.64	10-28-23-21-0047
Lisa Arnet	Of ST. TAGE, MINN. EOT 13 BER 2	Alley Sweeping Citywide Street Lighting	0.13	42.00	\$5.46 \$27.72	
1378 Berkeley Ave		Citywide Street Lighting	0.66	42.00		
St Paul MN 55105-2421					\$50.82	
*1378 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$50.82	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott A	Amount:		\$50.82	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary Beth Borgstadt	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-21-0046
1382 Berkeley Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 1 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2421		Citywide Street Lighting	0.66	40.00	\$26.40	
*1382 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payn			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Alexander S Omeara	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-21-0045
Britta B Omeara	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 2 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1386 Berkeley Ave	COUNTY, MINNESOTA LOT 2 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2421				_	\$48.40	
*1386 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
1 chang as 01. 6/21/2017			This Payment: Current Year Principal: Current Year Interest:			
		-				
		Payoff A	nount:	\$48.40		
Kristen Cornelius	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	40.00	<u>\$16.80</u>	10-28-23-21-0044
1390 Berkeley Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 3 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2421	COOKIT, MINICESOTI EOT 3 BER 4	Citywide Street Lighting	0.66	40.00	\$26.40	
*1390 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul R Lorsung	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Str		82.00	\$34.44	10-28-23-21-0134
Julie A Lorsung	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 30 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1401 Berkeley Ave	COUNTY, MINNESOTA LOT 30 BLK 2	Citywide Street Lighting	0.66	82.00	\$54.12	
St Paul MN 55105-2424				_	\$93.76	
*1401 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total A	ssessment:		\$93.76	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$93.76	
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Str	reε 0.42			10 20 22 21 012
	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-21-0137
446 Saratoga St S	COUNTY, MINNESOTA LOT 3 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2545		ony white Bureet Engineeng	0.00	=		
*1410 BERKELEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Totaling as off of 21, 2017		Total Assessment:			\$48.40	
		This Payment: Current Year Principal: Current Year Interest:		\$0.00		
				\$0.00		
				\$0.00		
		Payoff .	Amount:		\$48.40	
Deborah J Johnson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Str	reε 0.42			10 20 22 21 0120
1418 Berkeley Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-21-0139
St Paul MN 55105-2423	COUNTY, MINNESOTA LOT 5 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1418 BERKELEY AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$46.40	
*Pending as of: 8/21/2019					0.40.40	
			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff 2	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Schumacher Holdings Llc	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	<u></u>	40.00	\$16.80	10-28-23-21-0141
9607 Whistling Valley Trl	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
Lake Elmo MN 55042-4444	COUNTY, MINNESOTA LOT 7 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1424 BERKELEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payofi	Amount:		\$48.40	
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S		40.00		
Carolyn J Little	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-21-0128
1425 Berkeley Ave St Paul MN 55105-2424	COUNTY, MINNESOTA LOT 24 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1425 BERKELEY AVE		, , ,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			φ τ 0. τ 0	
*Pending as of: 8/21/2019		1 7				
1 chang as on 6,21,201)		Total A	Total Assessment:			
		This Pa	ayment:		\$0.00	
		Curren	Current Year Principal:			
		Curren	t Year Interest:		\$0.00	
		Payoff	Payoff Amount:			
Lakes & Plains Llc	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-21-0142
1708 Portland Ave	COUNTY, MINNESOTA LOT 8 BLK 3	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55104-6843		Citywide Street Lighting	0.00	40.00		
*1428 BERKELEY AVE		*** 0 1T ***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total /	Assessment:	-	\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
		•				

	•					
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert O Smith	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-21-0127
Jeanmarie Smith	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 23 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1429 Berkeley Ave	COUNTY, WHINNESOTA EOT 25 BER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2424				=	\$48.40	
*1429 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
Jonathan M Hoffman	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-21-0143
Carol K Hoffman	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 01 10
1434 Berkeley Ave	COUNTY, MINNESOTA LOT 9 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2423				=	\$48.40	
*1434 BERKELEY AVE		*** Owner and Taxpayer ***			******	
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:	_	\$48.40	
		This Pay	ment:		\$0.00	
		Current \	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
Stuart E Johnson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-21-0125
Joan C Johnson	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 21 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1439 Berkeley Ave	COUNTY, WHINNESOTA LOT 21 BER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2424				_	\$48.40	
*1439 BERKELEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		<u></u>				
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
-		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary M Wingrove	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	10-28-23-21-0123
1447 Berkeley Ave	COLINTY MINISTER A LOT 10 PLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2424	COUNTY, MINNESOTA LOT 19 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1447 BERKELEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payofi	Amount:		\$48.40	
Robert K Lee	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-22-0181
1208 River Heights Rd	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
Menomonie WI 54751-3757	SYLVAN PK LOT 5 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*261 BRIMHALL ST					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					# 40, 40	
			Assessment:		\$48.40	
			ayment: it Year Principal:		\$0.00 \$0.00	
			it Year Interest:		\$0.00	
			Amount:		\$48.40	
		1 ay 011	7 mount.		ψ τυ. τυ	
	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential S		40.00		10 20 22 22 0116
Julie A Linke	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0116
262 Brimhall St	1/2 OF BLK 5 & W 1/2 OF BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2428	SYLVAN PK LOT 2 BLK 2			_	\$48.40	
*262 BRIMHALL ST		*** Owner and Taxpayer ***			φ.ισσ	
*Ward: 3		Total	Assessment:		\$48.40	
*Pending as of: 8/21/2019			ayment:		\$0.00	
			ayment. It Year Principal:		\$0.00	
			it Year Interest:		\$0.00	
			Amount:		\$48.40	
		,				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Scott W Sorenson	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str	<u>reε</u> 0.42	40.00	\$16.80	10-28-23-22-0179
269 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2427	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 7 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
*269 BRIMHALL ST					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Debra J Hennekens	VERNON'S RE OF E 1/2 OF BLK 4, LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-22-0178
273 Brimhall St	1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2427	SYLVAN PK LOT 8 BLK 1	Citywide Street Lighting	0.00	40.00	-	
*273 BRIMHALL ST		***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$48.40	
		This Pay	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Chad Lauber	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Street	reε 0.42	40.00	\$16.80	10-28-23-22-0119
Juliana Tillema	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
274 Brimhall St	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 5 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2428				_	\$48.40	
*274 BRIMHALL ST *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
6		This Pay	yment:		\$0.00	
		-	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nancy C Ludwig	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential St	tree 0.42	40.00	\$16.80	10-28-23-22-0120
6222 Braeburn Cir	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
Edina MN 55439-2548	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 6 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*280 BRIMHALL ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	'Amount:		\$48.40	
William D Radomski	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential St				10 20 22 22 017(
Deborah J Allen	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-22-0176
281 Brimhall St	1/2 OF BLK 5 & W 1/2 OF BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
	SYLVAN PK LOT 10 BLK 1	City wide Saleet Lighting	0.00	=		
St Paul MN 55105-2427		*** Owner and Taxpayer ***			\$48.40	
*281 BRIMHALL ST *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	_	\$48.40	
		This Pa	This Payment: Current Year Principal:			
		Curren				
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
						. — — — — — —
James E Rosenthal	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential St		80.00	\$33.60	10-28-23-22-0121
Deborah D Rosenthal	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	80.00	\$10.40	
288 Brimhall St	SYLVAN PK LOTS 7 AND LOT 8 BLK	Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2428	2			_	\$96.80	
*288 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$96.80	
		This Pa	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$96.80	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas Todd	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str	ree 0.42	81.00	\$34.02	10-28-23-22-0124
300 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2428	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 11 BLK 2	Citywide Street Lighting	0.66	81.00	\$53.46	
*300 BRIMHALL ST				_	\$92.68	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$92.68	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$92.68	
	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str	<u> </u>	81.00		10 20 22 22 0105
303 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0185
St Paul MN 55105-2429	1/2 OF BLK 5 & W 1/2 OF BLK 6	Citywide Street Lighting	0.66	81.00	\$53.46	
	SYLVAN PK LOT 1 BLK 4			=	\$92.68	
*303 BRIMHALL ST *Ward: 3		*** Owner and Taxpayer ***			\$92.68	
*Pending as of: 8/21/2019						
		Total Assessment:			\$92.68	
		This Pa	This Payment: Current Year Principal: Current Year Interest:			
		Current				
		Current				
		Payoff .	Amount:		\$92.68	
		. — — — — — -				
David B Wallinga	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-22-0186
Elizabeth A Hayes	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
305 Brimhall St	SYLVAN PK LOT 2 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2429					\$48.40	
*305 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
rending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
ohn W Osborn Jr	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-22-0187
09 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2429	SYLVAN PK LOT 3 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
309 BRIMHALL ST				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
rancis J Garcia	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str	ree 0.42	40.00		10-28-23-22-0139
312 Brimhall St	II St LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 22 010
St Paul MN 55105-2430	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 3 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
312 BRIMHALL ST	STEVANTREOF SEEK S			_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Pa	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Current				
		Current				
		Payoff				
		- — — — — —				. — — — — —
David A Boetcher	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-22-0141
18 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2430	SYLVAN PK LOT 5 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
318 BRIMHALL ST		*** Owner and Taxpayer ***			\$48.40	
Ward: 3 Pending as of: 8/21/2019		Owner and Taxpayer				
I thomg do on or Directly		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Wayne B Nesbit	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0189
319 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2429	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 5 BLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
*319 BRIMHALL ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
James D Mcmanus	VERNON'S RE OF E 1/2 OF BLK 4, LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0191
Sara Kerr	1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
325 Brimhall St	SYLVAN PK LOT 7 BLK 4	Citywide Street Lighting	0.00	40.00	•	
St Paul MN 55105-2429		444.0			\$48.40	
*325 BRIMHALL ST *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	\$48.40		
		This Paym	ent:	\$0.00		
		Current Ye	ear Principal:	\$0.00		
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
						ESCROW
Frederick E Finch	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Stree		40.00	\$16.80	10-28-23-22-0143
326 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2430	SYLVAN PK LOT 7 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*326 BRIMHALL ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ellis Sturman Nolley Iii	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-22-0144
Riva Lee Nolley	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	
330 Brimhall St	1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 8 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2430				=	\$48.40	
330 BRIMHALL ST		*** Owner and Taxpayer ***				
Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payı			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Stre		40.00		10-28-23-22-0145
334 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping Residential Street	0.13	40.00	\$5.20	10-28-23-22-0145
St Paul MN 55105-2430	1/2 OF BLK 5 & W 1/2 OF BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
334 BRIMHALL ST	SYLVAN PK LOT 9 BLK 3	,		=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			ψτο.τυ	
Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff A	mount:		\$48.40	
	VERNON'S RE OF E 1/2 OF BLK 4,	Street Sweeping - Residential Stre		40.00		
37 Brimhall St	LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0194
St Paul MN 55105-2429	1/2 OF BLK 5 & W 1/2 OF BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
337 BRIMHALL ST	SYLVAN PK LOT 10 BLK 4	,		=	\$48.40	
Ward: 3		*** Owner and Taxpayer ***			φ τ ο. τ υ	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payı	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Andrew A Hallman VERNON'S RE OF E 1/2 OF BLK 4, 10-28-23-22-0196 LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 0.13 40.00 Alley Sweeping \$5.20 Lucy C Hallman 1/2 OF BLK 5 & W 1/2 OF BLK 6 Citywide Street Lighting 40.00 0.66 \$26.40 345 Brimhall St SYLVAN PK LOT 12 BLK 4 St Paul MN 55105-2429 \$48.40 *** Owner and Taxpayer *** *345 BRIMHALL ST *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Scott J Stanley VERNON'S RE OF E 1/2 OF BLK 4, 10-28-23-22-0148 LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E Alley Sweeping 0.13 40.00 \$5.20 346 Brimhall 1/2 OF BLK 5 & W 1/2 OF BLK 6 Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-2430 SYLVAN PK LOT 12 BLK 3 *346 BRIMHALL ST \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 \$0.00 Current Year Principal: \$0.00 Current Year Interest: **Payoff Amount:** \$48.40 SYLVAN PARK ADDITION TO THE Street Sweeping - Residential Stree 0.42 91.00 \$38.22 Bridget K Layer 10-28-23-23-0114 CITY OF SAINT PAUL EX E 41 FT LOTS 0.66 91.00 Citywide Street Lighting \$60.06 James W Sampair Jr 1 AND LOT 2 BLK 11 1546 Jefferson Ave \$98.28 St Paul MN 55105-2449 *** Owner and Taxpayer *** *364 BRIMHALL ST *Ward: 3 \$98.28 Total Assessment: This Payment: \$0.00 *Pending as of: 8/21/2019 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$98.28

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carl Koepke	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	50.00	\$21.00	10-28-23-23-0116
Kimberly Holub	CITY OF SAINT PAUL LOT 3 BLK 11	Alley Sweeping	0.13	50.00	\$6.50	
374 Brimhall St		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2505				_	\$60.50	
*374 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3					460.50	
*Pending as of: 8/21/2019		Total Ass			\$60.50	
		This Payn			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A			\$60.50	
		rayon Ai	nount:		\$60.50	
Bruce Rosen	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street		50.00	\$21.00	10-28-23-23-0181
387 Brimhall St	CITY OF SAINT PAUL LOT 19 BLK 12	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-23-0101
St Paul MN 55105-2504		Citywide Street Lighting	0.66	50.00	\$33.00	
*387 BRIMHALL ST				=	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass	essment:		\$60.50	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00 \$60.50	
		Payoff An	nount:			
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		50.00		10-28-23-23-0180
Patrick M Duffy	CITY OF SAINT PAUL LOT 18 BLK 12	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-23-0100
657 Fairview Ave S		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1449				_	\$60.50	
*391 BRIMHALL ST		*** Owner and Taxpayer ***			\$00 . 50	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$60.50	
5		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$60.50	

		_		
Ratif	ication	Date:	R	esc

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeanne M F Dietrich	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential St	ree 0.42	50.00	\$21.00	10-28-23-23-0120
392 Brimhall St	CITY OF SAINT PAUL LOT 7 BLK 11	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2505		Citywide Street Lighting	0.66	50.00	\$33.00	
*392 BRIMHALL ST				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$60.50	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$60.50	
Thomas R Haselman	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential St		50.00		10 20 22 22 0170
Kristi K Haselman	CITY OF SAINT PAUL LOT 17 BLK 12	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-23-0179
397 Brimhall St		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2504		,		=	\$60.50	
*397 BRIMHALL ST		*** Owner and Taxpayer ***			φ00.50	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	-	\$60.50	
_		This Pa	yment:	\$0.00		
		Current	Current Year Principal: Current Year Interest:			
		Current				
		Payoff	Amount:		\$60.50	
Steven M Weldon	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 9 BLK 11	Street Sweeping - Residential St		50.00	\$21.00	10-28-23-23-0122
Linda S Weldon	CITT OF SHART THEE EOT Y BER TI	Alley Sweeping Citywide Street Lighting	0.13 0.66	50.00 50.00	\$6.50 \$33.00	
404 Brimhall St		Citywide Street Lighting	0.00	30.00	<u> </u>	
St Paul MN 55105-2505		***			\$60.50	
*404 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	\$60.50	
*Pending as of: 8/21/2019			ssessment:		\$60.50	
		This Pa	-		\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
			Amount:		\$60.50	
		гауоп	Amount.		\$00.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Debra Ann Weber Tr	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-23-0177
107 Brimhall St	CITY OF SAINT PAUL LOT 15 BLK 12	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2504		Citywide Street Lighting	0.66	50.00	\$33.00	
*407 BRIMHALL ST				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		T 1 A			0.00.50	
		Total Asse			\$60.50	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	iount.		\$60.50	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree				10-28-23-23-0123
408 Brimhall St	CITY OF SAINT PAUL LOT 10 BLK 11	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-23-0123
St Paul MN 55105-2505		Citywide Street Lighting	0.66	50.00	\$33.00	
*408 BRIMHALL ST		,		_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$00.30	
*Pending as of: 8/21/2019					20.70	
		Total Assessment:			\$60.50	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff An	ount:		\$60.50	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		50.00		
Danica Jo Blomgren Linssen	CITY OF SAINT PAUL LOT 11 BLK 11	Alley Sweeping	0.13	50.00	\$6.50	
114 Brimhall St		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2505				_	\$60.50	
414 BRIMHALL ST		*** Owner and Taxpayer ***			*	
Ward: 3						
Pending as of: 8/21/2019		Total Asse	ssment:	=	\$60.50	
1 chang as of. 0/21/2017		This Paym	ent:		\$0.00	
		-	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$60.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Susan M Kachmarzinski	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Street	ee 0.42	81.50	\$34.23	10-28-23-23-0165
422 Brimhall St S	PAUL, MINN. LOT 27	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2507		Citywide Street Lighting	0.66	81.50	\$53.79	
*422 BRIMHALL ST				_	\$93.22	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			sessment:		\$93.22	
		This Pay			\$0.00	
			Current Year Principal: Current Year Interest:		\$0.00	
					\$0.00 \$93.22	
		Payoff A	Payoff Amount:			
	CVI VAN DADY ADDITION TO THE	Street Sweeping - Residential Stre	<u> </u>			
Judith M Belde	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL N 45 FT OF LOT	Alley Sweeping	0.42	45.00	\$53.28 \$5.85	10-28-23-23-0212
Joseph E Belde	24 BLK 13	Citywide Street Lighting	0.66	84.00	\$5.44	
423 Brimhall St		City wide Street Lighting	0.00	=	·	
St Paul MN 55105-2506		*** Owner and Taxpayer ***			\$96.57	
*423 BRIMHALL ST *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	Total Assessment:			
Teliding as of. 0/21/2019		This Payment:			\$96.57 \$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff A	Payoff Amount:			
Bruce A Bennett	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-23-0164
424 Brimhall St	PAUL, MINN. LOT 26	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2507		Citywide Street Lighting	0.66	40.00	\$26.40	
*424 BRIMHALL ST				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Total Assessment:			
		· · · · · · · · · · · · · · · · · · ·	This Payment:			
			Current Year Principal:			
			Current Year Interest:			
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gillian Nicole Sawtell	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0209
35 Brimhall St	CITY OF SAINT PAUL N 20 FT OF LOT	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2506	21 AND S 20 FT OF LOT 22 BLK 13	Citywide Street Lighting	0.66	40.00	\$26.40	
*435 BRIMHALL ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 1 A			£40.40	
		Total Assessment:		\$48.40		
		This Paym			\$0.00	
		Current Year Interest:		\$0.00		
				\$0.00		
		Payoff Amount:			\$48.40	
 Elizabeth A Wells	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stree				10-28-23-23-0161
438 Brimhall St	PAUL, MINN. LOT 23	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-25-0101
St Paul MN 55105-2507		Citywide Street Lighting	0.66	40.00	\$26.40	
*438 BRIMHALL ST				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Year Principal:		\$0.00		
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$48.40	
Amanda J Boehmer	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0207
Megan A Boehmer	CITY OF SAINT PAUL EX N 10 FT LOT 20 BLK 13	Alley Sweeping	0.13	40.00	\$5.20	
143 Brimhall St	20 BER 13	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2506				=	\$48.40	
*443 BRIMHALL ST *Ward: 3						
*Pending as of: 8/21/2019		Total Assessment:		\$48.40		
		This Payment:		\$0.00		
		Current Year Principal:		\$0.00		
		Current Year Interest:		\$0.00		
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rebecca L Groen	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-23-0158
450 Brimhall St	PAUL, MINN. LOT 20	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2507		Citywide Street Lighting	0.66	40.00	\$26.40	
*450 BRIMHALL ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					040.40	
		Total As			\$48.40	
		This Pay			\$0.00	
			Current Year Principal:		\$0.00	
			ear Interest:		\$0.00 \$48.40	
		гауоп А	Payoff Amount:			
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre		50.00		10-28-23-23-0205
453 Brimhall St	CITY OF SAINT PAUL LOT 18 BLK 13	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-23-0203
St Paul MN 55105-2506		Citywide Street Lighting	0.66	50.00	\$33.00	
*453 BRIMHALL ST				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$ 00.00	
*Pending as of: 8/21/2019		Total Assessment:			\$60.50	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$60.50	
Joshua Ide	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-23-0156
Kathleen J Kromer Ide	PAUL, MINN. LOT 18	Alley Sweeping	0.13	40.00	\$5.20	
458 Brimhall St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2507				_	\$48.40	
*458 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Payment:		\$0.00		
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-23-0203
342 Grand Ave	CITY OF SAINT PAUL LOT 16 BLK 13	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-3568		Citywide Street Lighting	0.66	50.00	\$33.00	
*461 BRIMHALL ST				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asso			\$60.50	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	iount:		\$60.50	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		43.00		
1342 Grand Ave	CITY OF SAINT PAUL EX S 7 FT LOT	Alley Sweeping	0.42	43.00	\$5.59	10-28-23-23-0202
St Paul MN 55105-3568	15 BLK 13	Citywide Street Lighting	0.66	43.00	\$28.38	
		eny mae succe Eigning	0.00	=	\$52.03	
*467 BRIMHALL ST *Ward: 3		*** Owner and Taxpayer ***			\$52.03	
*Pending as of: 8/21/2019		- ······ - ···· - · · · · · · · · · · · · · · · · · · · ·				
3		Total Asse	\$52.03			
		This Payn	This Payment:			
		Current Y	Current Year Principal: Current Year Interest:			
		Current Y				
		Payoff Amount:			\$52.03	
Courtney G Ives	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stree				
Alexander E Ives	PAUL, MINN. LOT 16	Alley Sweeping	0.42	78.50	\$10.21	10-28-23-23-0154
468 Brimhall St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2507		y		_	\$53.41	
468 BRIMHALL ST		*** Owner and Taxpayer ***			\$33.41	
Ward: 3		o mer and rampayer				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$53.41	
1 chang as 01. 0/21/2017		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 SYLVAN PARK ADDITION TO THE Rita Ambourn Hair Designers In 10-28-23-23-0201 CITY OF SAINT PAUL EX AVE E 40 FT Street Sweeping - Residential Stree 0.42 100.00 \$42.00 464 Snelling Ave S OF LOTS 13 AND 14 AND OF S 7 FT OF 140.00 \$92.40 Citywide Street Lighting 0.66 St Paul MN 55105-2147 LOT 15 BLK 13 Snelling/Randolph Area ASL 1.12 40.00 \$44.80 *469 BRIMHALL ST \$220.00 *Ward: 3 *** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$220.00 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$220.00 **Payoff Amount:** KOENIG'S ADDITION LOT 1 BLK 2 1.02 50.00 \$51.00 Street Sweeping - Commercial/Art N & M Real Estate Llc 10-28-23-32-0124 0.42 127.00 \$53.34 Street Sweeping - Residential Stree 4157 40th Ave S Alley Sweeping 0.13 50.00 \$6.50 Minneapolis MN 55406-3444 Citywide Street Lighting 0.66 177.00 \$116.82 *483 BRIMHALL ST Snelling/Randolph Area ASL 1.12 50.40 \$56.45 *Ward: 3 \$284.11 *Pending as of: 8/21/2019 *** Owner and Taxpayer *** \$284.11 Total Assessment: This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$284.11 HALEY'S ADDITION LOT 3 BLK 2 Todd M Johnson Street Sweeping - Residential Stree 0.42 62.00 \$26.04 10-28-23-32-0139 Alley Sweeping 0.13 62.00 \$8.06 515 Brimhall St Citywide Street Lighting 0.66 62.00 \$40.92 St Paul MN 55116-5666 *515 BRIMHALL ST \$75.02 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$75.02 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$75.02

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrea Atkinson	HALEY'S ADDITION LOT 4 BLK 2	Street Sweeping - Residential Stree	0.42	62.00	\$26.04	10-28-23-32-0138
521 Brimhall St		Alley Sweeping	0.13	62.00	\$8.06	
St Paul MN 55116-1508		Citywide Street Lighting	0.66	62.00	\$40.92	
*521 BRIMHALL ST				_	\$75.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asse			\$75.02	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye Payoff Am			\$0.00 \$75.02	
		гауон Ап	ount:		\$75.02	
	HALEY'S ADDITION LOT D OF	Street Sweeping - Residential Stree		50.00		10-28-23-32-0089
Elizabeth A Siess	RANDOLPH VILLAS AND IN SD	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-32-0009
1 St Francis Pl Apt 6108	HALEYS ADD LOT 6 BLK 1	Citywide Street Lighting	0.66	50.00	\$33.00	
San Francisco CA 94107-1341				_	\$60.50	
*524 BRIMHALL ST		*** Owner and Taxpayer ***			*****	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Paym	ent:		\$0.00	
		Current Ye	Current Year Principal: Current Year Interest: Payoff Amount:			
		Payoff An				
Russell A Forga	HALEY'S ADDITION EX N 21 FT LOT 6 BLK 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	41.00 41.00	\$17.22 \$5.33	10-28-23-32-0135
Sheryl L Forga		Citywide Street Lighting	0.66	41.00	\$27.06	
533 Brimhall St St Paul MN 55116-1508		Only wide Succe Eighting	0.00	=	·	
*533 BRIMHALL ST		*** Owner and Taxpayer ***			\$49.61	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$49.61	
1 Chaing as 01. 0/21/2017		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$49.61	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William C Olsen	HALEY'S ADDITION LOT F	Street Sweeping - Residential S		50.00	\$21.00	10-28-23-32-0087
Debra L Siegel	RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 8 BLK 1	Alley Sweeping	0.13	50.00	\$6.50	
534 Brimhall St	madistrate de la constante de	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1507					\$60.50	
*534 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019			Assessment:		\$60.50	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payoff	f Amount:		\$60.50	
	HALEY'S ADDITION LOT 9 BLK 1	Street Sweeping - Residential S		79.00		10-28-23-32-0085
Gregory Miller		Citywide Street Lighting	0.66	79.00	\$52.14	10-20-23-32-0003
538 Brimhall St				_	\$85.32	
St Paul MN 55116-1507		*** Owner and Taxpayer ***			ψ03.32	
*538 BRIMHALL ST						
*Ward: 3		Total Assessment: This Payment:			\$85.32	
*Pending as of: 8/21/2019					\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Current Year Interest:		\$0.00		
		Payofi	Payoff Amount:			
	GELIN'S RE-ARRANGEMENT LOT 1	Charles Decidential C				
Theresa A Fuhs	GLEIN'S RE-ARRANGEMENT EOT T	Street Sweeping - Residential S Alley Sweeping	0.42 0.13	42.00	\$5.46	10-28-23-32-0123
544 Brimhall St		Citywide Street Lighting	0.66	81.00	\$53.46 \$53.46	
St Paul MN 55116-1509		City wide Suber Eighting	0.00	=		
*544 BRIMHALL ST		*** Owner and Taxpayer ***			\$92.94	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 thang at on 0,21,201)		Total A	Assessment:		\$92.94	
		This P	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payoff	f Amount:		\$92.94	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Scott A Kriz	RUSSELL'S ADDITION LOT 2 BLK 2	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0143
Sara J Kriz		Alley Sweeping	0.13	42.00	\$5.46	
545 Brimhall St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1510				_	\$50.82	
*545 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$50.82	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$50.82	
	GELIN'S RE-ARRANGEMENT LOT 2					
Russell D Olson	GELIN'S RE-ARRANGEMENT LOT 2	Street Sweeping - Residential Stree	0.42 0.13	42.00 42.00	\$17.64 \$5.46	10-28-23-32-0122
Marie E Olson		Alley Sweeping Citywide Street Lighting	0.13	42.00	\$3.46 \$27.72	
548 Brimhall St		Citywide Succi Lighting	0.00	- 42.00	•	
St Paul MN 55116-1509		*** Owner and Taxpayer ***			\$50.82	
*548 BRIMHALL ST		Owner and Taxpayer				
*Ward: 3		Total Asse	ecmant.	=	\$50.82	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
			Payoff Amount:			
Lori B Youngren	RUSSELL'S ADDITION LOT 3 BLK 2	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0144
549 Brimhall St		Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-1510		Citywide Street Lighting	0.66	42.00	\$27.72	
*549 BRIMHALL ST				_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$50.82	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$50.82	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey J Dobier	GELIN'S RE-ARRANGEMENT LOT 4	Street Sweeping - Residential Str	ree 0.42	42.00	\$17.64	10-28-23-32-0120
Annette L Dobier		Alley Sweeping	0.13	42.00	\$5.46	
556 Brimhall St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1509				_	\$50.82	
*556 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$50.82	
		This Pa			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$50.82	
	RUSSELL'S ADDITION N 40 FT OF	Street Sweeping - Residential Str	<u>е</u> — — — — — — — — — — — — — — — — — — —			
Toni J Johnson 559 Brimhall St	LOT 5 BLK 2	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-32-0146
559 Brimnali St St Paul MN 55116-1510		Citywide Street Lighting	0.66	40.00	\$26.40	
			-	_		
*559 BRIMHALL ST *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019		- ······				
Tuning as on 0,21,201,		Total A	ssessment:	\$48.40		
		This Pa	yment:	\$0.00		
		Current	Year Principal:	\$0.00		
		Current	Current Year Interest:			
		Payoff	Amount:		\$48.40	
	OTTO HUNT'S ADDITION LOT 17 BLK	Street Sweeping - Residential Str	ree 0.42			
Samuel Segebarth 568 Brimhall St S	3	Alley Sweeping	0.13	42.00	\$5.46	10-28-23-32-0117
St Paul MN 55116-1509		Citywide Street Lighting	0.66	42.00	\$27.72	
*568 BRIMHALL ST				_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***			\$30.82	
*Pending as of: 8/21/2019				_		
		Total A	ssessment:		\$50.82	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$50.82	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
102823320152	OTTO HUNT'S ADDITION LOT 6 BLK	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0152
Po Box 17370	4	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55117-0370		Citywide Street Lighting	0.66	42.00	\$27.72	
*585 BRIMHALL ST					\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$50.82	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$50.82	
		Court Courties Parisherial States		42.00	<u> </u>	
Donald W Schlueter	OTTO HUNT'S ADDITION LOT 7 BLK 4	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	42.00	\$17.64 \$5.46	10-28-23-32-0153
589 Brimhall St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1510		only mad Substituting	0.00	.2.00		
*589 BRIMHALL ST		*** Owner and Taxpayer ***			\$50.82	
*Ward: 3 *Pending as of: 8/21/2019		owner and ranpayer				
Fending as 01. 6/21/2019		Total Asse	essment:		\$50.82	
		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	mount:		\$50.82	
Felipe Vargas	OTTO HUNT'S ADDITION LOT 9 BLK 4	Street Sweeping - Residential Stree		89.50	\$37.59	10-28-23-32-0176
599 Brimhall		Alley Sweeping	0.13	56.00	\$7.28	
St Paul MN 55116-1510		Citywide Street Lighting	0.66	89.50	\$59.07	
*599 BRIMHALL ST					\$103.94	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asso			\$103.94	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$103.94	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen E Schmitz	TWIN CITY VIEW N 1/2 OF LOT 4 AND	Street Sweeping - Residential Str	<u>eε</u> 0.42	60.00	\$25.20	10-28-23-33-0070
Nancy Schmitz	ALL OF LOT 3 BLK 6	Alley Sweeping	0.13	60.00	\$7.80	10 20 20 00 00.0
613 Brimhall St		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-1512				_	\$72.60	
*613 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$72.60	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.60	
Thomas I Edelstein	TWIN CITY VIEW S 1/2 OF LOT 18 AND N 30 FT OF LOT 17 BLK 5	Street Sweeping - Residential Str		50.00	\$21.00	10-28-23-33-0064
Jack A Silverman	N 3O FT OF LOT 1/ BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
1991 Ford Pkwy		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1923					\$60.50	
*622 BRIMHALL ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	
Stephen G Ellsworth	TWIN CITY VIEW EX N 30 FT LOT 17	Street Sweeping - Residential Str	<u> </u>	50.00		10-28-23-33-0063
Trudie G Ellsworth	AND ALL OF LOT 16 BLK 5	Alley Sweeping Alley Sweeping	0.13	50.00	\$6.50	10-28-23-33-0003
626 Brimhall St		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1511				=	\$60.50	
*626 BRIMHALL ST		*** Owner and Taxpayer ***			φ00.50	
*Ward: 3		- · · · · · · · · · · · · · · · · · · ·				
*Pending as of: 8/21/2019		Total As	ssessment:		\$60.50	
1 chaing as 01. 0/21/2017		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$60.50	
		1 ayun 2	imount.		φ00.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carol J Tomer	TWIN CITY VIEW N 3 FT OF LOT 14	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	10-28-23-33-0062
630 Brimhall St	AND ALL OF LOT 15 BLK 5	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55116-1511		Citywide Street Lighting	0.66	43.00	\$28.38	
*630 BRIMHALL ST				_	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$52.03	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$52.03	
	TWIN CITY VIEW EX S 34 FT LOT 13	Street Sweeping - Residential Stree				10-28-23-33-0061
634 Brimhall St	AND EX N 3 FT LOT 14 BLK 5	Alley Sweeping	0.13	43.00	\$5.59	10-28-23-33-0001
St Paul MN 55116		Citywide Street Lighting	0.66	43.00	\$28.38	
*634 BRIMHALL ST				_	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***			ψ32.03	
*Pending as of: 8/21/2019						
		Total Asse	ssment:	\$52.03		
		This Paym	ent:	\$0.00		
		Current Ye	ear Principal:	\$0.00		
		Current Ye	Current Year Interest:			
		Payoff An	Payoff Amount:			
	TWIN CITY VIEW LOT 11 BLK 6	Street Sweeping - Residential Stree				
Martin C Koolen Annie H Koolen		Alley Sweeping	0.42	53.00	\$6.89	10-28-23-33-0076
641 Brimhall St		Citywide Street Lighting	0.66	53.00	\$34.98	
St Paul MN 55116-1512		, 5 5		_	\$64.13	
*641 BRIMHALL ST		*** Owner and Taxpayer ***			\$04.13	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$64.13	
1 chaing as 01. 0/21/2017		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert J Jacobson	IDEAL HOME SITES LOT 8	Street Sweeping - Residential Stre	0.42	45.00	\$18.90	10-28-23-33-0057
650 Brimhall St		Alley Sweeping	0.13	45.00	\$5.85	10 20 20 00 000.
St Paul MN 55116-1511		Citywide Street Lighting	0.66	45.00	\$29.70	
*650 BRIMHALL ST				_	\$54.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$54.45	
		This Pay	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$54.45	
Michael J Pulver	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stre		42.00	\$17.64	10-28-23-12-0086
255 Cecelia Place	7 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2804				_	\$45.36	
*255 CECELIA PL		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$45.36	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$45.36	
	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stre				
Alyssa C Schulke	4 BLK 1	Citywide Street Lighting	0.66	42.00	\$27.72	10-28-23-12-0070
256 Cecelia Pl		City wide Street Lighting	0.00	12.00		
St Paul MN 55105-2803		*** Owner and Taxpayer ***			\$45.36	
*256 CECELIA PL *Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$45.36	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$45.36	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary M Adrian	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-12-0071
260 Cecelia Pl	5 BLK 1	Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2803				=	\$45.36	
*260 CECELIA PL		*** Owner and Taxpayer ***				
*Ward: 3						
Pending as of: 8/21/2019		Total Asse			\$45.36	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	ount:		\$45.36	
	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree				
267 Cecelia Place	10 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	10-20-23-12-0009
St Paul MN 55105-2804		,		_	\$45.36	
267 CECELIA PL		*** Owner and Taxpayer ***			\$45.50	
*Ward: 3						
Pending as of: 8/21/2019		Total Asso	essment:	-	\$45.36	
•		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	10unt:		\$45.36	
	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree				
Aura Lee Besse 272 Cecelia Pl	8 BLK 1	Citywide Street Lighting	0.42	42.00	\$27.72	10-28-23-12-0074
St Paul MN 55105-2803		City wide Street Lighting	0.00			
		***			\$45.36	
*272 CECELIA PL *Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Asse	ssment:		\$45.36	
		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$45.36	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** HAUPT'S ADDITION TO ST. PAUL LOT Street Sweeping - Residential Stree 0.42 42.00 \$17.64 Mark Buelt 10-28-23-12-0075 9 BLK 1 Citywide Street Lighting 0.66 42.00 \$27.72 Jamie Brother 274 Cecelia Place \$45.36 *** Owner and Taxpayer *** St Paul MN 55105-2803 *274 CECELIA PL \$45.36 *Ward: 3 Total Assessment: *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$45.36 **Payoff Amount:** Street Sweeping - Residential Stree 0.42 42.00 \$17.64 Zora M Radosevich HAUPT'S ADDITION TO ST. PAUL LOT 10-28-23-12-0091 12 BLK 2 Citywide Street Lighting 0.66 42.00 \$27.72 275 Cecelia Pl \$45.36 St Paul MN 55105-2804 *** Owner and Taxpayer *** *275 CECELIA PL *Ward: 3 Total Assessment: \$45.36 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$45.36 Christina M Sipple HAUPT'S ADDITION TO ST. PAUL LOT Street Sweeping - Residential Stree 0.42 42.00 \$17.64 10-28-23-12-0078 12 BLK 1 42.00 \$27.72 286 Cecelia Place Citywide Street Lighting 0.66 St Paul MN 55164-2803 \$45.36 *286 CECELIA PL *** Owner and Taxpayer *** *Ward: 3 Total Assessment: \$45.36 *Pending as of: 8/21/2019 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$45.36

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David N Fodor	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-12-0094
Kari L Fodor	15 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	
287 Cecelia Place				=	\$45.36	
St Paul MN 55105-2804		*** Owner and Taxpayer ***				
*287 CECELIA PL						
*Ward: 3		Total Asse	ssment:		\$45.36	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$45.36	
	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree		42.00		
291 Cecelia Place	16 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	10-20-25-12-00/5
St Paul MN 55105-2804				=	\$45.36	
*291 CECELIA PL		*** Owner and Taxpayer ***			Ψ13.30	
*Ward: 3		1 7				
*Pending as of: 8/21/2019		Total Assessment:			\$45.36	
		This Paym	ent:		\$0.00	
		Current Ye	Current Year Principal: Current Year Interest:			
		Current Ye				
		Payoff An	ount:		\$45.36	
Bridget L Kruchowski	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Stree				
292 Cecelia Pl	13 BLK 1	Citywide Street Lighting	0.66	42.00	\$27.72	10-20-23-12-00/9
St Paul MN 55105-2803		,		_		
*292 CECELIA PL		*** Owner and Taxpayer ***			\$45.36	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$45.36	
<i>5</i>		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$45.36	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph Herriges	HAUPT'S ADDITION TO ST. PAUL EX S	Street Sweeping - Residential Street	0.42	90.00	\$37.80	10-28-23-12-0096
295 Cecelia Place	33 FT FOR AVE LOT 18 AND ALL OF LOT 17 BLK 2	Citywide Street Lighting	0.66	90.00	\$59.40	
St Paul MN 55105-2804	201 1/ 2211 2			_	\$97.20	
*295 CECELIA PL		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A			£07.20	
*Pending as of: 8/21/2019		Total Ass This Payr			\$97.20 \$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$97.20	
Richard J Broderick	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Residential Street	0.42	88.50		10-28-23-12-0080
Katherine M Baker	14 AND SUBJ TO AVE LOT 15 BLK 1	Citywide Street Lighting	0.66	88.50	\$58.41	
296 Cecelia Pl				_	\$95.58	
St Paul MN 55105-2803		*** Owner and Taxpayer ***				
*296 CECELIA PL				_		
*Ward: 3		Total Ass			\$95.58	
*Pending as of: 8/21/2019		This Payr			\$0.00 \$0.00	
			Current Year Principal:			
			Current Year Interest:			
		Payoff A	nount:		\$95.58	
	SECTION 10 TOWN 28 RANGE 23 SUBJ	Street Sweeping - Commercial/Art				10-28-23-11-0324
Attn Tax Department	TO RD A 150 FT RR R/W ACROSS THE	Citywide Street Lighting	0.66	116.00	\$76.56	10-20-23-11-0324
120 S 6th St Flr 7	NE 1/4 OF NE 1/4 OF SEC 10 TN 28 RN 23			_	\$194.88	
Minneapolis MN 55402-1803		*** Owner and Taxpayer ***			Ψ171.00	
*1555 CUSHING CIR						
*Ward: 2		Total Ass	essment:		\$194.88	
*Pending as of: 8/21/2019		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$194.88	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Laura L Johnson	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0030
1103 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2831	NO 1103-EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1103 EDGCUMBE RD				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$3.06	
		This Payme			\$0.00	
		Current Yes	ar Principal:		\$0.00	
		Current Yes			\$0.00	
		Payoff Am	ount:		\$3.06	
Rodney P Bunker	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art Street Sweeping - Residential Stree	1.02 0.42	1.50 0.50	\$1.53 \$0.21	10-28-23-11-0033
Virginia M Zonki Bunker	NO 1109 - EDGCUMBE ROAD	Citywide Street Lighting	0.42	2.00	\$1.32	
1109 Edgcumbe Rd		Citywide Street Lighting	0.00	2.00		
St Paul MN 55105-2831		*** 0 1T ***			\$3.06	
*1109 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3		Total Asses	sement:	=	\$3.06	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$0.00	
			Current Year Principal:			
		Current Year Frincipa: Current Year Interest: Payoff Amount:			\$0.00 \$0.00	
					\$3.06	
		2 , y 2			45.00	
Malachy J Scanlan	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50		10-28-23-11-0035
Nancy C Scanlan	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1115 Edgcumbe Rd	NO 1115 - EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2831				_	\$3.06	
*1115 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3					***	
*Pending as of: 8/21/2019		Total Asses			\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Molly K Glewwe	WALTON HEIGHTS EX EDGCUMBE	Street Sweeping - Commercial/Art	1.02	44.00	\$44.88	10-28-23-14-0029
Christopher R Morrissette	RD LOT 32	Alley Sweeping	0.13	74.00	\$9.62	
1118 Edgcumbe Rd		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-2830				_	\$83.54	
*1118 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$83.54	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$83.54	
Brooks S Wuerdemann	WALTON HEIGHTS EX EDGCUMBE RD LOT 31	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-14-0028
1122 Edgcumbe Rd	RD EGT 31	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2830		Citywide Sileet Lighting	0.00	40.00		
*1122 EDGCUMBE RD		444.0			\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Fending as of. 6/21/2019		Total Assessment:			\$72.40	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Year Interest:		\$0.00		
		Payoff An	nount:		\$72.40	
Gene H Johnson	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0038
Linda S Paul	NO 1123 - EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1123 Edgcumbe Rd		Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2831					\$3.06	
*1123 EDGCUMBE RD *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$3.06	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$3.06	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Linda C Lee	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0039		
1125 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT NO 1125 - EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21			
St Paul MN 55105-2831	NO 1125 - EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32			
*1125 EDGCUMBE RD				=	\$3.06			
*Ward: 3		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019								
		Total Asse			\$3.06			
		This Paym			\$0.00			
			ar Principal:		\$0.00			
			ar Interest:		\$0.00			
		Payoff An	ount:		\$3.06			
Melinda K Schultz	WALTON HEIGHTS EX EDGCUMBE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-14-0027		
1126 Edgcumbe Rd	RD LOT 30	Alley Sweeping	0.13	40.00	\$5.20			
St Paul MN 55105-2830		Citywide Street Lighting	0.66	40.00	\$26.40			
*1126 EDGCUMBE RD				_	\$72.40			
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***						
rending as of. 6/21/2019		Total Assessment:			\$72.40			
		This Payment: Current Year Principal: Current Year Interest:			\$0.00			
					\$0.00			
					\$0.00			
		Payoff Am	ount:		\$72.40			
Kathleen W Mullarky	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0040		
1127 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT NO 1127 - EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21			
St Paul MN 55105-2831	No 1127 EBGCOMBE ROTE	Citywide Street Lighting	0.66	2.00	\$1.32			
*1127 EDGCUMBE RD				_	\$3.06			
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$3.06			
		This Paym			\$0.00			
			ar Principal:		\$0.00			
			ar Interest:		\$0.00			
		Payoff Am	ount:		\$3.06			

Owner or Taxpayer	Property Description	Item Description Resolution	Unit Rate	Quantity	Charge Amts	Property ID
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50		10-28-23-11-0046
1143 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree		0.50	\$0.21	10 20 25 11 00 10
St Paul MN 55105-2831	NO 1143 - EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1143 EDGCUMBE RD				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$3.06	
					\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$3.06	
Thomas G Peiffer Trustee	WALTON HEIGHTS EX EDGCUMBE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-14-0023
Joan M Peiffer Trustee	RD LOT 26	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 11 0020
1144 Edgcumbe Rd		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2830				_	\$72.40	
*1144 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Payr	nent:		\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff A	mount:		\$72.40	
			- — — — –			
Kathryn K Knippel	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0047
1145 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT NO 1145 - EDGCUMBE ROAD	Street Sweeping - Residential Street		0.50	\$0.21	
St Paul MN 55105-2831		Citywide Street Lighting	0.66	2.00	\$1.32	
*1145 EDGCUMBE RD				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$3.06	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$3.06	

		Ratification Date: Resolution	te: Resolution #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rosamond Z Ostendorf	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0048
David L Ostendorf	WILDER PARK CONDOMINIUM UNIT NO 1147 - EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1147 Edgcumbe Rd	NO 1147 - EDGCOMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2831				_	\$3.06	
*1147 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse			\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$3.06	
	WALTON HEIGHTS EX EDGCUMBE	Street Sweeping - Commercial/Art		80.00		10-28-23-14-0022
Adriana Lintereur	RD LOTS 24 AND LOT 25	Alley Sweeping	0.13	80.00	\$10.40	10 20 20 11 0022
1148 Edgcumbe Rd		Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2830				_	\$144.80	
*1148 EDGCUMBE RD *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$144.80	
_		This Paym	This Payment: Current Year Principal: Current Year Interest:		\$0.00	
		Current Ye			\$0.00	
		Current Yo			\$0.00	
		Payoff An	nount:		\$144.80	
Carole L Ashmore	WALTON HEIGHTS EX EDGCUMBE	Street Sweeping - Commercial/Art		40.00		
1156 Edgcumbe Rd	RD LOT 23	Alley Sweeping	0.13	40.00	\$5.20	10-26-25-14-0021
St Paul MN 55105-2830		Citywide Street Lighting	0.66	40.00	\$26.40	
*1156 EDGCUMBE RD				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ/2.40	
*Pending as of: 8/21/2019						
<i>5</i>		Total Asse	ssment:		\$72.40	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$72.40	

	Ratification Date: Resolution #:									
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID				
Bernard S Bachrach	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Ar		1.50	\$1.53	10-28-23-11-0053				
Deborah Y Bachrach	WILDER PARK CONDOMINIUM UNIT NO 1163 - EDGCUMBE ROAD	Street Sweeping - Residential Stre		0.50	\$0.21					
1163 Edgcumbe Rd	NO 1103 - EDOCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32					
St Paul MN 55105-2831				_	\$3.06					
*1163 EDGCUMBE RD		*** Owner and Taxpayer ***								
*Ward: 3										
*Pending as of: 8/21/2019			sessment:		\$3.06					
		This Pay			\$0.00					
			Year Principal:		\$0.00					
			Year Interest:		\$0.00					
		Payoff A	amount:		\$3.06					
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Ar	t			10-28-23-11-0059				
1171 Edgcumbe Rd Unit 1171	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stre		0.50	\$0.21	10-28-25-11-0037				
St Paul MN 55105-2831	NO 1171 - EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32					
*1171 EDGCUMBE RD				=	\$3.06					
*Ward: 3		*** Owner and Taxpayer ***								
*Pending as of: 8/21/2019		Total Assessment:			\$3.06					
		This Pay	This Payment:		\$0.00					
		Current Y	Current Year Principal:							
		Current Y	Current Year Interest:		\$0.00					
		Payoff A	amount:		\$3.06					
Jennifer Lee	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Ar Street Sweeping - Residential Stre		1.50 0.50	\$1.53 \$0.21	10-28-23-11-0061				
1173 Edgcumbe Rd	NO 1173 - EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32					
St Paul MN 55105-2831		eny was succe Eighting	0.00	=						
*1173 EDGCUMBE RD *Ward: 3		*** Owner and Taxpayer ***			\$3.06					
*Pending as of: 8/21/2019		Total Assessment:			\$3.06					
		This Pay			\$0.00					
			Year Principal:		\$0.00					
		Current Y	Year Interest:		\$0.00					
		Payoff A			\$3.06					

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary L Ries	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0063
1175 Edgcumbe Rd	WILDER PARK CONDOMINIUM UNIT NO 1175 - EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2831		Citywide Street Lighting	0.66	2.00	\$1.32	
*1175 EDGCUMBE RD					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ement.	=	\$3.06	
		This Payme			\$0.00	
		•	ar Principal:		\$0.00	
		Current Ye	_		\$0.00	
		Payoff Am			\$3.06	
Christine Leitner	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50		10-28-23-11-0225
1181 Edgcumbe Rd Unit 1008	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-20-23-11-0223
St Paul MN 55105-2826	NO 1008 & LOWER LEVEL GARAGE SPACE NO 118 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1008	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$3.06	
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
				\$0.00		
		Payoff Am	ount:		\$3.06	
Terrance J Kaase	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art				
1181 Edgcumbe Rd Unit 101	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-28-23-11-0083
St Paul MN 55105-2826	NO 101 & LOWER LEVEL GARAGE SPACE NO 28 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 101	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***			******	
*Pending as of: 8/21/2019		Total Asses	ement:	-	\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
			Current Year Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Resolution #:

Ratification Date:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 Robert W Hogseth APARTMENT OWNERSHIP NO 75 THE 10-28-23-11-0227 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 Street Sweeping - Residential Stree \$0.21 1181 Edgcumbe Rd Unit 1010 NO 1010 - 1181 EDGCUMBER ROAD Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2826 \$3.06 *1181 EDGCUMBE RD 1010 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$3.06 1.02 1.50 \$1.53 Street Sweeping - Commercial/Art Joseph Faschingbauer APARTMENT OWNERSHIP NO 75 THE 10-28-23-11-0229 WILDER PARK CONDOMINIUM UNIT 0.50 Street Sweeping - Residential Stree 0.42 \$0.21 1181 Edgcumbe Rd Unit 1012 NO 1012 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2835 SPACE NO 105 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 1012 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$3.06 APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 Scott Rosenberg 10-28-23-11-0232 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 \$0.21 Street Sweeping - Residential Stree 1181 Edgcumbe Rd #1016 NO 1016 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2835 SPACE NO 76 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 1016 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$3.06

Street Sweeping - Residential Stree 0.42 0.50 \$0.21	1181 Edgcumbe Rd Unit 105 St Paul MN 55105-2826		Street Sweeping - Commercial/Art				
St Paul MN 55105-2826 SPACE NO 39 - 1181 EDGCUMBE ROAD ST.32 ST.306 ST.3	St Paul MN 55105-2826	WILDER PARK CONDOMINITIM LINIT	1 8	1.02	1.50	\$1.53	10-28-23-11-0087
Street Lighting Street Sweeping - Commercial Art Street Sweeping - Commercial Street Sweeping - Residential Street Street S							
***Owner and Taxpayer *** *Pending as of: 8/21/2019 ***Owner and Taxpayer *** Total Assessment: This Payment: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: ***Owner and Taxpayer ***	*1181 EDGCUMBE RD 105	SPACE NO 39 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00		
*Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$3.06 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$3.06 Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 10-28-23-11-00: Street Sweeping - Residential Street 0.42 0.50 \$0.21 Citywide Street Lighting 0.66 2.00 \$1.32 ****Owner and Taxpayer *** ****Owner and Taxpayer *** Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00		ROAD				\$3.06	
Total Assessment: \$3.06			*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019		Total Assess	sment:	-	\$3.06	
Current Year Principal: S0.00						*	
Current Year Interest: Payoff Amount: S3.06			•			\$0.00	
Jennifer K Walter 1181 Edgcumbe Rd #106 St Paul MN 55105-2832 *1181 EDGCUMBE RD 106 *Ward: 3 *Pending as of: 8/21/2019 APARTMENT OWNERSHIP NO 75 THE Wilder PARK CONDOMINIUM UNIT NO 106 & UPPER LEVEL GARAGE SPACE NO 18 - 1181 EDGCUMBE ROAD Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 10-28-23-11-008 Street Sweeping - Residential Stree 0.42 0.50 \$0.21 Citywide Street Lighting 0.66 2.00 \$1.32 ***Owner and Taxpayer *** Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00						\$0.00	
1181 Edgcumbe Rd #106			Payoff Amo	ount:		\$3.06	
1181 Edgcumbe Rd #106							
No 106 & UPPER LEVEL GARAGE SPACE NO 18 - 1181 EDGCUMBE ROAD S1.32	Jennifer K Walter				1.50	\$1.53	10-28-23-11-0088
St Paul MN 55105-2832	1181 Edgcumbe Rd #106						
*Ward: 3 *Pending as of: 8/21/2019 *** Owner and Taxpayer *** Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00	St Paul MN 55105-2832		Citywide Street Lighting	0.66	2.00	\$1.32	
*Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00	*1181 EDGCUMBE RD 106	ROAD				\$3.06	
Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00			*** Owner and Taxpayer ***				
This Payment: \$0.00 Current Year Principal: \$0.00	*Pending as of: 8/21/2019		Total Assess	sment:	-	\$3.06	
Current Year Principal: \$0.00							
						\$0.00	
Current Year Interest: \$0.00			Current Year Interest:			\$0.00	
Payoff Amount: \$3.06			Payoff Amo		\$3.06		
Grayce S Mori APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 10-28-23-11-023	Grayce S Mori		Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0236
1181 Edgcumbe Rd Unit 1105 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Stree 0.42 0.50 \$0.21	1181 Edgcumbe Rd Unit 1105						
St Paul MN 55105-2835 SPACE NO 40 - 1181 EDGCUMBE Citywide Street Lighting 0.66 2.00 \$1.32	St Paul MN 55105-2835		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1105 ROAD \$3.06		ROAD				\$3.06	
*Ward: 3 *** Owner and Taxpayer ***			*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019 Total Assessment: \$3.06	"rending as of: 8/21/2019		Total Assess	sment:		\$3.06	
This Payment: \$0.00			This Payme	nt:		\$0.00	
Current Year Principal: \$0.00						\$0.00	
Current Year Interest: \$0.00			Current Yea	r Interest:		\$0.00	
Payoff Amount: \$3.06			Payoff Amo	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Palus	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0237
Deborah M Palus	WILDER PARK CONDOMINIUM UNIT NO 1106 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 1106	SPACE NO 39 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826	ROAD				\$3.06	
*1181 EDGCUMBE RD 1106		*** Owner and Taxpayer ***				
*Ward: 3				=	***	
*Pending as of: 8/21/2019		Total Asses			\$3.06	
		This Payme			\$0.00 \$0.00	
		Current Ye	ar Principal:		\$0.00	
		Payoff Am			\$3.06	
		rayon Am	ount.		33.00	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art				10-28-23-11-0239
1181 Edgcumbe Rd Unit 1180	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-20-23-11-0237
St Paul MN 55105-2826	NO 1108 & LOWER GARAGE SPACE NO 33 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1108	No 33 Tiol Ebdeembe Konb			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses	Total Assessment:		\$3.06	
		This Paymo			\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye		\$0.00		
		Payoff Am	ount:		\$3.06	
Jeffry K Quiggle	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art Street Sweeping - Residential Stree	1.02 0.42	1.50 0.50	\$1.53 \$0.21	10-28-23-11-0240
1181 Edgcumbe Rd Apt 1109 St Paul MN 55105-2826	NO 1109 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1109		, <u></u> gg			\$3.06	
*Ward: 3		*** Owner and Taxpayer ***			\$5.00	
*Pending as of: 8/21/2019						
reliating as of. 6/21/2017		Total Asses	ssment:	-	\$3.06	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alice G H H Cutrona Tr	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0243
7425 Pelican Bay Blvd Apt 1005	WILDER PARK CONDOMINIUM UNIT NO 1112 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
Naples FL 34108-8594	SPACE NO 114 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1112	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$3.06	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	— — _{1.02} —			10 20 22 11 0245
1181 Edgcumbe Rd #1115	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-28-23-11-0245
St Paul MN 55105-2826	NO 1115 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1115				=	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***			ψ3.00	
*Pending as of: 8/21/2019						
5		Total Asse	ssment:	_	\$3.06	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff An	nount:		\$3.06	
Frank C Dowding	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0091
1181 Edgcumbe Rd Unit 113	WILDER PARK CONDOMINIUM UNIT NO 113 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2832		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 113					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T . 1 A			\$3.06	
		Total Asse This Paym			\$3.06 \$0.00	
		-	ent: ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$3.06	
		1 11, 011 1111			40.00	

Item Description

Street Sweeping - Commercial/Art

Street Sweeping - Residential Stree

Citywide Street Lighting

*** Owner and Taxpayer ***

11:18:56 Owner or Taxpayer **Property Description** APARTMENT OWNERSHIP NO 75 THE Charles Barsness WILDER PARK CONDOMINIUM UNIT Patricia Barsness NO 115 & UPPER LEVEL GARAGE 5959 154th St W SPACE NO 31 - 1181 EDGCUMBE ROAD Prior Lake MN 55372-9753 *1181 EDGCUMBE RD 115 *Ward: 3 *Pending as of: 8/21/2019 Dennis A Nelson Sandra J Nelson 1181 Edgcumbe Rd 1202 ROAD St Paul MN 55105-2835

APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT NO 1202 & LOWER LEVEL GARAGE SPACE NO 72 - 1181 EDGCUMBE

Street Sweeping - Commercial/Art Street Sweeping - Residential Stree Citywide Street Lighting

Resolution #:

Total Assessment:

Current Year Principal:

Current Year Interest:

Pavoff Amount:

This Payment:

Unit Rate

1.02

0.42

0.66

Quantity

1.50

0.50

2.00

1.50

0.42 0.50 2.00 0.66

1.02

\$0.21 \$1.32

Charge Amts

\$1.53

\$0.21

\$1.32

\$3.06

\$3.06

\$0.00

\$0.00

\$0.00

\$3.06

\$1.53

\$3.06

\$3.06

\$0.00 \$0.00 10-28-23-11-0248

10-28-23-11-0249

Property ID

10-28-23-11-0093

Page 62

*1181 EDGCUMBE RD 1202

*Ward: 3

*Pending as of: 8/21/2019

*** Owner and Taxpayer ***

Total Assessment: This Payment: Current Year Principal: Current Year Interest:

\$0.00 **Payoff Amount:** \$3.06

Karren A Lewanovich Po Box 391 Ranier MN 56668-0391 *1181 EDGCUMBE RD 1203

Frank T Lewanovich Jr

APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT NO 1203 & LOWER LEVEL GARAGE SPACE NO 57 - 1181 EDGCUMBE ROAD

Street Sweeping - Residential Stree Citywide Street Lighting

1.02 1.50 \$1.53 0.42 0.50 \$0.21 0.66 2.00 \$1.32 \$3.06

*** Owner and Taxpayer ***

Street Sweeping - Commercial/Art

Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00

Current Year Interest: **Payoff Amount:**

\$0.00 \$3.06

*Ward: 3

*Pending as of: 8/21/2019

Owner or Townsyon	Duan outy Decarintian	Itom Description	II ".	Quantity	Chauga Amta	Duonouty ID
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Cynthia S Shiely	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0250
1181 Edgcumbe Rd Unit 1205	WILDER PARK CONDOMINIUM UNIT NO 1205 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 35 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1205	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$3.06	
Mary Sally Nunn	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0252
1181 Edgcumbe Rd Unit1207	WILDER PARK CONDOMINIUM UNIT NO 1207 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	No 1207 That 25 decim25 No 12	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1207					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	aamant.	=	\$3.06	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:			\$3.06	
		- , 0			42100	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0253
1181 Edcumbe Rd Unit 1208	WILDER PARK CONDOMINIUM UNIT NO 1208 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2842	NO 1206 - 1161 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1208					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$3.06	
		•				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard E Dahlin	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0254
1181 Edgcumbe Rd Unit 1209	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	NO 1209 & LOWER LEVEL GARAGE SPACE NO 43 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1209	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asses	sment:		\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Yes	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	
Leanne D Rice	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0255
1181 Edgcumbe Rd Unit 1210	NO 1210 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree Citywide Street Lighting	0.42 0.66	0.50 2.00	\$0.21 \$1.32	
St Paul MN 55105-2826		Citywide Street Lighting	0.00	2.00	•	
*1181 EDGCUMBE RD 1210		*** 0 17 ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 cliding as 01. 6/21/2019		Total Assessment:			\$3.06	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Year Interest:		\$0.00		
		Payoff Am	ount:		\$3.06	
Roy P Hodge	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0259
Marlys Hodge	WILDER PARK CONDOMINIUM UNIT NO 1215 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 1215		Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826					\$3.06	
*1181 EDGCUMBE RD 1215		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Assessment:			\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$3.06	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 APARTMENT OWNERSHIP NO 75 THE David A Asleson 10-28-23-11-0261 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 Street Sweeping - Residential Stree \$0.21 1181 Edgcumbe Rd Unit 1401 NO 1401 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2826 SPACE NO 21 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 1401 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$3.06 1.02 \$1.53 Street Sweeping - Commercial/Art 1.50 Jonathan Zats APARTMENT OWNERSHIP NO 75 THE 10-28-23-11-0262 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Stree 0.42 0.50 \$0.21 1181 Edgcumbe Rd # 1402 NO 1402 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2836 SPACE NO 73 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 1402 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$3.06 APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 Patricia A Hurley 10-28-23-11-0269 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 \$0.21 Street Sweeping - Residential Stree 1181 Edgcumbe Rd Unit 1410 NO 1410 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2826 SPACE NO 119 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 1410 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$3.06

•	• '	
	Ratification Date:	Resol

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William F Hueg Iii	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0276
Susan J Ingram Hueg	WILDER PARK CONDOMINIUM UNIT NO 1502 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 1502	SPACE NO 38 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826	ROAD				\$3.06	
*1181 EDGCUMBE RD 1502		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$3.06	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am	iount:		\$3.06	
Thomas C Slagerman	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0288
1181 Edgcumbe Rd Unit 1516	NO 1516 & LOWER LEVEL GARAGE	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	0.50 2.00	\$0.21 \$1.32	
St Paul MN 55105-2826	SPACE NO 19H - 1181 EDGCUMBE	Citywide Street Lighting	0.00	2.00		
*1181 EDGCUMBE RD 1516	ROAD	***			\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment.	=	\$3.06	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$3.06	
Meghan Marie Bondy	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0292
9113 Colt Ln	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
Annandale VA 22003-4058	NO 1605 & LOWER LEVEL GARAGE SPACE NO 115 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1605	ROAD			-	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$3.06	
		This Paym	ent:		\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mabel Pappenfus	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0293
1181 Edgeumbe Rd Unit 1606	WILDER PARK CONDOMINIUM UNIT NO 1606 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 35 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1606	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Yes			\$0.00	
		Payoff Am	ount:		\$3.06	
Tamara Boone	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0294
1181 Edgeumbe Rd Unit 1607	WILDER PARK CONDOMINIUM UNIT NO 1607 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 89 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1607	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$3.06	
		This Payme	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$3.06	
Timothy W Jorissen	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0299
1181 Edgcumbe Rd Unit 1612	WILDER PARK CONDOMINIUM UNIT NO 1612 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2837	SPACE NO 81 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1612	ROAD	*** Owner and Taxpayer ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 Chaing as 01. 0/21/2017		Total Asses	sment:		\$3.06	
		This Payme	nt:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Yes			\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Philip Platt	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0303
Christina Colwell	WILDER PARK CONDOMINIUM UNIT NO 1701 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 1701	SPACE NO 127 & 128 1181	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826	EDGCUMBE ROAD				\$3.06	
*1181 EDGCUMBE RD 1701		*** Owner and Taxpayer ***				
*Ward: 3		Total Asses	samont:	_ -	\$3.06	
*Pending as of: 8/21/2019		This Paymo			\$0.00	
		· ·	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am			\$3.06	
Maryanne Miller	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50		10-28-23-11-0311
1181 Edgcumbe Rd Unit 1715	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10 20 20 11 0011
St Paul MN 55105-2826	NO 1715 & LOWER LEVEL GARAGE SPACE NO 71 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 1715	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$3.06 \$0.00	
			This Payment:			
		Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
		Payoff Am			\$3.06	
		1 ayon Am	ount.		ψ5.00	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art				10-28-23-11-0101
1181 Edgcumbe Rd Unit 207	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-20-23-11-0101
St Paul MN 55105-2826	NO 207	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 207				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:		\$3.06	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Emma L Graham	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0103
1181 Edgcumbe Rd Unit 209	WILDER PARK CONDOMINIUM UNIT NO 209 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2832	SPACE NO 1	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 209					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$3.06	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$3.06	
Jacqueline R Mceiver	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0106
1181 Edgcumbe Rd Unit 212	WILDER PARK CONDOMINIUM UNIT NO 212 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2832	SPACE NO 42	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 212					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T + 1 A		=	#2.0 <i>C</i>	
		Total Asse			\$3.06	
		This Paym			\$0.00 \$0.00	
		Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$3.06	
		1 ayon An	iount.		\$3.00	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art				
1181 Edgeumbe Rd Unit 213	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-20-23-11-010/
St Paul MN 55105-2826	NO 213	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 213				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***			φ5.00	
*Pending as of: 8/21/2019		Total Asse	essment:	=	\$3.06	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$3.06	

Re

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elsie L Todd	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0108
1181 Edgcumbe Rd Unit 214	WILDER PARK CONDOMINIUM UNIT NO 214	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2832	NO 214	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 214				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$3.06	
		This Payme			\$0.00	
		Current Yea	_		\$0.00	
		Current Yea			\$0.00	
		Payoff Ame	ount:		\$3.06	
Rosalie Peterson	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0109
1181 Edgcumbe Rd Unit 215	NO 215 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree Citywide Street Lighting	0.42 0.66	0.50 2.00	\$0.21 \$1.32	
St Paul MN 55105-2832	SPACE NO 38 - 1181 EDGCUMBE	Citywide Street Lighting	0.00	2.00	· · · · · · · · · · · · · · · · · · ·	
*1181 EDGCUMBE RD 215	ROAD	**** 0 17 ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Teliding as of. 6/21/2019		Total Asses	sment:	=	\$3.06	
		This Payme	ent:		\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Ame	ount:		\$3.06	
Kathleen M Boehm	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0115
1181 Edgcumbe Rd #305	NO 305 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 17 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 305	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	=	\$3.06	
		This Payme			\$0.00	
		Current Yea			\$0.00	
		Current Yea	=		\$0.00	
		Payoff Amo			\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Bryan J Michael	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0118
7615 Garfield Ave Apt 1	WILDER PARK CONDOMINIUM UNIT NO 308 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
Richfield MN 55423-4156		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 308		***			\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	nt:		\$0.00	
		Current Yea	ır Principal:		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$3.06	
Douglas W Koons	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0122
Jane Koons	WILDER PARK CONDOMINIUM UNIT NO 312 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 312	SPACE NO 61 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2833	ROAD				\$3.06	
*1181 EDGCUMBE RD 312		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asses	sment:	=	\$3.06	
1 chang as 01. 6/21/2017		This Payme			\$0.00	
			Current Year Principal:			
		Current Year Interest:			\$0.00	
		Payoff Ame	ount:		\$3.06	
William J Ryan	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0126
1181 Edgcumbe Rd Unit 316	WILDER PARK CONDOMINIUM UNIT NO 316 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2833	SPACE NO 121 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 316	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$3.06	
		This Payme	nt:		\$0.00	
		Current Yea			\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Ame	ount:		\$3.06	

11:18:56	11/5/2019

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathleen S Haley	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0132
1181 Edgcumbe Rd Unit 406	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	NO 406 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 406				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asses	sment:		\$3.06	
		This Payme			\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$3.06	
Kenan B Stafford	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0133
1181 Edgcombe Rd Unit 407	NO 407 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2833		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 407					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$3.06	
Duane A Wackerfuss	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0134
Yumi M Wackerfuss	WILDER PARK CONDOMINIUM UNIT NO 408 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgecumbe Rd #408	SPACE NO 103 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826	ROAD			_	\$3.06	
*1181 EDGCUMBE RD 408 *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Page 72

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Della F Soderbeck	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0326
1181 Edgcumbe Rd Unit 413	WILDER PARK CONDOMINIUM UNIT NO 413 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 3 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 413				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Yes			\$0.00	
		Payoff Am	ount:		\$3.06	
Bernice I Vetsch	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art Street Sweeping - Residential Stree	1.02 0.42	1.50 0.50	\$1.53 \$0.21	10-28-23-11-0150
1181 Edgcumbe Unit 508	NO 508 & UPPER LEVEL GARAGE	Citywide Street Lighting	0.42	2.00	\$1.32	
St Paul MN 55105-2826	SPACE NO 6 - 1181 EDGCUMBE ROAD	City wide Street Eighting	0.00	=		
*1181 EDGCUMBE RD 508		*** Owner and Taxpayer ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as of. 6/21/2019		Total Asses	sment:	-	\$3.06	
		This Payme	ent:		\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	
Stephanie Wangen	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0151
1181 Edgcumbe Rd Unit 509	WILDER PARK CONDOMINIUM UNIT NO 509 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 509					\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					02.06	
		Total Asses			\$3.06	
		This Payme	ent: ar Principal:		\$0.00 \$0.00	
		Current Yes	=		\$0.00	
		Payoff Am			\$3.06	
		1 ayon Am	ount.		ψ5.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Marjorie A Bergeron	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0153
1181 Edgcumbe Rd Unit 511	WILDER PARK CONDOMINIUM UNIT NO 511 UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 36 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 511	ROAD	*** 0 1T ***			\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:		\$3.06	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	
Shawne E Rogers	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0161
1181 Edgcumbe Rd Unit 603	WILDER PARK CONDOMINIUM UNIT NO 603 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10 20 20 11 0101
St Paul MN 55105-2820 SPACE NO 10 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32		
*1181 EDGCUMBE RD 603	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ecment:	-	\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	_		\$0.00	
		Payoff Am	ount:		\$3.06	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0165
1181 Edgcumbe Rd Unit 607	WILDER PARK CONDOMINIUM UNIT NO 607 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 21 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 607	ROAD				\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	ssment:	-	\$3.06	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Adrene Snider	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0177
Co Meggan Johnson	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
3016 97th St W	NO 703 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
Bloomington MN 55431-2424				_	\$3.06	
*1181 EDGCUMBE RD 703		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
-		This Payme	ent:		\$0.00	
		Current Yes	ar Principal:		\$0.00	
		Current Yes	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	
						· — — — — — —
Barbara Gay Hill	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art Street Sweeping - Residential Stree	1.02 0.42	1.50 0.50	\$1.53 \$0.21	10-28-23-11-0178
1181 Edgcumbe Rd #704	NO 704 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.42	2.00	\$0.21 \$1.32	
St Paul MN 55105-2826		Citywide Street Lighting	0.00	2.00		
*1181 EDGCUMBE RD 704		**** 0 1.77 ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 on ang as on 0,21,201)		Total Asses	sment:	-	\$3.06	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	
Donald K Eddy	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0179
Jeannie M Eddy	NO 705 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 705	SPACE NO 4 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826					\$3.06	
*1181 EDGCUMBE RD 705 *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	ent:		\$0.00	
		Current Yes	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Mark Mcmahon APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 1181 Edgcumbe Rd Unit 706 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Street 0.42 0.50	\$1.53 10-28-23-11-0180
1181 Edggymbo P.d. Unit 706 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Street 0.42 0.50	
NO 700 0 LIDDED LEVEL CARACE	\$0.21
NO 706 & UPPER LEVEL GARAGE St Paul MN 55105-2826 SPACE NO 32 - 1181 EDGCUMBE Citywide Street Lighting 0.66 2.00	\$1.32
*1181 EDGCUMBE RD 706 ROAD	\$3.06
*Ward: 3 *** Owner and Taxpayer ***	
*Pending as of: 8/21/2019	
Total Assessment:	\$3.06
This Payment:	\$0.00
Current Year Principal:	\$0.00
Current Year Interest:	\$0.00
Payoff Amount:	\$3.06
Carl William Westin APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Street O 42 0.50	\$1.53 10-28-23-11-0181
1181 Edgcumbe Rd Unit 707 NO 707 - 1181 EDGCUMBE ROAD NO 707 - 1181 EDGCUMBE ROAD	\$0.21
St Paul MN 55105-2826 Citywide Street Lighting 0.66 2.00	\$1.32
*1181 EDGCUMBE RD 707	\$3.06
*Ward: 3 *** Owner and Taxpayer ***	
*Pending as of: 8/21/2019	22.06
Total Assessment:	\$3.06
This Payment:	\$0.00
Current Year Principal: Current Year Interest:	\$0.00 \$0.00
	\$3.06
Payoff Amount:	\$5.00
Tippy T Mcelroy APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50	\$1.53
1181 Edgcumbe Rd Unit 710 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Street 0.42 0.50	\$1.53 \$0.21
St Paul MN 55105-2826 No 710 - 1181 EDGCUMBE ROAD Citywide Street Lighting 0.66 2.00	\$1.32
*1181 EDGCUMBE RD 710	\$3.06
*Ward: 3 *** Owner and Taxpayer ***	\$5.00
*Pending as of: 8/21/2019	
Total Assessment:	\$3.06
This Payment:	\$0.00
Current Year Principal:	\$0.00
Current Year Interest:	\$0.00
Payoff Amount:	\$3.06

Owner or Terreror	Duon outre Dog	Ratification Date: Resolution		Oug-44-	Change A t-	Dug ID
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Mary Lu Rasmussen	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0188
Daniel J Gleason	WILDER PARK CONDOMINIUM UNIT NO 714 & LOWER LEVEL GARAGE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1181 Edgcumbe Rd Unit 714	SPACE NO 55 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2826	ROAD			_	\$3.06	
*1181 EDGCUMBE RD 714		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	nt:		\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Ame	ount:		\$3.06	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0190
1181 Edgcumbe Rd Unit 716	16 WILDER PARK CONDOMINIUM UNIT NO 716 & LOWER LEVEL GARAGE SPACE NO 9 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826		Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 716				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	=	\$3.06	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Yea	•		\$0.00	
		Payoff Ame			\$3.06	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0191
1181 Edgcumbe Rd Unit 801	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	NO 801 & LOWER LEVEL GARAGE SPACE NO 44 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 801	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme			\$0.00	
		•				
		Current Ve	ar Principal·		\$0.00	
		Current Yea	=		\$0.00 \$0.00	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 APARTMENT OWNERSHIP NO 75 THE Mark L Hillyer 10-28-23-11-0197 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 Street Sweeping - Residential Stree \$0.21 1181 Edgcumbe Rd #808 NO 808 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 St Paul MN 55105-2826 SPACE NO 46 - 1181 EDGCUMBE ROAD \$3.06 *1181 EDGCUMBE RD 808 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$3.06 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$3.06 1.02 \$1.53 Street Sweeping - Commercial/Art 1.50 Mark J Anderson APARTMENT OWNERSHIP NO 75 THE 10-28-23-11-0200 WILDER PARK CONDOMINIUM UNIT Street Sweeping - Residential Stree 0.42 0.50 \$0.21 Linda L Anderson NO 811 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 1181 Edgcumbe Rd Unit 811 SPACE NO 117 - 1181 EDGCUMBE ROAD St Paul MN 55105-2826 \$3.06 *** Owner and Taxpayer *** *1181 EDGCUMBE RD 811 *Ward: 3 Total Assessment: \$3.06 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$3.06 Joseph R Becker APARTMENT OWNERSHIP NO 75 THE Street Sweeping - Commercial/Art 1.02 1.50 \$1.53 10-28-23-11-0201 WILDER PARK CONDOMINIUM UNIT 0.42 0.50 \$0.21 Street Sweeping - Residential Stree Judith Z Becker NO 812 & LOWER LEVEL GARAGE Citywide Street Lighting 0.66 2.00 \$1.32 678 Snelling Ave S Apt 103 SPACE NO 42 - 1181 EDGCUMBE St Paul MN 55116-2293 ROAD \$3.06 *** Owner and Taxpayer *** *1181 EDGCUMBE RD 812 *Ward: 3 Total Assessment: \$3.06 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount:

\$3.06

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Duane A Wackerfuss	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0211
Yumi M Wackerfuss	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1016 Laurel Ave	NO 908 - 1181 EDGCUMBE ROAD	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55104-6536					\$3.06	
*1181 EDGCUMBE RD 908		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$3.06	
Margaret A Lapre Jolliffe	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0212
1181 Edgcumbe Rd Unit 909	NO 909 - 1181 EDGCUMBE ROAD	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	0.50 2.00	\$0.21 \$1.32	
St Paul MN 55105-2826		Citywide Street Lighting	0.00	2.00		
*1181 EDGCUMBE RD 909		*** 0 1T ***			\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	aamant:	- -	\$3.06	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$3.06	
		•				
Gerald Kvist	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0213
1181 Edgcumbe Rd Unit 910	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2826	NO 910 & LOWER LEVEL GARAGE SPACE NO 32 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD 910	ROAD			=	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$3.06	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$3.06	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert Arthur Roberto	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Ar		1.50	\$1.53	10-28-23-11-0327
1181 Edgcumbe Rd #211	WILDER PARK CONDOMINIUM UNIT NO 211 & UPPER LEVEL GARAGE	Street Sweeping - Residential Stre		0.50	\$0.21	
St Paul MN 55105-2826	SPACE NO 13 - 1181 EDGCUMBE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1181 EDGCUMBE RD G-13	ROAD			_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T + 1 A		=	#2.0 <i>C</i>	
		This Pay	sessment:		\$3.06 \$0.00	
			Ment: Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$3.06	
Daniel P Gooch	LEXINGTON PARK PLAT 6 EX	Street Sweeping - Commercial/Ar	t 1.02	52.00	\$53.04	10-28-23-14-0033
1196 Edgcumbe Rd	EDGCUMBE RD LOT 20 BLK 1	Alley Sweeping	0.13	52.00	\$6.76	
St Paul MN 55105-2907		Citywide Street Lighting	0.66	52.00	\$34.32	
*1196 EDGCUMBE RD				=	\$94.12	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chang as of. 6/21/2019		Total Ass	sessment:	=	\$94.12	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$94.12	
			 -			
Susanna Gibbons	LEXINGTON PARK PLAT 6 EX EDGCUMBE RD THE FOL S 39 FT OF	Street Sweeping - Commercial/Ar		65.00	\$66.30	10-28-23-14-0035
Michael Gibbons	LOT 2 AND EX S 26 FT LOT 3 BLK 2	Citywide Street Lighting	0.66	65.00	\$42.90	
1197 Edgcumbe Rd					\$109.20	
St Paul MN 55105-2908		*** Owner and Taxpayer ***				
*1197 EDGCUMBE RD *Ward: 3		Total Ass	sessment:	=	\$109.20	
*Pending as of: 8/21/2019		This Pays			\$0.00	
1 ording 45 of. 0/21/2017			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$109.20	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William L Charles	LEXINGTON PARK PLAT 6 EX	Street Sweeping - Commercial/Art	1.02	52.00	\$53.04	10-28-23-14-0031
Jean Charles	EDGCUMBE RD LOT 18 BLK 1	Alley Sweeping	0.13	52.00	\$6.76	
1202 Edgcumbe Rd		Citywide Street Lighting	0.66	52.00	\$34.32	
St Paul MN 55105-2907				_	\$94.12	
*1202 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$94.12	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$94.12	
Marcia A Cordes	LEXINGTON PARK PLAT 6 EX EDGCUMBE RD THE FOL S 13 FT OF	Street Sweeping - Commercial/Art	1.02	32.50	\$33.15	10-28-23-14-0037
1215 Edgcumbe Rd	LOT 4 AND ALL OF LOT 5 BLK 2	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	60.00 92.50	\$25.20 \$61.05	
St Paul MN 55105-2908		Citywide Street Lighting	0.00	92.30	-	
*1215 EDGCUMBE RD		***			\$119.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
2 8		Total Asse	ssment:		\$119.40	
		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$119.40	
		-				
Robert G Diebel	LEXINGTON PARK PLAT 6 EX EDGCUMBE RD LOT 3 BLK 3	Street Sweeping - Commercial/Art	1.02	54.00	\$55.08	10-28-23-14-0048
Alice M Diebel	EDGCUMBERD LOT 3 BLK 3	Alley Sweeping	0.13	54.00	\$7.02	
1229 Edgcumbe Rd		Citywide Street Lighting	0.66	54.00	\$35.64	
St Paul MN 55105-2910					\$97.74	
*1229 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$97.74	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	iount:		\$97.74	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul W Jones	LEXINGTON PARK PLAT 6 EX	Street Sweeping - Commercial/Art	1.02	27.00	\$27.54	10-28-23-14-0050
Anne C Jones	EDGCUMBE RD LOT 5 BLK 3	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	
1235 Edgcumbe Rd		Alley Sweeping	0.13	54.00	\$7.02	
St Paul MN 55105-2910		Citywide Street Lighting	0.66	87.00	\$57.42	
*1235 EDGCUMBE RD				_	\$117.18	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	aam anti		\$117.18	
		This Paym			\$0.00	
		-	ent. ear Principal:		\$0.00	
			ear Frincipai:		\$0.00	
		Payoff Am			\$0.00 \$117.18	
		rayon All	ount:		\$117.10	
	LEXINGTON PARK PLAT 6 EX	Street Sweeping - Commercial/Art		22.50	<u> </u>	10-28-23-14-0076
Sarah M Barnes	EDGCUMBE RD THE S 45 20/100 FT	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	10-28-23-14-00/0
1905 Palace Ave	OF LOT 17 BLK 4	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-1728		Citywide Street Lighting	0.66	82.50	\$54.45	
*1236 EDGCUMBE RD				_	\$108.45	
*Ward: 3		*** Owner and Taxpayer ***			\$100.43	
*Pending as of: 8/21/2019						
C		Total Asse	ssment:		\$108.45	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$108.45	
Timothy W Jenum	LEXINGTON PARK PLAT 7 EX	Street Sweeping - Commercial/Art	1.02	54.00	\$55.08	10-28-23-14-0114
Sandra J Jenum	EDGCUMBE RD LOT 19 BLK 1	Alley Sweeping	0.13	54.00	\$7.02	
1254 Edgcumbe Rd		Citywide Street Lighting	0.66	54.00	\$35.64	
St Paul MN 55105-2911				_	\$97.74	
*1254 EDGCUMBE RD *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$97.74	
		This Payme			\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$97.74	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael F Bausch	LEXINGTON PARK PLAT 7 EX	Street Sweeping - Commercial/Ar		26.50	\$27.03	10-28-23-14-0160
1270 Edgcumbe Rd	EDGCUMBE RD LOT 17 BLK 4	Street Sweeping - Residential Stre		60.00	\$25.20	
St Paul MN 55105-2913		Alley Sweeping	0.13	53.00	\$6.89	
*1270 EDGCUMBE RD		Citywide Street Lighting	0.66	86.50	\$57.09	
*Ward: 3				_	\$116.21	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Ass	essment:		\$116.21	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$116.21	
Jeffrey R King	HOWARD GREENE ADDITION, ST.	Street Sweeping - Commercial/Ar	1.02	195.00	\$198.90	10-28-23-41-0007
1298 Edgcumbe Rd	PAUL, MINN. LOT 8 AND SUBJ TO EDGCUMBE RD LOT 9	Alley Sweeping	0.13	58.00	\$7.54	
St Paul MN 55105-2993	EDOCUMBE RD LOT 9	Citywide Street Lighting	0.66	195.00	\$128.70	
*1298 EDGCUMBE RD				_	\$335.14	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$335.14	
		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$335.14	
Laura J Warner	HOWARD GREENE ADDITION, ST.	Street Sweeping - Commercial/Ar		62.00	\$63.24	10-28-23-41-0009
1308 Edgcumbe Rd	PAUL, MINN. SUBJ TO RD THE N 62 O4/100 FT OF FOL LOTS 10 11 12	Alley Sweeping	0.13	136.00	\$17.68	
St Paul MN 55116-1723	AND W 30 FT OF LOT 13 ALSO EX E 2	Citywide Street Lighting	0.66	62.00	\$40.92	
*1308 EDGCUMBE RD	FT AND EX W 30 FT THE N 58 O4/100 FT OF SD LOT 13	*** Owner and Taxpayer ***			\$121.84	
*Ward: 3 *Pending as of: 8/21/2019						
		Total Ass	essment:		\$121.84	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$121.84	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Courtney E Cloud	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art	1.02	62.00	\$63.24	10-28-23-41-0071
Sarah E Cloud	BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential Stree	0.42	33.50	\$14.07	
1315 Edgcumbe Rd	PARK PLAT 10 E 4 5/10 FT OF S 65 FT OF LOT 15 AND SUBJ TO RD LOT 16	Alley Sweeping	0.13	47.00	\$6.11	
St Paul MN 55116-1724	BLK 1	Citywide Street Lighting	0.66	95.50	\$63.03	
*1315 EDGCUMBE RD				_	\$146.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-	******	
		Total Asses			\$146.45	
		This Payme			\$0.00	
		Current Yea	=		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$146.45	
Bret Hilde	AUDITOR'S SUBDIVISION NO. 88 ST.	Street Sweeping - Commercial/Art	1.02	30.00	\$30.60	10-28-23-41-0118
1330 Edgcume Rd	PAUL, MINN. VAC ALLEY PLATTED	Street Sweeping - Residential Stree	0.42	5.50	\$2.31	
St Paul MN 55116-1780	AS LOT 10 ADJ & LOT 3	Citywide Street Lighting	0.66	35.50	\$23.43	
*1330 EDGCUMBE RD				_	\$56.34	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses			\$56.34	
		This Payme			\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Amo	ount:		\$56.34	
Tory Lynn Smith	VINCENT'S ADDITION LOT 2	Street Sweeping - Commercial/Art	1.02	30.00	\$30.60	10-28-23-41-0089
1337 Edgcumbe Rd		Street Sweeping - Residential Stree	0.42	44.00	\$18.48	
St Paul MN 55116-1782		Citywide Street Lighting	0.66	74.00	\$48.84	
*1337 EDGCUMBE RD				_	\$97.92	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asses			\$97.92	
		This Payme			\$0.00	
		Current Yea	=		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$97.92	

			Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Matthew Sargent	AUDITOR'S SUBDIVISION NO. 88 ST.	Street Sweeping - Commercial/A		70.00	\$71.40	10-28-23-41-0041
Wendy Sargent	PAUL, MINN. LOT 8	Alley Sweeping	0.13	60.00	\$7.80	
1360 Edgcumbe Rd		Citywide Street Lighting	0.66	70.00	\$46.20	
St Paul MN 55116-1780		*** 0 1 T ***			\$125.40	
*1360 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	-	\$125.40	
Toliania as off. 0/21/2019		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$125.40	
Stephen D Hinze	LEXINGTON PARK PLAT 3 LOT 1	Street Sweeping - Commercial/A		34.00	\$34.68	10-28-23-41-0101
Margaret A Donohue	BLK 2	Street Sweeping - Residential Str		89.00	\$37.38	
1371 Edgcumbe Rd		Alley Sweeping	0.13	68.00	\$8.84	
St Paul MN 55116-1725		Citywide Street Lighting	0.66	123.00	\$81.18	
*1369 EDGCUMBE RD					\$162.08	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***		_		
		Total As	ssessment:	_	\$162.08	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$162.08	
Thomas C Peterson Trustee	LEXINGTON PARK PLAT 3 LOT 2 BLK 2	Street Sweeping - Commercial/A Alley Sweeping	rt 1.02 0.13	68.00 68.00	\$69.36 \$8.84	10-28-23-41-0102
Mary C Peterson Trustee		Citywide Street Lighting	0.66	68.00	\$44.88	
1377 Edgcumbe Rd St Paul MN 55116-1725		City wide Succe Digiting	0.00	=	\$123.08	
*1377 EDGCUMBE RD		*** Owner and Taxpayer ***			\$123.08	
*Ward: 3		Total A	ssessment:	=	\$123.08	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$123.08	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cynthia E Adelson	LEXINGTON PARK PLAT 3 LOT 4 BLK	Street Sweeping - Commercial/Art	1.02	34.00	\$34.68	10-28-23-41-0113
1391 Edgcumbe Rd	2	Street Sweeping - Residential Stree	0.42	89.00	\$37.38	
St Paul MN 55116-1725		Alley Sweeping	0.13	68.00	\$8.84	
*1391 EDGCUMBE RD		Citywide Street Lighting	0.66	123.00	\$81.18	
*Ward: 3				=	\$162.08	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	-	\$162.08	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$162.08	
	- — — — — — — — —					
Rolf E Middleton	GILBERT'S MONTCALM PLACE LOT	Street Sweeping - Commercial/Art	1.02	75.00	\$76.50	10-28-23-44-0017
Karen M Middleton	3 BLK 2	Citywide Street Lighting	0.66	75.00	\$49.50	
1406 Edgcumbe Rd				=	\$126.00	
St Paul MN 55116-1726		*** Owner and Taxpayer ***				
*1406 EDGCUMBE RD				_		
*Ward: 3		Total Asse	ssment:		\$126.00	
*Pending as of: 8/21/2019		This Paym			\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Am	nount:		\$126.00	
Karen A Mesce	GILBERT'S MONTCALM PLACE LOT 1 BLK 2	Street Sweeping - Commercial/Art	1.02	75.00	\$76.50	10-28-23-44-0015
1416 Edgcumbe Rd	I DLK 2	Citywide Street Lighting	0.66	75.00	\$49.50	
St Paul MN 55116-1726				_	\$126.00	
*1416 EDGCUMBE RD *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$126.00	
J		This Paym	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$126.00	

Owner or Taxpayer	Property Description	Item Description	<u>Un</u>	it Rate	Quantity	Charge Amts	Property ID
Grant D Fairbairn Kara K Fairbairn	SUBDIVISION OF BLOCK 2, LEXINGTON PARK PLAT 5 LOT 2 BLK 2	Street Sweeping - Commerc Citywide Street Lighting	cial/Art	1.02 0.66	68.00 68.00	\$69.36 \$44.88	10-28-23-44-0041
1427 Edgcumbe Rd St Paul MN 55116-1777	BLK 2	*** Owner and Taxpayer **	**			\$114.24	
*1427 EDGCUMBE RD		Owner and Taxpayer					
*Ward: 3		Tot	tal Assessment	:	_	\$114.24	
*Pending as of: 8/21/2019		Thi	is Payment:			\$0.00	
		Cu	ırrent Year Prin	cipal:		\$0.00	
		Cu	irrent Year Inte	rest:		\$0.00	
		Pay	yoff Amount:			\$114.24	
Andrew T Pilney	GILBERT'S MONTCALM PLACE LOT	Street Sweeping - Commerc	cial/Art	1.02	75.00	\$76.50	10-28-23-44-0002
1436 Edgcumbe Rd	2 BLK 1	Citywide Street Lighting		0.66	75.00	\$49.50	
St Paul MN 55116-1726						\$126.00	
*1436 EDGCUMBE RD		*** Owner and Taxpayer **	**				
*Ward: 3		T	tal Assessment		_	\$126.00	
*Pending as of: 8/21/2019				:		\$126.00	
		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:				\$0.00	
						\$0.00	
						\$126.00	
Jacque J Rooney	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commerc	ial/Art	1.02	23.00	\$23.46	10-28-23-44-0092
1475 Edgcumbe Rd	E 10 FT OF VAC ALLEY ADJ AND EX EDGCUMBE RD LOT 1 BLK 6	Street Sweeping - Residentia	al Stree	0.42	82.50	\$34.65	
St Paul MN 55116-1702	EDGCOMBE RD EO1 1 BER 0	Citywide Street Lighting		0.66	105.50	\$69.63	
*1475 EDGCUMBE RD						\$127.74	
*Ward: 3		*** Owner and Taxpayer **	**				
*Pending as of: 8/21/2019		Tot	otal Assessment	:	_	\$127.74	
		Thi	is Payment:			\$0.00	
		Cu	ırrent Year Prin	cipal:		\$0.00	
		Cu	irrent Year Inte	rest:		\$0.00	
		Pay	yoff Amount:			\$127.74	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine C Benassi	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/A	rt 1.02	72.00	\$73.44	10-28-23-44-0093
1481 Edgcumbe Rd	SUBJ TO EDGCUMBE RD E 1/2 OF VAC ALLEY ADJ AND EX S 20 FT LOT 3	Citywide Street Lighting	0.66	72.00	\$47.52	
St Paul MN 55116-1702	AND ALL OF LOT 2 BLK 6			=	\$120.96	
*1481 EDGCUMBE RD		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$120.96	
		This Pa			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$120.96	
Marianne C Dangelo	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/A		92.00	\$93.84	10-28-23-44-0090
1486 Edgcumbe Rd	EX EDGCUMBE RD LOTS 9 AND LOT 10 BLK 5	Alley Sweeping	0.13	90.00	\$11.70	
St Paul MN 55116-1779	10 5511 5	Citywide Street Lighting	0.66	92.00	\$60.72	
*1486 EDGCUMBE RD					\$166.26	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019			ssessment:	\$166.26		
		This Pa	yment:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:		\$0.00		
		Payoff .	Amount:		\$166.26	
	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/A	rt			10-28-23-44-0095
Margaret A Burt	E 10 FT OF VAC ALLEY ADJ AND EX	Citywide Street Lighting	0.66	101.50	\$66.99	10-20-23-44-0093
1491 Edgcumbe Rd	EDGCUMBE RD LOTS 5 AND LOT 6	, , , , , ,		_	\$170.52	
St Paul MN 55116-1702	BLK 6	*** Owner and Taxpayer ***			\$170.52	
41491 EDGCUMBE RD		Owner and Taxpayer				
Ward: 3		Total A	ssessment:	-	\$170.52	
*Pending as of: 8/21/2019		This Pa			\$0.00	
1 Chang as 01. 0/21/2017			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$170.52	
		rayon	amvant.		\$1/0.32	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Maxine J Coty	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential St	ree 0.42	64.00	\$26.88	10-28-23-44-0075
1205 Eleanor Ave	COUNTY, MINNESOTA VAC ALLEY IN DOC 2171391 ACCRUING & FOL;	Alley Sweeping	0.13	138.00	\$17.94	
St Paul MN 55116-1705	E1/2 OF LOT 9 & ALL OF LOT 8 BLK	Citywide Street Lighting	0.66	64.00	\$42.24	
*1205 ELEANOR AVE	6			_	\$87.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$87.06	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$87.06	
Ruth M Janke	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential St				
1235 Eleanor Ave	COUNTY, MINNESOTA LOT 27 BLK 7	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-43-0136
St Paul MN 55116-1707		Citywide Street Lighting	0.66	40.00	\$26.40	
*1235 ELEANOR AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			φ τ 0. τ 0	
*Pending as of: 8/21/2019		1 7				
2		Total A	Assessment:	=	\$48.40	
		This Pa	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Curren				
		Curren				
		Payoff				
Jacqueline L Zimmerman	WOODFORD PARK, ST. PAUL, MINN. LOT 6 BLK 7	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-43-0174
1242 Eleanor Ave	LOI OBLK /	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1706		Citywide Street Lighting	0.66	40.00	\$26.40	
*1242 ELEANOR AVE		**** 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total /	Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
			Amount:		\$48.40	
		v				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kelly Trewartha	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-43-0177
Kerry Casey	LOT 9 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1254 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1706				_	\$48.40	
*1254 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
		Payoff A	ear Interest:		\$0.00	
		гауоп А	mount:		\$48.40	
Patrick J Schweiger	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stre		40.00		10-28-23-43-0234
1256 Eleanor Ave	LOT 10 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-43-0234
St Paul MN 55116-1706		Citywide Street Lighting	0.66	40.00	\$26.40	
*1256 ELEANOR AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$48.40	
		This Pay	This Payment: Current Year Principal: Current Year Interest:			
		Payoff A	mount:		\$48.40	
	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential Stre		40.00		10-28-23-43-0127
1269 Eleanor Ave	COUNTY, MINNESOTA LOT 18 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-43-012/
St Paul MN 55116-1707		Citywide Street Lighting	0.66	40.00	\$26.40	
*1269 ELEANOR AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ10.10	
*Pending as of: 8/21/2019		• •				
		Total Ass	essment:	-	\$48.40	
		This Pay	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** WOODFORD PARK, ST. PAUL, MINN. Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Heidi Seaton 10-28-23-43-0180 LOT 13 BLK 7 0.13 40.00 Alley Sweeping \$5.20 1270 Eleanor Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1706 \$48.40 *1270 ELEANOR AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 82.50 \$34.65 Street Sweeping - Residential Stree 0.42 Patrick D S Branigan WOODFORD PARK, ST. PAUL, MINN. 10-28-23-43-0182 LOT 15 BLK 7 Alley Sweeping 0.13 40.00 \$5.20 Patrice Schober-Branigan Citywide Street Lighting 0.66 82.50 \$54.45 1276 Eleanor Ave St Paul MN 55116-1706 \$94.30 *** Owner and Taxpayer *** *1276 ELEANOR AVE *Ward: 3 Total Assessment: \$94.30 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$94.30 82.00 Steven J Liljedahl LEXINGTON PARK PLAT 11, RAMSEY Street Sweeping - Residential Stree 0.42 \$34.44 10-28-23-43-0168 COUNTY, MINNESOTA LOT 30 BLK 8 0.13 39.00 \$5.07 Alley Sweeping Denise L Liljedahl Citywide Street Lighting 0.66 82.00 \$54.12 1281 Eleanor Ave St Paul MN 55116-1709 \$93.63 *** Owner and Taxpayer *** *1281 ELEANOR AVE *Ward: 3 Total Assessment: \$93.63 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$93.63

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
William H Nelson	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residentia	1 Streε 0.42	40.00	\$16.80	10-28-23-43-0199
Jane M Weis	LOT 2 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1284 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1708				_	\$48.40	
*1284 ELEANOR AVE		*** Owner and Taxpayer ***	*			
*Ward: 3						
*Pending as of: 8/21/2019		Tota	al Assessment:		\$48.40	
		This	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$48.40	
	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residentia	1 Streε 0.42	40.00	<u>\$16.80</u>	10-28-23-43-0166
1291 Eleanor Ave	COUNTY, MINNESOTA LOT 28 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-43-0100
St Paul MN 55116-1709		Citywide Street Lighting	0.66	40.00	\$26.40	
*1291 ELEANOR AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***	*		ψ10.10	
*Pending as of: 8/21/2019				_		
ç		Tota	al Assessment:	-	\$48.40	
		This	s Payment:		\$0.00	
		Cur	rent Year Principal:	\$0.00		
		Cur	Current Year Interest:			
		Pay	off Amount:		\$48.40	
William T Wengler	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential	1 Streε 0.42	80.00	\$33.60	10-28-23-43-0164
1303 Eleanor Ave	COUNTY, MINNESOTA LOTS 25 & LOT	Alley Sweeping	0.13	80.00	\$10.40	10 20 20 10 0101
St Paul MN 55116-1709	26 BLK 8	Citywide Street Lighting	0.66	80.00	\$52.80	
*1303 ELEANOR AVE				_	\$96.80	
*Ward: 3		*** Owner and Taxpayer ***	*			
*Pending as of: 8/21/2019						
			al Assessment:		\$96.80	
		This	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$96.80	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathleen K Slagerman	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0203
Scott P Slagerman	LOT 7 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1306 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1708				_	\$48.40	
*1306 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
David L Ehren	WOODFORD PARK, ST. PAUL, MINN. LOT 8 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0204
Christine Oinonen Ehren	LUI OBLK O	Alley Sweeping	0.13	40.00	\$5.20	
1310 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1708					\$48.40	
*1310 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff Am	ount:		\$48.40	
Roger A Perrault	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stree		40.00		10-28-23-43-0205
Erika K Perrault	LOT 9 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0200
1314 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1708				_	\$48.40	
*1314 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
-		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jane L Gmur	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0206
1318 Eleanor Ave	LOT 10 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1708		Citywide Street Lighting	0.66	40.00	\$26.40	
*1318 ELEANOR AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Rebecca L Connolly	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 20 BLK 8	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-43-0159
1321 Eleanor Ave		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55116-1709		City wide Street Lighting	0.00	+0.00	<u> </u>	
*1321 ELEANOR AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 mang as on 0/21/2019		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Ye	ear Principal:	\$0.00		
		Current Ye	ear Interest:	\$0.00		
		Payoff An	ount:		\$48.40	
Ryan Merker	WOODFORD PARK, ST. PAUL, MINN. LOT 13 BLK 8	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0209
Wolf Merker	LOI 13 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
1330 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1708					\$48.40	
*1330 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00 \$48.40	
		Payoff An	iount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy J Whaley	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre	0.42	41.00		10-28-23-34-0076
Carmella D Whaley	ST. PAUL LOT 27 BLK 4	Alley Sweeping	0.13	41.00	\$5.33	10 20 20 01 00/0
1369 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-2230				_	\$49.61	
*1369 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$49.61	
-		This Pay	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$49.61	
	VENOR CENT A PROTECTION TO	Start Same in Decidential Start				· — — — — -
Douglas C Rositzke	KENSINGTON PARK ADDITION TO ST. PAUL EX E 20 FT LOT 8 AND ALL	Street Sweeping - Residential Stre Alley Sweeping	0.42	61.00 61.00	\$25.62 \$7.93	10-28-23-34-0086
1378 Eleanor Ave	OF LOT 9 BLK 5	Citywide Street Lighting	0.13	61.00	\$7.93 \$40.26	
St Paul MN 55116-2229		Citywide Street Lighting	0.00	01.00 =		
*1378 ELEANOR AVE		*** 0 1.T ***			\$73.81	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chang as of. (721/2017)		Total Ass	essment:	\$73.81		
		This Pay	ment:	\$0.00		
			ear Principal:	\$0.00		
		Current Y	ear Interest:	\$0.00		
		Payoff A	mount:		\$73.81	
			- — — -			
Sean C Deegan	KENSINGTON PARK ADDITION TO ST. PAUL LOT 10 BLK 5	Street Sweeping - Residential Stre		41.00	\$17.22	10-28-23-34-0087
Charice L Deegan	SI. FAUL LOT TO BLK 3	Alley Sweeping	0.13	41.00	\$5.33	
1382 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-2229					\$49.61	
*1382 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$49.61	
-		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$49.61	

11:18:50 11/5/2019	Public Improvement Assessment	• • • • • • • • • • • • • • • • • • • •	Ratification Date: Resolution #:			Page	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>	
Ryan Bleu Burke	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	41.00		10-28-23-34-0071	
Sarah Jean Burke	ST. PAUL LOT 22 BLK 4	Alley Sweeping	0.13	41.00	\$5.33		
1387 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06		
St Paul MN 55116-2230				=	\$49.61		
*1387 ELEANOR AVE		*** Owner and Taxpayer ***					
*Ward: 3							
*Pending as of: 8/21/2019		Total Asses			\$49.61		
		This Paymo			\$0.00		
			ar Principal:		\$0.00		
		Current Ye			\$0.00		
		Payoff Am	iount:		\$49.61		
	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree		41.00		10-28-23-34-0070	
Christina Cipolle	ST. PAUL LOT 21 BLK 4	Alley Sweeping	0.13	41.00	\$5.33	10 20 20 0 1 00 7 0	
1391 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06		
St Paul MN 55116-2230				_	\$49.61		
*1391 ELEANOR AVE *Ward: 3		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2019		Total Assessment: \$49.61					
		This Paymo			\$0.00		
			ar Principal:		\$0.00		
		Current Ye			\$0.00		
		Payoff Am	iount:		\$49.61		
Elizabeth W Sutmar	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree		41.00		10-28-23-34-0090	
1394 Eleanor Ave	ST. PAUL LOT 13 BLK 5	Alley Sweeping	0.13	41.00	\$5.33	_0 _0 _0 _0 0 . 0 0 / 0	
St Paul MN 55116-2229		Citywide Street Lighting	0.66	41.00	\$27.06		
*1394 ELEANOR AVE				=	\$49.61		
*Ward: 3		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2019		Total Asses	ssment:		\$49.61		
		This Paymo	ent:		\$0.00		
		Current Ye	ar Principal:		\$0.00		
			_				

Current Year Interest:

Payoff Amount:

\$0.00 \$49.61

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John E Crowley	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	41.00	\$17.22	10-28-23-34-0069
Lori A Crowley	ST. PAUL LOT 20 BLK 4	Alley Sweeping	0.13	41.00	\$5.33	
1395 Eleanor Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-2230				_	\$49.61	
*1395 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$49.61	
C		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$49.61	
Kate Susan Latimer Courtney	KENSINGTON PARK ADDITION TO ST. PAUL LOT 14 BLK 5	Street Sweeping - Residential Stree	0.42	83.00	\$34.86	10-28-23-34-0091
Vincent Joseph Courtney	SI. PAUL LUI 14 BLK 3	Alley Sweeping	0.13	41.00	\$5.33	
1398 Eleanor Avenue		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55116-2229					\$94.97	
*1398 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses			\$94.97	
		This Payme			\$0.00	
			ar Principal:	\$0.00		
		Current Ye		\$0.00		
		Payoff Am	ount:		\$94.97	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree		40.00		10-28-23-34-0186
Lisa M Sem	ST. PAUL LOT 2 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-34-0100
1408 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2231				_	\$48.40	
*1408 ELEANOR AVE		*** Owner and Taxpayer ***			4.0	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
5		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:	Resolution #:
--------------------	---------------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David C Austin	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-34-0182
Susan S Austin	ST. PAUL LOT 28 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1411 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2232				<u>—</u>	\$48.40	
*1411 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
_		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
Paul Steiner	KENSINGTON PARK ADDITION TO ST. PAUL LOT 4 BLK 6	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-34-0188
Sheila Steiner	SI. PAUL LUI 4 BLK 0	Alley Sweeping	0.13	40.00	\$5.20	
1416 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2231					\$48.40	
*1416 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
Amy J Nesset	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Str	rec 0.42	60.00		
Joel D Nesset	ST. PAUL E 30 FT OF LOT 7 AND EX E	Alley Sweeping Residential Str	0.13	60.00	\$7.80	10-28-23-34-0190
1424 Eleanor Av	10 FT LOT 6 BLK 6	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-2231		, , , ,		_	\$72.60	
*1424 ELEANOR AVE		*** Owner and Taxpayer ***			\$72.00	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$72.60	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elspeth Weis	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0178
Adam Weis	ST. PAUL LOT 24 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1427 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2232				_	\$48.40	
*1427 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Norman M Scottrussell	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0176
Wallis A Scottrussell	ST. PAUL LOT 22 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1435 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2232				_	\$48.40	
*1435 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Payme			\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Ethan Anderson	KENSINGTON PARK ADDITION TO ST. PAUL LOT 10 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0193
Cari Jo Anderson	SI.THOLLOT TO BER	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1438 Eleanor Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-2231					\$48.40	
*1438 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Janice K Myers	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0196
1448 Eleanor Ave	ST. PAUL LOT 13 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2231		Citywide Street Lighting	0.66	40.00	\$26.40	
*1448 ELEANOR AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssmont:	=	\$48.40	
		This Paym			\$0.00	
			ent: ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$0.00 \$48.40	
Sean P Cole Tanya L Cole 1449 Eleanor Ave	KENSINGTON PARK ADDITION TO ST. PAUL LOT 18 BLK 3	Street Sweeping - Residential Stree Alley Sweeping Citywide Street Lighting	0.42 0.13 0.66	40.00 40.00 40.00	\$16.80 \$5.20 \$26.40	10-28-23-34-0173
St Paul MN 55116-2232		, , , , , , , , , , , , , , , , , , , ,		=	\$48.40	
*1449 ELEANOR AVE		*** Owner and Taxpayer ***			\$10.10	
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
		This Payment:			\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Craig A Paulson	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree				10 20 22 24 0152
_	ST. PAUL LOT 17 BLK 3	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-34-0172
Kirstin R Steingruebl 1453 Eleanor Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2232		, 6 6		=	\$48.40	
*1453 ELEANOR AVE		*** Owner and Taxpayer ***			ψ 1 0.40	
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount.		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
ames V Webster	SECTION 10 TOWN 28 RANGE 23 W 47	Street Sweeping - Residential Stre	0.42	84.50	\$35.49	10-28-23-33-0126
460 Eleanor Av	FT OF E 77 FT OF PART S OF ELEANOR	Alley Sweeping	0.13	47.00	\$6.11	
st Paul MN 55116	AVE AND N OF ALLEY OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 RN 23	Citywide Street Lighting	0.66	84.50	\$55.77	
1460 ELEANOR AVE				_	\$97.37	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total As	sessment:	-	\$97.37	
		This Pay			\$0.00	
		·	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$97.37	
45 North Investment Properties Llc	SECTION 10 TOWN 28 RANGE 23 EX	Street Sweeping - Residential Stre		- 46. 00		
11190 Sandcastle Dr Unit E	W 47 FT AND EX E 171 FT PART S OF	Alley Sweeping	0.13	46.00	\$5.98	10-28-23-33-0129
St Paul MN 55129-8616	ELEANOR AVE AND N OF ALLEY OF	Citywide Street Lighting	0.66	46.00	\$30.36	
	E 264 FT OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 RN 23			_	\$55.66	
*1476 ELEANOR AVE *Ward: 3	10 111 20 KH 25	*** Owner and Taxpayer ***			\$33.00	
*Pending as of: 8/21/2019						
			sessment:		\$55.66	
			This Payment: Current Year Principal:			
		Current '				
		Current '	Year Interest:		\$0.00	
		Payoff A	mount:		\$55.66	
ane F Campbell	SECTION 10 TOWN 28 RANGE 23 EX E 171 FT PART N OF ELEANOR AVE	Street Sweeping - Residential Stre		93.00	\$39.06	10-28-23-33-0122
477 Eleanor Ave	AND S OF EXTENDED S L OF ALLEY	Alley Sweeping	0.13	93.00	\$12.09	
st Paul MN 55116-2234	IN HARKNESS SUNNYSLOPE OF E	Citywide Street Lighting	0.66	93.00	\$61.38	
1477 ELEANOR AVE	264 FT OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 RN 23				\$112.53	
Ward: 3	1 N 28 KN 23	*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total As	sessment:	-	\$112.53	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
					*	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sharon M Berven	HARKNESS SUNNYSLOPE E 16 FT OF	Street Sweeping - Residential Str	<u>e</u> ε 0.42	46.00	\$19.32	10-28-23-33-0120
1493 Eleanor Ave	LOT 23 AND W 30 FT OF LOT 22	Alley Sweeping	0.13	46.00	\$5.98	
St Paul MN 55116-2234		Citywide Street Lighting	0.66	46.00	\$30.36	
*1493 ELEANOR AVE				_	\$55.66	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					055.66	
			ssessment:		\$55.66	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$55.66	
	HARKNESS SUNNYSLOPE W 1/2 OF	Street Sweeping - Residential Str	<u> </u>			10-28-23-33-0134
Katherine Christenson	LOT 28 AND ALL OF LOT 27	Alley Sweeping	0.13	66.00	\$8.58	10-28-23-33-0134
1504 Eleanor Ave		Citywide Street Lighting	0.66	66.00	\$43.56	
St Paul MN 55116-2214		,		_	\$79.86	
*1504 ELEANOR AVE		*** Owner and Taxpayer ***			\$79.80	
*Ward: 3				=	_	
*Pending as of: 8/21/2019		Total As	ssessment:		\$79.86	
		This Pay	ment:	\$0.00		
			Year Principal:	\$0.00		
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$79.86	
David J Shields	AUDITOR'S SUBDIVISION NO. 60 ST.	Street Sweeping - Residential Str		42.00	\$17.64	10-28-23-33-0135
Alice Hyland Shields	PAUL, MINN. SUBJ TO ALLEY LOT 1 BLK 2	Alley Sweeping	0.13	42.00	\$5.46	
590 Fairview Ave S	2	Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1466				_	\$50.82	
*1508 ELEANOR AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	=	\$50.82	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$50.82	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick St Dennis	AUDITOR'S SUBDIVISION NO. 60 ST.	Street Sweeping - Residential Stree	0.42	52.00	\$21.84	10-28-23-33-0116
Megan St Dennis	PAUL, MINN. W 10 FT OF LOT 26	Alley Sweeping	0.13	52.00	\$6.76	
1511 Eleanor Ave	HARKNESS SUNNYSLOPE AND IN SD AUDITORS SUBD NO 60 SUBJ TO	Citywide Street Lighting	0.66	52.00	\$34.32	
St Paul MN 55116-2265	ALLEY LOT BLK 1			_	\$62.92	
*1511 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$62.92	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$62.92	
						. — — — — — —
Patricia A Hade	AUDITOR'S SUBDIVISION NO. 60 ST.	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-33-0136
1512 Eleanor Av	PAUL, MINN. SUBJ TO ALLEY LOT 2 BLK 2	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-2214		Citywide Street Lighting	0.66	42.00	\$27.72	
*1512 ELEANOR AVE					\$50.82	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 6/21/2017		Total Asses	ssment:	\$50.82		
		This Payme			\$0.00	
			Current Year Principal: Current Year Interest:			
		Current Ye				
		Payoff Am	ount:		\$50.82	
Brook A Krauth Bell	AUDITOR'S SUBDIVISION NO. 60 ST. PAUL, MINN. SUBJ TO ALLEY LOT 2	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-33-0115
David S Bell	BLK 1	Alley Sweeping	0.13	42.00	\$5.46	
1515 Eleanor Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-2265					\$50.82	
*1515 ELEANOR AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asser			\$50.82	
		This Paymo			\$0.00	
		Current Ye Current Ye	ar Principal:		\$0.00	
					\$0.00 \$50.82	
		Payoff Am	ount:		\$50.82	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick J Thuente	AUDITOR'S SUBDIVISION NO. 60 ST.	Street Sweeping - Residentia	1 Streε 0.42	48.00	\$20.16	10-28-23-33-0114
Sarah J Thuente	PAUL, MINN. SUBJ TO ALLEY LOT 3 BLK 1	Alley Sweeping	0.13	48.00	\$6.24	
1519 Eleanor Ave	DLK I	Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55116-2265				=	\$58.08	
*1519 ELEANOR AVE		*** Owner and Taxpayer **	k			
*Ward: 3						
*Pending as of: 8/21/2019		Tota	al Assessment:		\$58.08	
		Thi	Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$58.08	
Toni M Lee	MACARTHUR E 48 FT OF W 432 FT OF	Street Sweeping - Residentia		48.00	\$20.16	10-28-23-33-0109
Naomi M Savolainen	PART N OF ELEANOR AVE OF S 412 5/10 FT OF SW 1/4 OF SW 1/4 OF SEC	Citywide Street Lighting	0.66	48.00	\$31.68	
1547 Eleanor Ave	10 T 28 R 23 AND IN SD MAC ARTHUR				\$51.84	
St Paul MN 55116-2265	THE E 48 FT OF W 382 FT OF LOT 9	*** Owner and Taxpayer **	k			
*1547 ELEANOR AVE				_		
*Ward: 3		Total	al Assessment:		\$51.84	
*Pending as of: 8/21/2019		This	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$51.84	
	MACADEHUI E 40 ET OF WASA FT OF	Street Sweeping Desidentia			<u> </u>	
Joanne C Knebes	MACARTHUR E 48 FT OF W 384 FT OF PART N OF ELEANOR AVE OF S 412	Street Sweeping - Residentia Citywide Street Lighting	1 Stree 0.42 0.66	48.00 48.00	\$20.16 \$31.68	10-28-23-33-0108
1551 Eleanor Ave	5/10 FT OF SW 1/4 OF SW 1/4 OF SEC	Citywide Sueet Lighting	0.00	40.00	<u> </u>	
St Paul MN 55116-2265	10 T 28 R 23 AND IN SD MAC ARTHUR	*** 0 1			\$51.84	
*1551 ELEANOR AVE *Ward: 3	THE E 48 FT OF W 334 FT OF LOT 9	*** Owner and Taxpayer **	•			
*Pending as of: 8/21/2019		Tota	al Assessment:	_	\$51.84	
		Thi	Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Treston J Hall	MACARTHUR E 48 FT OF W 288 FT OF PART N OF ELEANOR AVE OF S 412	Street Sweeping - Residential		48.00	\$20.16	10-28-23-33-0106
1559 Eleanor Ave	5/10 FT OF SW 1/4 OF SW 1/4 OF SEC	Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55116-2265	10 T 28 R 23 AND IN SD MAC ARTHUR			_	\$51.84	
*1559 ELEANOR AVE	THE E 48 FT OF W 238 FT OF LOT 9	*** Owner and Taxpayer ***	k			
*Ward: 3 *Pending as of: 8/21/2019		Tota	al Assessment:		\$51.84	
9		This	Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pay	off Amount:		\$51.84	
Naegele Outdoor Adv Co	ST. CLAIR HEIGHTS LOT 1	Street Sweeping - Commercia	al/Art 1.02	120.00	\$122.40	10-28-23-11-0021
C/O Clear Channel Outdoor		Street Sweeping - Residential	1 Streε 0.42	40.00	\$16.80	
20880 Stone Oak Pkwy		Citywide Street Lighting	0.66	160.00	\$105.60	
San Antonio TX 78258-7460				=	\$244.80	
*242 GRIGGS ST S		*** Owner and Taxpayer ***	k			
*Ward: 3						
*Pending as of: 8/21/2019			al Assessment:		\$244.80	
			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Payo	off Amount:		\$244.80	
	ST. CLAIR HEIGHTS LOT 3	Street Sweeping - Residential	 I Streε 0.42			
Deborah A Thoms	ST. CEMIK HEIGHTS EST. 3	Citywide Street Lighting	0.42	40.00	\$26.40	10-28-23-11-0023
250 Griggs St S		City wide Street Lighting	0.00	+0.00 =		
St Paul MN 55105-2805		*** Owner and Taxpayer ***	k		\$43.20	
*250 GRIGGS ST S		Owner and Taxpayer				
*Ward: 3		Tata	al Assessment:		\$43.20	
*Pending as of: 8/21/2019			Payment:		\$43.20 \$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
			off Amount:		\$43.20	
		1 ay	on amount.		ψτυ. Δυ	

	P	Ratification Date:	Resolution #:				.
Owner or Taxpayer	Property Description	Item Description	<u>I</u>	Unit Rate	Quantity	Charge Amts	Property ID
Lawrence R Henry Susan Guthmann Henry 258 Griggs St S	ST. CLAIR HEIGHTS LOT 5	Street Sweeping - Resider Citywide Street Lighting	ntial Stree	0.42	40.00	\$16.80 \$26.40 \$43.20	10-28-23-11-0025
St Paul MN 55105-2805 *258 GRIGGS ST S		*** Owner and Taxpayer	***			\$43.20	
*Ward: 3			Total Assessme	ent:	_	\$43.20	
*Pending as of: 8/21/2019		(This Payment: Current Year Pi Current Year In	-		\$0.00 \$0.00 \$0.00	
			Payoff Amoun			\$43.20	
Kathryn A Stuhler	ST. CLAIR HEIGHTS N 20 FT OF LOT 9 AND ALL OF LOT 8	Street Sweeping - Resider	ntial Stree	0.42	59.00	\$24.78	10-28-23-11-0028
268 Griggs St S St Paul MN 55105-2805	AND ALL OF LOT	Citywide Street Lighting		0.66	59.00	\$38.94	
*268 GRIGGS ST S *Ward: 3		*** Owner and Taxpayer	***		_		
*Pending as of: 8/21/2019			Total Assessme	ent:		\$63.72	
			This Payment: Current Year Pi	rincipal:		\$0.00 \$0.00	
			Current Year In Payoff Amoun			\$0.00 \$63.72	
Melissa L Wilson Todd V Wilson	REDWING ADDITION LOT 13 BLK 1	Street Sweeping - Resider Citywide Street Lighting	ntial Stree		4 0.00 40.00	\$16.80 \$26.40	10-28-23-11-0321
288 Griggs St S		,			_	\$43.20	
St Paul MN 55105-2805 *288 GRIGGS ST S		*** Owner and Taxpayer	***		_		
*Ward: 3			Total Assessme	ent:		\$43.20	
*Pending as of: 8/21/2019			This Payment: Current Year Pi	rincinal:		\$0.00 \$0.00	
			Current Year In	•		\$0.00	
		1	Payoff Amoun	t:		\$43.20	

		Ratification Date: Resolu	tion #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jane Shoffner	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Str		80.00	\$33.60	10-28-23-12-0109
301 Griggs St S	SUBDIVISION EX ALLEY LOT 1 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2806	1	Citywide Street Lighting	0.66	80.00	\$52.80	
*301 GRIGGS ST S				=	\$91.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total As	ssessment:		\$91.60	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$91.60	
	DUNLAP PLACE ADDITION TO THE	Street Sweeping - Commercial/A	rt	853.00	\$870.06	10-28-23-11-0329
25 4th St W Rm 1000 St Paul MN 55102-1692	CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighting	0.66	853.00	\$562.98	***EXEMPT***
	MINN. SUBJ TO RD; VAC ST ACCRUING & FOL. THE W 110 FT OF			_	\$1,433.04	
*320 GRIGGS ST S	BLK 3 & ALL OF BLK 4	*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	ssessment:		\$1,433.04	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$1,433.04	
Tisha L Burke	LEXINGTON PARK PLAT 8 N 50 FT OF	Street Sweeping - Residential Str		75.00	\$31.50	10-28-23-13-0190
453 Griggs St S	LOTS I AND LOT 2 BLK 4	Citywide Street Lighting	0.66	75.00	\$49.50	
St Paul MN 55105-2971					\$81.00	
* 453 GRIGGS ST S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$81.00	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$81.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
J & J Capital Llc	LEXINGTON PARK PLAT 7 N 60 FT OF	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	10-28-23-14-0143
Paul Dzubnar	LOT 9 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
1342 Grand Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-3568				_	\$70.39	
*472 GRIGGS ST S		*** Owner and Taxpayer ***				
*Ward: 3		T + 1 A		-	£70.20	
*Pending as of: 8/21/2019		Total Asse This Paym			\$70.39 \$0.00	
		· · · · · · · · · · · · · · · · · · ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$70.39	
		.,			• • • • • • • • • • • • • • • • • • • •	
Patrick Jansen	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art		43.00	\$43.86	10-28-23-42-0001
1230 Randolph Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential Stree	0.42	124.00	\$52.08	10 20 25 12 0001
St Paul MN 55105-2954	PARK PLAT 10 LOT 1 BLK 2	Alley Sweeping	0.13	43.00	\$5.59	
*483 GRIGGS ST S		Citywide Street Lighting	0.66	167.00	\$110.22	
*Ward: 3				_	\$211.75	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	\$211.75		
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$211.75	
		Street Sweeping - Residential Stree				
Xiaohong Guo	J. J. KENNA'S ADDITION LOT 1 BLK 2	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-42-0053
Bassou Oulgout 2131 Randolph Ave		Citywide Street Lighting	0.66	82.50	\$54.45	
St Paul MN 55105-1336		, , ,		=	\$94.30	
*517 GRIGGS ST S		*** Owner and Taxpayer ***			Ψ/Τ.50	
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	_	\$94.30	
3		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$94.30	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick N Hultman	LEXINGTON PARK PLAT 3 LOT 8	Street Sweeping - Residential Stree	0.42	87.50	\$36.75	10-28-23-41-0100
Cassi A Johnson	BLK 1	Alley Sweeping	0.13	50.00	\$6.50	
566 Griggs St S		Citywide Street Lighting	0.66	87.50	\$57.75	
St Paul MN 55116-1609				_	\$101.00	
*566 GRIGGS ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$101.00	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$101.00	
D Ray Frisby	MICHAEL J. HOFFMANN SUBDIVISION LOT 1	Street Sweeping - Residential Stree	0.42	84.00	\$35.28	10-28-23-42-0156
Phyllis D Frisby	SOBDIVISION EOT	Alley Sweeping Citywide Street Lighting	0.13 0.66	43.00 84.00	\$5.59 \$55.44	
678 Snelling Ave S Unit 327		Citywide Street Lighting	0.00	64.00 =	<u> </u>	
St Paul MN 55116-2299		***			\$96.31	
*571 GRIGGS ST S		*** Owner and Taxpayer ***				
*Ward: 3		Total Asse	seemant.	=	\$96.31	
*Pending as of: 8/21/2019			Total Assessment:			
		The state of the s	This Payment: Current Year Principal:		\$0.00 \$0.00	
			Current Year Interest:			
		Payoff An		\$0.00 \$96.31		
Emk Holding Co Llc	DANIELS SUB. NO. 2 EX N 65 FT LOTS	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	10-28-23-43-0001
80 Virginia St	1 AND LOT 2	Alley Sweeping	0.13	100.00	\$13.00	
St Paul MN 55102-2114		Citywide Street Lighting	0.66	60.00	\$39.60	
*611 GRIGGS ST S				_	\$77.80	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$77.80	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$77.80	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeremy M Pavlis	WOODFORD PARK, ST. PAUL, MINN. W 10 FT OF VAC ALLEY ADJ AND	Street Sweeping - Residential S		90.00	\$37.80	10-28-23-44-0097
Anne E Pavlis	LOTS 9 AND LOT 10 BLK 6	Citywide Street Lighting	0.66	90.00	\$59.40	
708 Griggs St S					\$97.20	
St Paul MN 55116-1710		*** Owner and Taxpayer ***				
*708 GRIGGS ST S *Ward: 3		Total /	Assessment:	=	\$97.20	
*Pending as of: 8/21/2019			ayment:		\$0.00	
1 chang as of. 6/21/2017			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
			Amount:		\$97.20	
Nancy E Andrews SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/	Art	60.00		10-28-23-21-0002	
249 Hamline Ave S	OF ST. PAUL, MINN. EX N 65 FT LOTS	Alley Sweeping	0.13	90.00	\$11.70	10 20 20 21 0002
St Paul MN 55105-2402	18 AND LOT 19 BLK 1	Citywide Street Lighting	0.66	60.00	\$39.60	
*249 HAMLINE AVE S				_	\$112.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total /	Assessment:	=	\$112.50	
			This Payment:			
			t Year Principal:		\$0.00 \$0.00	
			t Year Interest:	\$0.00		
			Amount:	\$112.50		
Lauralee Buskirk	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial/		42.00	\$42.84	10-28-23-12-0105
266 Hamline Ave S	27 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2403		444.0 177 444			\$70.56	
*266 HAMLINE AVE S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$70.56	
		This P	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$70.56	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Kathleen M Beutel	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial		42.00	\$42.84	10-28-23-12-0103
William H Mitchell	25 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	
274 Hamline Ave S					\$70.56	
St Paul MN 55105-2403 *274 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3		——————————————————————————————————————	Assessment:		\$70.56	
*Pending as of: 8/21/2019			Payment:		\$0.00	
3			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$70.56	
Katie M Knutson	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial		42.00	\$42.84	10-28-23-12-0101
282 Hamline Ave S	23 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72 \$70.56	
	Paul MN 55105-2403					
*282 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		——————————————————————————————————————	Assessment:	\$70.56		
1 chang as 61. 6/21/2017			Payment:	\$0.00		
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payof	f Amount:	\$70.56		
Erin L Keys	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 3 BLK 2	Street Sweeping - Commercial		45.00	\$45.90	10-28-23-21-0029
Justine M Seidel	OF ST. PAGE, WHAN, EOT 3 BEK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	45.00 45.00	\$5.85 \$29.70	
283 Hamline Ave S St Paul MN 55105-2404		Citywide Street Lighting	0.00	45.00	\$81.45	
*283 HAMLINE AVE S		*** Owner and Taxpayer ***			\$81.45	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total	Assessment:		\$81.45	
		This F	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$81.45	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Scott A Johansen	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial/A		42.00	\$42.84	10-28-23-12-0100
Laura J Schauben	22 BLK 2	Citywide Street Lighting	0.66	42.00	\$27.72	
286 Hamline Ave S					\$70.56	
St Paul MN 55105-2403		*** Owner and Taxpayer ***				
*286 HAMLINE AVE S				_		
*Ward: 3			ssessment:		\$70.56	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$70.56	
David R Sepeda	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/A		45.00	\$45.90	10-28-23-21-0030
Mary J Sepeda	OF ST. PAUL, MINN. LOT 4 BLK 2	Alley Sweeping	0.13	45.00	\$5.85	
287 Hamline Ave S		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-2404				_	\$81.45	
*287 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			ssessment:		\$81.45 \$0.00	
		-	This Payment: Current Year Principal:			
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$81.45	
		Start Same in Communication				
Scott W Burtness	HAUPT'S ADDITION TO ST. PAUL LOT 20 BLK 2	Street Sweeping - Commercial/A Citywide Street Lighting	rt 1.02 0.66	42.00 42.00	\$42.84 \$27.72	10-28-23-12-0098
Elizabeth Burtness		Citywide Street Lighting	0.00	42.00	· · · · · · · · · · · · · · · · · · ·	
296 Hamline Ave S		*** 0 1.T ***			\$70.56	
St Paul MN 55105-2403		*** Owner and Taxpayer ***				
*296 HAMLINE AVE S					070.56	
*Ward: 3			ssessment:		\$70.56	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$70.56	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas C Reedy	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial	Art 1.02	22.50	\$22.95	10-28-23-21-0032
Renee M Reedy	OF ST. PAUL, MINN. LOT 6 BLK 2	Street Sweeping - Residential St	tree 0.42	70.00	\$29.40	10 20 20 21 0002
297 Hamline Ave S		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2404		Citywide Street Lighting	0.66	92.50	\$61.05	
*297 HAMLINE AVE S				_	\$119.25	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	Assessment:	-	\$119.25	
		This Pa	ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$119.25	
Beth Garnett	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/	Art 1.02	45.00		10-28-23-21-0054
307 Hamline Ave S	OF ST. PAUL, MINN. LOT 2 BLK 3	Alley Sweeping	0.13	45.00	\$5.85	10-26-25-21-0054
St Paul MN 55105-2405		Citywide Street Lighting	0.66	45.00	\$29.70	
*307 HAMLINE AVE S				=	\$81.45	
*Ward: 3		*** Owner and Taxpayer ***			ψ01.15	
*Pending as of: 8/21/2019				=		
			Assessment:	\$81.45		
			ayment:	\$0.00		
			t Year Principal:	\$0.00		
			t Year Interest:		\$0.00	
		Payoff	'Amount:	\$81.45		
Calvary Evang Luth Ch	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. EX W 60 FT LOTS	Street Sweeping - Commercial/		132.00	\$134.64	10-28-23-21-0079
341 Hamline Ave S	1 AND 2 AND ALL OF LOT 3 BLK 4	Street Sweeping - Residential St		80.00	\$33.60	
St Paul MN 55105-2407		Alley Sweeping Citywide Street Lighting	0.13 0.66	44.00 212.00	\$5.72 \$139.92	
*341 HAMLINE AVE S		Citywide Street Lighting	0.00	=		
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$313.88	
9		T + 14		-	\$212.00	
			Assessment:		\$313.88	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payon	'Amount:		\$313.88	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Independent School Dist 625	STINSON'S HAMLINE AVENUE	Street Sweeping - Commercial/Art	1.02	261.00	\$266.22	10-28-23-12-0193
Randolph Heights	ADDITION TO ST. PAUL BLK 3	Street Sweeping - Residential Stree	0.42	1,469.00	\$616.98	
360 Colborne St		Citywide Street Lighting	0.66	1,730.00	\$1,141.80	
St Paul MN 55102-3299				_	\$2,025.00	
*348 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3		Total Asses		=	\$2,025.00	
*Pending as of: 8/21/2019		This Payme			\$2,025.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$2,025.00	
		··•			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Daniel J Staples	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art		21.50		10-28-23-24-0001
363 Hamline Ave S	LOT 1 BLK 1	Street Sweeping - Residential Stree	0.42	62.50	\$26.25	10 20 20 21 0001
St Paul MN 55105-2901		Alley Sweeping	0.13	43.00	\$5.59	
*363 HAMLINE AVE S		Citywide Street Lighting	0.66	84.00	\$55.44	
*Ward: 3				_	\$109.21	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asses	Total Assessment:			
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$109.21	
Peter Jannett	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art		43.00		10-28-23-24-0003
Cassandra Jannett	LOT 3 BLK 1	Alley Sweeping	0.13	43.00	\$5.59	10-28-23-24-0003
371 Hamline Ave S		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2901				_	\$77.83	
*371 HAMLINE AVE S *Ward: 3		*** Owner and Taxpayer ***			******	
*Pending as of: 8/21/2019		Total Asses	ssment:		\$77.83	
Ü		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$77.83	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Karen Wridt	CHESTER PARK LOT 16 BLK 1	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-13-0039
380 Hamline Ave S		Alley Sweeping	0.13	124.00	\$16.12	
St Paul MN 55105-2902		Citywide Street Lighting	0.66	40.00	\$26.40	
*380 HAMLINE AVE S					\$83.32	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$83.32	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am	ount:		\$83.32	
Jonathan Wilcox	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art		22.50	\$22.95	10-28-23-24-0036
Kelly Jo Wilcox	LOT 6 BLK 2	Street Sweeping - Residential Stree	0.42	62.50	\$26.25	
419 Hamline Ave S		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2940		Citywide Street Lighting	0.66	85.00	\$56.10	
*417 HAMLINE AVE S					\$111.15	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Pending as 01: 8/21/2019		Total Assessment:			\$111.15	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff An	ount:		\$111.15	
						. — — — — — —
Sd Green Llc	CHESTER PARK LOT 18 BLK 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-13-0071
657 Fairview Ave S		Street Sweeping - Residential Stree	0.42	123.00	\$51.66	
St Paul MN 55116-1449		Citywide Street Lighting	0.66	163.00	\$107.58	
*420 HAMLINE AVE S		*** Owner and Taxpayer ***			\$200.04	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$200.04	
		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff An	ount:		\$200.04	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Randolph Hgts Presb Church	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	135.00	\$137.70	10-28-23-24-0060
435 Hamline Ave S	LOTS 1 2 AND LOT 3 BLK 3	Street Sweeping - Residential Stree	0.42	125.00	\$52.50	
St Paul MN 55105-2942		Alley Sweeping	0.13	135.00	\$17.55	
*427 HAMLINE AVE S		Citywide Street Lighting	0.66	260.00	\$171.60	
*Ward: 3				_	\$379.35	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	essment:	-	\$379.35	
		This Payn	ient:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$379.35	
Michael D Ruetten	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	10-28-23-24-0061
437 Hamline Ave S	LOT 4 BLK 3	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2942		Citywide Street Lighting	0.66	45.00	\$29.70	
*437 HAMLINE AVE S				_	\$81.45	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	Total Assessment:			
		This Payn	This Payment:		\$0.00	
		Current Y	Current Year Principal: Current Year Interest: Payoff Amount:			
		Current Y				
		Payoff Ar				
Randolph Heights Presb Ch	SUNNYSIDE PLAT 2, ST. PAUL, MINN. LOT 5 BLK 3	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	10-28-23-24-0230
435 Hamline Ave	LOT THEK T	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55105-2942		Citywide Street Lighting	0.66	45.00	\$29.70	
*443 HAMLINE AVE S *Ward: 3		*** Owner and Taxpayer ***			\$81.45	
*Pending as of: 8/21/2019		1 2				
		Total Asse	essment:	-	\$81.45	
		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$81.45	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas Doyle Westman	CHESTER PARK LOT 17 BLK 3	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	10-28-23-13-0099
444 Hamline Ave S		Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55105-2943				_	\$75.60	
*444 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asset			\$75.60	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$75.60	
	CHESTER PARK LOT 18 BLK 3	Street Sweeping - Commercial/Art				
Jeffrey C Kasimor 448 Hamline Ave S	0.12512.0.1.11.1251 10.22.0 3	Street Sweeping - Residential Stree	0.42	61.50	\$20.40 \$25.83	10-28-23-13-0100
St Paul MN 55105-2943		Citywide Street Lighting	0.66	81.50	\$53.79	
*448 HAMLINE AVE S		,		=	\$100.02	
*Ward: 3		*** Owner and Taxpayer ***			\$100.02	
*Pending as of: 8/21/2019		1 7				
ronding as on orangers		Total Asse	ssment:		\$100.02	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$100.02	
Randolph Heights Presb Ch	SUNNYSIDE PLAT 2, ST. PAUL, MINN. LOT 6 BLK 3	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	10-28-23-24-0231
435 Hamline Ave S	LOT 6 BLK 3	Street Sweeping - Residential Stree	0.42	125.00	\$52.50	
St Paul MN 55105-2942		Alley Sweeping Citywide Street Lighting	0.13 0.66	45.00 170.00	\$5.85 \$112.20	
*449 HAMLINE AVE S		Citywide Street Lighting	0.00	170.00		
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$216.45	
		T . 1 A		=	0216.45	
		Total Asset This Payme			\$216.45 \$0.00	
		-	ar Principal:		\$0.00 \$0.00	
		Current Ye	_		\$0.00	
		Payoff Am			\$216.45	
		1 ayon 71m	· · · · · · · · · · · · · · · · · · ·		Q210:10	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** CHESTER PARK LOT 13 BLK 4 Street Sweeping - Commercial/Art 1.02 20.00 \$20.40 Sarah Danielle Heath 10-28-23-13-0125 0.42 61.50 Street Sweeping - Residential Stree \$25.83 452 Hamline Ave S 81.50 \$53.79 Citywide Street Lighting 0.66 St Paul MN 55105-4500 *452 HAMLINE AVE S \$100.02 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$100.02 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$100.02 1.02 41.00 Street Sweeping - Commercial/Art \$41.82 Richard Sanchez SUNNYSIDE PLAT 2, ST. PAUL, MINN. 10-28-23-24-0236 VAC ALLEY ADJ & LOT 3 BLK 4 Alley Sweeping 0.13 132.00 \$17.16 3105 Yelton Ln Citywide Street Lighting 0.66 41.00 \$27.06 Lawrenceville GA 30046-9405 *463 HAMLINE AVE S \$86.04 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$86.04 This Payment: \$0.00 \$0.00 Current Year Principal: \$0.00 Current Year Interest: **Payoff Amount:** \$86.04 Street Sweeping - Commercial/Art Paul Lenz J. J. KENNA'S ADDITION LOT 6 BLK 1.02 21.00 \$21.42 10-28-23-42-0089 4 0.42 62.50 \$26.25 Street Sweeping - Residential Stree Julie Lenz Alley Sweeping 0.13 42.00 \$5.46 514 Hamline Ave S Citywide Street Lighting 0.66 83.50 \$55.11 St Paul MN 55116 \$108.24 *514 HAMLINE AVE S *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$108.24 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$108.24

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy J Lapanne	J. J. KENNA'S ADDITION LOT 7 BLK	Street Sweeping - Commercial/A	rt 1.02	42.00	\$42.84	10-28-23-42-0090
Lorna Schmidt	4	Alley Sweeping	0.13	42.00	\$5.46	
518 Hamline Ave S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1616				_	\$76.02	
*518 HAMLINE AVE S		*** Owner and Taxpayer ***				
*Ward: 3				=	47.02	
*Pending as of: 8/21/2019			ssessment:		\$76.02	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$76.02	
	J. J. KENNA'S ADDITION LOT 8 BLK	Street Sweeping - Commercial/A	rt	42.00		
Jeannie K Bauer	4	Alley Sweeping	0.13	125.00	\$16.25	10-28-23-42-0091
522 Hamline Ave S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1616		,		_	\$86.81	
*522 HAMLINE AVE S		*** Owner and Taxpayer ***			\$60.61	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total As	ssessment:	\$86.81		
		This Pay	yment:		\$0.00	
		Current	Current Year Principal:			
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$86.81	
	SATTLER'S ADDITION LOT 2 BLK 1					· — — — — — — —
Jennifer Wroe	SATTLER'S ADDITION LOT 2 BLK 1	Street Sweeping - Commercial/A: Alley Sweeping	rt 1.02 0.13	45.00 45.00	\$45.90 \$5.85	10-28-23-34-0002
607 Hamline Ave S		Citywide Street Lighting	0.13	45.00	\$3.83 \$29.70	
St Paul MN 55116-1620		Citywide Street Lighting	0.00	4 5.00		
*607 HAMLINE AVE S		*** Owner and Taxpayer ***			\$81.45	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 cliding as 01. 6/21/2019		Total Assessment:			\$81.45	
		This Pay	yment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$81.45	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert P Piram	SATTLER'S ADDITION EX N 5 FT LOT	Street Sweeping - Commercial/	art 1.02	20.00	\$20.40	10-28-23-34-0006
Joann M Piram	6 BLK 1	Street Sweeping - Residential St	ree 0.42	62.50	\$26.25	
631 Hamline Ave S		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1620		Citywide Street Lighting	0.66	82.50	\$54.45	
*631 HAMLINE AVE S				_	\$106.30	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	ssessment:		\$106.30	
		This Pa	yment:		\$0.00	
		Curren	Year Principal:		\$0.00	
		Curren	Year Interest:		\$0.00	
		Payoff	Amount:		\$106.30	
	SATTLER'S ADDITION LOT 3 BLK 4	Street Sweeping - Commercial/A		41.00		10.20.22.24.022
James D Hughes	CATTELING ADDITION LOT 3 BEK 4	Alley Sweeping - Commercial/A	0.13	41.00	\$41.82 \$5.33	10-28-23-34-0028
Karen J Hughes		Citywide Street Lighting	0.66	41.00	\$27.06	
639 Hamline Ave S St Paul MN 55116-1647		City wide Street Eighting	0.00	=		
		*** Owner and Taxpayer ***			\$74.21	
*639 HAMLINE AVE S *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$74.21	
9		This Pa	This Payment:			
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff	Payoff Amount:			
Eric Pelto	KENSINGTON PARK ADDITION TO ST. PAUL LOT 5 BLK 4	Street Sweeping - Commercial/A		39.00	\$39.78	10-28-23-34-0055
677 Hamline Ave S	SI. IAUL LOI J DLK 4	Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55116-2236		Citywide Street Lighting	0.66	39.00	\$25.74	
*677 HAMLINE AVE S *Ward: 3		*** Owner and Taxpayer ***			\$70.59	
*Pending as of: 8/21/2019						
		Total Assessment:			\$70.59	
		This Pa			\$0.00	
		Curren	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$70.59	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrew Mayamba Llc	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/Art	1.02	39.00	\$39.78	10-28-23-34-0056
1390 Carling Dr	ST. PAUL LOT 6 BLK 4	Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55108-5342		Citywide Street Lighting	0.66	39.00	\$25.74	
*681 HAMLINE AVE S				_	\$70.59	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$70.59	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$70.59	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/Art				
Van A Adams 693 Hamline Ave S	ST. PAUL LOT 1 BLK 5	Street Sweeping - Residential Stree	0.42	62.50	\$26.25	10-28-23-34-0079
St Paul MN 55116-2238		Alley Sweeping	0.13	42.00	\$5.46	
		Citywide Street Lighting	0.66	83.50	\$55.11	
*693 HAMLINE AVE S *Ward: 3		,		_	\$108.24	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***			ψ100.2 1	
		Total Asse	Total Assessment:			
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$108.24	
	LEVELOTON DADA DA TALOT. O	Charles Commission Devidential States				· — — — — — –
John R Mccarten	LEXINGTON PARK PLAT 3 LOT 9 BLK 3	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	87.50 50.00	\$36.75 \$6.50	10-28-23-44-0036
Louise L Mccarten		Citywide Street Lighting	0.13	87.50	\$57.75	
1218 Hartford Ave		City wide Street Lighting	0.00	67.50		
St Paul MN 55116-1621 *1218 HARTFORD AVE		*** Owner and Taxpayer ***			\$101.00	
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	-	\$101.00	
-		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	ount:		\$101.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kenneth S Kendle	LEXINGTON PARK PLAT 3 LOT 8	Street Sweeping - Residential Stree	0.42	87.50	\$36.75	10-28-23-41-0107
Julie M Kendle	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	
1219 Hartford Ave		Citywide Street Lighting	0.66	87.50	\$57.75	
St Paul MN 55116-1622					\$101.00	
*1219 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	\$101.00			
		This Paymo			\$0.00	
		Current Ye Current Ye	ar Principal:		\$0.00 \$0.00	
		Payoff Am			\$0.00 \$101.00	
		rayun Am	ount.		3101.00	
	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stree		40.00	\$16.80	
1237 Hartford Ave	SUBDIVISION LOT 26	Alley Sweeping	0.13	40.00	\$5.20	10 20 25 12 0175
St Paul MN 55116-1661		Citywide Street Lighting	0.66	40.00	\$26.40	
*1237 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
· ·		Total Asset		\$48.40 \$0.00		
		-	This Payment: Current Year Principal:			
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$48.40	
	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stree		40.00		
1243 Hartford Ave	SUBDIVISION LOT 25	Alley Sweeping	0.13	40.00	\$5.20	10 20 25 12 0170
St Paul MN 55116-2226		Citywide Street Lighting	0.66	40.00	\$26.40	
*1243 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asset	ssment:	=	\$48.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Sharon Hausen DANIELS SUB NO 2 EX E 2 FT 107 6 Street Sweeping - Residential Street 0.42 38.00 \$15.96 Alley Sweeping 0.13 38.00 \$4.94 \$35.98	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alley Sweeping 0.13 38.00 54.94	Sharon Hansen	DANIELS SUB. NO. 2 EX E 2 FT LOT 6	Street Sweeping - Residential Stre	ee 0.42	38.00	\$15.96	10-28-23-43-0006
**** Owner and Taxpayer ***	1244 Hartford Ave						
****Owner and Taxpayer *** ****Owner and Taxpayer *** Total Assessment: \$45.98 This Payment: \$0.00 Current Var Principal: \$0.00 Current Var Interest: \$0.00 Payoff Amount: \$45.98 Robert S Novalany Jr LEXINGTON PARK PLAT2 LOT 7 RIK 3 LEXINGTON PARK PLAT2 LOT 7 RIK 3 Alley Sweeping - Residential Stree 0.42 Alley Sweeping 0.13 S0.00 \$50.00 \$51.00 \$521.00 \$521.00 \$521.00 \$50.00 \$521.00 \$50.00 \$521.00 \$50.00 \$50.50 ***Owner and Taxpayer ***	St Paul MN 55116-1662		Citywide Street Lighting	0.66	38.00		
Pending as of: \$21/2019 Total Assessment: \$45.98 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$45.98 Robert S Novalamy Jr 1252 Hartford Ave St Paul MN 55116-1661 *Pending as of: \$21/2019 ***Owner and Taxpayer**** ***Owner and Taxpayer*** Total Assessment: \$45.98 ***Owner and Taxpayer***	*1244 HARTFORD AVE				_	\$45.98	
Total Assessment: \$45.98			*** Owner and Taxpayer ***				
Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S15.98	*Pending as of: 8/21/2019		Total As	sessment:	\$45.98		
Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S15.98			This Pay	ment:		\$0.00	
Robert S Novalany Jr			•		\$0.00		
Robert S Novalany Jr				_		\$0.00	
Alley Sweeping			Payoff A	amount:		\$45.98	
Alley Sweeping 0.13 50.00 \$6.50							
Alley Sweeping	Robert S Novalany Jr	LEXINGTON PARK PLAT 2 LOT 7	Street Sweeping - Residential Stre	ee 0.42	50.00	\$21.00	10-28-23-43-0014
*1252 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 Mary P King MICHAEL J. HOFFMANN \$UBDIVISION W 4 FT OF THE S 50 FT 1255 Hartford Ave \$10 FT 10	-	BLK 3			50.00	\$6.50	10 20 20 10 001 1
**** Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 **Mary P King MICHAEL J. HOFFMANN SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 50 FT OF THE N 100 FT OF LOT 23 AND EXE St Paul MN 55116-1661 4 FT OF THE N 50 FT; LOT 22 ***I255 HARTFORD AVE **Ward: 3 **** Owner and Taxpayer ***			Citywide Street Lighting	0.66	50.00	\$33.00	
*Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 Mary P King 1255 Hartford Ave Subdivision w 4FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EXE St Paul MN 55116-1661 4FT OF THE N 50 FT; LOT 22 **1255 HARTFORD AVE **Ward: 3 **Pending as of: 8/21/2019 **Total Assessment: \$60.50 Total Assessment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 **General Alley Sweeping - Residential Strex	*1252 HARTFORD AVE				_	\$60.50	
Mary P King			*** Owner and Taxpayer ***				
Current Year Principal: \$0.00	*Pending as of: 8/21/2019		Total As	sessment:	\$60.50		
Current Year Principal: \$0.00			This Pay	•			
Payoff Amount: \$60.50 Mary P King MICHAEL J. HOFFMANN SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EXE Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-42-0175 St Paul MN 55116-1661 4FT OF THE N 100 FT OF LOT 23 AND EXE 4FT OF THE N 50 FT; LOT 22 Alley Sweeping Citywide Street Lighting 0.66 40.00 \$26.40 ***255 HARTFORD AVE *** Owner and Taxpayer *** *** Owner and Taxpayer ***			-				
Mary P King MICHAEL J. HOFFMANN Street Sweeping - Residential Street 0.42 40.00 \$16.80 10-28-23-42-0175 1255 Hartford Ave SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EX E 4 FT OF THE N 50 FT; LOT 22 *1255 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 *In the street Sweeping - Residential Street *Alley Sweeping						\$0.00	
1255 Hartford Ave SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EX E Alley Sweeping 0.13 36.00 \$4.68 St Paul MN 55116-1661 4 FT OF THE N 50 FT; LOT 22 Citywide Street Lighting 0.66 40.00 \$26.40 *1255 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019			Payoff A	amount:		\$60.50	
1255 Hartford Ave SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EX E St Paul MN 55116-1661 4FT OF THE N 50 FT; LOT 22 Citywide Street Lighting 0.66 40.00 \$26.40 *1255 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019							
1255 Hartford Ave SUBDIVISION W 4 FT OF THE S 50 FT OF THE N 100 FT OF LOT 23 AND EXE OF THE N 100 FT OF LOT 23 AND EXE 4 FT OF THE N 50 FT; LOT 22 *1255 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 *Usual MN 55116-1661 *Alley Sweeping 0.13 36.00 \$4.68 Citywide Street Lighting 0.66 40.00 \$26.40 **** Owner and Taxpayer *** **** Owner and Taxpayer ***	Mary P King	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-42-0175
St Paul MN 55116-1661	1255 Hartford Ave						
*Ward: 3	St Paul MN 55116-1661		Citywide Street Lighting	0.66	40.00	\$26.40	
*Pending as of: 8/21/2019	*1255 HARTFORD AVE				_	\$47.88	
			*** Owner and Taxpayer ***				
Total Assessment: \$47.88	"rending as of: 8/21/2019		Total As	Total Assessment:			
This Payment: \$0.00			This Pay	ment:		\$0.00	
Current Year Principal: \$0.00			Current '	Year Principal:		\$0.00	
Current Year Interest: \$0.00							
Payoff Amount: \$47.88			Payoff A	amount:		\$47.88	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Derek Richard Savela	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0170
1275 Hartford Ave	SUBDIVISION LOT 17	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1661		Citywide Street Lighting	0.66	40.00	\$26.40	
*1275 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
	LEXINGTON PARK PLAT 2 LOT 12	Street Sweeping - Residential Stree		89.00		10-28-23-43-0019
1276 Hartford Ave	BLK 3	Alley Sweeping	0.13	53.00	\$6.89	10-20-23-43-0017
St Paul MN 55116-1662		Citywide Street Lighting	0.66	89.00	\$58.74	
*1276 HARTFORD AVE				_	\$103.01	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
C		Total Assessment:			\$103.01 \$0.00	
			This Payment: Current Year Principal:			
			Current Year Interest:		\$0.00	
		Payoff An	10unt:		\$103.01	
	LEXINGTON PARK PLAT LOT 3	Street Sweeping - Residential Stree				10-28-23-43-0028
Patricia B Mishek	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-43-0028
1292 Hartford Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1623				=	\$60.50	
*1292 HARTFORD AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$60.50	
1 chaing as of. 6/21/2017		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Betsy Morse	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-42-0220
1301 Hartford Ave	LOT 25 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116		Citywide Street Lighting	0.66	40.00	\$26.40	
*1301 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
1311 Hartford Llc	EDWARD L. MCADAM ADDITION LOT 23 BLK 2	Street Sweeping - Residential St Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-42-0218
1311 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
St Paul MN 55116-1624		City wide Street Eighting	0.00	=	-	
*1311 HARTFORD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	\$48.40		
		This Pa	This Payment: Current Year Principal: Current Year Interest:			
		Curren				
		Payoff	Payoff Amount:		\$48.40	
James J Mcguire	LEXINGTON PARK PLAT 1 EX W 10 FT	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-43-0033
1316 Hartford Ave	LOT 8 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1623		Citywide Street Lighting	0.66	40.00	\$26.40	
*1316 HARTFORD AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Theodore I Daigle	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential S	treε 0.42	40.00	\$16.80	10-28-23-42-0216
Catherine J Daigle	LOT 21 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1319 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1624				_	\$48.40	
*1319 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$48.40	
	-					
Matthew R Horner	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-42-0215
1323 Hartford Ave	LOT 20 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1624		Citywide Street Lighting	0.66	40.00	\$26.40	
*1323 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:	\$48.40 \$0.00		
			This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Payon	f Amount:		\$48.40	
	LEXINGTON PARK PLAT 1 EX W 40	Street Sweeping - Residential S		40.00		
Garrett E Mulrooney Iii Anissa M Mediger	FT LOT 11 AND W 30 FT OF LOT 10	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-43-0036
1328 Hartford Ave	BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1623		, <u></u> gg		_		
*1328 HARTFORD AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Total /	Total Assessment: \$48			
1 chang as 01. 0/21/2017			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian D Welle	EDWARD L. MCADAM ADDITION	Street Sweeping - Commercial/Art	1.02	62.50	\$63.75	10-28-23-42-0211
Stefanie Alshare-Welle	LOT 16 BLK 2	Street Sweeping - Residential Stree	0.42	20.50	\$8.61	
1337 Hartford Ave		Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55116-1624		Citywide Street Lighting	0.66	83.00	\$54.78	
*1337 HARTFORD AVE				_	\$132.47	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	essment:		\$132.47	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$132.47	
Raechel J Bimmerle Jaffery	SATTLER'S ADDITION LOT 8 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0008
Zulfikar Jaffery		Alley Sweeping	0.13	40.00	\$5.20	
1360 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1648				_	\$48.40	
*1360 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Ronald A Hahn	SATTLER'S ADDITION LOT 10 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-34-0010
1368 Hartford Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1648		Citywide Street Lighting	0.66	40.00	\$26.40	
*1368 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Chris T Oakes	SATTLER'S ADDITION LOT 11 BLK 1	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-34-0011
Laura A Oakes		Alley Sweeping	0.13	40.00	\$5.20	
1372 Hartford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1648				_	\$48.40	
*1372 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Total Assessment:		\$48.40 \$0.00	
		•	This Payment:			
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ai	nount:		\$48.40	
	SATTLER'S ADDITION LOT 16 BLK 1	Street Sweeping - Residential Stree				10-28-23-34-0016
1392 Hartford Ave		Alley Sweeping	0.13	40.00	\$5.20	10 20 20 01 0010
St Paul MN 55116-1648		Citywide Street Lighting	0.66	40.00	\$26.40	
*1392 HARTFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	\$48.40		
			This Payment:			
			Current Year Principal:			
		Current Year Interest:			\$0.00 \$0.00	
		Payoff Ar	Payoff Amount:			
Mario M Ricci	SATTLER'S ADDITION LOT 17 BLK 1	Street Sweeping - Residential Street	0.42	85.00	\$35.70	10-28-23-34-0017
1396 Hartford Ave		Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55116-1648		Citywide Street Lighting	0.66	85.00	\$56.10	
*1396 HARTFORD AVE				=	\$97.65	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	agamant:		\$97.65	
		This Payn			\$97.63	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ai			\$97.65	
		2 11/011 111			4200	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sandra F Masterson	BISANZ BROS. ADDITION LOT 1 BLK	Street Sweeping - Residential Street	0.42	87.50	\$36.75	10-28-23-31-0007
1401 Hartford Ave	1	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-1668		Citywide Street Lighting	0.66	87.50	\$57.75	
*1401 HARTFORD AVE				_	\$101.00	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	essment:		\$101.00	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$101.00	
Patrick J Vanfleet	SATTLER'S ADDITION LOT 2 BLK 2	Street Sweeping - Residential Stree	0.42	47.00	\$19.74	10-28-23-34-0104
Verena Vanfleet		Alley Sweeping	0.13	47.00	\$6.11	
1406 Hartford Ave		Citywide Street Lighting	0.66	47.00	\$31.02	
St Paul MN 55116-1649				_	\$56.87	
*1406 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Assessment:			\$56.87	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Ai	nount:		\$56.87	
Britni Kelley	BISANZ BROS. ADDITION LOT 3 BLK	Street Sweeping - Residential Stree		50.00		10-28-23-31-0009
Benjamin H Kelley	1	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-31-0009
1411 Hartford Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1668		,		=	\$60.50	
*1411 HARTFORD AVE		*** Owner and Taxpayer ***			\$00.50	
*Ward: 3		- · · · · · · · · · · · · · · · · · · ·				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$60.50	
1 chaing as 01. 0/21/2017		This Payn			\$0.00	
		-				
			ear Interest:		\$0.00	
		Current Y	ear Principal: ear Interest:		\$0.00	

Street Sweeping - Residential Street 0.42 50.00 \$21.00 \$10-28-23-31-0010	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Citywide Street Lighting	Jeffrey J Bird	BISANZ BROS. ADDITION LOT 4 BLK	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-31-0010
St Paul MN 55116-1668 *** Owner and Taxpayer *** *** Owner and Taxpa	Srilalitha R Belur	1			50.00	\$6.50	
415 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Fortile A Parrish 1411 Hartford Ave 5t Paul MN 55116-1668 *Ward: 3 *Pending as of: 8/21/2019 * Owner and Taxpayer *** *** Owner and Taxpayer *** **** Owner and Taxpayer *** **** Owner and Taxpayer *** ***	1415 Hartford Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
*Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 *Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 Gerald A Parrish BISANZ BROS. ADDITION LOT 9 BLK Alley Sweeping - Residential Stree 0.42 \$0.00 \$21.00 \$10-28-23-31-0015 1441 Hartford Ave 1 Alley Sweeping 0.13 \$0.00 \$6.50 St Paul MN 55116-1668 *1441 HARTFORD AVE ***Owner and Taxpayer *** *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00	St Paul MN 55116-1668				_	\$60.50	
*Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$60.50 Gerald A Parrish HISANZ BROS. ADDITION LOT 9 BLK Alley Sweeping - Residential Stree \$0.42 \$0.00 \$21.00 \$10-28-23-31-0015 1441 Hartford Ave Alley Sweeping \$0.13 \$0.00 \$6.50 St Paul MN 55116-1668 *1441 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** *Total Assessment: \$60.50 This Payment: \$60.50 Current Year Interest: \$60.50 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00	*1415 HARTFORD AVE		*** Owner and Taxpayer ***				
This Payment: \$0.00	*Ward: 3				=		
Current Year Principal: \$0.00	*Pending as of: 8/21/2019						
Current Year Interest: S0.00 Payoff Amount: S60.50			-				
Payoff Amount: \$60.50							
BISANZ BROS. ADDITION LOT 9 BLK Street Sweeping - Residential Street 0.42 50.00 \$21.00 10-28-23-31-0015 1441 Hartford Ave 1 Alley Sweeping 0.13 50.00 \$6.50 St Paul MN 55116-1668 Citywide Street Lighting 0.66 50.00 \$33.00 *1441 HARTFORD AVE *** Owner and Taxpayer *** *** Owner and Taxpayer *** \$60.50 Total Assessment: \$60.50 Total Assessment: \$0.00 Current Year Principal: \$0.00 Current Ye							
Alley Sweeping 0.13 50.00 \$6.50			Payoff Ar	nount:		\$60.50	
Alley Sweeping 0.13 50.00 \$6.50 St Paul MN 55116-1668 **HA41 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00			Character Decidential States				
St Paul MN 55116-1668 *1441 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00		BISANZ BROS. ADDITION LOT 9 BLK					10-28-23-31-0015
*1441 HARTFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00							
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00			City wide Survey Eighting	0.00	=		
*Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00			*** Owner and Taynaver ***			\$60.50	
Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00			Owner and Taxpayer				
Current Year Principal: \$0.00	rending as of. 6/21/2019		Total Assessment:			\$60.50	
			This Payn	This Payment:			
Current Veer Interest 90 00			Current Y	Current Year Principal:			
Current real interest. 50.00			Current Y	Current Year Interest:			
Payoff Amount: \$60.50			Payoff Ar	nount:		\$60.50	
Kathleen C Harty TWIN CITY VIEW LOT 7 BLK 1 Street Sweeping - Residential Street 0.42 40.00 \$16.80 10-28-23-34-0113		TWIN CITY VIEW LOT / BLK T					10-28-23-34-0113
1444 Hartford Ave Alley Sweeping 0.13 40.00 \$5.20 St Paul MN 55116-1649 Citywide Street Lighting 0.66 40.00 \$26.40							
STAMINICOTIVITY			Citywide Silect Lighting	0.00	40.00	·	
*1444 HARTFORD AVE \$48.40			***			\$48.40	
*Ward: 3 *** Owner and Taxpayer ***			*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019 Total Assessment: \$48.40	*Pending as of: 8/21/2019		Total Asse	essment:	=	\$48.40	
This Payment: \$0.00							
Current Year Principal: \$0.00							
Current Year Interest: \$0.00				=			
Payoff Amount: \$48.40			Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Deborah W Carlson	TWIN CITY VIEW LOTS 1 AND LOT 2	Street Sweeping - Residential Str	ree 0.42	110.50	\$46.41	10-28-23-33-0024
Edward S Carlson	BLK 4	Alley Sweeping	0.13	93.00	\$12.09	
1496 Hartford Ave		Citywide Street Lighting	0.66	110.50	\$72.93	
St Paul MN 55116-1542				_	\$131.43	
*1496 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total A	ssessment:		\$131.43	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$131.43	
William C Colburn	TWIN CITY VIEW LOT 1 BLK 5	Street Sweeping - Residential Str		88.00	\$36.96	10-28-23-33-0046
Patricia A Colburn		Alley Sweeping	0.13	53.00	\$6.89	
1530 Hartford Ave		Citywide Street Lighting	0.66	88.00	\$58.08	
St Paul MN 55116-1514					\$101.93	
*1530 HARTFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Assessment:			\$101.93	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$101.93	
	TWIN CITY VIEW EX S 20 FT OF LOT 21	Street Sweeping - Residential Str	<u></u>	98.50		10-28-23-33-0156
Lisa Povolny	& ALL OF LOT 22 BLK 5	Alley Sweeping	0.13	73.00	\$9.49	10-28-23-33-0156
1538 - 1540 Hartford Ave		Citywide Street Lighting	0.66	98.50	\$65.01	
St Paul MN 55116-1514		yg		_	\$115.87	
		*** Owner and Taxpayer ***			\$115.87	
*1538 HARTFORD AVE		Owner and Taxpayer				
*Ward: 3		Total A	ssessment:	=	\$115.87	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$115.87	
		1 ayon 2	invunt.		φ113.0/	

Ratification Date:

Phyllis M K Smith OTTO HUNT'S ADDITION E	X N 37 Street Sweeping - Commercial/A				
		rt 1.02	61.00	\$62.22	10-28-23-32-0155
1756 Pinehurst Ave 42/100 FT LOT 11 AND ALI 10 BLK 4	Street Sweeping - Residential Str		123.00	\$51.66	
St Paul MN 55116-2117	Alley Sweeping	0.13	61.00	\$7.93	
*1573 HARTFORD AVE	Citywide Street Lighting	0.66	184.00	\$121.44	
*Ward: 3			_	\$243.25	
*Pending as of: 8/21/2019	*** Owner and Taxpayer ***				
	Total A	ssessment:	-	\$243.25	
	This Pa	yment:		\$0.00	
	Current	Year Principal:		\$0.00	
	Current	Year Interest:		\$0.00	
	Payoff	Amount:		\$243.25	
James M Larson WOODFORD PARK, ST. PA	1 0	rt 1.02	40.00	\$40.80	10-28-23-43-0195
1231 Highland Pky LOT 28 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2211	Citywide Street Lighting	0.66	40.00	\$26.40	
*1231 HIGHLAND PKWY			_	\$72.40	
*Ward: 3	*** Owner and Taxpayer ***	*** Owner and Taxpayer ***			
*Pending as of: 8/21/2019	Total A	Total Assessment:			
	This Pa	This Payment:		\$0.00	
	Current	Current Year Principal:			
		Current Year Interest:			
	Payoff	Payoff Amount:		\$72.40	
Deborah J Vail WOODFORD PARK, ST. PA	1 &		40.00	\$40.80	10-28-23-43-0194
1233 Highland Pky	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2211	Citywide Street Lighting	0.66	40.00	\$26.40	
*1235 HIGHLAND PKWY				\$72.40	
*Ward: 3	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019	Total A	ssessment:	-	\$72.40	
	This Pa	yment:		\$0.00	
	Current	Year Principal:		\$0.00	
		Year Interest:		\$0.00	
	Payoff	Amount:		\$72.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas A Stone	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-43-0189
1255 Highland Pky	LOT 22 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2211		Citywide Street Lighting	0.66	40.00	\$26.40	
*1255 HIGHLAND PKWY				=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Assessment:			\$72.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
			 -			
Tonya J Depriest	WOODFORD PARK, ST. PAUL, MINN. LOT 20 BLK 7	Street Sweeping - Commercial/Art		40.00	\$40.80	10-28-23-43-0187
David A Depriest	EGT 20 BER /	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1261 Highland Pkwy		Citywide Street Lighting	0.00	40.00	•	
St Paul MN 55116-2211		*** 0 1T ***			\$72.40	
*1261 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3		Total Aga	aggmant:	=	\$72.40	
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$0.00	
					\$72.40	
Sara M Dotty	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-43-0186
1265 Highland Pky	LOT 19 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0100
St Paul MN 55116-2211		Citywide Street Lighting	0.66	40.00	\$26.40	
*1265 HIGHLAND PKWY				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
J		Total Assessment:			\$72.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** WOODFORD PARK, ST. PAUL, MINN. Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 Hallory K Kampmeier 10-28-23-43-0224 LOT 28 BLK 8 0.13 40.00 Alley Sweeping \$5.20 1289 Highland Pkwy Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-2213 \$72.40 *1289 HIGHLAND PKWY *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$72.40 1.02 40.00 Street Sweeping - Commercial/Art \$40.80 Martha I Olive WOODFORD PARK, ST. PAUL, MINN. 10-28-23-43-0219 LOT 23 BLK 8 Alley Sweeping 0.13 40.00 \$5.20 1311 Highland Pky Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-2213 \$72.40 *1311 HIGHLAND PKWY *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$72.40 John K Manning WOODFORD PARK, ST. PAUL, MINN. Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 10-28-23-43-0218 LOT 22 BLK 8 0.13 40.00 \$5.20 Alley Sweeping Tia V Manning Citywide Street Lighting 0.66 40.00 \$26.40 1315 Highland Pky St Paul MN 55116-2213 \$72.40 *** Owner and Taxpayer *** *1315 HIGHLAND PKWY *Ward: 3 Total Assessment: \$72.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$72.40 **Payoff Amount:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John T Hughes	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-43-0216
1323 Highland Pky	LOT 20 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2213		Citywide Street Lighting	0.66	40.00	\$26.40	
*1323 HIGHLAND PKWY					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Payn			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.40	
Oliver J Williams	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-43-0214
Sonia Davila Williams	LOT 18 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0211
1333 Highland Pky		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2213				_	\$72.40	
*1333 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$72.40	
		This Payn			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$72.40	
		r ayon Ai	nount.		\$72.40	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/Art				10-28-23-34-0101
Vasil B Gerchev	ST. PAUL EX S 7 FT FOR PKWY THE	Alley Sweeping	0.13	55.00	\$7.15	10-20-23-34-0101
1351 Highland Pkwy	FOL EX W 26 74/100 FT LOT 26 AND ALL OF LOT 27 BLK 5	Citywide Street Lighting	0.66	56.00	\$36.96	
St Paul MN 55116-2239				_	\$101.23	
*1351 HIGHLAND PKWY *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$101.23	
6		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$101.23	

Ratification Date: R

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Erin M Hart	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/A		50.00	\$51.00	10-28-23-34-0098
Patrick Obrien	ST. PAUL SUBJ TO PKWY THE E 20 63/100 FT OF LOT 22 AND EX E 10 FT	Alley Sweeping	0.13	50.00	\$6.50	
1367 Highland Pky	LOT 23 BLK 5	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-2239		*** Owner and Taxpayer ***			\$90.50	
*1367 HIGHLAND PKWY		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	=	\$90.50	
Fending as 01: 8/21/2019		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$90.50	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/A	rt	63.00		10-28-23-34-0097
Marilyn J Olson	ST. PAUL SUBJ TO PKWY THE E 3	Alley Sweeping	0.13	63.00	\$8.19	10-20-23-34-00)/
1377 Highland Pky	11/100 FT OF LOT 20 AND EX E 20 63/100 FT LOT 22 AND ALL OF LOT	Citywide Street Lighting	0.66	63.00	\$41.58	
St Paul MN 55116-2239	21 BLK 5			_	\$114.03	
*1377 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3				_ _	011102	
*Pending as of: 8/21/2019			ssessment:		\$114.03 \$0.00	
		This Pay	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$114.03	
		·				
Donald A Gemberling	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/A	rt	54.00	\$55.08	10-28-23-34-0096
1381 Highland Pky	ST. PAUL EX S 7 FT FOR PKWY THE	Alley Sweeping	0.13	53.00	\$6.89	10 20 20 01 0000
St Paul MN 55116-2239	FOL E 18 74/100 FT OF LOT 19 AND EX E 3 11/100 FT LOT 20 BLK 5	Citywide Street Lighting	0.66	54.00	\$35.64	
*1381 HIGHLAND PKWY				=	\$97.61	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	_ _	\$97.61	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$97.61	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Daniel C Sauser	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial	I/Art 1.02	48.00	\$48.96	10-28-23-34-0095
Kate O Sauser	ST. PAUL EX S 7 FT FOR PKWY THE	Alley Sweeping	0.13	51.00	\$6.63	27 27 27 27 27 2
1385 Highland Pky	FOL EX W 10 FT LOT 18 AND EX E 18 74/100 FT LOT 19 BLK 5	Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55116-2241				_	\$87.27	
*1385 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total	Assessment:		\$87.27	
		This	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$87.27	
Kaitlyn E Smith	KENSINGTON PARK ADDITION TO ST. PAUL SUBJ TO PKWY LOTS 25	Street Sweeping - Commercial		79.00	\$80.58	10-28-23-34-0206
Frederic A Smith	AND LOT 26 BLK 6	Alley Sweeping	0.13 0.66	80.00 79.00	\$10.40 \$52.14	
1415 Highland Pky		Citywide Street Lighting	0.00	/9.00	-	
St Paul MN 55116-2240		444 O 17 444			\$143.12	
*1415 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3		Total	Assessment:	-	\$143.12	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			ff Amount:		\$143.12	
		1 4,0			41.0112	
Deborah A Pariso	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial		50.00	\$51.00	10-28-23-34-0204
1433 Highland Parkway	ST. PAUL EX S 7 FT FOR PKWY THE E	Alley Sweeping	0.13	51.00	\$6.63	
St Paul MN 55116-2240	20 FT OF LOT 21 AND EX E 10 FT LOT 22 BLK 6	Citywide Street Lighting	0.66	50.00	\$33.00	
*1433 HIGHLAND PKWY				_	\$90.63	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019			Assessment:	-	\$90.63	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$90.63	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Catherine V Brost	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/A	rt 1.02	39.00	\$39.78	10-28-23-34-0201
1453 Highland Pky	ST. PAUL EX S 7 FT FOR PKWY LOT	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-2240	18 BLK 6	Citywide Street Lighting	0.66	39.00	\$25.74	
*1453 HIGHLAND PKWY				_	\$70.98	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	=	\$70.98	
		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$70.98	
Maureen Oconnell	KENSINGTON PARK ADDITION TO	Street Sweeping - Commercial/A		39.00	\$39.78	10-28-23-34-0200
1455 Highland Pkwy	ST. PAUL EX S 7 FT FOR PKWY LOT 17 BLK 6	Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55116-2240	1/BLK 0	Citywide Street Lighting	0.66	39.00	\$25.74	
*1455 HIGHLAND PKWY				_	\$70.59	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$70.59	
		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$70.59	
Sara J Froehlich	SECTION 10 TOWN 28 RANGE 23 W	Street Sweeping - Commercial/A		50.00	\$51.00	10-28-23-33-0154
1471 Highland Pkwy	50 FT OF E 166 FT OF N 119 3/10 FT OF S 159 3/10 FT OF SW 1/4 OF SW 1/4 OF	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-2241	SEC 10 TN 28 RN 23	Citywide Street Lighting	0.66	50.00	\$33.00	
*1471 HIGHLAND PKWY				=	\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	_ _	\$90.50	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jon E Isom	SECTION 10 TOWN 28 RANGE 23 W	Street Sweeping - Commercial/Ar	t 1.02	52.00	\$53.04	10-28-23-33-0152
Margaret H Isom	50 FT OF S 119 3/10 FT OF PART OF E 264 FT OF SW 1/4 OF SW 1/4 N OF	Alley Sweeping	0.13	52.00	\$6.76	
1477 Highland Pkwy	HIGHLAND PKWY IN SEC 10 TN 28	Citywide Street Lighting	0.66	52.00	\$34.32	
St Paul MN 55116-2241	RN 23				\$94.12	
*1477 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3				-	*****	
*Pending as of: 8/21/2019			sessment:		\$94.12	
		This Pay			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
		Payoff A			\$94.12	
		rayon A	amount.		\$7 4.1 2	
	HARKNESS SUNNYSLOPE LOT 34	Street Sweeping - Commercial/Ar		47.00		10-28-23-33-0150
1645 Palace Ave		Alley Sweeping	0.13	47.00	\$6.11	10 20 20 00 0100
St Paul MN 55105-2136		Citywide Street Lighting	0.66	47.00	\$31.02	
*1493 HIGHLAND PKWY				_	\$85.07	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			sessment:		\$85.07	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$85.07	
	HARKNESS SUNNYSLOPE LOT 35		<u>t</u> — — 1.02	49.00		10-28-23-33-0149
Lauren Albert		Alley Sweeping	0.13	48.00	\$6.24	10-20-23-33-0147
1501 Highland Pky		Citywide Street Lighting	0.66	49.00	\$32.34	
St Paul MN 55116-2241				_	\$88.56	
*1501 HIGHLAND PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$88.56	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$88.56	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Clarice L Swisher	AUDITOR'S SUBDIVISION NO. 60 ST.	Street Sweeping - Commercial/Art		48.00	\$48.96	10-28-23-33-0145
1519 Highland Pky	PAUL, MINN. SUBJ TO ALLEY LOT 10 BLK 2	Alley Sweeping	0.13	48.00	\$6.24	
St Paul MN 55116-2241	55.1 2	Citywide Street Lighting	0.66	48.00	\$31.68	
*1519 HIGHLAND PKWY					\$86.88	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$86.88	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$86.88	
Cassandra Warner	BAER RE-ARRANGEMENT LOT 1	Street Sweeping - Commercial/Art		61.50	\$62.73	10-28-23-14-0163
558 Montcalm Place		Street Sweeping - Residential Street		22.50	\$9.45	
St Paul MN 55116-1730		Alley Sweeping	0.13	45.00	\$5.85	
*1102 JAMES AVE		Citywide Street Lighting	0.66	84.00	\$55.44	
*Ward: 3				_	\$133.47	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Ass	essment:		\$133.47	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$133.47	
			. — — — -			
Thomas E Leveroos	LEXINGTON PARK PLAT 7 LOT 6 BLK 1	Street Sweeping - Residential Street		50.00	\$21.00	10-28-23-14-0101
1121 James Ave	BLK 1	Alley Sweeping	0.13	87.50	\$11.38	
St Paul MN 55105-2918		Citywide Street Lighting	0.66	50.00	\$33.00	
*1121 JAMES AVE					\$65.38	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$65.38	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$65.38	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jesse Duhn	LEXINGTON PARK PLAT 7 LOT 27	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-14-0162
Melissa L Duhn	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	10 20 20 11 0102
1124 James Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2917				_	\$60.50	
*1124 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$60.50	
Paula M Sotirin	LEXINGTON PARK PLAT 7 LOT 7 BLK 1	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-14-0102
1125 James Ave	DLK 1	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2918		Citywide Street Lighting	0.66	50.00	\$33.00	
*1125 JAMES AVE					\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse		=	¢(0,50	
					\$60.50	
		This Paym			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$60.50	
		rayon An	ount.		\$00.30	
	KAY ADDITION LOT 8 BLK 1	Street Sweeping - Residential Stree		42.00		10-28-23-14-0182
Martin H Moen		Alley Sweeping	0.13	42.00	\$5.46	10 20 25 11 0102
1136 James Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2917				_	\$50.82	
*1136 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$50.82	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$50.82	

Ratification Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jon T Johansen	KAY ADDITION LOT 5 BLK 1	Street Sweeping - Residential S	<u>treε</u> 0.42	42.00	\$17.64	10-28-23-14-0179
Jill E Johanson		Alley Sweeping	0.13	42.00	\$5.46	
1150 James Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2917				_	\$50.82	
*1150 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$50.82	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$50.82	
	· — . — . — . — . — . — . — . — . — . —					
John C Shimpach	KAY ADDITION LOT 4 BLK 1	Street Sweeping - Residential S		42.00	\$17.64	10-28-23-14-0178
Kitty Shimpach		Alley Sweeping	0.13	42.00	\$5.46	
1156 James Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-5297					\$50.82	
*1156 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	Assessment:	=	\$50.82	
		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$50.82	
	. — — — — — —					
Wayne B Hlavac	KAY ADDITION LOTS 2 AND LOT 3 BLK 2	Street Sweeping - Commercial/		124.00	\$126.48	10-28-23-14-0185
Laura D Hlavac	BLK 2	Street Sweeping - Residential S		87.00	\$36.54	
1190 James Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	87.00 211.00	\$11.31 \$139.26	
St Paul MN 55105-2919		Citywide Street Lighting	0.00	211.00		
*1190 JAMES AVE		*** Owner and Taxpayer ***			\$313.59	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
1 chaing as 01. 6/21/2019		Total A	Assessment:	_	\$313.59	
		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payoff	f Amount:		\$313.59	

11:18:56 11/5/2019

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert M Radspinner	LEXINGTON PARK PLAT 7 W 1/2 OF	Street Sweeping - Residential Stre	ee 0.42	53.00	\$22.26	10-28-23-14-0147
Kathleen M Radspinner	VAC ALLEY ADJ AND LOT 13 BLK 3	Alley Sweeping	0.13	53.00	\$6.89	
1206 James Ave		Citywide Street Lighting	0.66	53.00	\$34.98	
St Paul MN 55105-2919				_	\$64.13	
*1206 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	sessment:		\$64.13	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$64.13	
	LEXINGTON PARK PLAT 7 LOT 12	Street Sweeping - Residential Stre	<u> </u>	43.00		
Jeffrey A Hiltner	BLK 3	Alley Sweeping	0.42	43.00	\$5.59	10-28-23-14-0146
1208 James Ave St Paul MN 55105-2919		Citywide Street Lighting	0.66	43.00	\$28.38	
		ony what surest Eighting	0.00	=		
*1208 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***			\$52.03	
*Pending as of: 8/21/2019		Total As	sessment:	-	\$52.03	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$52.03	
Heather N Guggemos	LEXINGTON PARK PLAT 7 W 10 FT	Street Sweeping - Residential Stre		89.00	\$37.38	10-28-23-14-0134
1217 James Ave	OF LOT 8 AND ALL OF LOT 9 BLK 2	Alley Sweeping	0.13	53.00	\$6.89	
St Paul MN 55105-2920		Citywide Street Lighting	0.66	89.00	\$58.74	
*1217 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***			\$103.01	
*Pending as of: 8/21/2019		1 7				
		Total As	sessment:	=	\$103.01	
		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$103.01	

Page 143

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Martin A Keller	HAWLEY'S SUBDIVISION LOT 1	Street Sweeping - Residential Stree	0.42	92.50	\$38.85	10-28-23-13-0187
Karen S Keller		Alley Sweeping	0.13	60.00	\$7.80	10 20 20 10 010 /
1225 James Ave		Citywide Street Lighting	0.66	92.50	\$61.05	
St Paul MN 55105-2947				_	\$107.70	
*1225 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$107.70	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$107.70	
		-				
Kevin S Corliss	LEXINGTON PARK PLAT 8 LOT 22	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-13-0186
1233 James Ave	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2947		Citywide Street Lighting	0.66	50.00	\$33.00	
*1233 JAMES AVE				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$60.50	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$60.50	
	LEXINGTON PARK PLAT 8 LOT 21	Street Sweeping - Residential Stree				
Anne D Murray	BLK 3	Alley Sweeping	0.42	50.00	\$6.50	10-28-23-13-0185
Thomas J Murray		Citywide Street Lighting	0.66	50.00	\$33.00	
1237 James Ave		City wide Street Eighting	0.00	=		
St Paul MN 55105-2947		*** Owner and Taxpayer ***			\$60.50	
*1237 JAMES AVE		Owner and Taxpayer				
*Ward: 3		Total Asse	samont.	_	\$60.50	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ent: ar Principal:		\$0.00	
			ar Principal: ar Interest:		\$0.00	
		Payoff An	wullt:		\$60.50	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:** Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ronald Lindgren	LEXINGTON PARK PLAT 8 E 10 FT OF	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0194
1242 James Ave	LOT 6 AND W 30 FT OF LOT 5 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2946		Citywide Street Lighting	0.66	40.00	\$26.40	
*1242 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
	LEXINGTON PARK PLAT 8 LOT 19	Street Sweeping - Residential Stree		50.00		10-28-23-13-0183
Suzanne C Lavelle	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	10 20 20 10 0100
1249 James Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2947				_	\$60.50	
*1249 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
1 chaing as 01. 6/21/2017		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$60.50	
Tara Nicole Dooley	LEXINGTON PARK PLAT 8 LOT 18	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-13-0182
Aaron William Dooley	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
1253 James Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2947					\$60.50	
*1253 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Asse			\$60.50	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Wade Thomas Johnson	LEXINGTON PARK PLAT 8 LOT 16	Street Sweeping - Residential Street	0.42	50.00	\$21.00	10-28-23-13-0180
1263 James Ave	BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2947		Citywide Street Lighting	0.66	50.00	\$33.00	
*1263 JAMES AVE				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Ass			\$60.50	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$60.50	
	LEXINGTON PARK PLAT 8 EX E 26 FT	Street Sweeping - Residential Street		39.00		10-28-23-13-0201
1276 James Ave	LOT 11 AND EX W 38 FT LOT 12 BLK	Alley Sweeping	0.13	39.00	\$5.07	10-20-25-15-0201
St Paul MN 55105-2946	4	Citywide Street Lighting	0.66	39.00	\$25.74	
*1276 JAMES AVE				_	\$47.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$47.19	
		This Payn			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$47.19	
	LEXINGTON PARK PLAT 8 LOT 13	Street Sweeping - Residential Stree				
Eva M Mcclellan 1277 James Ave	BLK 3	Alley Sweeping	0.13	53.00	\$6.89	10-28-23-13-0177
St Paul MN 55105-2947		Citywide Street Lighting	0.66	89.00	\$58.74	
*1277 JAMES AVE		, 5		_	\$103.01	
*Ward: 3		*** Owner and Taxpayer ***			\$105.01	
*Pending as of: 8/21/2019		Total Ass	essment:	_	\$103.01	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$103.01	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Corcoran	CHESTER PARK LOT 30 BLK 3	Street Sweeping - Residential Stree	0.42	82.50	\$34.65	10-28-23-13-0112
Lea M Corcoran		Alley Sweeping	0.13	40.00	\$5.20	
1283 James Ave		Citywide Street Lighting	0.66	82.50	\$54.45	
St Paul MN 55105-2949				_	\$94.30	
*1283 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$94.30	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$94.30	
William E Dombrow	CHESTER PARK LOT 28 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0110
Catherine B Dombrow		Alley Sweeping	0.13	40.00	\$5.20	
1291 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2949				_	\$48.40	
*1291 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym			\$0.00	
		Current Ye	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
John E Boatright	CHESTER PARK LOT 4 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0116
1294 James Ave		Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55105-2948		Citywide Street Lighting	0.66	40.00	\$26.40	
*1294 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_ -		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David A Crews	CHESTER PARK LOT 27 BLK 3	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-13-0109
1295 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2949		Citywide Street Lighting	0.66	40.00	\$26.40	
*1295 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	CHESTER PARK LOT 25 BLK 3	Street Sweeping - Residential Stre				
James B Koonce	CHESTER TARKE EST 23 BER 3	Alley Sweeping - Residential Site	0.42	40.00	\$5.20	10-28-23-13-0107
1303 James Ave St Paul MN 55105-2949		Citywide Street Lighting	0.66	40.00	\$26.40	
*1303 JAMES AVE		, <u></u> .gg		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$46.40	
*Pending as of: 8/21/2019		owner and Tunpayer				
1 chang as of. 6/21/2017		Total Ass	essment:	-	\$48.40	
		This Pay	This Payment:			
			Current Year Principal: Current Year Interest:			
		Current Y				
		Payoff A	mount:		\$48.40	
Thomas E Brown	CHESTER PARK EX E 1 FT LOT 8 BLK 4	Street Sweeping - Residential Stre		39.00	\$16.38	10-28-23-13-0120
1312 James Ave	•	Alley Sweeping Citywide Street Lighting	0.13	39.00	\$5.07 \$25.74	
St Paul MN 55105-2948		Citywide Street Lighting	0.66	39.00		
*1312 JAMES AVE		**** 0 1.0			\$47.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	assmant:		\$47.19	
		This Pays			\$47.19 \$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$47.19	
		1 ayun A	mount.		φ *1 /•1 <i>3</i>	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathleen M Wollan	CHESTER PARK LOT 9 BLK 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0121
1314 James Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2948		Citywide Street Lighting	0.66	40.00	\$26.40	
*1314 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	CHESTER PARK LOT 19 BLK 3	Street Sweeping - Residential Stree		40.00		
Christopher P Rupp Karine Stanko	CHESTER FARRE EOT 17 BERG 7	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-13-0101
1333 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2949		, , ,		_	\$48.40	
*1333 JAMES AVE		*** Owner and Taxpayer ***			φ 40.4 0	
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:	=	\$48.40	
S		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Mary K T Medinger	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0232
525 Fairview Ave S Unit 326	LOT 7 BLK 3	Alley Sweeping	0.13	82.50	\$10.73	
St Paul MN 55116-1665		Citywide Street Lighting	0.66	40.00	\$26.40	
*1355 JAMES AVE				_	\$53.93	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Tending as of. 0/21/2017		Total Asso	essment:	=	\$53.93	
		This Paym	nent:		\$0.00	
		-	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	mount:		\$53.93	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Katie L Henry	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street		83.00	\$34.86	10-28-23-24-0237
Michael Henry	VAC ALLEY ADJ & EX W 5 FT; LOT 19 AND ALL OF LOT 20 BLK 4	Alley Sweeping	0.13	83.00	\$10.79	
1358 James Ave	AND ALL OF LOT 20 BLK 4	Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2564				_	\$100.43	
*1358 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$100.43	
		This Payı	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$100.43	
	CINNVENTE DI ATA CE DALII MINI	Street Sweeping - Residential Stree			<u> </u>	
Polly A Hudson	SUNNYSIDE PLAT 2, ST. PAUL, MINN. EX E 5 FT LOT 10 BLK 3	Alley Sweeping - Residential Sire	0.42	35.00	\$14.70 \$4.55	10-28-23-24-0064
1365 James Ave		Citywide Street Lighting	0.66	35.00	\$23.10	
St Paul MN 55105-2551		City wide Street Eighting	0.00	=		
*1365 JAMES AVE		*** Owner and Taxpayer ***			\$42.35	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
		Total Assessment:			\$42.35	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$42.35	
Richard A Hessler	SUNNYSIDE PLAT 2, ST. PAUL, MINN. LOT 17 BLK 4	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-24-0107
Cynthia A Hessler	EOI 1/ BER 4	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1366 James Ave		Citywide Street Lighting	0.00	40.00	<u> </u>	
St Paul MN 55105-2564					\$48.40	
*1366 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_ _		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Polly Ann Norrie	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-24-0105
1374 James Ave	LOT 15 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2564		Citywide Street Lighting	0.66	40.00	\$26.40	
*1374 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					0.40.40	
		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street	0.42	38.00		10-28-23-24-0103
1382 James Ave	MINNESOTA LOT 1 BLK 8	Alley Sweeping	0.13	38.00	\$4.94	10-28-23-24-0103
St Paul MN 55105-2564		Citywide Street Lighting	0.66	38.00	\$25.08	
*1382 JAMES AVE		,		_	\$45.98	
*Ward: 3		*** Owner and Taxpayer ***			Ф 1 3.96	
*Pending as of: 8/21/2019		Total Aga	\$45.98			
		Total Assessment: This Payment:			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$45.98	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street		83.00	\$34.86	10-28-23-24-0199
Caitlin Jo Bayer	MINNESOTA LOT 30 BLK 6	Alley Sweeping	0.13	41.00	\$5.33	
1403 James Ave		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2553				=	\$94.97	
*1403 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$94.97	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$94.97	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael A Lockett	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0201
Faith M Jaspersen	MINNESOTA LOT 2 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1406 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2552					\$48.40	
*1406 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-4-1 A			\$48.40	
*Pending as of: 8/21/2019		Total Asses This Payme			\$48.40 \$0.00	
		•	ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am			\$48.40	
					4.5	
Melissa A Mclaughlin	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree		40.00		10-28-23-24-0202
1410 James Ave	MINNESOTA LOT 3 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0202
St Paul MN 55105-2552		Citywide Street Lighting	0.66	40.00	\$26.40	
*1410 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Assessment:			\$48.40 \$0.00	
		-	This Payment:			
		Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
		Payoff Am			\$0.00 \$48.40	
		rayon Am	ount:		\$46.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree		40.00		10-28-23-24-0197
1411 James Ave	MINNESOTA LOT 28 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2553		Citywide Street Lighting	0.66	40.00	\$26.40	
*1411 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	=		\$0.00	
		Payoff Am			\$48.40	
		·				

Ratification Date:

Benjamin D Baugh Sr Patricia L Baugh 1414 James Ave St Baul MN 55105 2552		Street Sweeping - Residential Street				
Patricia L Baugh 1414 James Ave	IOT ARIK 7			40.00	\$16.80	10-28-23-24-0203
	LOI 4 BLK /	Alley Sweeping	0.13	40.00	\$5.20	
Ct Dov.1 MNI 55105 2552		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2552					\$48.40	
*1414 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-4-1 A			\$48.40	
*Pending as of: 8/21/2019		Total Ass This Payı			\$48.40 \$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$48.40	
Miranda R Olson LANE'S MANO	OR, ST. PAUL,	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-24-0205
	LOT 6 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0203
St Paul MN 55105-2552		Citywide Street Lighting	0.66	40.00	\$26.40	
*1422 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	aggmant:	\$48.40		
		Total Assessment: This Payment:			\$0.00	
			Current Year Principal:			
		Current Year Interest:			\$0.00 \$0.00	
		Payoff A			\$48.40	
Christian Iwen LANE'S MANO	DR, ST. PAUL,	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-24-0194
764 Juno Ave MINNESOTA	LOT 25 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105		Citywide Street Lighting	0.66	40.00	\$26.40	
*1423 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payi			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:	Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Leslie A Miller	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0193
1427 James Ave	MINNESOTA LOT 24 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2553		Citywide Street Lighting	0.66	40.00	\$26.40	
*1427 JAMES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
		Character Desidential State				
Jeremy M Murray	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 8 BLK 7	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-24-0207
1430 James Ave		Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
St Paul MN 55105-2552		Only wide Bullet Eighting	0.00	=		
*1430 JAMES AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019				_		
		Total Assessment:			\$48.40	
		This Payment:			\$0.00	
		Current Ye	Current Year Principal: Current Year Interest:			
		Current Ye				
		Payoff An	nount:		\$48.40	
Robert Gibbs Tschida	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 23 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0192
Maura Gibbs Tschida	Minister 125 Ben v	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1431 James Ave		Citywide Succi Lighting	0.00	+ 0.00		
St Paul MN 55105-2553		*** Owner and Taxpayer ***			\$48.40	
*1431 JAMES AVE		Owner and Taxpayer				
*Ward: 3		Total Asse		-	\$48.40	
*Pending as of: 8/21/2019		Total Asse This Paym			\$48.40 \$0.00	
		-	ent: ear Principal:		\$0.00 \$0.00	
			ear Principal:		\$0.00	
		Payoff An			\$48.40	
		1 ayon An	ivuiit.		φ +0.+ υ	

	•	Ratification Date: Resolution	on #:		9	ð
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas Parson Manley	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-24-0191
Suzanne Malan Walsh	MINNESOTA LOT 22 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
1435 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2553				=	\$48.40	
*1435 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			- — — — –			
Melissa G Auran	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street		40.00	\$16.80	10-28-23-24-0209
Paul T Auran	MINNESOTA LOT 10 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1438 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2552				_	\$48.40	
*1438 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$48.40	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
			 -			
Kevin C Finley	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 21 BLK 6	Street Sweeping - Residential Street		40.00	\$16.80	10-28-23-24-0190
Selma K Finley	MINNESOTY EST 21 BER V	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1439 James Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2553		***			\$48.40	
*1439 JAMES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
-		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	

Payoff Amount:

\$48.40

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jane A Elliott	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0210
Kenneth A Mcgrew	MINNESOTA LOT 11 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1442 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2552				_	\$48.40	
*1442 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
David Vaughan	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0189
Susan Mallison	MINNESOTA LOT 20 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
1443 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2553				=	\$48.40	
*1443 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
			This Payment: Current Year Principal: Current Year Interest:			
		Current Ye				
		Current Ye				
		Payoff An	nount:		\$48.40	
Jolie S Frederickson	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0211
1446 James Ave	MINNESOTA LOT 12 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2552		Citywide Street Lighting	0.66	40.00	\$26.40	
*1446 JAMES AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James L Thonet	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0212
Michelle A Thonet	MINNESOTA LOT 13 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1450 James Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2552				_	\$48.40	
*1450 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
John W Schally	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 18 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0187
Janet A Schally	MINNESOTA LOT 18 BLK 0	Alley Sweeping	0.13	40.00	\$5.20	
1910 Graham Ave Apt 216		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2680					\$48.40	
*1451 JAMES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$48.40	
					\$0.00	
					\$0.00	
		Current Ye	\$0.00			
		Payoff Am	ount:		\$48.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree		80.50		10-28-23-24-0214
Christian Trifilio	MINNESOTA LOT 15 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-24-0214
1458 James Ave		Citywide Street Lighting	0.66	80.50	\$53.13	
St Paul MN 55105-2552		, 5 5		_	\$92.14	
*1458 JAMES AVE		*** Owner and Taxpayer ***			\$92.14	
*Ward: 3		o wher and rampayer				
*Pending as of: 8/21/2019		Total Asses	ssment:		\$92.14	
1 Chaing as 01. 0/21/2017		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	•		\$0.00	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** LEXINGTON PARK PLAT 6 LOT 12 Street Sweeping - Residential Stree 0.42 43.00 \$18.06 Margaret M Fleming 10-28-23-14-0044 BLK 2 0.13 43.00 Alley Sweeping \$5.59 1208 Jefferson Ave Citywide Street Lighting 0.66 43.00 \$28.38 St Paul MN 55105-2857 \$52.03 *1208 JEFFERSON AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$52.03 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$52.03 1.02 21.50 \$21.93 HERROLD'S REARRANGEMENT LOT Street Sweeping - Commercial/Art Na Sok Eng 10-28-23-13-0001 Street Sweeping - Residential Stree 0.42 62.00 \$26.04 Paul Richard Bachleitner 0.13 43.00 \$5.59 Alley Sweeping 1222 Jefferson Ave Citywide Street Lighting 0.66 83.50 \$55.11 St Paul MN 55105-2807 *1222 JEFFERSON AVE \$108.67 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$108.67 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$108.67 1.02 43.00 \$43.86 Christina M Joyce HERROLD'S REARRANGEMENT LOT Street Sweeping - Commercial/Art 10-28-23-13-0002 2 Alley Sweeping 0.13 43.00 \$5.59 1226 Jefferson Ave Citywide Street Lighting 0.66 43.00 \$28.38 St Paul MN 55105-2807 \$77.83 *1226 JEFFERSON AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$77.83 \$0.00 This Payment: Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$77.83

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rachel L Preston	HERROLD'S REARRANGEMENT LOT	Street Sweeping - Commercial/Art	1.02	43.00	\$43.86	10-28-23-13-0003
230 Jefferson Ave	3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2807		Citywide Street Lighting	0.66	43.00	\$28.38	
1230 JEFFERSON AVE				_	\$77.83	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019					455.02	
		Total Asse			\$77.83	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$77.83	
	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree		40.00		10-28-23-12-0190
1231 Jefferson Ave	SUBDIVISION EX ALLEY LOT 28 BLK	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-12-0190
St Paul MN 55105-2808	3	Citywide Street Lighting	0.66	40.00	\$26.40	
1231 JEFFERSON AVE		,		=	\$48.40	
Ward: 3		*** Owner and Taxpayer ***			\$40.40	
*Pending as of: 8/21/2019		Total Asse	\$48.40			
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$48.40	
	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0189
235 Jefferson Ave	SUBDIVISION EX ALLEY LOT 27 BLK	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 12 0109
St Paul MN 55105-2808	3	Citywide Street Lighting	0.66	40.00	\$26.40	
1235 JEFFERSON AVE				=	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment: \$48.40				
					\$48.40 \$0.00	
		This Dorma			MU UU	
		This Paym				
		Current Ye	ear Principal:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy D Balcerzak	HERROLD'S REARRANGEMENT W 1/2	Street Sweeping - Commercial/A	<u>art</u> = <u>1.02</u>	65.00	\$66.30	10-28-23-13-0005
Kathlene Balcerzak	OF LOT 5 AND ALL OF LOT 6	Alley Sweeping	0.13	65.00	\$8.45	
1242 Jefferson Ave		Citywide Street Lighting	0.66	65.00	\$42.90	
St Paul MN 55105-2807					\$117.65	
*1242 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$117.65	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$117.65	
Deborah R Scott	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY THE E 1/2 OF	Street Sweeping - Residential St		60.00	\$25.20	10-28-23-12-0186
Timothy M Scott	LOT 23 AND ALL OF LOT 24 BLK 3	Alley Sweeping	0.13	60.00	\$7.80	
1245 Jefferson Ave		Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-2808					\$72.60	
*1245 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3					ф то со	
*Pending as of: 8/21/2019			ssessment:		\$72.60	
		This Pa			\$0.00	
			Year Principal: Year Interest:	\$0.00 \$0.00		
			Amount:		\$0.00 \$72.60	
		rayon	Amount:		\$72.00	
Beth A Huber Johnson	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St				10 20 22 12 0105
Kevin M Johnson	SUBDIVISION EX ALLEY W 1/2 OF	Alley Sweeping	0.13	60.00	\$7.80	10-28-23-12-0185
1253 Jefferson Av	LOT 23 AND ALL OF LOT 22 BLK 3	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-2808		,		_	\$72.60	
*1253 JEFFERSON AVE		*** Owner and Taxpayer ***			\$72.00	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$72.60	
Č		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jennifer P Treinen	HERROLD'S REARRANGEMENT LOT	Street Sweeping - Commercial/Ar	1.02	43.00	\$43.86	10-28-23-13-0008
Matthew J Treinen	9	Alley Sweeping	0.13	43.00	\$5.59	
1256 Jefferson Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2807				_	\$77.83	
*1256 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	sessment:		\$77.83	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$77.83	
Wonseon Chang	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-12-0184
1257 Jefferson Ave	SUBDIVISION EX ALLEY LOT 21 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2808		Citywide Street Lighting	0.66	40.00	\$26.40	
*1257 JEFFERSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					***	
		Total Ass			\$48.40	
		This Pay			\$0.00	
			Vear Principal: Vear Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$48.40	
		rayon A	mount:		540.40	
	HERROLD'S REARRANGEMENT LOT			43.00		
1264 Jefferson Ave	11	Alley Sweeping	0.13	43.00	\$5.59	10-28-23-13-0010
St Paul MN 55105-2807		Citywide Street Lighting	0.66	43.00	\$28.38	
*1264 JEFFERSON AVE		,		_	\$77.83	
*Ward: 3		*** Owner and Taxpayer ***			\$77.63	
*Pending as of: 8/21/2019		1 7				
1 chaing as of. 0/21/2017		Total Ass	sessment:		\$77.83	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$77.83	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen J Simmer	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential S	Stree 0.42	80.00	\$33.60	10-28-23-12-0182
Helen M Schadegg	SUBDIVISION EX ALLEY LOTS 18	Alley Sweeping	0.13	80.00	\$10.40	
1265 Jefferson Ave	AND LOT 19 BLK 3	Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2808				_	\$96.80	
*1265 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total	Assessment:		\$96.80	
		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payor	f Amount:		\$96.80	
Mary Cathryn Bauer	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-12-0181
1275 Jefferson Ave	SUBDIVISION EX ALLEY LOT 17 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2808		Citywide Street Lighting	0.66	40.00	\$26.40	
*1275 JEFFERSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
					\$0.00	
			This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
Timothy Gilbert	LOT 2 BLK 1	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-13-0218
Alisha Gilbert		Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0210
922 Laurel Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55104-6523				_	\$48.40	
*1286 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
			Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payor	f Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mary Margaret Barnett	LOT 3 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0219
1290 Jefferson Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2809		Citywide Street Lighting	0.66	40.00	\$26.40	
*1290 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Roy W Zimmerman	CHESTER PARK LOT 8 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0031
Amy L Zimmerman		Alley Sweeping	0.13	40.00	\$5.20	
1312 Jefferson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2809					\$48.40	
*1312 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				===		
*Pending as of: 8/21/2019		Total Assessment:			\$48.40 \$0.00	
			This Payment:			
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Stree				
1360 Jefferson Ave	LOT 19 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-24-0029
St Paul MN 55105-2409		Citywide Street Lighting	0.66	40.00	\$26.40	
		, , ,		_	\$48.40	
*1360 JEFFERSON AVE *Ward: 3		*** Owner and Taxpayer ***			\$40.40	
*Pending as of: 8/21/2019		1 3				
1 chang as of. (721/201)		Total Asse	ssment:	=	\$48.40	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

		Ratification Date: Resol	ution #:			.
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Rhonda J Mcelroy	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-24-0027
1366 Jefferson Ave	LOT 17 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2409		Citywide Street Lighting	0.66	40.00	\$26.40	
*1366 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T. 4.1	Assessment:		¢40.40	
					\$48.40 \$0.00	
			ayment: t Year Principal:		\$0.00 \$0.00	
			t Year Interest:		\$0.00 \$0.00	
			Amount:		\$0.00 \$48.40	
		rayon	Amount.		540.40	
Gail L Lamson	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential S	tree 0.42	42.00	\$17.64	10-28-23-21-0088
1375 Jefferson Ave	OF ST. PAUL, MINN. LOT 11 BLK 4	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55105-2410		Citywide Street Lighting	0.66	42.00	\$27.72	
*1375 JEFFERSON AVE				_	\$50.82	
*Ward: 3		*** Owner ***				
*Pending as of: 8/21/2019				_		
		Total A	Assessment:		\$50.82	
		This P	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payof	Amount:		\$50.82	
Joseph R Lamson 1375 Jefferson Ave	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 11 BLK 4	*** Taxpayer and 3rd Party ***				10-28-23-21-0088
St Paul MN 55105-2410		Total A	Assessment:		\$50.82	
*1375 JEFFERSON AVE		This P	ayment:		\$0.00	
*Ward: 3			t Year Principal:		\$0.00	
			=			
*Pending as of: 8/21/2019		Currer	t Year Interest:		\$0.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Fernando Contreras Flamand	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-21-0091
Ganeane E Contreras	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0031
1391 Jefferson Ave	COUNTY, MINNESOTA LOT 8 BLK 8	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2410				_	\$48.40	
*1391 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
Angela Haag	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 4 BLK 1	Street Sweeping - Residential Str		38.00	\$15.96	10-28-23-24-0020
1394 Jefferson Ave	MINNESOTA EOT Y BERK T	Alley Sweeping Citywide Street Lighting	0.13 0.66	38.00 38.00	\$4.94 \$25.08	
St Paul MN 55105-2409		Citywide Street Lighting	0.00	38.00		
*1394 JEFFERSON AVE					\$45.98	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Pending as of: 6/21/2019		Total A	ssessment:	\$45.98		
		This Pa	yment:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:		\$0.00		
		Payoff .	Amount:		\$45.98	
William F Dickson	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 1 BLK 2	Street Sweeping - Residential Str		82.00	\$34.44	10-28-23-24-0110
1402 Jefferson Ave	MINNESOTA LOT 1 BLK 2	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55105-2411		Citywide Street Lighting	0.66	82.00	\$54.12	
*1402 JEFFERSON AVE		**** C 17 ***			\$93.89	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$93.89	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$93.89	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Emily Tautges	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	treε 0.42	82.00	\$34.44	10-28-23-21-0222
1403 Jefferson Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10 10 10 11 011
St Paul MN 55105-2412	COUNTY, MINNESOTA LOT 30 BLK 7	Citywide Street Lighting	0.66	82.00	\$54.12	
*1403 JEFFERSON AVE				_	\$93.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
C		Total A	Assessment:		\$93.76	
		This Pa	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$93.76	
Elspeth Carlstrom	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	10-28-23-21-0217
Andrew Christian Hoffman	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1421 Jefferson Ave	COUNTY, MINNESOTA LOT 25 BLK 7	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2412				_	\$48.40	
*1421 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$48.40	
					\$0.00	
		Curren	Current Year Principal:			
		Curren	nt Year Interest:		\$0.00	
		Payoff	Payoff Amount:			
Grant W Dawson	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-24-0115
1422 Jefferson Ave	MINNESOTA LOT 6 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2411		Citywide Street Lighting	0.66	40.00	\$26.40	
*1422 JEFFERSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$48.40	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$48.40	

Res

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Steven C Hine	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential	Stree 0.42	40.00	\$16.80	10-28-23-21-0214
Susanna D Ahrens	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1435 Jefferson Ave	COUNTY, MINNESOTA LOT 22 BLK 7	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2412					\$48.40	
*1435 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$48.40	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	
		Street Service Bridge			<u> </u>	
Bruce C Templeton	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 10 BLK 2	Street Sweeping - Residential Alley Sweeping	Stree 0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-24-0119
Joanne Schoen		Citywide Street Lighting	0.66	40.00	\$3.20 \$26.40	
1438 Jefferson Ave St Paul MN 55105-2411		City wide Suber Lighting	0.00	=	-	
		*** Owner and Taxpayer ***			\$48.40	
*1438 JEFFERSON AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:	- -	\$48.40	
Tending as of. 6/21/2019			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	
Roc Ventures Inc	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential		40.00	\$16.80	10-28-23-24-0120
1623 Central Ave	MINNESOTA LOT 11 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
Cheyenne WY 82001-4531		Citywide Street Lighting	0.66	40.00	\$26.40	
*1442 JEFFERSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Curtis L Johnson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	60.00	\$25.20	10-28-23-21-0211
Michelle A Finley Johnson	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	60.00	\$7.80	
1447 Jefferson Ave	COUNTY, MINNESOTA E 1/2 OF LOT 18 AND ALL OF LOT 19 BLK 7	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-2412				_	\$72.60	
*1447 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total	Assessment:		\$72.60	
			Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payor	ff Amount:		\$72.60	
Eric I Buhr	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 13 BLK 2	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-24-0122
Renee L Buhr	MINNESOTA EOT 13 BER 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1450 Jefferson Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2411		***			\$48.40	
*1450 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total	Assassment	_ _	\$48.40	
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$0.00	
					\$0.00	
			Current Year Interest:			
			ff Amount:	\$0.00 \$48.40		
Tyler A Trombley	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential S	Stree 0.42	81.50	\$34.23	10-28-23-24-0124
1458 Jefferson Ave	MINNESOTA LOT 15 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2411		Citywide Street Lighting	0.66	81.50	\$53.79	
*1458 JEFFERSON AVE				_	\$93.22	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total	Assessment:		\$93.22	
		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	ff Amount:		\$93.22	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Elmquist Properties Llc	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	164.00	\$68.88	10-28-23-21-0209
1459 Jefferson Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 16 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2412	, , , , , , , , , , , , , , , , , , , ,	Citywide Street Lighting	0.66	164.00	\$108.24	
*1459 JEFFERSON AVE		*** 0 17			\$182.32	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$182.32	
		This Payr			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$182.32	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	41.00	<u>\$17.22</u>	10-28-23-23-0115
1538 Jefferson Ave	CITY OF SAINT PAUL E 41 FT OF LOTS	Alley Sweeping	0.13	100.00	\$13.00	10 20 20 20 0113
St Paul MN 55105-2449	1 AND LOT 2 BLK 11	Citywide Street Lighting	0.66	41.00	\$27.06	
*1538 JEFFERSON AVE				=	\$57.28	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T-4-1 A			\$57.28	
		Total Ass This Payr			\$57.28 \$0.00	
					\$0.00	
		Current Year Principal: Current Year Interest: Payoff Amount:		\$0.00		
					\$57.28	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street			<u>\$25.20</u>	10-28-23-23-0187
Sarah E Rubens	CITY OF SAINT PAUL W 60 FT OF N	Alley Sweeping	0.13	80.00	\$10.40	10-20-23-23-0107
1556 Jefferson Ave	3O FT OF LOT 23 AND W 6O FT OF LOT 24 BLK 12	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55105-2450				_	\$75.20	
*1556 JEFFERSON AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$75.20	
1 maing as on 6,21,2017		This Payr			\$0.00	
		-	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$75.20	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dorothy M Heller	LEXINGTON PARK PLAT 6 E 40 FT OF	Street Sweeping - Residential Street		40.00	\$16.80	10-28-23-14-0094
1118 Juliet Ave	LOT 32 BLK 4	Alley Sweeping	0.13	83.50	\$10.86	
St Paul MN 55105-2921		Citywide Street Lighting	0.66	40.00	\$26.40	
*1118 JULIET AVE				_	\$54.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$54.06	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$54.06	
Connie E Okeefe	LEXINGTON PARK PLAT 6 E 30 FT OF LOT 31 AND W 10 FT OF LOT 32 BLK	Street Sweeping - Residential Street		40.00	\$16.80	10-28-23-14-0093
1122 Juliet Ave	4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2921		Citywide Street Lighting	0.66	40.00	\$26.40	
*1122 JULIET AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payr	nent:		\$0.00	
		Current Year Principal: Current Year Interest:		\$0.00		
				\$0.00		
		Payoff A	nount:		\$48.40	
	WALTON HEIGHTS LOT 9	Street Sweeping - Residential Street				
William D Leifheit		Alley Sweeping	0.42	40.00	\$5.20	10-28-23-14-0007
Kari A Leifheit		Citywide Street Lighting	0.66	40.00	\$26.40	
1127 Juliet Ave		City wide Succe Eighting	0.00	=		
St Paul MN 55105-2922		*** Owner and Taxpayer ***			\$48.40	
*1127 JULIET AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$48.40	
1 Chang as 01. 0/21/2017		This Payr			\$0.00	
			ear Principal:		\$0.00	
		1	.r		4	
		Current Y	ear Interest:		\$0.00	

Resolution #:

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christine A Dufour Iverson	LEXINGTON PARK PLAT 6 W 30 FT	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-14-0091
Michael J Iverson	OF LOT 3O AND EX THE W 4O FT LOT 29 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1130 Juliet Ave	29 DLK 4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2921				=	\$48.40	
*1130 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
_		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Daniel Peter Schibel	WALTON HEIGHTS LOT 11	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-14-0009
Lisa Renee Schibel		Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20 \$26.40	
1135 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2922		*** 0 1.00			\$48.40	
*1135 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current Year Interest:		\$0.00		
		Payoff	Amount:		\$48.40	
Gerald F Gruber	LEXINGTON PARK PLAT 6 EX THE W 10 FT LOT 28 BLK 4	Street Sweeping - Residential Str	теє 0.42 0.13	40.00	\$16.80	10-28-23-14-0089
Mary L Gruber	.01.20.2022.	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
1140 Juliet Ave		City wide Succi Lighting	0.00	- 0.00		
St Paul MN 55105-2921 *1140 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Total A	ssessment:	=	\$48.40	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00	
			Amount:		\$48.40	
		1 ayon	vuiit.		Ψ τυ.τυ	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robin R Ryan	WALTON HEIGHTS LOT 13	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-14-0011
1143 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2922		Citywide Street Lighting	0.66	40.00	\$26.40	
*1143 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses	ssment:		\$48.40	
		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Jesse Pischlar	WALTON HEIGHTS LOT 16	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-14-0014
Mallory Pischlar		Alley Sweeping	0.13	40.00	\$5.20	
1159 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2922					\$48.40	
*1159 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Asses			\$48.40 \$0.00	
			This Payment: Current Year Principal:			
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	LEXINGTON PARK PLAT 6 LOT 24	Street Sweeping - Residential Stree				10-28-23-14-0084
Laurie Radovsky	BLK 4	Alley Sweeping	0.13	42.00	\$5.46	10-28-23-14-0084
1162 Juliet Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2921				_	\$50.82	
*1162 JULIET AVE		*** Owner and Taxpayer ***			\$30.02	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Asser	ssment:	-	\$50.82	
		This Paymo			\$0.00	
		-	ar Principal:		\$0.00	
		Cultelli 16	ai i imeipai.		Φ0.00	
		Current Ye	=		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gina M Forliti	WALTON HEIGHTS LOT 18	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-14-0016
1167 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2922		Citywide Street Lighting	0.66	40.00	\$26.40	
*1167 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
		-				
Alyssa A Brolsma	LEXINGTON PARK PLAT 6 LOT 22 BLK 4	Street Sweeping - Residential Stre		42.00	\$17.64	10-28-23-14-0082
1170 Juliet Ave	BLK 4	Alley Sweeping	0.13	84.50	\$10.99	
St Paul MN 55105-2921		Citywide Street Lighting	0.66	42.00	\$27.72	
*1170 JULIET AVE					\$56.35	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=	056.25	
			sessment:		\$56.35 \$0.00	
			This Payment: Current Year Principal: Current Year Interest:			
			Amount:		\$0.00 \$56.35	
		1 ayon F	tmount.		\$3 0.3 3	
	WALTON HEIGHTS LOT 19	Street Sweeping - Residential Stre	<u> </u>	43.00		10-28-23-14-0017
1171 Juliet Ave		Alley Sweeping	0.13	81.50	\$10.60	10 20 20 11 001.
St Paul MN 55105-2922		Citywide Street Lighting	0.66	43.00	\$28.38	
*1171 JULIET AVE				_	\$57.04	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$57.04	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$57.04	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jason Rush Madeleine Rush	LEXINGTON PARK PLAT 6 LOT 12 BLK 3	Street Sweeping - Residential Stre Citywide Street Lighting	0.42	43.00 43.00	\$18.06 \$28.38	10-28-23-14-0057
1208 Juliet Ave St Paul MN 55105-2923 *1208 JULIET AVE		*** Owner and Taxpayer ***			\$46.44	
*Ward: 3		Total Ass	sessment:		\$46.44	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
-		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$46.44	
		Court Coursing Decidential Street				
Elizabeth E Hergert	LEXINGTON PARK PLAT 6 LOT 11 BLK 3	Street Sweeping - Residential Stre Citywide Street Lighting	6 0.42 0.66	43.00 43.00	\$18.06 \$28.38	10-28-23-14-0056
Ronald E Ray Ii 1212 Juliet Ave		Citywide Street Lighting	0.00	 3.00	\$46.44	
St Paul MN 55105-2923						
*1212 JULIET AVE		Owner and Taxpayer				
*Ward: 3		Total Ass	sessment:		\$46.44	
*Pending as of: 8/21/2019		This Pay			\$0.00	
9			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:	\$46.44		
Maggie Berg	LEXINGTON PARK PLAT 6 LOT 8 BLK 2	Street Sweeping - Residential Stre	6 0.42 0.13	43.00 43.00	\$18.06 \$5.59	10-28-23-14-0040
1215 Juliet Ave		Alley Sweeping Citywide Street Lighting	0.13	43.00	\$3.39 \$28.38	
St Paul MN 55105-2924		City wide Street Lighting	0.00	4 5.00		
*1215 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***			\$52.03	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
rending as of. 8/21/2019		Total Ass	sessment:	_	\$52.03	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$52.03	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Min Chen	HERROLD'S REARRANGEMENT EX W	Street Sweeping - Residential Stre	ee 0.42	91.50	\$38.43	10-28-23-13-0024
Xian Wu	23 FT LOT 27 AND ALL OF LOT 28	Alley Sweeping	0.13	63.00	\$8.19	
8650 N 215th St		Citywide Street Lighting	0.66	91.50	\$60.39	
Forest Lake MN 55025-9205				_	\$107.01	
*1223 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$107.01	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$107.01	
	LEVINGTON DARK BLAT 6 EV E 22 L/2	Street Sweeping - Residential Stre	ee — — — — — — — — — — — — — — — — — —			
Lindsay Hilger	LEXINGTON PARK PLAT 8 EX E 37 1/2 FT LOT 1 AND E 1/2 OF LOT 2 BLK 2	Alley Sweeping	0.13	38.00	\$13.96 \$4.94	10-28-23-13-0141
Peter Hilger		Citywide Street Lighting	0.13	38.00	\$25.08	
1226 Juliet Ave		City wide Street Eighting	0.00	=		
St Paul MN 55105-2903		*** Owner and Taxpayer ***			\$45.98	
*1226 JULIET AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	-	\$45.98	
Tending as of. 6/21/2019		This Pay			\$0.00	
		Current Year Principal:			\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$45.98	
Charles D Stuurop	LEXINGTON PARK PLAT 8 W 1/2 OF LOT 2 AND ALL OF LOT 3 BLK 2	Street Sweeping - Residential Stre	0.42 0.13	75.00 75.00	\$31.50 \$9.75	10-28-23-13-0142
1232 Juliet Ave	DOT Z. III. D. I. E. D. T. D. D. L. T.	Alley Sweeping Citywide Street Lighting	0.13	75.00 75.00	\$9.73 \$49.50	
St Paul MN 55105-2903		City wide Succi Lighting	0.00	75.00		
*1232 JULIET AVE		***			\$90.75	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment: \$90.7			\$90.75	
					\$90.75 \$0.00	
		This Pay	ment: Year Principal:			
			Year Principal: Year Interest:		\$0.00	
					\$0.00	
		Payoff A	amount:		\$90.75	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert L Colwell	HERROLD'S REARRANGEMENT LOT	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	10-28-23-13-0020
1245 Juliet Ave	23	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2904		Citywide Street Lighting	0.66	43.00	\$28.38	
*1245 JULIET AVE				_	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$52.03	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$52.03	
	LEXINGTON PARK PLAT 8 LOT 7	Street Sweeping - Residential Stree		50.00		
Yvonne Annette Lauren David Carr Jensen	BLK 2	Alley Sweeping	0.42	50.00	\$6.50	10-28-23-13-0147
1252 Juliet Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2903		, 5 5		_	\$60.50	
*1252 JULIET AVE		*** Owner and Taxpayer ***			\$00.50	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$60.50	
3		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$60.50	
Sara A Nahlovsky	CHESTER PARK LOT 1 BLK 2	Street Sweeping - Residential Stree	0.42	82.50	\$34.65	10-28-23-13-0054
1282 Juliet Ave		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 82.50	\$5.20 \$54.45	
St Paul MN 55105-2905		Citywide Street Lighting	0.00	82.30	·	
*1282 JULIET AVE		*** 0 17 ***			\$94.30	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T-4-1 A		_	<u> </u>	
		Total Asse This Paym			\$94.30 \$0.00	
			ent. ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$94.30	
		, 0 1				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John F Monogue Jr	CHESTER PARK LOT 2 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0055
Stephanie H Monogue		Alley Sweeping	0.13	40.00	\$5.20	
1286 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2905				_	\$48.40	
*1286 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
	CHESTER PARK LOT 5 BLK 2	Street Sweeping - Residential Stree				
David Tobkin	CHESTERTIAN EOT 3 BER 2	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-13-0058
1298 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2905		City wide Succe Eighting	0.00	=		
*1298 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
rending as of. 8/21/2019		Total Asse	ssment:	-	\$48.40	
		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	Current Year Interest:			
		Payoff An	\$48.40			
	CHESTER PARK LOT 26 BLK 1					
Gail T Mulcahey	CHESTER PARK LOT 20 BLK T	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0049
1299 Juliet Ave		Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2906		Citywide Street Lighting	0.66	40.00		
*1299 JULIET AVE		444.0			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	comont:		\$48.40	
		This Paym			\$48.40 \$0.00	
			ent: ear Principal:		\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$0.00 \$48.40	
		гауон Ап	wullt.		J40.4U	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas S Boeckman	CHESTER PARK LOT 25 BLK 1	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-13-0048
Rachel Ann Boeckman		Alley Sweeping	0.13	40.00	\$5.20	
1303 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2906				=	\$48.40	
*1303 JULIET AVE		*** Owner ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Timothy S Boeckman 1303 Juliet Ave	CHESTER PARK LOT 25 BLK 1	*** Taxpayer and 3rd Party ***		10-28-23-13-0048		
St Paul MN 55105-2906		Total Ass	essment:	_	\$48.40	
*1303 JULIET AVE		This Payı	nent:		\$0.00	
*Ward: 3		•	Current Year Principal:		\$0.00	
*Pending as of: 8/21/2019		Current Y	ear Interest:		\$0.00	
· ·		Payoff A	mount:		\$48.40	
Julie Meyer	CHESTER PARK LOT 6 BLK 2	Street Sweeping - Residential Street	0.42	40.00	<u>\$16.80</u>	10-28-23-13-0059
14192 Heywood Path		Alley Sweeping	0.13	40.00	\$5.20	
Apple Valley MN 55124-6525		Citywide Street Lighting	0.66	40.00	\$26.40	
*1304 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Payı			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James R Turner	CHESTER PARK LOT 24 BLK 1	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-13-0047
1307 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2906		Citywide Street Lighting	0.66	40.00	\$26.40	
*1307 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Evan M Ziegler	CHESTER PARK LOT 8 BLK 2	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-13-0061
Tracy A Ziegler		Alley Sweeping	0.13	40.00	\$5.20	
1308 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2905				_	\$48.40	
*1308 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pay			\$0.00 \$0.00	
			Current Year Principal:			
			Year Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	CHESTER PARK LOT 23 BLK 1					
Jeanne Overocker	CHESTER PARK EOT 25 BER 1	Street Sweeping - Residential Stre Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-13-0046
1311 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2906		City wide Succe Lighting	0.00	-10.00		
*1311 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		T. (1 A		-	¢40.40	
			sessment:		\$48.40 \$0.00	
		This Pay				
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeffrey M Brown	CHESTER PARK LOT 9 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0062
1312 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2905		Citywide Street Lighting	0.66	40.00	\$26.40	
*1312 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
Michael J Schulze	CHESTER PARK LOT 10 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0063
Nora J Schulze		Alley Sweeping	0.13	40.00	\$5.20	
1316 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2905					\$48.40	
*1316 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3		m . 1.4		=	ф.40, 40	
*Pending as of: 8/21/2019		Total Asse			\$48.40 \$0.00	
		This Paym	ent: ar Principal:		\$0.00 \$0.00	
		Current Ye	-		\$0.00	
		Payoff An			\$48.40	
		Tayon Ali	ount.		9 -10-1 0	
Ann Marie Degroot	CHESTER PARK LOT 11 BLK 2	Street Sweeping - Residential Stree		40.00		10-28-23-13-0064
1320 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	10 20 20 10 0001
St Paul MN 55105-2905		Citywide Street Lighting	0.66	40.00	\$26.40	
*1320 JULIET AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
William G Uhl	CHESTER PARK LOT 20 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0043
Sandra D Uhl		Alley Sweeping	0.13	40.00	\$5.20	
1321 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2906				_	\$48.40	
*1321 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Theodore M Johnson	CHESTER PARK LOT 12 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0065
Nancy S Johnson		Alley Sweeping	0.13	40.00	\$5.20	
1324 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2905				_	\$48.40	
*1324 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	Total Assessment:			
		This Paym			\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Nancy G Roberts	CHESTER PARK LOT 19 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0042
1325 Juliet Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2906		Citywide Street Lighting	0.66	40.00	\$26.40	
*1325 JULIET AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date: Resolution #:								
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Mary M Crosby	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street		35.00	\$14.70	10-28-23-24-0008		
Luis Villar	EX W 5 FT LOT 8 BLK 1	Alley Sweeping	0.13	35.00	\$4.55			
1361 Juliet Ave		Citywide Street Lighting	0.66	35.00	\$23.10			
St Paul MN 55105-2502				=	\$42.35			
*1361 JULIET AVE		*** Owner and Taxpayer ***						
*Ward: 3								
*Pending as of: 8/21/2019		Total Ass	essment:		\$42.35			
		This Payr			\$0.00			
		Current Y	ear Principal:		\$0.00			
		Current Y	ear Interest:		\$0.00			
		Payoff A	mount:		\$42.35			
Tyler L Westfield	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street	0.42	40.00	<u>\$16.80</u>	10-28-23-24-0054		
Jessica A Westfield	LOT 14 BLK 2	Alley Sweeping	0.13	40.00	\$5.20			
1378 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40			
St Paul MN 55105-2501				_	\$48.40			
*1378 JULIET AVE		*** Owner and Taxpayer ***						
*Ward: 3				_				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40			
		This Payr			\$0.00			
		Current Y	ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff A	mount:		\$48.40			
			- — — — -					
Eric J Pick	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street		38.00	\$15.96	10-28-23-24-0050		
1394 Juliet Ave	MINNESOTA LOT 4 BLK 4	Alley Sweeping	0.13	38.00	\$4.94			
St Paul MN 55105-2501		Citywide Street Lighting	0.66	38.00	\$25.08			
*1394 JULIET AVE				_	\$45.98			
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***						
1 chaing as of. 0/21/2017		Total Ass		=	\$45.98			
		This Payr	nent:		\$0.00			
			ear Principal:		\$0.00			
			ear Interest:		\$0.00			
		Payoff A	mount:		\$45.98			

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kenneth C Evanoff	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street	0.42	80.50	\$33.81	10-28-23-24-0049
Mary Lou Evanoff	MINNESOTA LOT 5 BLK 4	Alley Sweeping	0.13	36.00	\$4.68	
1398 Juliet Ave		Citywide Street Lighting	0.66	80.50	\$53.13	
St Paul MN 55105-2501				_	\$91.62	
*1398 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$91.62	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$91.62	
			- — — — –			
Timothy Hemquist	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street		83.00	\$34.86	10-28-23-24-0140
1400 Juliet Ave	MINNESOTA LOT 1 BLK 3	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55105-2565		Citywide Street Lighting	0.66	83.00	\$54.78	
*1400 JULIET AVE				_	\$94.97	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment: This Payment:			\$94.97	
					\$0.00	
			Current Year Principal: Current Year Interest:			
		Payoff A	mount:		\$94.97	
Carly Willis-Schmaltz	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 30 BLK 2	Street Sweeping - Residential Street		81.00	\$34.02	10-28-23-24-0139
1401 Juliet Ave	MINNESOTA EOT 30 BER 2	Alley Sweeping Citywide Street Lighting	0.13	41.00	\$5.33 \$53.46	
St Paul MN 55105-2566		Citywide Street Lighting	0.66	81.00	\$53.46	
*1401 JULIET AVE					\$92.81	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	Total Assessment:			
		This Payr			\$92.81 \$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$92.81	
		1 11,011 11			4	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nicholas J Blum	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0137
Julianne E Schroeder	MINNESOTA LOT 28 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1409 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2566				_	\$48.40	
*1409 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Janice Koich	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0143
Paul Koich	MINNESOTA LOT 4 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1414 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2565				_	\$48.40	
*1414 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$48.40	
					\$0.00	
		Current Ye	Current Year Principal:			
		Current Ye	Current Year Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Judith Brown	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 25 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0134
C O Jennifer Brown	WHATESOTA EOT 23 BEK 2	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
1421 Juliet Ave		Citywide Street Lighting	0.66	40.00	_	
St Paul MN 55105-2566					\$48.40	
*1421 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Stephen J Boland	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0145
Carron Perry	MINNESOTA LOT 6 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1422 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2565				_	\$48.40	
*1422 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree				
Sean M Pfundstein	MINNESOTA LOT 11 BLK 3	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-24-0150
1442 Juliet Ave		Citywide Street Lighting	0.13	40.00	\$26.40	
St Paul MN 55105-2665		on, whe show Eighting	0.00	=	\$48.40	
*1442 JULIET AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		owner and Taxpayer				
		Total Asse	Total Assessment:			
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff An	ount:		\$48.40	
Straightline Builders Llc	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 19 BLK 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-24-0128
2935 Fremont Ave N Unit 103		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
Minneapolis MN 55408-2087		Citywide Succi Lighting	0.00	+0.00		
*1447 JULIET AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:		\$48.40		
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-24-0152
Melissa Floyd	MINNESOTA LOT 13 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1450 Juliet Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2565				_	\$48.40	
*1450 JULIET AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Stre	ee 0.42			
Sogdiana Llc 13500 Grove Dr Unit 1418	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-41-0068
	PARK PLAT 10 LOT 13 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
Maple Grove MN 55311-4467		only was succe Eighning	0.00	=	\$48.40	
*1203 JUNO AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019						
		Total Assessment:			\$48.40	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff A	Amount:		\$48.40	
	J. J. KENNA'S ADDITION LOT 6 BLK	Street Sweeping - Residential Stre	<u> </u>			10 20 22 41 0077
Nancy L Henry	1	Alley Sweeping	0.13	39.00	\$5.07	10-28-23-41-0077
1206 Juno Ave		Citywide Street Lighting	0.66	39.00	\$25.74	
St Paul MN 55116-1625		, 5 5		_	\$47.19	
*1206 JUNO AVE *Ward: 3		*** Owner and Taxpayer ***			\$47.19	
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	_	\$47.19	
<i>3</i>		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$47.19	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael M Gladis	J. J. KENNA'S ADDITION LOT 7 BLK	Street Sweeping - Residential Stree	0.42	39.00	\$16.38	10-28-23-41-0078
Holiday H Gladis	1	Alley Sweeping	0.13	39.00	\$5.07	
1210 Juno Ave		Citywide Street Lighting	0.66	39.00	\$25.74	
St Paul MN 55116-1625				_	\$47.19	
*1210 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$47.19	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$47.19	
			· — — <u> </u>			
Malon L Wareing	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-41-0066
1211 Juno Ave	PARK PLAT 10 LOT 11 BLK 1	Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55116-1626		Citywide Street Lighting	0.66	40.00	\$26.40	
*1211 JUNO AVE					\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 6/21/2017		Total Assessment:			\$48.40	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Year Interest:		\$0.00		
		Payoff Ar	nount:	\$48.40		
Kimberly J Endres	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	83.50 43.00	\$35.07 \$5.59	10-28-23-42-0029
Christopher Endres	PARK PLAT 10 LOT 30 BLK 2	Citywide Street Lighting	0.13	83.50	\$5.39 \$55.11	
1223 Juno Ave		City wide Street Lighting	0.00	65.50		
St Paul MN 55116-1659		*** 0 1T ***			\$95.77	
*1223 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-2 1 A		=	905 77	
*Pending as of: 8/21/2019		Total Ass			\$95.77	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$95.77	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Zachary Cizek	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0028
Jessica Cizek	BLOCKS 4 5 & 6 OF LEXINGTON PARK PLAT 10 LOT 29 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1225 Juno Ave	THAT EM TO BOT 2) BER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1659				_	\$48.40	
*1225 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
		Payoff An	ear Interest:		\$0.00	
		гауон Ап	iount:		\$48.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Street				10-28-23-42-0025
Lylah Dady	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-42-0023
1239 Juno Ave	PARK PLAT 10 LOT 26 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1659				_	\$48.40	
*1239 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$48.40	
					\$0.00	
					\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
Gail D Lee	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Stree		40.00		
1247 Juno Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-42-0023
St Paul MN 55116-1659	PARK PLAT 10 LOT 24 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1247 JUNO AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			φτο.τυ	
*Pending as of: 8/21/2019						
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cathleen Mckinney	J. J. KENNA'S ADDITION LOT 8 BLK	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-42-0060
1250 Juno Ave	2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1660		Citywide Street Lighting	0.66	40.00	\$26.40	
*1250 JUNO AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	essment:		\$48.40	
		This Payr			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Street		80.00		10-28-23-42-0228
David L Potter	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	80.00	\$10.40	10-20-23-42-0220
1800 Graham Ave Unit 300	PARK PLAT 10 LOTS 21 & LOT 22 BLK 2	Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55116-3292	2			=	\$96.80	
*1257 JUNO AVE		*** Owner and Taxpayer ***			Ψ20.00	
*Ward: 3 *Pending as of: 8/21/2019		Total Assessment:			\$96.80	
		This Payr	nent:		\$0.00	
		Current Y	Current Year Principal: Current Year Interest:		\$0.00	
		Current Y			\$0.00	
		Payoff A	nount:		\$96.80	
	J. J. KENNA'S ADDITION LOT 11 BLK	Street Sweeping - Residential Street		40.00		10-28-23-42-0063
1262 Juno Ave	2	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-42-0003
St Paul MN 55116-1660		Citywide Street Lighting	0.66	40.00	\$26.40	
*1262 JUNO AVE		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$ 10.10	
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Cultur 1			4	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Harriet Guthertz	J. J. KENNA'S ADDITION LOT 14 BLK	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	10-28-23-42-0066
Laura G Mathews	2	Alley Sweeping	0.13	40.00	\$5.20	
1274 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1660				_	\$48.40	
*1274 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			Assessment:		\$48.40	
		This Pa	-		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Jeffrey A Jasper	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential St		82.00	\$34.44	10-28-23-42-0016
1277 Juno Ave	PARK PLAT 10 LOT 16 BLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 82.00	\$5.20 \$54.12	
St Paul MN 55116-1659		Citywide Street Lighting	0.00	82.00	· · · · · · · · · · · · · · · · · · ·	
*1277 JUNO AVE		*** 0 1T ***			\$93.76	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total A	Total Assessment:			
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff	Amount:		\$93.76	
Joseph E Buzicky	G. G. WHITNEY'S ADDITION TO THE	Street Sweeping - Residential St		38.00	\$15.96	10-28-23-42-0095
1294 Juno Ave	CITY OF ST. PAUL LOT 4 BLK 1	Alley Sweeping	0.13	38.00	\$4.94	
St Paul MN 55116-1627		Citywide Street Lighting	0.66	38.00	\$25.08	
*1294 JUNO AVE					\$45.98	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	Total Assessment:			
		This Pa	yment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
					* * * * *	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John Edward Trierweiler	G. G. WHITNEY'S ADDITION TO THE	Street Sweeping - Residential Str	ee 0.42	38.00	\$15.96	10-28-23-42-0096
1296 Juno Ave	CITY OF ST. PAUL LOT 5 BLK 1	Alley Sweeping	0.13	38.00	\$4.94	
St Paul MN 55116-1627		Citywide Street Lighting	0.66	38.00	\$25.08	
*1296 JUNO AVE				_	\$45.98	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T-4-1 A	ssessment:	=	\$45.98	
		This Pay			*	
		-			\$0.00 \$0.00	
			Year Principal: Year Interest:		\$0.00	
			Year Interest:		\$0.00 \$45.98	
		·				
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Str	<u>eε</u> —	40.00		10-28-23-42-0048
1299 Juno Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-42-0040
St Paul MN 55116-1628	PARK PLAT 10 LOT 26 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1299 JUNO AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			V 101.10	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$0.00	
					\$48.40	
		. — — — — — -				
Kevin G Karalus	J. J. KENNA'S ADDITION LOT 2 BLK	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-42-0085
Mary M Karalus	4	Alley Sweeping	0.13	40.00	\$5.20	
1312 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1627					\$48.40	
*1312 JUNO AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kevin Karalus	J. J. KENNA'S ADDITION LOT 4 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0087
Mary M Karalus	4	Alley Sweeping	0.13	40.00	\$5.20	
1320 Juno Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1627					\$48.40	
*1320 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asso			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Stree		40.00		10-28-23-42-0041
Nicolas P Stoffel	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-42-0041
1329 Juno Ave	PARK PLAT 10 LOT 18 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1628				_	\$48.40	
*1329 JUNO AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	\$48.40			
		· ·	This Payment:			
		Current Y	ear Principal:	\$0.00		
		Current Year Interest:				
		Payoff Ar	nount:		\$48.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Residential Stree				
1333 Juno Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-42-0040
St Paul MN 55116-1628	PARK PLAT 10 LOT 17 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1333 JUNO AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$101.10	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joseph P Rafferty	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art	1.02	62.00	\$63.24	10-28-23-42-0039
Mary Rafferty	BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Residential Stree	0.42	21.50	\$9.03	
1337 Juno Ave	PARK PLAT 10 LOT 16 BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55116-1628		Citywide Street Lighting	0.66	83.50	\$55.11	
*1337 JUNO AVE					\$132.97	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
-		Total Asse	ssment:		\$132.97	
		This Paym	ent:		\$0.00	
		Current Yo	ear Principal:		\$0.00	
		Current Yo	ear Interest:		\$0.00	
		Payoff An	nount:		\$132.97	
Patrick Byrne	RUETH'S ADDITION N 10 FT OF LOT 2 AND ALL OF LOT 1	Street Sweeping - Commercial/Art	1.02	100.00	\$102.00	10-28-23-11-0001
Rachel Blank	AND ALL OF LOT	Citywide Street Lighting	0.66	100.00	\$66.00	
243 Lexington Pky S					\$168.00	
St Paul MN 55105-2843		*** Owner and Taxpayer ***				
*243 LEXINGTON PKWY S						
*Ward: 2		Total Asse			\$168.00	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$168.00	
Keith Lane Curtner	RUETH'S ADDITION LOT 3	Street Sweeping - Commercial/Art		60.00		10 20 22 11 0002
Francine Curtner		Citywide Street Lighting	0.66	60.00	\$39.60	10-28-23-11-0003
259 Lexington Pky S		ony was ou ou Eighting	0.00	=		
St Paul MN 55105-2843		*** Owner and Taxpayer ***			\$100.80	
		Owner and Taxpayer				
*259 LEXINGTON PKWY S *Ward: 2		Total Asse	aamant:		\$100.80	
		Total Asse This Paym			\$100.80	
*Pending as of: 8/21/2019			ent: ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$0.00 \$100.80	
		rayon An	ivunt.		\$100.00	

Ratification Date

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anthony J Persuitti	RUETH'S ADDITION EX S 7 FT LOT 4	Street Sweeping - Commercial		53.00	\$54.06	10-28-23-11-0004
Aneci Persuitti		Citywide Street Lighting	0.66	53.00	\$34.98	
263 Lexington Pky S				_	\$89.04	
St Paul MN 55105-2843		*** Owner and Taxpayer ***				
*263 LEXINGTON PKWY S						
*Ward: 2			Assessment:		\$89.04	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payot	f Amount:		\$89.04	
Matthew Mitchell	LEXINGTON COMMONS COMMON	Street Sweeping - Commercial				10-28-23-11-0343
Rachel Louhi	INTEREST COMMUNITY NUMBER 367	Citywide Street Lighting	0.66	14.50	\$9.57	10-26-25-11-0545
285 Lexington Pky S	LEXINGTON COMMONS TOWNHOMES LOT 2 BLK 1	,		_	\$24.36	
St Paul MN 55105-2843	TOWNTOWIES EOT 2 BEK 1	*** Owner and Taxpayer ***			Ψ24.30	
*285 LEXINGTON PKWY S						
*Ward: 2		Total	Assessment:		\$24.36	
*Pending as of: 8/21/2019		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	f Amount:		\$24.36	
Stephen C Wilson	LEXINGTON COMMONS COMMON	Street Sweeping - Commercial		14.50		10-28-23-11-0342
Catherine Barnett Wilson	INTEREST COMMUNITY NUMBER 367	Citywide Street Lighting	0.66	14.50	\$9.57	10-20-25-11-05-42
287 Lexington Pky S	LEXINGTON COMMONS TOWNHOMES LOT 1 BLK 1	,		_	\$24.36	
St Paul MN 55105-2843	TO WATIONES BOT I BEK I	*** Owner and Taxpayer ***			Ψ24.30	
*287 LEXINGTON PKWY S		1,7				
*Ward: 2		Total	Assessment:		\$24.36	
*Pending as of: 8/21/2019		This I	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	f Amount:		\$24.36	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Diane M George	LEXINGTON COMMONS COMMON	Street Sweeping - Commercial		14.50	\$14.79	10-28-23-11-0351
303 Lexington Pky S	INTEREST COMMUNITY NUMBER 367 LEXINGTON COMMONS	Citywide Street Lighting	0.66	14.50	\$9.57	
St Paul MN 55105-2899	TOWNHOMES LOT 10 BLK 1				\$24.36	
*303 LEXINGTON PKWY S		*** Owner and Taxpayer ***				
*Ward: 2 *Pending as of: 8/21/2019		Total	Assessment:	=	\$24.36	
8		This F	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$24.36	
Kevin Hagen	WALTON HEIGHTS EX EDGCUMBE RD LOT 1 AND THE N 30 FT OF LOT 2	Street Sweeping - Commercial		100.00	\$102.00	10-28-23-14-0001
Leann Hagen	ND EOT TAIND THE NOOTT OF EOT 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	60.00 100.00	\$7.80 \$66.00	
363 Lexington Parkway S		Citywide Street Lighting	0.00	100.00		
St Paul MN 55105-2925		*** Owner and Taxpayer ***			\$175.80	
*363 LEXINGTON PKWY S *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:	-	\$175.80	
		This F	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$175.80	
Pauline H Hanson	WALTON HEIGHTS EX N 30 FT LOT 2	Street Sweeping - Commercial		50.00	\$51.00	10-28-23-14-0002
404 Dayton Ave	AND ALL OF LOT 3	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55102-1706		Citywide Street Lighting	0.66	50.00	\$33.00	
*371 LEXINGTON PKWY S					\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$90.50	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$90.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher D Hawley	WALTON HEIGHTS LOTS 5 AND LOT	Street Sweeping - Commercial/Art	1.02	45.00	\$45.90	10-28-23-14-0004
Elizabeth J Hawley	6	Street Sweeping - Residential Stree	0.42	70.00	\$29.40	
387 Lexington Pky S		Alley Sweeping	0.13	90.00	\$11.70	
St Paul MN 55105-2925		Citywide Street Lighting	0.66	115.00	\$75.90	
*387 LEXINGTON PKWY S				-	\$162.90	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse			\$162.90	
					\$162.90	
		This Paym				
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$162.90	
	LEXINGTON PARK PLAT 6 LOT 3	Street Sweeping - Commercial/Art			<u> </u>	
Deadra Dahl	BLK 4	Alley Sweeping	0.13	54.00	\$7.02	10-28-23-14-0001
		Citywide Street Lighting	0.66	54.00	\$35.64	
405 Lexington Pky S		eny mae succe Eighning	0.00	=	-	
St Paul MN 55105-2926		*** Owner and Taxpayer ***			\$97.74	
*405 LEXINGTON PKWY S *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$97.74	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	ount:		\$97.74	
Jessica Marek	LEXINGTON PARK PLAT 6 LOT 4	Street Sweeping - Commercial/Art	1.02	54.00	\$55.08	10-28-23-14-0062
Christian Anderson	BLK 4	Alley Sweeping	0.13	54.00	\$7.02	
409 Lexington Ave S		Citywide Street Lighting	0.66	54.00	\$35.64	
St Paul MN 55105-2926					\$97.74	
*409 LEXINGTON PKWY S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$97.74	
-		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$97.74	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrea Robert Taylor	LEXINGTON PARK PLAT 7 N 40 FT OF	Street Sweeping - Commercial/A	rt	20.00	\$20.40	10-28-23-14-0095
421 Lexington Pky	LOT 1 BLK 1	Street Sweeping - Residential Str	ee 0.42	70.00	\$29.40	
St Paul MN 55105-6522		Alley Sweeping	0.13	40.00	\$5.20	
*421 LEXINGTON PKWY S		Citywide Street Lighting	0.66	90.00	\$59.40	
*Ward: 3				_	\$114.40	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total As	ssessment:		\$114.40	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$114.40	
Jeffrey Huebner	LEXINGTON PARK PLAT 7 N 26	Street Sweeping - Commercial/A		40.00	\$40.80	10-28-23-14-0096
Angela Buck	O3/100 FT OF LOT 2 AND EX THE N 40 FT LOT 1 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
425 Lexington Pky S	.011201 1221 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2964				_	\$72.40	
*425 LEXINGTON PKWY S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:		\$72.40	
-		This Pag	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	
Sandra L Jacobs	LEXINGTON PARK PLAT 7 N 12	Street Sweeping - Commercial/A		40.00	\$40.80	10-28-23-14-0097
429 Lexington Pky S	O6/100 FT OF LOT 3 AND S 27 94/100 FT OF LOT 2 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2964		Citywide Street Lighting	0.66	40.00	\$26.40	
*429 LEXINGTON PKWY S				_	\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 Chaing as 01. 0/21/2017		Total As	ssessment:	_	\$72.40	
		This Pay	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anne L Kelly	FULTON'S SUBDIVISION LOT 9	Street Sweeping - Commercial/Art	1.02	60.00	\$61.20	10-28-23-41-0026
James D Ferstle		Citywide Street Lighting	0.66	60.00	\$39.60	
539 Lexington Pky S				_	\$100.80	
St Paul MN 55116-1754		*** Owner and Taxpayer ***				
*539 LEXINGTON PKWY S						
*Ward: 3		Total Ass	essment:		\$100.80	
*Pending as of: 8/21/2019		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$100.80	
	FULTON'S SUBDIVISION LOT 12	Street Sweeping - Commercial/Art				
Thomas G Farrington Faith E Binman	regress seggivision get 12	Citywide Street Lighting	0.66	60.00	\$39.60	10-28-23-41-0029
		City wide Street Lighting	0.00	=		
559 Lexington Pky S		***			\$100.80	
St Paul MN 55116-1754		*** Owner and Taxpayer ***				
*559 LEXINGTON PKWY S				_	0100.00	
*Ward: 3		Total Ass			\$100.80	
*Pending as of: 8/21/2019		This Pays			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$100.80	
	LEXINGTON PARK PLAT 4 NELY 1/2	Street Sweeping - Commercial/Art		253.00	\$258.06	10-28-23-41-0056
25 4th St W Rm 1000	OF VAC WATSON AVE ADJ AND	Citywide Street Lighting	0.66	253.00	\$166.98	***EXEMPT***
St Paul MN 55102-1692	FOUNTAIN PARK			=	\$425.04	
*587 LEXINGTON PKWY S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$425.04	
		This Payı			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$425.04	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Edward T Matthews	GILBERT'S MONTCALM PLACE SWLY	Street Sweeping - Commercial/A		58.00	\$59.16	10-28-23-41-0055
603 Lexington Parkway S	1/2 OF VAC WATSON AVE ACCRUING AND FOL E 125 FT MEASURED FROM	Citywide Street Lighting	0.66	58.00	\$38.28	
St Paul MN 55116-1770	W L OF LEXINGTON PKWY OF S 100			_	\$97.44	
*603 LEXINGTON PKWY S	FT MEASURED ON E L OF MONTCALM PL /BEING W L OF BLK	*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		 \$97.44	
1 chang as 61. 6/21/2017		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$97.44	
Scott Stransky	GILBERT'S MONTCALM PLACE E 120 FT OF N 109.9 FT OF S 194.9 FT OF BLK	Street Sweeping - Commercial/A Citywide Street Lighting	1.02 0.66	110.00 110.00	\$112.20 \$72.60	10-28-23-44-0100
1007 N Shore Dr	3	Citywide Street Lighting	0.00	110.00		
Forest Lake MN 55025-1227		*** Owner and Taxpayer ***			\$184.80	
*619 LEXINGTON PKWY S *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total A	ssessment:		\$184.80	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$184.80	
Christopher L Bedford	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Commercial/A		80.00		10-28-23-44-0104
Julie A Gettman	COUNTY, MINNESOTA E 1/2 OF VAC	Citywide Street Lighting	0.66	80.00	\$52.80	10-20-23-44-0104
673 Lexington Pky S	ALLEY ADJ AND LOTS 4 & LOT 5 BLK 4	,		=	\$134.40	
St Paul MN 55116-1770	4	*** Owner and Taxpayer ***			\$134.40	
*673 LEXINGTON PKWY S		- mana anan campaya				
*Ward: 3		Total A	ssessment:	-	\$134.40	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$134.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Mark Meeks	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercia	1/Art 1.02	81.00	\$82.62	10-28-23-44-0084
Nicoletta Ferrario	S 1/2 OF VAC ALLEY ADJ AND FOL EX S 60 FT LOTS 15 16 AND LOT 17	Citywide Street Lighting	0.66	81.00	\$53.46	
711 Lexington Ave S	BLK 4				\$136.08	
St Paul MN 55116-1770		*** Owner and Taxpayer ***				
*711 LEXINGTON PKWY S						
*Ward: 3			l Assessment:		\$136.08	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$136.08	
Susan K Crane	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercia		60.00		10-28-23-44-0085
Stephen D Crane	S 1/2 OF VAC ALLEY ADJ AND LOT 14	Citywide Street Lighting	0.66	60.00	\$39.60	10-20-23-44-0005
715 Lexington Pkwy S	AND S 60 FT OF LOTS 15 16 AND LOT 17 BLK 4	, , ,		=	\$100.80	
St Paul MN 55116-2348	1/ DLK +	*** Owner and Taxpayer ***			\$100.00	
*715 LEXINGTON PKWY S		- ······ - ····· - ···· - ···· - · · · · · · · · · · · · · · · · · · · ·				
*Ward: 3		Tota	l Assessment:		\$100.80	
*Pending as of: 8/21/2019		This	Payment:		\$0.00	
_		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$100.80	
Daniel P Mcquillan	HOWARD GREENE ADDITION, ST.					
Patricia Mequillan	PAUL, MINN. LOT 15	They bweeping	0.15	10.00		10-20-23-41-0011
512 Montcalm Pl		*** Owner and Taxpayer ***			\$5.20	
St Paul MN 55116-1730		Owner and Taxpayer ****				
*512 MONTCALM PL		Tota	l Assessment:	_	\$5.20	
*Ward: 3			Payment:		\$0.00	
*Pending as of: 8/21/2019			ent Year Principal:		\$0.00	
0			•		\$0.00	
		Curr	ent Year Interest:		30.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
John A Mcfarland Sandra S Mcfarland	FULTON'S SUBDIVISION EX S 5 FT LOT 6	Street Sweeping - Residential S Citywide Street Lighting	0.42 0.66	75.00 75.00	\$31.50 \$49.50	10-28-23-41-0025
546 Montcalm Pl				_	\$81.00	
St Paul MN 55116-1730		*** Owner and Taxpayer ***				
*546 MONTCALM PL		T-4-1	Assessment:		\$81.00	
*Ward: 3 *Pending as of: 8/21/2019			Assessment: Payment:		\$81.00	
rending as of. 8/21/2019			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$81.00	
Cassandra L Warner	FULTON'S SUBDIVISION LOT 4	Street Sweeping - Residential S		78.00	\$32.76	10-28-23-41-0023
558 Montcalm Pl		Citywide Street Lighting	0.66	78.00	\$51.48	
St Paul MN 55116-1730					\$84.24	
*558 MONTCALM PL		*** Owner and Taxpayer ***				
*Ward: 3					****	
*Pending as of: 8/21/2019			Assessment:		\$84.24	
			Payment: nt Year Principal:		\$0.00 \$0.00	
			nt Year Interest:		\$0.00	
			f Amount:		\$84.24	
Bradley J Ballinger	AUDITOR'S SUBDIVISION NO. 88 ST. PAUL, MINN. PART OF LOT 14 LYING	Street Sweeping - Residential S		100.00	\$42.00	10-28-23-41-0115
Marcia S Ballinger	S OF A LINE RUN FROM A PT ON WL	Alley Sweeping Citywide Street Lighting	0.13 0.66	60.00	\$7.80 \$66.00	
565 Montcalm Place	OF SD LOT 14 DIST 29.28 FT N OF SW	Citywide Street Lighting	0.00	100.00	<u> </u>	
St Paul MN 55116-1731	COR THEREOF TO A PT ON EL OF SD LOT 14 DIST 37.77 FT N OF SE COR	*** Owner and Taxpayer ***			\$115.80	
*565 MONTCALM PL		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	_	\$115.80	
1 Chaing as 01. 0/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$115.80	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carolyn A Glenn Trustee	GILBERT'S MONTCALM PLACE SWLY	Street Sweeping - Residential Str	<u>eε</u> 0.42	98.00	\$41.16	10-28-23-41-0053
590 Montcalm Place	1/2 OF VAC WATSON AVE ACCRUING AND FOL EX S 100 FT MEASURED	Citywide Street Lighting	0.66	98.00	\$64.68	
St Paul MN 55116-1733	ON E L OF MONTCALM PL OF PART			_	\$105.84	
*590 MONTCALM PL	OF BLK 3 N OF S 294 8/10 FT THEREOF AND EX SD S 294 8/10 FT	*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	_	\$105.84	
1011aing as 611 0/21/2019		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$105.84	
						. — — — — —
Daniel D Greenfield	GILBERT'S MONTCALM PLACE EX E 125 FT MEASURED FROM W L OF	Street Sweeping - Residential Str Citywide Street Lighting	eε 0.42 0.66	100.00 100.00	\$42.00 \$66.00	10-28-23-41-0054
Andrea D Kao 600 Montcalm Pl	LEXINGTON PKWY THE S 100 FT	Citywide Street Lighting	0.00	100.00		
St Paul MN 55116-1733	MEASURED ON E L OF MONTCALM PL /BEING W L OF BLK 3/ OF FOL EX	*** Owner and Taxpayer ***			\$108.00	
*600 MONTCALM PL	S 294 8/10 FT BLK 3	Owner and Taxpayer				
*Ward: 3		Total As	ssessment:	_	\$108.00	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$108.00	
David P Kennedy Budge	GILBERT'S MONTCALM PLACE EX E	Street Sweeping - Residential Str	<u> </u>			10-28-23-44-0024
Anne C Kennedy Budge	120 FT THE N 99 9/10 FT OF S 294 8/10	Citywide Street Lighting	0.66	100.00	\$66.00	10-20-23-44-0024
608 Montcalm Pl	FT OF BLK 3	,		=	\$108.00	
St Paul MN 55116-1733		*** Owner and Taxpayer ***			\$100.00	
*608 MONTCALM PL						
*Ward: 3		Total As	ssessment:		\$108.00	
*Pending as of: 8/21/2019		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$108.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jarett J Lettner	GILBERT'S MONTCALM PLACE PART	Street Sweeping - Residential S	treε 0.42	90.00	\$37.80	10-28-23-44-0021
Nicole A Lettner	OF LOT 14 S OF L RUN FROM NE COR TO PT ON W L OF AND 3 FT FROM NW	Citywide Street Lighting	0.66	90.00	\$59.40	
515 Montcalm Pl	COR THEREOF AND EX S 80 FT LOT			_	\$97.20	
St Paul MN 55116-1732	15 BLK 2	*** Owner and Taxpayer ***				
615 MONTCALM PL						
Ward: 3		Total	Assessment:		\$97.20	
*Pending as of: 8/21/2019		This F	ayment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	f Amount:		\$97.20	
	GILBERT'S MONTCALM PLACE LOT	Street Sweeping - Residential S				
Meghan L Cornell 633 Montcalm Place	5 BLK 1	Citywide Street Lighting	0.66	78.00	\$51.48	10-28-23-44-0005
St Paul MN 55116-1732		Only wide Street Eighting	0.00	70.00		
		*** Owner and Taxpayer ***			\$84.24	
General Montcalm PL General Supplies the Management of Management (Management of Management of Manag		Owner and Taxpayer				
Pending as of: 8/21/2019		Total	Assessment:	_	\$84.24	
9		This F	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$84.24	
Sonya M Anderson	GILBERT'S MONTCALM PLACE PART OF LOT 10 WLY OF A L RUN FROM PT	Street Sweeping - Residential S	tree 0.42 0.66	102.00	\$42.84	10-28-23-44-0012
40 Montcalm Pl	ON N L OF AND 145 FT W FROM THE	Citywide Street Lighting	0.00	102.00	\$67.32	
St Paul MN 55116-1733 *640 MONTCALM PL *Ward: 3	NE COR THEREOF TO PT ON S L OF AND 204 25/100 FT E FROM SW COR OF SD LOT 10 BLK 1	*** Owner and Taxpayer ***			\$110.16	
Pending as of: 8/21/2019		Total	Assessment:	-	\$110.16	
2			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof			•	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David J Abbott	GILBERT'S MONTCALM PLACE EX BEG ON S L OF AND 64 5/10 FT W	Street Sweeping - Residenti		77.00	\$32.34	10-28-23-44-0007
Teresa G Abbott	FROM SE COR OF LOT 7 TH NLY PAR	Citywide Street Lighting	0.66	77.00	\$50.82	
645 Montcalm Pl	TO ELY L OF SD LOT 2 6/10 FT TH W TO W L OF AND 4 93/100 FT FROM	*** 0 17 **	**		\$83.16	
St Paul MN 55116-1732 * 645 MONTCALM PL	SW COR OF SD LOT TH TO SD SW COR	*** Owner and Taxpayer *	r- r-			
*Ward: 3		To	otal Assessment:	_	\$83.16	
Pending as of: 8/21/2019			is Payment:		\$0.00	
			rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$83.16	
David J Fox	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA NLY 33 FT OF	Street Sweeping - Residenti		106.00	\$44.52	10-28-23-44-0063
Maria 1 Fox LOT 2 AND	LOT 2 AND ALL OF LOT 1 BLK 5	Alley Sweeping	0.13	40.00	\$5.20	
559 Montcalm Pl		Citywide Street Lighting	0.66	106.00	\$69.96	
St Paul MN 55116-1735		*** O *:	**		\$119.68	
*659 MONTCALM PL *Ward: 3		*** Owner and Taxpayer *	• •			
*Pending as of: 8/21/2019		To	tal Assessment:	_	\$119.68	
		Th	is Payment:		\$0.00	
			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$119.68	
	LEXINGTON PARK PLAT 11, RAMSEY					10-28-23-44-0061
William H Leary Iii	COUNTY, MINNESOTA EX SLY 7 FT	Citywide Street Lighting	0.66	101.00	\$66.66	10-20-23-44-0001
660 Montcalm Pl	LOT 17 AND ALL OF LOT 18 BLK 4	,		_	\$109.08	
St Paul MN 55116-1733		*** Owner and Taxpayer *	**		\$107.00	
*660 MONTCALM PL *Ward: 3		To	otal Assessment:		\$109.08	
*Pending as of: 8/21/2019			is Payment:		\$0.00	
6			rrent Year Principal:		\$0.00	
			arrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$109.08	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Hendrie C Grant	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential Stre		67.00	\$28.14	10-28-23-44-0060
237 Richmond St	COUNTY, MINNESOTA NLY 1/2 OF LOT 15 SLY 7 FT OF LOT 17 AND ALL	Citywide Street Lighting	0.66	67.00	\$44.22	
St Paul MN 55102-3129	OF LOT 16 BLK 4			_	\$72.36	
*664 MONTCALM PL		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$72.36	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$72.36	
Rashid C Ishaq	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA SLY 1/2 OF	Street Sweeping - Residential Stre		70.00	\$29.40	10-28-23-44-0059
674 Montcalm Pl	LOT 15 AND EX SLY 10 FT NLY 1/2 OF	Citywide Street Lighting	0.66	70.00	\$46.20	
St Paul MN 55116-1733	LOT 13 AND ALL OF LOT 14 BLK 4			_	\$75.60	
*674 MONTCALM PL		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$75.60	
		This Pay			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
					\$0.00 \$75.60	
		Payoff A	Amount:		\$/5.00	
Elizabeth Ann Gehlen Bruber Trustee		Street Sweeping - Residential Stre				10-28-23-44-0058
680 Montcalm Place	COUNTY, MINNESOTA SLY 1/2 OF	Citywide Street Lighting	0.66	89.00	\$58.74	10-20-23-44-0030
St Paul MN 55116-1733	LOT 13 AND SLY 10 FT OF NLY 1/2 OF SD LOT 13 AND ALL OF LOT 12 BLK			_	\$96.12	
*680 MONTCALM PL	4	*** Owner and Taxpayer ***			Ψ,0.12	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	sessment:		\$96.12	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$96.12	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Scott G Knudson	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residential Stree	0.42	110.00	\$46.20	10-28-23-44-0082
Elisa P Knudson	SWLY 1/2 OF VAC ALLEY ADJ AND FOL LOTS 9 AND LOT 10 BLK 4	Citywide Street Lighting	0.66	110.00	\$72.60	
708 Montcalm Pl	102 2010 / 1813 201 10 321			_	\$118.80	
St Paul MN 55116-1734		*** Owner and Taxpayer ***				
*708 MONTCALM PL						
*Ward: 3		Total Asse			\$118.80	
*Pending as of: 8/21/2019		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00	
		Payoff An			\$0.00 \$118.80	
		rayon An	nount:		\$110.00	
— — — — — — — — — Gregory Scott Miller	RANDOLPH VILLAS LOT G	Street Sweeping - Residential Stree		7.00		10-28-23-32-0086
538 S Brimhall St		Alley Sweeping	0.13	42.00	\$5.46	10-28-23-32-0080
St Paul MN 55116-1507		Citywide Street Lighting	0.66	7.00	\$4.62	
*0 NILES AVE				=	\$13.02	
*Ward: 3		*** Owner and Taxpayer ***			,	
*Pending as of: 8/21/2019						
-		Total Asse	essment:		\$13.02	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$13.02	
George Maldonado	J. J. KENNA'S ADDITION LOT 16 BLK 1	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	41.00 41.00	\$17.22 \$5.33	10-28-23-41-0087
1191 Niles Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-1629 * 1191 NILES AVE		City wide Succe Eighting	0.00	=	\$49.61	
*Ward: 3		*** Owner and Taxpayer ***			\$49.01	
*Pending as of: 8/21/2019		o who and rampayer				
1 chaing as of. 6/21/2017		Total Asse	essment:	=	\$49.61	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$49.61	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nancy Jean Reeck	J. J. KENNA'S ADDITION LOT 15 BLK	Street Sweeping - Residential Stre	0.42	41.00	<u>\$17.22</u>	10-28-23-41-0086
1197 Niles Ave	1	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55116-1629		Citywide Street Lighting	0.66	41.00	\$27.06	
*1197 NILES AVE				_	\$49.61	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total As	sessment:		\$49.61	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	mount:		\$49.61	
Nick R Wiesneski	J. J. KENNA'S ADDITION LOT 14 BLK	Street Sweeping - Residential Stre		41.00	\$17.22	10-28-23-41-0085
Stefanie L Wiesneski	1	Alley Sweeping	0.13	41.00	\$5.33	
1201 Niles Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-1629				_	\$49.61	
*1201 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			sessment:		\$49.61	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$49.61	
						. — — — — — —
David S Harvey	J. J. KENNA'S ADDITION LOT 11 BLK 1	Street Sweeping - Residential Stre Alley Sweeping	0.42 0.13	41.00 41.00	\$17.22 \$5.33	10-28-23-41-0082
Jennifer E Fleming Harvey		Citywide Street Lighting	0.66	41.00	\$3.33 \$27.06	
1215 Niles Ave		City wide Street Lighting	0.00	41.00 =		
St Paul MN 55116-1629		*** Owner and Taxpayer ***			\$49.61	
*1215 NILES AVE		Owner and Taxpayer				
*Ward: 3		T . 1 A		=	\$49.61	
*Pending as of: 8/21/2019			sessment:		*	
		This Pay			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
					\$0.00 \$49.61	
		Payoff A	anount:		\$49.01	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mark Gehan	J. J. KENNA'S ADDITION LOT 26 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0077
Jamie Gehan	2	Alley Sweeping	0.13	40.00	\$5.20	
1239 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116				_	\$48.40	
*1239 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	nount:		\$48.40	
Daniel L Trierweiler	AHLF AND JENTS ADDITION LOT 11	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0136
Robin M Trierweiler		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1262 Niles Ave		Citywide Street Lighting	0.00	40.00	<u> </u>	
St Paul MN 55116-1630					\$48.40	
*1262 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3		T + 1 A		=	¢40,40	
*Pending as of: 8/21/2019		Total Asse			\$48.40 \$0.00	
		This Paym	ent: ear Principal:		\$0.00 \$0.00	
			ear Interest:		\$0.00	
		Payoff Am			\$48.40	
		1 ayun An	iount.		340.40	
Christopher D Thomey	J. J. KENNA'S ADDITION LOT 19 BLK	Street Sweeping - Residential Stree		40.00		10-28-23-42-0071
Kimberly A Thomey	2	Alley Sweeping	0.13	40.00	\$5.20	
1265 Niles Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1658				=	\$48.40	
*1265 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert B Holton	AHLF AND JENTS ADDITION E 3 FT	Street Sweeping - Residential Str	ree 0.42	43.00	\$18.06	10-28-23-42-0137
Galina Ikhareva	OF LOT 13 AND ALL OF LOT 12	Alley Sweeping	0.13	43.00	\$5.59	10 20 20 12 010
1266 Niles Ave		Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55116-1630				_	\$52.03	
*1266 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$52.03	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$52.03	
Sean M Dunn	AHLF AND JENTS ADDITION E 2 FT OF LOT 14 AND EX E 3 FT LOT 13	Street Sweeping - Residential Str	reε 0.42 0.13	39.00	\$16.38 \$5.07	10-28-23-42-0138
Jennifer L Dunn	or Eor Hand Except Eor 15	Alley Sweeping Citywide Street Lighting	0.13	39.00 39.00	\$5.07 \$25.74	
1270 Niles Ave		Citywide Street Lighting	0.00	39.00		
St Paul MN 55116-1630		***			\$47.19	
*1270 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total A	ssessment:		\$47.19	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$47.19	
Tracy Fischer	J. J. KENNA'S ADDITION LOT 17 BLK	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-42-0069
1275 Niles Ave	2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1658		Citywide Street Lighting	0.66	40.00	\$26.40	
*1275 NILES AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jeff R Digre	J. J. KENNA'S ADDITION LOT 1 BLK	Street Sweeping - Residential Stre	0.42	82.00	\$34.44	10-28-23-42-0082
Monica C Digre	3	Alley Sweeping	0.13	39.00	\$5.07	10 20 20 12 0002
1281 Niles Ave		Citywide Street Lighting	0.66	82.00	\$54.12	
St Paul MN 55116-1632				_	\$93.63	
*1281 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	sessment:		\$93.63	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$93.63	
	L L KENNAS ADDITION LOT A DI V	Street Sweeping - Residential Stre				
Thomas A Moberg	J. J. KENNA'S ADDITION LOT 2 BLK 3	Alley Sweeping - Residential Sire	0.42	39.00	\$5.07	10-28-23-42-0083
Hanna N Cooper 1285 Niles Ave		Citywide Street Lighting	0.66	39.00	\$25.74	
St Paul MN 55116-1632		eng mae su oot zigming	0.00	=	\$47.19	
*1285 NILES AVE		*** Owner and Taxpayer ***			\$47.19	
*Ward: 3		owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	sessment:		\$47.19	
1 chang as of. 6/21/2019		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$47.19	
			- — — — -			
Faye Sweeney	G. G. WHITNEY'S ADDITION TO THE	Street Sweeping - Residential Stre		39.00	\$16.38	10-28-23-42-0100
1295 Niles Ave	CITY OF ST. PAUL LOT 9 BLK 1	Alley Sweeping	0.13	39.00	\$5.07	
St Paul MN 55116-1632		Citywide Street Lighting	0.66	39.00	\$25.74	
*1295 NILES AVE				_	\$47.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$47.19	
		This Pay			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$47.19	
		Payon A	mount:		547.19	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — Craig M Becker	G. G. WHITNEY'S ADDITION TO THE	Street Sweeping - Residential Stree	0.42	38.00	<u>\$15.96</u>	10-28-23-42-0115
Jacquelyn D Becker	CITY OF ST. PAUL LOT 6 BLK 2	Alley Sweeping	0.13	38.00	\$4.94	
1298 Niles Ave		Citywide Street Lighting	0.66	38.00	\$25.08	
St Paul MN 55116-1631				=	\$45.98	
*1298 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$45.98	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$45.98	
						· — — — — = =
Anne M Taylor	G. G. WHITNEY'S ADDITION TO THE CITY OF ST. PAUL E 17 FT OF LOT 13	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	56.00 56.00	\$23.52 \$7.28	10-28-23-42-0103
Kelly E Taylor	AND ALL OF LOT 12 BLK 1	Citywide Street Lighting	0.13	56.00	\$7.28 \$36.96	
1307 Niles Ave		Citywide Street Lighting	0.00	30.00 =		
St Paul MN 55116-1632		*** Owner and Taxpayer ***			\$67.76	
*1307 NILES AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment.	-	\$67.76	
1 chaing as 01. 6/21/2017		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$67.76	
						. — — — — —
William B Winter	G. G. WHITNEY'S ADDITION TO THE CITY OF ST. PAUL EX E 17 FT LOT 13	Street Sweeping - Residential Stree	0.42	61.00	\$25.62	10-28-23-42-0104
Jennifer B Winter	AND ALL OF LOT 14 BLK 1	Alley Sweeping Citywide Street Lighting	0.13 0.66	61.00 61.00	\$7.93 \$40.26	
1315 Niles Ave		Citywide Street Lighting	0.00	61.00		
St Paul MN 55116-1632					\$73.81	
*1315 NILES AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	4	
*Pending as of: 8/21/2019		Total Asse			\$73.81	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$73.81	

11:18:56 11/5/2019

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shannon Monique Berg	G. G. WHITNEY'S ADDITION TO THE	Street Sweeping - Residential Stre	εε 0.42	78.00		10-28-23-42-0106
1321 Niles Ave	CITY OF ST. PAUL LOTS 16 & LOT 17	Alley Sweeping	0.13	78.00	\$10.14	
St Paul MN 55116-1632	BLK 1	Citywide Street Lighting	0.66	78.00	\$51.48	
*1321 NILES AVE				_	\$94.38	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			sessment:		\$94.38	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$94.38	
	G. G. WHITNEY'S 2ND ADDITION LOT	Street Sweeping - Residential Stre				10-28-23-42-0121
1324 Niles Ave	1	Alley Sweeping	0.13	46.00	\$5.98	10-20-23-42-0121
St Paul MN 55116-1631		Citywide Street Lighting	0.66	46.00	\$30.36	
*1324 NILES AVE				=	\$55.66	
*Ward: 3		*** Owner and Taxpayer ***			φ33.00	
*Pending as of: 8/21/2019		Total Ac	sessment:		\$55.66	
		This Pay		\$33.00		
			Ment. Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$55.66	
 Ann L Taylor	G. G. WHITNEY'S 2ND ADDITION LOT	Street Sweeping - Residential Stre		46.00		10-28-23-42-0122
Sean G Mclay	2	Alley Sweeping	0.13	46.00	\$5.98	
1328 Niles Ave		Citywide Street Lighting	0.66	46.00	\$30.36	
St Paul MN 55116-1631				_	\$55.66	
*1328 NILES AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	sessment:	_ -	\$55.66	
-		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$55.66	

Page 212

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jonathan Pearce	G. G. WHITNEY'S 2ND ADDITION E 43	Street Sweeping - Residential Str	<u>e</u> ε 0.42	43.00	\$18.06	10-28-23-42-0123
1332 Niles Ave	FT OF LOT 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55116-1631		Citywide Street Lighting	0.66	43.00	\$28.38	
*1332 NILES AVE				=	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$52.03	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$52.03	
 Elizabeth Loach	LEXINGTON PARK PLAT 6 LOT 6	Street Sweeping - Residential Str	<u></u>	50.00		10-28-23-14-0064
Elijah Smith	BLK 4	Alley Sweeping	0.13	88.50	\$11.51	10 20 25 11 000
1119 Palace Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2931				=	\$65.51	
*1119 PALACE AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$65.51	
		This Payment:			\$0.00	
		Current	Current Year Principal:			
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$65.51	
	LEXINGTON PARK PLAT 6 EX W 10	Street Sweeping - Residential Str	<u></u>			10-28-23-14-0066
Sarah E Barker	FT LOT 8 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-14-0000
1129 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2931				=	\$48.40	
*1129 PALACE AVE *Ward: 3		*** Owner and Taxpayer ***			• • •	
*Pending as of: 8/21/2019		Total As	ssessment:	=	\$48.40	
-		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Clark Koenigs	LEXINGTON PARK PLAT 6 W 10 FT	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-14-0067
Momoko H Koenigs	OF LOT 8 AND E 30 FT OF LOT 9 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
1133 Palace Ave	4	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2931				_	\$48.40	
*1133 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	LEVINGTON BARK BLAT (FLOFT OF	Street Sweeping - Residential Stree			<u> </u>	. — — — — — .
Gordon A Kokx	LEXINGTON PARK PLAT 6 E 10 FT OF LOT 11 AND EX E 20 FT LOT 10 BLK	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-14-0069
Kimberly Kokx	4	Citywide Street Lighting	0.66	40.00	\$26.40	
1141 Palace Ave		City wide Street Eighting	0.00	10.00		
St Paul MN 55105-2931		*** Owner and Taxpayer ***			\$48.40	
*1141 PALACE AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
Tonding as on 0,21,201)		This Payn			\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Jon S Edgerton	LEXINGTON PARK PLAT 6 EX W 10	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-14-0071
1149 Palace Ave	FT LOT 12 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2931		Citywide Street Lighting	0.66	40.00	\$26.40	
*1149 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment.	_	\$48.40	
		This Payn			\$0.00	
					Ψ0.00	
			ear Principal:		\$0.00	
		Current Y	ear Principal: ear Interest:		\$0.00 \$0.00	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID		
Rita N Kamppinen	LEXINGTON PARK PLAT 7 EX E 40 FT	Street Sweeping - Residential St	tree 0.42	60.00	\$25.20	10-28-23-14-0120		
3491 116th Ave Nw	LOT 27 AND ALL OF LOT 26 BLK 1	Alley Sweeping	0.13	60.00	\$7.80			
Coon Rapids MN 55433-2676		Citywide Street Lighting	0.66	60.00	\$39.60			
*1150 PALACE AVE				=	\$72.60			
*Ward: 3		*** Owner and Taxpayer ***						
*Pending as of: 8/21/2019		Total Assessment:			\$72.60	\$72.60		
		This Payment: Current Year Principal: Current Year Interest:			\$0.00			
					\$0.00			
					\$0.00			
		Payoff Amount:			\$72.60			
						. — — — — –		
Jason J Vanoverbeke	LEXINGTON PARK PLAT 6 W 10 FT OF LOT 12 AND ALL OF LOT 13 BLK	Street Sweeping - Residential St		60.00	\$25.20	10-28-23-14-0072		
Holli Vanoverbeke	4	Alley Sweeping Citywide Street Lighting	0.13 0.66	60.00 60.00	\$7.80 \$39.60			
1159 Palace Ave		Citywide Street Lighting	0.00	60.00				
St Paul MN 55105-2931		*** 0 1.00			\$72.60			
*1159 PALACE AVE		*** Owner and Taxpayer ***						
*Ward: 3		T-4-1		-	\$72.60			
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$0.00			
					\$0.00			
		Current Year Interest:		\$0.00				
		Payoff Amount:			\$72.60			
Michael J Mcgrath	LEXINGTON PARK PLAT 7 EX W 37	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-14-0118		
Nancy E Mcgrath	97/100 FT LOT 23 AND THE W 36 03/100 FT OF LOT 24 BLK 1	Alley Sweeping	0.13	40.00	\$5.20			
1160 Palace Ave	OS/TOOTT OF EOT 2. BER 1	Citywide Street Lighting	0.66	40.00	\$26.40			
St Paul MN 55105-2930		*** Owner and Taxpayer ***		_	\$48.40			
*1160 PALACE AVE *Ward: 3								
*Pending as of: 8/21/2019		Total Assessment:		\$48.40				
		This Payment: Current Year Principal:		\$0.00				
				\$0.00				
		Current Year Interest:			\$0.00			
		Payoff	Payoff Amount:					

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Michael R Elias	LEXINGTON PARK PLAT 6 LOT 6	Street Sweeping - Residential St		43.00	\$18.06	10-28-23-14-0051	
Kristine F Elias	BLK 3	Citywide Street Lighting	0.66	43.00	\$28.38		
1205 Palace Ave					\$46.44		
St Paul MN 55105-2933							
*1205 PALACE AVE							
*Ward: 3			Assessment:		\$46.44		
*Pending as of: 8/21/2019			ayment:		\$0.00		
			t Year Principal:		\$0.00		
			Current Year Interest:		\$0.00 \$46.44		
		Payoff	Payoff Amount:				
Mary Schmidt	LEXINGTON PARK PLAT 7 LOT 11 BLK 2	Street Sweeping - Residential St		43.00	\$18.06	10-28-23-14-0136	
Steven J Schmidt	DLK 2	Alley Sweeping Citywide Street Lighting	0.13 0.66	43.00	\$5.59		
1212 Palace Ave		Citywide Street Lighting	0.00	43.00	\$28.38		
St Paul MN 55105-2932					\$52.03		
*1212 PALACE AVE		*** Owner and Taxpayer ***					
*Ward: 3 *Pending as of: 8/21/2019		Total Assessment:			\$52.03		
		This Payment: Current Year Principal: Current Year Interest:			\$0.00		
					\$0.00		
					\$0.00		
			Amount:		\$52.03		
						. — — — — —	
Timothy B Mcconville	LEXINGTON PARK PLAT 6 E 40 FT OF LOT 8 BLK 3	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-14-0053	
Annmarie Mcconville	LOI & BLK 5	Citywide Street Lighting	0.66	40.00	\$26.40		
1215 Palace Ave					\$43.20		
St Paul MN 55105-2933		*** Owner and Taxpayer ***					
*1215 PALACE AVE							
*Ward: 3		Total Assessment:		\$43.20			
*Pending as of: 8/21/2019			ayment:		\$0.00 \$0.00		
			Current Year Principal:				
			Current Year Interest:				
		Payoff Amount:			\$43.20		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Charles D Stuurop	LEXINGTON PARK PLAT 8 LOT 24	Street Sweeping - Residential St	ree 0.42	87.50	\$36.75	10-28-23-13-0164
1223 Palace Ave	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2951		Citywide Street Lighting	0.66	87.50	\$57.75	
*1223 PALACE AVE				_	\$101.00	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			ssessment:		\$101.00	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		гауоп	Amount:		\$101.00	
Patrick D Dunagan	LEXINGTON PARK PLAT 8 W 42 FT OF	Street Sweeping - Residential Str	$\frac{1}{100} = \frac{1}{100} = \frac{1}{100}$			10-28-23-13-0166
1228 Palace Ave	LOT 2 BLK 3	Alley Sweeping	0.13	42.00	\$5.46	10 20 22 12 0100
St Paul MN 55105-2950		Citywide Street Lighting	0.66	42.00	\$27.72	
*1228 PALACE AVE				_	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$50.82	
		This Pa	yment:	\$0.00		
			Year Principal:		\$0.00	
			Current Year Interest:			
		Payoff	Amount:		\$50.82	
	LEXINGTON PARK PLAT 8 LOT 21	Street Sweeping - Residential St	<u>reε 0.42</u>			
Jomar G Ochoco Laura E Ochoco	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-13-0161
1239 Palace Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2951		, , ,		_	\$60.50	
*1239 PALACE AVE		*** Owner and Taxpayer ***			\$00.30	
*Ward: 3		- mana anan anan-payar				
*Pending as of: 8/21/2019		Total A	ssessment:	=	\$60.50	
1 chang as 01. 0/21/2017		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff	Amount:		\$60.50	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** LEXINGTON PARK PLAT 8 E 45 FT OF Street Sweeping - Residential Stree 0.42 45.00 \$18.90 Veronica Noreen Kraft 10-28-23-13-0160 LOT 20 BLK 2 0.13 45.00 Alley Sweeping \$5.85 1243 Palace Ave Citywide Street Lighting 0.66 45.00 \$29.70 St Paul MN 55105-2951 \$54.45 *1243 PALACE AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$54.45 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$54.45 50.00 \$21.00 LEXINGTON PARK PLAT 8 LOT 7 Street Sweeping - Residential Stree 0.42 Mark W Thompson 10-28-23-13-0171 BLK 3 Alley Sweeping 0.13 50.00 \$6.50 Kimberly A Thompson Citywide Street Lighting 0.66 50.00 \$33.00 1252 Palace Ave St Paul MN 55105-2950 \$60.50 *** Owner and Taxpayer *** *1252 PALACE AVE *Ward: 3 Total Assessment: \$60.50 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$60.50 Shaun Faricy LEXINGTON PARK PLAT 8 SUBJ TO Street Sweeping - Residential Stree 0.42 50.00 \$21.00 10-28-23-13-0172 SEWER ESMT LOT 8 BLK 3 0.13 50.00 Alley Sweeping \$6.50 1256 Palace Ave Citywide Street Lighting 0.66 50.00 \$33.00 St Paul MN 55105-2950 *1256 PALACE AVE \$60.50 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$60.50 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00

Payoff Amount:

\$60.50

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy P Heille	LEXINGTON PARK PLAT 8 E 3 FT OF	Street Sweeping - Residential Stree	0.42	53.00	\$22.26	10-28-23-13-0157
1257 Palace Ave	LOT 16 AND ALL OF LOT 17 BLK 2	Alley Sweeping	0.13	53.00	\$6.89	
St Paul MN 55105-2951		Citywide Street Lighting	0.66	53.00	\$34.98	
*1257 PALACE AVE					\$64.13	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					<u> </u>	
		Total Asse			\$64.13	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff An			\$64.13	
		rayon An	iount:		\$04.13	
	LEXINGTON PARK PLAT 8 LOT 14	Street Sweeping - Residential Stree				10-28-23-13-0154
Stacey L Boucher	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-13-0134
1271 Palace Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2951				_	\$60.50	
*1271 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$60.50	
	CHESTER PARK LOT 28 BLK 2	Street Sweeping - Residential Stree		40.00		10-28-23-13-0081
1293 Palace Ave		Alley Sweeping	0.13	40.00	\$5.20	10-28-23-13-0081
St Paul MN 55105-2953		Citywide Street Lighting	0.66	40.00	\$26.40	
*1293 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			******	
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robyn R Mesenbring	CHESTER PARK LOT 4 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-13-0087
296 Palace Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2952		Citywide Street Lighting	0.66	40.00	\$26.40	
*1296 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
	CHESTER PARK LOT 26 BLK 2	Street Sweeping - Residential Stree				10-28-23-13-0079
William White		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-13-00/9
1297 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2953		, , ,		_	\$48.40	
*1297 PALACE AVE		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		1 2				
*Pending as of: 8/21/2019		Total Asse	ssment:	=	\$48.40	
		This Payment:			\$0.00	
		Current Ye	Current Year Principal:			
		Current Ye	Current Year Interest:			
		Payoff An	nount:		\$48.40	
	CHESTER PARK LOT 24 BLK 2	Street Sweeping - Residential Stree				· — — — — —
Timothy A Busch	CHESTERTARREST 24 BER 2	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-13-0077
1307 Palace Ave		Citywide Street Lighting	0.13	40.00	\$26.40	
St Paul MN 55105-2953		City wide Street Eighting	0.00	-		
*1307 PALACE AVE		*** Owner and Taxpayer ***			\$48.40	
Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	CHESTER PARK LOT 22 BLK 2	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	10-28-23-13-0075
609 County Road 42 Ste 307		Alley Sweeping	0.13	40.00	\$5.20	
Burnsville MN 55306-6213		Citywide Street Lighting	0.66	40.00	\$26.40	
*1315 PALACE AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 4 1 A			£40.40	
			Assessment:		\$48.40	
		This Pa	•		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest: Amount:		\$0.00 \$48.40	
		rayon	Amount.		340.40	
	CHESTER PARK LOT 11 BLK 3	Street Sweeping - Residential St				10-28-23-13-0093
1320 Palace Ave		Alley Sweeping	0.13	40.00	\$5.20	10-28-23-13-0093
St Paul MN 55105-2952		Citywide Street Lighting	0.66	40.00	\$26.40	
*1320 PALACE AVE		, , ,		=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψτο.τυ	
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
				\$0.00		
			This Payment: Current Year Principal: Current Year Interest:			
			Amount:		\$0.00 \$48.40	
Lorraine A Englund	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-24-0037
1355 Palace Ave	LOT 7 BLK 2	Alley Sweeping	0.13	82.50	\$10.73	
St Paul MN 55105-2555		Citywide Street Lighting	0.66	40.00	\$26.40	
*1355 PALACE AVE				=	\$53.93	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$53.93	
		This Pa			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	Amount:		\$53.93	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sara L Milbrandt	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-24-0083
1356 Palace Ave	LOT 20 BLK 3	Alley Sweeping	0.13	82.50	\$10.73	
St Paul MN 55105-2554		Citywide Street Lighting	0.66	40.00	\$26.40	
*1356 PALACE AVE				_	\$53.93	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Ass	essment:		\$53.93	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	mount:		\$53.93	
Brian E Burleigh	SUNNYSIDE PLAT 2, ST. PAUL, MINN. E 35 FT OF LOT 19 BLK 3	Street Sweeping - Residential Stree	0.42 0.13	35.00	\$14.70	10-28-23-24-0082
Roxie C Burleigh	E 33 TT OF BOT 17 BER 3	Alley Sweeping Citywide Street Lighting	0.13	35.00 35.00	\$4.55 \$23.10	
1360 Palace Ave		Citywide Street Lighting	0.00	33.00		
St Paul MN 55105-2554					\$42.35	
*1360 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Ass		=	\$42.35	
*Pending as of: 8/21/2019					\$42.33 \$0.00	
		This Payn	ear Principal:		\$0.00 \$0.00	
			ear Frincipai: ear Interest:		\$0.00	
		Payoff A			\$42.35	
		rayon Ai	nount:		\$42.55	
	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Street		40.00		10-28-23-24-0080
1366 Palace Ave	LOT 17 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0000
St Paul MN 55105-2554		Citywide Street Lighting	0.66	40.00	\$26.40	
*1366 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James Gentz	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-24-0079
Carolyn Gentz	LOT 16 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1370 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2554				_	\$48.40	
*1370 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa	•		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Patricia Herrera	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 1 BLK 5	Street Sweeping - Residential Str		38.00	\$15.96	10-28-23-24-0076
1382 Palace Ave	MINNESOTA EOT TBEK 5	Alley Sweeping	0.13	38.00	\$4.94	
St Paul MN 55105-2554		Citywide Street Lighting	0.66	38.00	\$25.08	
*1382 PALACE AVE					\$45.98	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$45.98	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$45.98	
Syed G Akailvi	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 9 BLK 4	Street Sweeping - Residential Str		38.00	\$15.96	10-28-23-24-0045
Salma Nahheed Akailvi	MINNESOTA EOT 9 BER 4	Alley Sweeping	0.13	38.00	\$4.94	
1385 Palace Ave		Citywide Street Lighting	0.66	38.00	\$25.08	
St Paul MN 55105-2555					\$45.98	
*1385 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$45.98	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$45.98	

ion	Date:	Resolution

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Randy A Lindstrom	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	38.00	\$15.96	10-28-23-24-0046
Debra A Boyd	MINNESOTA LOT 8 BLK 4	Alley Sweeping	0.13	38.00	\$4.94	
1391 Palace Ave		Citywide Street Lighting	0.66	38.00	\$25.08	
St Paul MN 55105-2555				_	\$45.98	
*1391 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$45.98	
		This Payn			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$45.98	
Jammie B Paulson	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	38.00	\$15.96	10-28-23-24-0047
1820 Lakeview Ter	MINNESOTA LOT 7 BLK 4	Alley Sweeping	0.13	38.00	\$4.94	
Long Lake MN 55356-9505		Citywide Street Lighting	0.66	38.00	\$25.08	
*1395 PALACE AVE					\$45.98	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Fending as of. 6/21/2019		Total Asse	essment:	=	\$45.98	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$45.98	
Antigoni S Sander	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 29 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0168
1407 Palace Ave	WINNESOTA EOT 27 BER 3	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2556		Citywide Street Lighting	0.66	40.00		
*1407 PALACE AVE		****			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:	-	\$48.40	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	ount.		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Dominique A Tobbell	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0167
1411 Palace Ave	MINNESOTA LOT 28 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2556		Citywide Street Lighting	0.66	40.00	\$26.40	
*1411 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	iount:		\$48.40	
Timothy Ticcioni	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree		40.00		10-28-23-24-0174
Jennifer Ticcioni	MINNESOTA LOT 5 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-24-01/4
1418 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2567		, , ,		_	\$48.40	
*1418 PALACE AVE		*** Owner and Taxpayer ***			\$46.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asso	ssment:	-	\$48.40	
		This Payn	\$0.00			
		Current Y	\$0.00			
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Joseph P Collova	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 7 BLK 6	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0176
Rachel E Collova	MINNESOTA EOT / BEK 0	Alley Sweeping	0.13	40.00	\$5.20	
1426 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2567					\$48.40	
*1426 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	10unt:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Terry Hearst	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0163
Mary Hearst	MINNESOTA LOT 24 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1427 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2556				_	\$48.40	
*1427 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	sment:		\$48.40	
_		This Payme	nt:		\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
						. — — — — —
William P Cirhan	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0177
Janice E Cirhan	MINNESOTA LOT 8 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
1430 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2567					\$48.40	
*1430 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	sment:		\$48.40	
		This Payme	nt:		\$0.00	
		Current Yea	\$0.00			
		Current Yea	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	LANGS MANOR OF BALL	Street Sweeping - Residential Stree				
Julie D Davis	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 9 BLK 6	Alley Sweeping - Residential Street	0.42	40.00	\$5.20	10-28-23-24-0178
1434 Palace Ave		Citywide Street Lighting	0.13	40.00	\$26.40	
St Paul MN 55105-2567		only wide Succe Digitaling	0.00	=	_	
*1434 PALACE AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		T + 1 A			£40,40	
		Total Asses			\$48.40	
		This Payme			\$0.00	
		Current Yes	=		\$0.00	
		Current Yes			\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Annelise M Wilhite	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-24-0161
1435 Palace Ave	MINNESOTA LOT 22 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-3830		Citywide Street Lighting	0.66	40.00	\$26.40	
*1435 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Craig Lind	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 19 BLK 3	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-24-0158
Ellen J Lind	WIINNESOTA LOT 19 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1447 Palace Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2556					\$48.40	
*1447 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3		m . 1 .		-	0.40, 40	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payn	ear Principal:		\$0.00 \$0.00	
			ear Frincipal: ear Interest:		\$0.00	
		Payoff A			\$48.40	
		1 ayon Ai	nount.		970.70	
Susan M Style	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree				10-28-23-24-0157
1451 Palace Ave	MINNESOTA LOT 18 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-24-0137
St Paul MN 55105-2556		Citywide Street Lighting	0.66	40.00	\$26.40	
*1451 PALACE AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
-		Total Ass	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Residential Stree	0.42	82.50	\$34.65	10-28-23-24-0155
Katherine Olin	MINNESOTA LOT 16 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1459 Palace Ave		Citywide Street Lighting	0.66	82.50	\$54.45	
St Paul MN 55105-2556				_	\$94.30	
*1459 PALACE AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses			\$94.30	
C		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$94.30	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree				10-28-23-22-0024
Catherine Caouette	CITY OF SAINT PAUL LOT 24 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0024
6072 Mcabee Rd		Citywide Street Lighting	0.66	40.00	\$26.40	
San Jose CA 95120-2725		,		_	\$48.40	
*265 PASCAL ST S		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		o wher and raxpayer				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$48.40	
1 chang as on 0,21,201,		This Payme			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Am	ount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		
Debra S Schultz 271 Pascal St S	CITY OF SAINT PAUL LOT 23 BLK 1	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-22-0023
		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2431		, = 2.5 5	0.00	=	-	
*271 PASCAL ST S		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asses	sment.	=	\$48.40	
		This Payme			\$0.00	
		I IIIS I dyllik			ψ0.00	
			ar Principal		\$0.00	
			ar Principal:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Terry J Bartz	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0018
291 Pascal St S	CITY OF SAINT PAUL LOT 18 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2431		Citywide Street Lighting	0.66	40.00	\$26.40	
*291 PASCAL ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
Cathleen A Crafton	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 17 BLK 1	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0017
295 Pascal St S		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2431		City wide Succi Lighting	0.00	+0.00 =		
*295 PASCAL ST S		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
5 g		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	Current Year Principal:			
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Erin K Dady	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 16 BLK 1	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	10-28-23-22-0016
Scott A Cordes	CITT OF SAMATIACE EST TO BER	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 83.50	\$5.20 \$55.11	
299 Pascal St S		Citywide Street Lighting	0.00	65.50	<u> </u>	
St Paul MN 55105-2431		*** 0 1 T ***			\$95.38	
*299 PASCAL ST S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$95.38	
-		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	nount:		\$95.38	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Thomas R Heer	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S	treε 0.42	83.00	\$34.86	10-28-23-22-0058
Sally Ann Heer	CITY OF SAINT PAUL LOT 30 BLK 8	Alley Sweeping	0.13	39.00	\$5.07	
303 Pascal St S		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55105-2433				_	\$94.71	
*303 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$94.71	
3		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$94.71	
						ESCROW
Joseph P Morrissey	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S		40.00		10-28-23-22-0056
311 Pascal St S	CITY OF SAINT PAUL LOT 28 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2433		Citywide Street Lighting	0.66	40.00	\$26.40	
*311 PASCAL ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	Assessment:	\$48.40		
		This P	ayment:	\$0.00		
		Currer	nt Year Principal:	\$0.00		
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	
Schumacher Holdings Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-22-0052
9607 Whistling Valley Tr	CITY OF SAINT PAUL LOT 24 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
Lake Elmo MN 55042-4444		Citywide Street Lighting	0.66	40.00	\$26.40	
*325 PASCAL ST S					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Veronica Holl	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0051
Michael Holl	CITY OF SAINT PAUL LOT 23 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
320 Conestoga Way Apt 7108		Citywide Street Lighting	0.66	40.00	\$26.40	
Henderson NV 89002-9715				_	\$48.40	
*329 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	iount:		\$48.40	
Carol L Hannum	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10 20 22 22 0046
349 Pascal St S	CITY OF SAINT PAUL LOT 18 BLK 8	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-22-0046
St Paul MN 55105-2433		Citywide Street Lighting	0.66	40.00	\$26.40	
*349 PASCAL ST S		, , , ,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$46.40	
*Pending as of: 8/21/2019						
		Total Asse	\$48.40			
		This Payn	\$0.00			
		Current Y	\$0.00			
		Current Year Interest:			\$0.00	
		Payoff Ar	nount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10-28-23-22-0045
353 Pascal St S	CITY OF SAINT PAUL LOT 17 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	10-20-25-22-0043
St Paul MN 55105-2433		Citywide Street Lighting	0.66	40.00	\$26.40	
*353 PASCAL ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asso	essment:		\$48.40	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	ount:		\$48.40	

11:18:56 11/5/2019

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Chad Eddy West	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S	treε 0.42	83.50	\$35.07	10-28-23-23-0030
Katherine Kelly West	CITY OF SAINT PAUL LOT 30 BLK 9	Alley Sweeping	0.13	39.00	\$5.07	
363 Pascal St S		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2518				=	\$95.25	
*363 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			Assessment:		\$95.25	
S		This P	ayment:		\$0.00	
		Currer	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$95.25	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S		40.00		10-28-23-23-0029
367 Pascal St S	CITY OF SAINT PAUL LOT 29 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-23-0029
St Paul MN 55105-2518		Citywide Street Lighting	0.66	40.00	\$26.40	
*367 PASCAL ST S				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			ψ10.10	
*Pending as of: 8/21/2019		Total A	\$48.40			
		This P	ayment:	\$0.00		
		Currer	nt Year Principal:	\$0.00		
		Current Year Interest:			\$0.00	
		Payof	f Amount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S		40.00		10-28-23-23-0027
Debra H Dittrich	CITY OF SAINT PAUL LOT 27 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 20 0027
375 Pascal St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2518				=	\$48.40	
375 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
1 chaing as 01. 0/21/2017			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Pavof	f Amount:		\$48.40	

Page 232

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** SYLVAN PARK ADDITION TO THE Street Sweeping - Residential Stree 0.42 40.00 \$16.80 Steven J Soderberg 10-28-23-23-0021 CITY OF SAINT PAUL LOT 21 BLK 9 0.13 40.00 Alley Sweeping \$5.20 Patricia F Soderberg Citywide Street Lighting 40.00 0.66 \$26.40 399 Pascal St S St Paul MN 55105-2519 \$48.40 *** Owner and Taxpayer *** *399 PASCAL ST S *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Jennifer Lea Mcdonald Trustee SYLVAN PARK ADDITION TO THE 10-28-23-23-0020 CITY OF SAINT PAUL LOT 20 BLK 9 Alley Sweeping 0.13 40.00 \$5.20 403 Pascal St S Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-2519 *403 PASCAL ST S \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$48.40 Michael J Tocko SYLVAN PARK ADDITION TO THE Street Sweeping - Residential Stree 0.42 83.50 \$35.07 10-28-23-23-0016 CITY OF SAINT PAUL LOT 16 BLK 9 0.13 39.00 \$5.07 Alley Sweeping Laura M Simon Citywide Street Lighting 0.66 83.50 \$55.11 415 Pascal St S St Paul MN 55105-2519 \$95.25 *** Owner and Taxpayer *** *415 PASCAL ST S *Ward: 3 Total Assessment: \$95.25 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00

Current Year Interest:

Payoff Amount:

\$0.00

\$95.25

11:18:56 11/5/2019

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David W Downing	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	84.00	\$35.28	10-28-23-23-0054
Tammy R Downing	CITY OF SAINT PAUL LOT 30 BLK 16	Alley Sweeping	0.13	40.00	\$5.20	
421 Pascal St S		Citywide Street Lighting	0.66	84.00	\$55.44	
St Paul MN 55105-2520				_	\$95.92	
*421 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$95.92	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$95.92	
David H Grace	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-23-0052
Heather M Grace	CITY OF SAINT PAUL EX S 30 FT;LOT 27 & ALL OF OF LOT 28 BLK 16	Alley Sweeping	0.13	50.00	\$6.50	
429 Pascal St S	27 & ALL OF OF LOT 28 BLK 10	Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2520				_	\$60.50	
*429 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Payment: Current Year Principal:			\$0.00	
					\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$60.50	
Jacob B Johnson	TWIN CITY VIEW S 15 FT OF LOT 4 N 10 FT OF LOT 6 AND ALL OF LOT 5	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	65.00 65.00	\$27.30	10-28-23-33-0004
Tyree L Johnson	BLK 3	Citywide Street Lighting	0.13	65.00	\$8.45 \$42.90	
619 Pascal St S		Citywide Succi Lighting	0.00	05.00		
St Paul MN 55116-1506		*** 0 1 T			\$78.65	
*619 PASCAL ST S		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$78.65	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff An	ount:		\$78.65	

Page 234

Ratification Date:

Robert M Pumroy	10-28-23-33-0005	\$9.10 \$46.20	70.00		Street Sweeping - Residential Stree	TWIN CITY VIEW EX N 10 ET 1 OT 6	
Serial Number Steel Berger Steel Steel Lighting Steel Lighting Steel Lighting Steel Lighting Steel Lighting Steel Steel Steel Steel Lighting Steel St		\$46.20		0.10		I WIN CITT VIEW EXTRIBUTED O	Robert M Pumroy
Citywide Street Lighting			70.00	0.13	Alley Sweeping	AND ALL OF LOT 7 BLK 3	Jerri N Pumroy
*623 PASCAL ST S *Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 **Total Assessment: \$84.70 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$84.70 **Steet Sweeping - Residential Stree		\$84.70		0.66	Citywide Street Lighting		-
*623 PASCAL ST S *Ward: 3 *Pending as of: 8/21/2019 *Pending as of: 8/21/2019 **Total Assessment: \$84.70 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$84.70 **Secare Sweeping - Residential Stree			_				St Paul MN 55116-1506
*Pending as of: 8/21/2019 *Total Assessment: \$84.70 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$84.70 John R Schabert TWIN CITY VIEW SUBJ TO ESMT AND EX N 8 FT LOT 11 BLK 3 Alley Sweeping 0.13 40.00 \$5.20 643 Pascal St S St Paul MN 55116-1506 \$48.40 *643 PASCAL ST S ***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 **Steet Sweeping - Commercial/Art 1.02 44.00 \$44.88 **Steet Sweeping - Commercial/Art 1.02 44.00 \$44.88 **Steet Sweeping - Commercial/Art 1.02 44.00 \$44.88					*** Owner and Taxpayer ***		*623 PASCAL ST S
This Payment: S0.00							
Current Year Principal: S0.00		\$84.70		ment:	Total Assess		*Pending as of: 8/21/2019
Current Year Interest: \$0.00		\$0.00		t:	This Payme		
Payoff Amount: S84.70 Street Sweeping - Residential Stree 0.42 40.00 \$16.80		\$0.00		Principal:	Current Yea		
John R Schabert		\$0.00		Interest:	Current Yea		
EX N 8 FT LOT 11 BLK 3 Alley Sweeping 0.13 40.00 \$5.20 643 Pascal St S St Paul MN 55116-1506 *643 PASCAL ST S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner STERNBERG'S ADDITION, ST. PAUL, Street Sweeping - Commercial/Art 1.02 44.00 \$44.88		\$84.70		unt:	Payoff Amo		
EX Schabert						- – – – – – – –	
Sternberg's Andrew Sternberg's Addition, St. Paul., Street Sweeping - Commercial/Art 1.02 44.00 \$44.88 \$44.88 \$43 Pascal St S \$48.40 \$44.88 \$43 Pascal St S \$44.88 \$44	10-28-23-33-0009						
\$48.40 \$43 PASCAL ST S						EX N 8 F1 LOT 11 BLK 3	E K Schabert
***Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner STERNBERG'S ADDITION, ST. PAUL, Street Sweeping - Commercial/Art 1.02 44.00 \$44.88		\$26.40	40.00	0.66	Citywide Street Lighting		643 Pascal St S
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner		\$48.40					St Paul MN 55116-1506
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner					*** Owner and Taxpayer ***		*643 PASCAL ST S
This Payment: \$0.00			_				*Ward: 3
Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner Sternberg's Addition, St. Paul., Street Sweeping - Commercial/Art 1.02 44.00 \$44.88							*Pending as of: 8/21/2019
Current Year Interest: \$0.00 Payoff Amount: \$48.40 Kimberly D Warner STERNBERG'S ADDITION, ST. PAUL, Street Sweeping - Commercial/Art 1.02 44.00 \$44.88		\$0.00			-		
Rimberly D Warner STERNBERG'S ADDITION, ST. PAUL, Street Sweeping - Commercial/Art 1.02 44.00 \$44.88		\$0.00	Current Year Principal:				
Kimberly D Warner STERNBERG'S ADDITION, ST. PAUL, Street Sweeping - Commercial/Art 1.02 44.00 \$44.88		\$0.00					
MINITOT 4		\$48.40		unt:	Payoff Amo		
MINILOT 4					Street Sweening Commercial/Art	eternidencis addition st dalii	
	10-28-23-14-0170						-
50144170102 3011			=	0.00	City wide Sacct Eighting		
*1111 RANDOLPH AVE *Ward: 3		\$79.64			*** Owner and Taynayer ***		
Trace 5					Owner and Taxpayer		
*Pending as of: 8/21/2019 Total Assessment: \$79.64		\$79.64	-	ment:	Total Asses		rending as 01: 8/21/2019
This Payment: \$0.00							
Current Year Principal: \$0.00					-		
Current Year Interest: \$0.00				•			
Payoff Amount: \$79.64							

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Barbara J Bowman	STERNBERG'S ADDITION, ST. PAUL,	Street Sweeping - Commercial/Art	1.02	44.00	\$44.88	10-28-23-14-0171
1115 Randolph Ave	MINN LOT 5	Alley Sweeping	0.13	44.00	\$5.72	
St Paul MN 55105-2937		Citywide Street Lighting	0.66	44.00	\$29.04	
*1115 RANDOLPH AVE				_	\$79.64	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					\$70.64	
		Total Ass			\$79.64	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$79.64	
	STERNBERG'S ADDITION, ST. PAUL,	Street Sweeping - Commercial/Art				10-28-23-14-0172
1121 Randolph Ave	MINN LOT 6	Alley Sweeping	0.13	44.00	\$5.72	10-28-23-14-01/2
St Paul MN 55105-2937		Citywide Street Lighting	0.66	44.00	\$29.04	
*1121 RANDOLPH AVE				_	\$79.64	
*Ward: 3		*** Owner and Taxpayer ***			\$79.04	
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$79.64	
		This Payr		\$0.00		
			ear Principal:		\$0.00	
			Current Year Interest:			
		Payoff A	nount:		\$0.00 \$79.64	
Julian C Guilbeault	STERNBERG'S ADDITION, ST. PAUL,	Street Sweeping - Commercial/Art		44.00	\$44.88	10-28-23-14-0173
Catherine A Buteneuer	MINN LOT 7	Alley Sweeping	0.13	44.00	\$5.72	
1125 Randolph Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-2937					\$79.64	
*1125 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	_ _	\$79.64	
*Pending as of: 8/21/2019		This Payr			\$0.00	
			ear Principal:		\$0.00	
		I littent v				
			ear Interest:		\$0.00	

Ratification Date: Re

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher David Blatchley	STERNBERG'S ADDITION, ST. PAUL,	Street Sweeping - Commercial/Ar	1.02	44.00	\$44.88	10-28-23-14-0174
Kristen Roxanne Blatchley	MINN LOT 8	Alley Sweeping	0.13	44.00	\$5.72	
1129 Randolph Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55105-2937				-	\$79.64	
*1129 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$79.64	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$79.64	
Mark J Kessler	LEXINGTON PARK PLAT 7 LOT 6 BLK 4	Street Sweeping - Commercial/Ar		50.00	\$51.00	10-28-23-14-0149
Wendy Kessler	DLK 4	Alley Sweeping	0.13	50.00	\$6.50	
1145 Randolph Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2937					\$90.50	
*1145 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3					400.50	
*Pending as of: 8/21/2019		Total Ass			\$90.50	
		This Pay			\$0.00 \$0.00	
			Current Year Principal: Current Year Interest:			
					\$0.00 \$90.50	
		Payoff A	mount:		\$90.50	
	LEXINGTON PARK PLAT 7 LOT 7	Street Sweeping - Commercial/Ar				10-28-23-14-0150
1149 Randolph Ave	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-14-0150
St Paul MN 55105		Citywide Street Lighting	0.66	50.00	\$33.00	
*1149 RANDOLPH AVE				_	\$90.50	
*Ward: 3		*** Owner and Taxpayer ***			ψ, σ.ε. σ	
*Pending as of: 8/21/2019						
6		Total Ass	sessment:		\$90.50	
		This Pay	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$90.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Carolyn Jean Swenson	LEXINGTON PARK PLAT 7 LOT 9	Street Sweeping - Commercial/Art	1.02	50.00	\$51.00	10-28-23-14-0152
1157 Randolph Ave	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2937		Citywide Street Lighting	0.66	50.00	\$33.00	
*1157 RANDOLPH AVE				_	\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$90.50	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$90.50	
		Charles Communication				· — — — — -
Kelly A Ringhofer	HOWARD GREENE ADDITION, ST. PAUL, MINN. LOT 3	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	40.00 40.00	\$40.80 \$5.20	10-28-23-41-0003
1158 Randolph Ave	,	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2936		City wide Street Eighting	0.00	10.00		
*1158 RANDOLPH AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Fending as 01. 6/21/2019		Total Asse	\$72.40			
		This Paym	ent:	\$0.00		
			ar Principal:	\$0.00		
		Current Ye	ar Interest:	\$0.00		
		Payoff An	nount:		\$72.40	
Walker Scott Lahr	LEXINGTON PARK PLAT 7 LOT 10	Street Sweeping - Commercial/Art	1.02	42.00	\$42.84	10-28-23-14-0153
Samantha Jean Cole	BLK 4	Alley Sweeping	0.13	42.00	\$5.46	
1161 Randolph Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2937				_	\$76.02	
		*** Owner and Taxpayer ***				
*1161 RANDOLPH AVE *Ward: 3						
*Ward: 3		Total Asse	ssment:	-	\$76.02	
		Total Asse This Paym		-	*	
*Ward: 3		This Paym	ent:		\$0.00	
*Ward: 3		This Paym Current Yo			*	

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Natalie S King	HOWARD GREENE ADDITION, ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-41-0004
1162 Randolph Ave	PAUL, MINN. LOT 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2936		Citywide Street Lighting	0.66	40.00	\$26.40	
*1162 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$72.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	mount:		\$72.40	
	. — — — — — — — — — — — — — — — — — — —	Start Sanciar Communicity				
Eliyas S Zewdie	LEXINGTON PARK PLAT 7 LOT 11 BLK 4	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	42.00 42.00	\$42.84 \$5.46	10-28-23-14-0154
1163 Randolph Ave		Citywide Street Lighting	0.66	42.00	\$3.40 \$27.72	
St Paul MN 55105-2937		City wide Succe Eighting	0.00	=	-	
*1163 RANDOLPH AVE		*** Owner and Taxpayer ***			\$76.02	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Fending as of. 8/21/2019		Total Ass	essment:		\$76.02	
		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	mount:		\$76.02	
Lee E Olderbak	HOWARD GREENE ADDITION, ST.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-41-0005
6206 Tahoe Rd	PAUL, MINN. LOT 5	Alley Sweeping	0.13	40.00	\$5.20	
Woodbury MN 55125-1467		Citywide Street Lighting	0.66	40.00	\$26.40	
*1164 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$72.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	

one improvement rissessment r	1011 25 11441 635 (1 66 60 115111	t) 110jeett 2019811181	110011111 190
	Ratification Date:	Resolution #:	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Mildred Rein	HOWARD GREENE ADDITION, ST.	Street Sweeping - Commercial/Art	1.02	80.00	\$81.60	10-28-23-41-0006
1780 Bohland Ave	PAUL, MINN. LOTS 6 AND LOT 7	Alley Sweeping	0.13	80.00	\$10.40	
St Paul MN 55116-2125		Citywide Street Lighting	0.66	80.00	\$52.80	
*1172 RANDOLPH AVE				=	\$144.80	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$144.80	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$144.80	
Ryann K Collins	LEXINGTON PARK PLAT 7 E 46 FT OF	Street Sweeping - Commercial/Art		46.00		10-28-23-14-0156
Jennifer A Collins	LOTS 13 14 AND LOT 15 BLK 4	Alley Sweeping	0.13	159.00	\$20.67	
1177 Randolph Ave		Citywide Street Lighting	0.66	46.00	\$30.36	
St Paul MN 55105-2937				_	\$97.95	
*1177 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:	-	\$97.95	
rending as on 6/21/2017		This Payn	\$0.00			
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Ar	nount:		\$97.95	
Matthew Niilo Jackson	LEXINGTON PARK PLAT 7 LOT 7	Street Sweeping - Commercial/Art	1.02	43.00	\$43.86	10-28-23-14-0140
973 Linwood Ave	BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-3205		Citywide Street Lighting	0.66	43.00	\$28.38	
*1211 RANDOLPH AVE				_	\$77.83	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$77.83	
		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	aount:		\$77.83	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kvasnik Properties I Llc	LEXINGTON PARK PLAT 7 LOT 8	Street Sweeping - Commercial/Ar	t 1.02	43.00	\$43.86	10-28-23-14-0141
2190 Marshall Ave	BLK 3	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-5758		Citywide Street Lighting	0.66	43.00	\$28.38	
*1213 RANDOLPH AVE				=	\$77.83	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			sessment:		\$77.83	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$77.83	
Patrick Jansen	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Commercial/Ar Alley Sweeping	t 1.02 0.13	40.00 40.00	\$40.80 \$5.20	10-28-23-42-0002
1230 Randolph Ave	PARK PLAT 10 LOT 2 BLK 2	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55105-2954		City wide Succe Lighting	0.00	=		
*1224 RANDOLPH AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	sessment:	-	\$72.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	
Patrick Jansen	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	10-28-23-42-0003
1230 Randolph Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2954	PARK PLAT 10 LOT 3 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1230 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
			sessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Todd A Van Heirseele	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-42-0005
Erin O Van Heirseele	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	
1238 Randolph Ave	PARK PLAT 10 LOT 5 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2954				_	\$72.40	
*1238 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.40	
John J Ewen	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-42-0006
Ida M Ewen	PARK PLAT 10 LOT 6 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1718 Hampshire Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2456					\$72.40	
*1242 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	472.40	
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff Ar			\$72.40	
		rayon An	nount:		\$72.40	
Gordon E Mcintyre Lee	LEXINGTON PARK PLAT 8 LOT 20	Street Sweeping - Commercial/Art		50.00	\$51.00	10-28-23-13-0210
Kerry J Mcintyre Lee	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	
1243 Randolph Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2955				_	\$90.50	
*1243 RANDOLPH AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:		\$90.50	
		This Paym	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$90.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Caleb Van Deman	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/A	rt 1.02	40.00	\$40.80	10-28-23-42-0007
Emily K Clapp	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	
1246 Randolph Ave	PARK PLAT 10 LOT 7 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2954				_	\$72.40	
*1246 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$72.40	
		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	
		- — — — — — — -				
Donald W Kohler Jr	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Ar		40.00	\$40.80	10-28-23-42-0008
582 Maple Park Dr	BLOCKS 4 5 & 6 OF LEXINGTON PARK PLAT 10 LOT 8 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55118-1838		Citywide Street Lighting	0.66	40.00	\$26.40	
*1250 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payon A	Amount:		\$72.40	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/A	rt			10.20.22.42.0000
Scott D Moe	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-42-0009
1254 Randolph Ave	PARK PLAT 10 LOT 9 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2954		,		_	\$72.40	
*1254 RANDOLPH AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3 *Pending as of: 8/21/2019		Total As	ssessment:	=	\$72.40	
-		This Pay	ment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Timothy J Flanigan Jr	LEXINGTON PARK PLAT 8 LOT 18	Street Sweeping - Commercial/Art	1.02	50.00	\$51.00	10-28-23-13-0208
1255 Randolph Ave	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2955		Citywide Street Lighting	0.66	50.00	\$33.00	
*1255 RANDOLPH AVE					\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$90.50	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
		Payoff Ar	ear Interest:		\$0.00	
		rayon An	nount:		\$90.50	
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art				10-28-23-42-0010
Jeannine V Hanzlik	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-42-0010
1258 Randolph Ave	PARK PLAT 10 LOT 10 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2954				_	\$72.40	
*1258 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
		This Paym	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	
						. — — — — — —
Jon R Edstrom	LEXINGTON PARK PLAT 8 LOT 16 BLK 4	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	50.00 50.00	\$51.00 \$6.50	10-28-23-13-0206
14471 Furuby Rd		Citywide Street Lighting	0.66	50.00	\$33.00	
Center City MN 55012-9618		City wide Succe Eighting	0.00	=		
*1263 RANDOLPH AVE		*** Owner and Taxpayer ***			\$90.50	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total Asse	essment:	-	\$90.50	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$90.50	

Ratification Date:

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Dale Johnson	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-42-0012
1266 Randolph Ave	BLOCKS 4 5 & 6 OF LEXINGTON PARK PLAT 10 LOT 12 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2954	PARKILATIOLOT 12 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1266 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:		\$72.40	
		This Payn			\$0.00	
		· ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.40	
Christopher Engelmann	LEXINGTON PARK PLAT 8 LOT 14	Street Sweeping - Commercial/Art	1.02	50.00		10-28-23-13-0204
Po Box 4332	BLK 4	Alley Sweeping	0.13	50.00	\$6.50	10 20 20 10 0201
St Paul MN 55104-0332		Citywide Street Lighting	0.66	50.00	\$33.00	
*1273 RANDOLPH AVE				_	\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:	_ _	\$90.50	
		This Payn			\$0.00	
		· ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$90.50	
	CHESTER PARK LOT 30 BLK 4	Street Sweeping - Commercial/Art	1.02	20.00		10-28-23-13-0139
Erik Knutson		Street Sweeping - Residential Stree	0.42	62.00	\$26.04	
1281 Randolph Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2957		Citywide Street Lighting	0.66	82.00	\$54.12	
*1281 RANDOLPH AVE					\$105.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso		_ _	\$105.76	
		This Payn			\$0.00	
		· ·	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$105.76	
		·				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	DAVERN'S REARRANGEMENT OF	Street Sweeping - Commercial/Art		40.00	\$40.80	10-28-23-42-0031
1286 Randolph Ave	BLOCKS 4 5 & 6 OF LEXINGTON	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2956	PARK PLAT 10 LOT 2 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1286 RANDOLPH AVE				=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$72.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$72.40	
Daniel Jerome Clifford	DAVERN'S REARRANGEMENT OF BLOCKS 4 5 & 6 OF LEXINGTON	Street Sweeping - Commercial/Art	1.02 0.13	60.00 60.00	\$61.20 \$7.80	10-28-23-42-0034
Elyse Clifford	PARK PLAT 10 EX E 20 FT; LOT 5 &	Alley Sweeping Citywide Street Lighting	0.13	60.00	\$7.80	
1300 Randolph Ave	ALL OF LOT 6 BLK 3	Citywide Street Lighting	0.00	=		
St Paul MN 55105-2956		*** Owner and Taxpayer ***			\$108.60	
*1300 RANDOLPH AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$108.60	
1 chang as of. (721/201)		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$108.60	
		- – – – – – –				
Daniel L Barcus	CHESTER PARK LOTS 24 & LOT 25 BLK 4	Street Sweeping - Commercial/Art	1.02	80.00	\$81.60	10-28-23-13-0134
1303 Randolph Ave	BLK 4	Alley Sweeping Citywide Street Lighting	0.13 0.66	80.00 80.00	\$10.40 \$52.80	
St Paul MN 55105-2726		Citywide Street Lighting	0.00	80.00 =		
*1303 RANDOLPH AVE		*** Owner and Taxpayer ***			\$144.80	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$144.80	
		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
		Current Ye	•		\$0.00	
		Payoff Am	aunt.		\$144.80	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Conor D Corrigan	CHESTER PARK LOT 23 BLK 4	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-13-0133
Margaret Corrigan		Alley Sweeping	0.13	40.00	\$5.20	
1311 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2957				_	\$72.40	
*1311 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
-		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
	-		- — — — -			
Victoria L Feucht	CHESTER PARK LOT 22 BLK 4	Street Sweeping - Commercial/Art		40.00	\$40.80	10-28-23-13-0132
Joel G Feucht		Alley Sweeping	0.13	40.00	\$5.20	
1315 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2957				_	\$72.40	
*1315 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$72.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
	CHESTER PARK LOT 21 BLK 4					
Shirley Qual	CHESTER PARK EUT 21 BER 4	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	40.00 40.00	\$40.80 \$5.20	10-28-23-13-0131
1319 Randolph Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2957		City wide Street Lighting	0.00	-		
*1319 RANDOLPH AVE		*** Owner and Taxpayer ***			\$72.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	acamant:	_	\$72.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$72.40	
		1 ayon A	moulit.		φ/4.τυ	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jillian M Quinn	CHESTER PARK LOT 20 BLK 4	Street Sweeping - Commercial	/Art 1.02	40.00	\$40.80	10-28-23-13-0130
1323 Randolph Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2957		Citywide Street Lighting	0.66	40.00	\$26.40	
*1323 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total	Assessment:		\$72.40	
		This I	Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$72.40	
	CVECTED DADY LOT 10 DIV.					
Michael J Mccafferty	CHESTER PARK LOT 19 BLK 4	Street Sweeping - Commercial		40.00	\$40.80	10-28-23-13-0129
Jennifer H Mccafferty		Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1338 Hillcrest Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-2206		*** Owner and Taxpayer ***			\$72.40	
*1325 RANDOLPH AVE		TT Owner and Taxpayer				
*Ward: 3		Total	Assessment:		\$72.40	
*Pending as of: 8/21/2019			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			ff Amount:		\$72.40	
Tab Properties Inc	CHESTER PARK LOTS 16 17 AND LOT	Street Sweeping - Commercial	/Art 1.02	247.00	\$251.94	10-28-23-13-0128
Po Box 25465	18 BLK 4	Alley Sweeping	0.13	123.00	\$15.99	10 20 20 10 0120
Woodbury MN 55125-0465		Citywide Street Lighting	0.66	247.00	\$163.02	
*1333 RANDOLPH AVE				_	\$430.95	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
-		Total	Assessment:		\$430.95	
		This I	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$430.95	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
R & H Llc	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	287.00	\$292.74	10-28-23-24-0087
11340 Albavar Path	LOTS 456 AND LOT 7 BLK 4	Alley Sweeping	0.13	170.00	\$22.10	
Inver Grove Heights MN 55077-5420		Citywide Street Lighting	0.66	287.00	\$189.42	
*1351 RANDOLPH AVE		this of the			\$504.26	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	-	\$504.26	
		This Paym	ient:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$504.26	
Frances R Anthony Trustee	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-24-0091
1369 Randolph Ave	LOT 11 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2558		Citywide Street Lighting	0.66	40.00	\$26.40	
*1369 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	-	\$72.40	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	
Erik Severin	SUNNYSIDE PLAT 2, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-24-0092
1373 Randolph Ave	LOT 12 BLK 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2558		Citywide Street Lighting	0.66	40.00	\$26.40	
*1373 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
		This Paym	nent:		\$0.00	
		-	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Commercial/Art 1.02 38.00 \$38.76 LANE'S MANOR, ST. PAUL, Ruth M Swartwood 10-28-23-24-0095 MINNESOTA LOT 9 BLK 8 0.13 38.00 Alley Sweeping \$4.94 Jason D Swartwood Citywide Street Lighting 0.66 38.00 \$25.08 1387 Randolph Ave St Paul MN 55105-2558 \$68.78 *** Owner and Taxpayer *** *1387 RANDOLPH AVE *Ward: 3 Total Assessment: \$68.78 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$68.78 1.02 18.00 Street Sweeping - Commercial/Art \$18.36 Fredrick G Schaff LANE'S MANOR, ST. PAUL, 10-28-23-24-0098 MINNESOTA LOT 6 BLK 8 Street Sweeping - Residential Stree 0.42 60.00 \$25.20 Lauralee Schaff 0.13 36.00 \$4.68 Alley Sweeping 1399 Randolph Ave Citywide Street Lighting 0.66 78.00 \$51.48 St Paul MN 55105-2558 \$99.72 *1399 RANDOLPH AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$99.72 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$99.72 1.02 40.00 William J Turner LANE'S MANOR, ST. PAUL, Street Sweeping - Commercial/Art \$40.80 10-28-23-24-0228 MINNESOTA LOT 29 BLK 7 Alley Sweeping 0.13 40.00 \$5.20 Krista Wiegers Turner Citywide Street Lighting 0.66 40.00 \$26.40 1407 Randolph Ave St Paul MN 55105-2560 \$72.40 *** Owner and Taxpayer *** *1407 RANDOLPH AVE *Ward: 3 Total Assessment: \$72.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$72.40

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Pamela J Karbon	LANE'S MANOR, ST. PAUL,	Street Sweeping - Commercial/Ar	t 1.02	40.00	\$40.80	10-28-23-24-0227
1411 Randolph Ave	MINNESOTA LOT 28 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2560		Citywide Street Lighting	0.66	40.00	\$26.40	
*1411 RANDOLPH AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass	sessment:		\$72.40	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$72.40	
Federal National Mortgage	LANE'S MANOR, ST. PAUL,	Street Sweeping - Commercial/Ar		40.00	\$40.80	10-28-23-24-0225
14221 Dallas Pky Ste 1000	MINNESOTA LOT 26 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
Dallas TX 75254-2946		Citywide Street Lighting	0.66	40.00	\$26.40	
*1419 RANDOLPH AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$72.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
		Payoff A	Year Interest:		\$0.00 \$72.40	
		rayon A	Amount:		\$72.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Commercial/Ar	t			10-28-23-24-0220
1437 Randolph Ave	MINNESOTA LOT 21 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-26-25-24-0220
St Paul MN 55105-2560		Citywide Street Lighting	0.66	40.00	\$26.40	
*1437 RANDOLPH AVE				=	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ/2.10	
*Pending as of: 8/21/2019		• •				
5		Total Ass	sessment:		\$72.40	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	amount:		\$72.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Linda K Barnett Trustee	LANE'S MANOR, ST. PAUL,	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-24-0217
451 Randolph Ave	MINNESOTA LOT 18 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2560		Citywide Street Lighting	0.66	40.00	\$26.40	
1451 RANDOLPH AVE				_	\$72.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019				=		
		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$72.40	
	LANIES MANOR OF BALL	Street Sweeping - Commercial/Art				
Belendia French	LANE'S MANOR, ST. PAUL, MINNESOTA LOT 17 BLK 7	Alley Sweeping - Commercial/Art	0.13	40.00	\$40.80 \$5.20	10-28-23-24-0216
455 Randolph Ave		Citywide Street Lighting	0.13	40.00	\$26.40	
t Paul MN 55105-2560		City wide Succe Lighting	0.00	40.00 =		
1455 RANDOLPH AVE		*** Owner and Taxpayer ***			\$72.40	
Ward: 3 Pending as of: 8/21/2019		Owner and Taxpayer				
rending as of: 8/21/2019		Total Asse	ssment:	-	\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$72.40	
	LANE'S MANOR, ST. PAUL,	Street Sweeping - Commercial/Art			\$20.40	10-28-23-24-0215
o Box 3057	MINNESOTA LOT 16 BLK 7	Street Sweeping - Residential Stree	0.42	60.50	\$25.41	
Santa Cruz CA 95063-4875		Alley Sweeping	0.13	40.00	\$5.20	
1459 RANDOLPH AVE		Citywide Street Lighting	0.66	80.50	\$53.13	
Ward: 3 Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$104.14	
Tending as of. 6/21/2017				=		
		Total Asse			\$104.14	
		This Paym			\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$104.14	

Ratification Date:

Anne M Donohue 1495 Randolph Ave 1495 Randolph Ave St Paul MN 55105-2528 *1495 RANDOLPH AVE *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** Total Assessment: This Payment: Current Year Principal: Current Year Principal: Street Sweeping - Commercial/Art 1.02 43.00 \$43.86 Alley Sweeping 0.13 15.00 \$1.95 Citywide Street Lighting 0.66 43.00 \$28.38 ***Total Assessment: This Payment: Current Year Principal: Street Sweeping - Commercial/Art 1.02 43.00 \$43.86 Alley Sweeping 0.13 15.00 \$28.38 ***Total Assessment: Total Assessment: \$74.19 Current Year Principal: Street Sweeping - Commercial/Art 1.02 43.00 \$1.95 Citywide Street Lighting 0.66 43.00 \$28.38 ***Owner and Taxpayer *** ***Owner and Taxpayer ***	23-23-0100
1495 Randolph Ave	
St Paul MN 55105-2528	
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$74.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	
*Pending as of: 8/21/2019 Total Assessment: \$74.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	
Total Assessment: \$74.19 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	
Current Year Principal: \$0.00 Current Year Interest: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$74.19	
Ellen Cole SECTION 10 TOWN 28 RANGE 23 EX Street Sweeping - Commercial/Art 1.02 42.00 \$42.84 10-28-2	
AMERICAN I (O FT AND EV E 40 FT	23-32-0018
1496 Randolph Ave AVE EX W 160 F1 AND EX E 40 F1 Alley Sweeping 0.13 42.00 \$5.46 St Paul MN 55105-2529 Citywide Street Lighting 0.66 42.00 \$27.72	
57144777135105 2527	
*1496 RANDOLPH AVE *Ward: 3 *** Owner and Taxpayer ***	
*Ward: 3	
Total Assessment: \$76.02	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$76.02	
	23-23-0098
2024 Bordner Pl CITY OF SAINT PAUL EX AVE LOT 15 Alley Sweeping 0.13 120.00 \$15.60 BLK 15 CITY OF SAINT PAUL EX AVE LOT 15 Alley Sweeping 0.13 120.00 \$27.73	
St Paul MN 55116-2505 Citywide Street Lighting 0.66 42.00 \$27.72	
*1509 RANDOLPH AVE \$86.16	
*Ward: 3 *** Owner and Taxpayer ***	
*Pending as of: 8/21/2019 Total Assessment: \$86.16	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$86.16	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Fort Road Coffee Company Llc	RANDOLPH VILLAS EX S 6 54/100 FT	Street Sweeping - Commercial/	Art 1.02	35.00	\$35.70	10-28-23-32-0021
1518 Randolph Ave	LOT 1	Street Sweeping - Residential St	tree 0.42	120.00	\$50.40	
St Paul MN 55105-2529		Alley Sweeping	0.13	35.00	\$4.55	
*1518 RANDOLPH AVE		Citywide Street Lighting	0.66	155.00	\$102.30	
*Ward: 3				<u>=</u>	\$192.95	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total A	Assessment:	=	\$192.95	
		This Pa	ayment:		\$0.00	
		Current	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	'Amount:		\$192.95	
Kermit M Altendorfer	RANDOLPH VILLAS LOT L	Street Sweeping - Commercial/	Art 1.02	25.50	\$26.01	10-28-23-32-0072
Gail J Altendorfer		Street Sweeping - Residential St	tree 0.42	63.50	\$26.67	
1520 Randolph Ave		Citywide Street Lighting	0.66	89.00	\$58.74	
St Paul MN 55105-2535				_	\$111.42	
*1520 RANDOLPH AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$111.42	
		This Pa	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$111.42	
Laurie M King	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Commercial/A		85.00	\$86.70	10-28-23-23-0152
9650 Howard Lake Dr	PAUL, MINN. LOTS 10 AND LOT 11	Street Sweeping - Residential St		110.00	\$46.20	
Forest Lake MN 55025-8430		Alley Sweeping	0.13	85.00	\$11.05	
*1521 RANDOLPH AVE		Citywide Street Lighting	0.66	195.00	\$128.70	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$272.65	
				_		
			Assessment:		\$272.65	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	'Amount:		\$272.65	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Herzog And Herzog Ltd	SECTION 10 TOWN 28 RANGE 23 SUBJ	Street Sweeping - Commercial	Art 1.02	54.00	\$55.08	10-28-23-32-0074
604 High Ridge Cir	TO AVE AND EX E 3 FT OF N 150 FT AND EX S 59 86/100 FT OF E 30	Citywide Street Lighting	0.66	54.00	\$35.64	
Mendota Heights MN 55118-4351	25/100 FT AND EX W 6 75/100 FT OF			_	\$90.72	
*1532 RANDOLPH AVE *Ward: 3	S 114 36/100 FT MOL OF N 300 9/10 FT THE W 57 FT OF N 301 71/100 FT	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$90.72	
			Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$90.72	
	KOENIG'S ADDITION LOTS 1 2 AND	Street Sweeping - Commercial				10 20 22 22 0005
Co Alex A Young	LOT 3 BLK 1	Street Sweeping - Residential S		127.00	\$53.34	10-28-23-32-0095
1215 Town Centre Dr Ste 130		Citywide Street Lighting	0.66	240.00	\$158.40	
Eagan MN 55123-2660				_	\$327.00	
*1540 RANDOLPH AVE		*** Owner and Taxpayer ***			\$327.00	
*Ward: 3		1 ,				
*Pending as of: 8/21/2019		Total	Assessment:		\$327.00	
5		This F	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$327.00	
Rita Ambourn Hair Designers In	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL EX AVE AND EX	Street Sweeping - Commercial		43.00	\$43.86	10-28-23-23-0200
464 Snelling Ave S	W 40 FT AND E 40 FT LOTS 13 14 AND	Citywide Street Lighting Snelling/Randolph Area ASL	0.66 1.12	43.00 43.00	\$28.38 \$48.16	
St Paul MN 55105-2147	THE S 7 FT OF LOT 15 BLK 13	Shennig/Kandolphi Area ASL	1.12	45.00		
*1553 RANDOLPH AVE *Ward: 3		*** Owner and Taxpayer ***			\$120.40	
*Pending as of: 8/21/2019						
		Total	Assessment:		\$120.40	
		This F	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$120.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Matchbox Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-23-0199
1342 Grand Ave	CITY OF SAINT PAUL EX AVE W 40 FT OF LOTS 13 AND 14 AND OF S 7 FT OF	Alley Sweeping	0.13	100.00	\$13.00	
St Paul MN 55105-2297	LOT 15 BLK 13	Citywide Street Lighting	0.66	40.00	\$26.40	
*1561 RANDOLPH AVE		Snelling/Randolph Area ASL	1.12	40.00	\$44.80	
*Ward: 3				_	\$125.00	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	-	\$125.00	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	ount:		\$125.00	
Donald E Smith	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-22-0130
Gail R Smith	CITY OF SAINT PAUL LOT 18 BLK 3	Alley Sweeping	0.13	50.00	\$6.50	
273 Saratoga St S		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2435				_	\$60.50	
*273 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse	ssment:		\$60.50	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$60.50	
Creg Allan Schumann	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0065
280 Saratoga St	CITY OF SAINT PAUL LOT 10 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2436		Citywide Street Lighting	0.66	40.00	\$26.40	
*280 SARATOGA ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Page 257

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gary G Jager	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential St	reε 0.42	48.00	\$20.16	10-28-23-22-0128
Andrea A Jager	CITY OF SAINT PAUL EX S 11 5/10 FT	Alley Sweeping	0.13	48.00	\$6.24	
366 Mitchell Rd	LOT 16 AND S 9 FT OF LOT 17 BLK 3	Citywide Street Lighting	0.66	48.00	\$31.68	
Hudson WI 54016-7282				_	\$58.08	
*283 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	ssessment:		\$58.08	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$58.08	
	- – – – – – – –					
Cory D Dahl	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 11 BLK 2	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-22-0066
Emily J Dahl	CITY OF SAINT PAUL LOT TI BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
284 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2436					\$48.40	
*284 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3					**	
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa	-		\$0.00	
			Year Principal: Year Interest:		\$0.00	
			Amount:		\$0.00 \$48.40	
		rayon	Amount:		540.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential St		86.00		10-28-23-22-0163
Angela J Little	CITY OF SAINT PAUL LOT 24 BLK 6	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-22-0103
303 Saratoga St S		Citywide Street Lighting	0.66	86.00	\$56.76	
St Paul MN 55105-2437				_	\$99.38	
*303 SARATOGA ST S		*** Owner and Taxpayer ***			Ψ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:		\$99.38	
•		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Curren	Year Interest:		\$0.00	
		Payoff	Amount:		\$99.38	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Barritt R Lovelace	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-22-0085
Shannon R Lovelace	CITY OF SAINT PAUL LOT 3 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
312 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2438				=	\$48.40	
*312 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Barritt R Lovelace	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42			10-28-23-22-0086
Shannon R Lovelace	CITY OF SAINT PAUL LOT 4 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-22-0000
314 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2438				=	\$48.40	
*314 SARATOGA ST S *Ward: 3		*** Owner and Taxpayer ***			Ų 10110	
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
S		This Pay	ment:		\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff A	Amount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42			10-28-23-22-0088
322 Saratoga St S	CITY OF SAINT PAUL LOT 6 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-22-0000
St Paul MN 55105-2438		Citywide Street Lighting	0.66	40.00	\$26.40	
*322 SARATOGA ST S				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$ 10.10	
*Pending as of: 8/21/2019		Total As	ssessment:	=	\$48.40	
		This Pay			\$0.00	
		Current `	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jacob D Jones	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	0.42	50.00	\$21.00	10-28-23-22-0158
Rebecca L Jones	CITY OF SAINT PAUL LOT 19 BLK 6	Alley Sweeping	0.13	50.00	\$6.50	
327 Saratoga St S		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2432					\$60.50	
*327 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			sessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$60.50	
Duane M Todd	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 17 BLK 6	Street Sweeping - Residential Stre		50.00	\$21.00	10-28-23-22-0156
337 Saratoga St S	CITT OF SAINT FAUL LOT 17 BLK 0	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55105-2437		Citywide Street Lighting	0.66	50.00	\$33.00	
*337 SARATOGA ST S					\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As		-	\$60.50	
		This Pay			\$0.00	
		-			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
		Payoff A			\$60.50	
		I ayon A	anount.		900.50	
Delores R Charles	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	<u> </u>	40.00	\$16.80	10-28-23-22-0093
342 Saratoga St S	CITY OF SAINT PAUL LOT 11 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10 20 22 22 00)5
St Paul MN 55105-2438		Citywide Street Lighting	0.66	40.00	\$26.40	
*342 SARATOGA ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Page 260

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Roger A Ehresmann	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street	<u> </u>	50.00	\$21.00	10-28-23-22-0155
Treeske Ehresmann	CITY OF SAINT PAUL LOT 16 BLK 6	Alley Sweeping	0.13	50.00	\$6.50	
343 Saratoga St S		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2437				_	\$60.50	
*343 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019			ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$60.50	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42			
Bradley J Leventhal	CITY OF SAINT PAUL LOT 15 BLK 6	Alley Sweeping	0.42	50.00	\$6.50	10-28-23-22-0154
349 Saratoga St S St Paul MN 55105-2437		Citywide Street Lighting	0.66	50.00	\$33.00	
*349 SARATOGA ST S		, , ,		_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$00.50	
*Pending as of: 8/21/2019		- · · · · · · · · · · · · · · · · · · ·				
Tending as of. 6/21/2017		Total As	ssessment:	-	\$60.50	
		This Pay	This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			
		Current				
		Current				
		Payoff A				
Susan Ann Lang	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 14 BLK 6	Street Sweeping - Residential Stre		50.00	\$21.00	10-28-23-22-0153
353 Saratoga St S	CITTOF SAINT FACE LOT 14 BLK 0	Alley Sweeping	0.13	50.00	\$6.50 \$32.00	
St Paul MN 55105-2437		Citywide Street Lighting	0.66	50.00	\$33.00	
*353 SARATOGA ST S		*** 0 1.77 ***			\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:		\$60.50	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$60.50	
		1 ayon F			φ00.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Andrew French	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	83.50	\$35.07	10-28-23-23-0055
Lindsey French	CITY OF SAINT PAUL LOT 1 BLK 10	Alley Sweeping	0.13	39.00	\$5.07	
362 Saratoga St S		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2543				_	\$95.25	
*362 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Asse			\$95.25	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$95.25	
Jacob D Ganfield	HABITATION PLAT ONE LOT 1	Street Sweeping - Residential Stree	0.42	81.50	\$34.23	10-28-23-23-0140
Kathryn M Ganfield		Alley Sweeping	0.13	40.00	\$5.20 \$52.70	
363 Saratoga St S		Citywide Street Lighting	0.66	81.50	\$53.79	
St Paul MN 55105-2542					\$93.22	
*363 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				=	002.22	
*Pending as of: 8/21/2019		Total Asse			\$93.22 \$0.00	
			This Payment: Current Year Principal:			
			ear Principal: ear Interest:	\$0.00		
					\$0.00 \$93.22	
		Payoff An	iount:		\$93.22	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10-28-23-23-0056
368 Saratoga St S	CITY OF SAINT PAUL LOT 2 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 20 0000
St Paul MN 55105-2543		Citywide Street Lighting	0.66	40.00	\$26.40	
*368 SARATOGA ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Christopher J Bradley	HABITATION PLAT ONE LOT 3	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-23-0138
Jennifer A Bradley		Alley Sweeping	0.13	40.00	\$5.20	
371 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2542				_	\$48.40	
*371 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	ment:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Mark T Shearen	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 4 BLK 10	Street Sweeping - Residential Stree		40.00	\$16.80	10-28-23-23-0058
Amy Shearen	CITY OF SAINT PAUL LOT 4 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
376 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2543					\$48.40	
*376 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3					**	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pays			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
					\$48.40	
		Payoff A	mount:		548.40	
 Larron A Mundahl	HABITATION PLAT ONE LOT 5	Street Sweeping - Residential Street		40.00		10-28-23-23-0136
Joan M Mundahl		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-23-0130
379 S Saratoga St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2542				_	\$48.40	
*379 SARATOGA ST S		*** Owner and Taxpayer ***			Ψ.σσ	
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
1 Chaing as 01. 0/21/2019		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Keith A Cheetham	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential St	tree 0.42	40.00	\$16.80	10-28-23-23-0062
390 Saratoga St S	CITY OF SAINT PAUL LOT 8 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2543		Citywide Street Lighting	0.66	40.00	\$26.40	
*390 SARATOGA ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payoff	'Amount:		\$48.40	
Steven T Nelson	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 9 BLK 10	Street Sweeping - Residential St Alley Sweeping	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-23-0063
396 Saratoga St S		Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
St Paul MN 55105-2543		City wide Street Eighting	0.00	40.00 =		
*396 SARATOGA ST S		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total A	Assessment:	-	\$48.40	
		This Pa	ayment:		\$0.00	
		Curren	Current Year Principal: Current Year Interest: Payoff Amount:			
		Curren				
		Payoff				
Rafael Cervantes	HABITATION PLAT ONE LOT 10	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-23-0131
399 Saratoga St S		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2542		Citywide Street Lighting	0.66	40.00	\$26.40	
*399 SARATOGA ST S					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40 \$0.00	
			ayment: t Year Principal:		\$0.00 \$0.00	
			t Year Principal:		\$0.00 \$0.00	
			'Amount:		\$48.40	
		1 ayun	zimount.		φτυ.τυ	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Karen E Omeara	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	\$16.80	10-28-23-23-0064
Michael L Omeara	CITY OF SAINT PAUL LOT 10 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
400 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2543				-	\$48.40	
*400 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Dg Equities Llc	HABITATION PLAT ONE LOT 12	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-23-0129
380 Jackson St Ste 750		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55101-4805		Citywide Street Lighting	0.66	40.00	\$26.40	
*405 SARATOGA ST S					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Peder B Vangorp	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str	<u>eε</u> 0.42	83.50	\$35.07	10-28-23-23-0069
Jennifer J Vangorp	CITY OF SAINT PAUL LOT 15 BLK 10	Alley Sweeping	0.13	39.00	\$5.07	
420 Saratoga St S		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2543					\$95.25	
*420 SARATOGA ST S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	=	\$95.25	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$95.25	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential	Stree 0.42	84.00	\$35.28	10-28-23-23-0084
Peggy Walter Olson	CITY OF SAINT PAUL LOT 1 BLK 15	Alley Sweeping	0.13	40.00	\$5.20	
422 Saratoga St S		Citywide Street Lighting	0.66	84.00	\$55.44	
St Paul MN 55105-2545				==	\$95.92	
*422 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Tota	Assessment:		\$95.92	
		This	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$95.92	
Elizabeth A Nichols	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential		86.50		
423 Saratoga St S	PAUL, MINN. LOT 1	Alley Sweeping	0.13	50.00	\$6.50	10-28-23-23-0141
423 Saratoga St S St Paul MN 55105-2544		Citywide Street Lighting	0.66	86.50	\$57.09	
*423 SARATOGA ST S		, 6 6		_	\$99.92	
*Ward: 3		*** Owner and Taxpayer ***			\$77.72	
*Pending as of: 8/21/2019		Tota	Assessment:	_	\$99.92	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$99.92	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential		50.00		
1747 Randolph Ave	CITY OF SAINT PAUL LOT 23 BLK 14	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-23-0142
St Paul MN 55105-2154		Citywide Street Lighting	0.66	50.00	\$33.00	
427 SARATOGA ST S				=	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			\$00.30	
*Pending as of: 8/21/2019		Total	Assessment:	=	\$60.50	
		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$60.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Ted R Rueff	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-23-0144
Ann M Isaacson	PAUL, MINN. LOT 2	Alley Sweeping	0.13	41.00	\$5.33	
437 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2544				_	\$48.53	
*437 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.53	
		This Payn	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.53	
Wayne J Bendickson	DRAPER AND PARKER'S ADD'N., ST. PAUL, MINN. LOT 3	Street Sweeping - Residential Stree		40.00	\$16.80	10-28-23-23-0145
Katie Jo Bendickson	FAUL, MINN. LOT 3	Alley Sweeping	0.13	41.00	\$5.33	
441 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2544					\$48.53	
*441 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3					# 40. # 2	
*Pending as of: 8/21/2019		Total Ass			\$48.53	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$48.53	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street		40.00		<u> </u>
446 Saratoga St S	CITY OF SAINT PAUL LOT 7 BLK 15	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-23-0070
St Paul MN 55105-2545		Citywide Street Lighting	0.66	40.00	\$26.40	
*446 SARATOGA ST S				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	

Page 267

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Steven F Liska	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0147
Melanie A Liska	PAUL, MINN. LOT 5	Alley Sweeping	0.13	41.00	\$5.33	
149 Saratoga Street S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2544				_	\$48.53	
*449 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse			\$48.53	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.53	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10-28-23-23-0091
450 Saratoga St S	CITY OF SAINT PAUL LOT 8 BLK 15	Alley Sweeping Alley Sweeping	0.13	40.00	\$5.20	10-28-23-23-0091
St Paul MN 55105-2545		Citywide Street Lighting	0.66	40.00	\$26.40	
*450 SARATOGA ST S		,		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψττυ	
*Pending as of: 8/21/2019		Total Asse	ssment:	_	\$48.40	
		This Payme	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Joshua A Jensen	DRAPER AND PARKER'S ADD'N., ST.	Street Sweeping - Residential Stree				10 20 22 22 0150
461 Saratoga St S	PAUL, MINN. LOT 8	Alley Sweeping Alley Sweeping	0.13	41.00	\$5.33	10-28-23-23-0150
St Paul MN 55105-2544		Citywide Street Lighting	0.66	40.00	\$26.40	
*461 SARATOGA ST S		, , ,		_	\$48.53	
*Ward: 3		*** Owner and Taxpayer ***			φ 4 6.33	
*Pending as of: 8/21/2019		1 7				
1 chaing 45 01. 0/21/2017		Total Asse	ssment:	=	\$48.53	
		This Payme			\$0.00	
)				
		Current Ye	ar Principal:		\$0.00	
		Current Ye Current Ye	ar Principal: ar Interest:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — — — — — — — — — — —	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-23-0094
Jessica Eisenhuth	CITY OF SAINT PAUL LOT 11 BLK 15	Alley Sweeping	0.13	40.00	\$5.20	
462 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2545				_	\$48.40	
*462 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
		Current `	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
						· — — — — — —
Joan M Johnson	DRAPER AND PARKER'S ADD'N., ST. PAUL, MINN. LOT 9	Street Sweeping - Residential Street Alley Sweeping	eε 0.42 0.13	40.00 79.00	\$16.80 \$10.27	10-28-23-23-0151
465 S Saratoga St	,	Citywide Street Lighting	0.13	40.00	\$10.27 \$26.40	
St Paul MN 55105-2544		Citywide Street Lighting	0.00	40.00	<u> </u>	
*465 SARATOGA ST S					\$53.47	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:	-	\$53.47	
		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$53.47	
	KENNA'S RANDOLPH ADD. LOT 4					
James M Kozlowski	KENNA'S KANDOLFH ADD. LOT 4	Street Sweeping - Residential Stre	0.42 0.13	41.00 83.00	\$17.22 \$10.79	10-28-23-32-0022
Katie L Kozlowski		Alley Sweeping Citywide Street Lighting	0.13	41.00	\$10.79 \$27.06	
498 Saratoga St S		Citywide Succe Lighting	0.00	41.00 =		
St Paul MN 55116-1504		**** 0 1.77 ***			\$55.07	
*498 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3		T . 1.1		=		
*Pending as of: 8/21/2019			sessment:		\$55.07	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$55.07	

Owner or Taxpayer

2220 Conway St

*Ward: 3

Daniel Walsh

*Ward: 3

608 Grand Ave

St Paul MN 55102-2610

*510 SARATOGA ST S

*Pending as of: 8/21/2019

Raymond J Rangel Trustee

St Paul MN 55119-4040

*Pending as of: 8/21/2019

*505 SARATOGA ST S

Property Description

RANDOLPH VILLAS LOT 4

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM Page 269 **Ratification Date:** Resolution #: **Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 55.00 \$23.10 10-28-23-32-0076 RANDOLPH VILLAS AND PART OF Citywide Street Lighting 0.66 55.00 \$36.30 LOT 3 SUBD ENTITLED LOTS 1 2 3 \$59.40 AND 4 SW 1/4 SEC NO 10 T 28 R 23 AS RECORDED IN BOOK H OF TOWN *** Owner and Taxpayer *** PLATS PAGE 2 E OF EXTENDED W L Total Assessment: \$59.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$59.40 **Payoff Amount:** KENNA'S RANDOLPH ADD. LOT 7 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-32-0025 0.13 40.00 Alley Sweeping \$5.20 Citywide Street Lighting 40.00 0.66 \$26.40 \$48.40 *** Owner and Taxpaver *** Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40 KENNA'S RANDOLPH ADD. LOT 8 Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-32-0026 Alley Sweeping 0.13 40.00 \$5.20 Citywide Street Lighting 0.66 40.00 \$26.40 \$48.40 *** Owner and Taxpayer ***

5t 1 au1 W1N 55104-0040	
*514 SARATOGA ST S	•
*Ward: 3	

*Pending as of: 8/21/2019

St Paul MN 55104 6840

James G Straka

1677 Portland Ave

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Maria T Vasquez	RANDOLPH VILLAS LOT 8	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0080
521 Saratoga St S		Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-1545		Citywide Street Lighting	0.66	42.00	\$27.72	
*521 SARATOGA ST S				=	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asses			\$50.82	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$50.82	
Russell D Klein	KENNA'S RANDOLPH ADD. LOT 10	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-32-0028
Desta M Klein		Alley Sweeping	0.13	40.00	\$5.20	
522 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1546					\$48.40	
*522 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				=	0.40.40	
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Payme	ent: ar Principal:		\$0.00 \$0.00	
		Current Ye			\$0.00 \$0.00	
		Payoff Am			\$48.40	
		1 ayon Am	ount.		\$ 10.10	
Paul M Flindt	RANDOLPH VILLAS LOT 9	Street Sweeping - Residential Stree		42.00	<u>\$17.64</u>	10-28-23-32-0081
525 Saratoga St		Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-1545		Citywide Street Lighting	0.66	42.00	\$27.72	
*525 SARATOGA ST S				=	\$50.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Asses			\$50.82	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$50.82	

Page 271

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick W Obrien	KENNA'S RANDOLPH ADD. LOT 11	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-32-0029
Jane Oconnor-Obrien		Alley Sweeping	0.13	40.00	\$5.20	
526 Saratoga St S		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1546				_	\$48.40	
*526 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Assess	sment:		\$48.40	
-		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Amo	ount:		\$48.40	
	KENNA'S RANDOLPH ADD. LOT 12					
Julia K Hally	KENNA S KANDOLFH ADD. LOT 12	Street Sweeping - Residential Stree	0.42 0.13	40.00	\$16.80	10-28-23-32-0030
530 Saratoga St S		Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55116-1546		Citywide Street Lighting	0.00	40.00		
*530 SARATOGA ST S		*** 0 1T ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
Tollang as of oranger		Total Assess	sment:	-	\$48.40	
		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Amo	ount:		\$48.40	
Jackie L Micklewright	RANDOLPH VILLAS LOT 11	Street Sweeping - Residential Stree		42.00		
· ·		Alley Sweeping	0.13	42.00	\$5.46	10-28-23-32-0083
Dozzid I Shumon			0.66	42.00	\$27.72	
		Citywide Street Lighting	0.00			
533 Saratoga St S		Citywide Street Lighting	0.00	=	\$50.92	
533 Saratoga St S St Paul MN 55116-1545			0.00	_	\$50.82	
533 Saratoga St S St Paul MN 55116-1545 * 533 SARATOGA ST S		*** Owner and Taxpayer ***	0.00	=	\$50.82	
David L Shuman 533 Saratoga St S St Paul MN 55116-1545 *533 SARATOGA ST S *Ward: 3 *Panding as of: 8/21/2010		*** Owner and Taxpayer ***		_		
533 Saratoga St S St Paul MN 55116-1545 *533 SARATOGA ST S *Ward: 3		*** Owner and Taxpayer *** Total Assess	sment:		\$50.82	
533 Saratoga St S St Paul MN 55116-1545 *533 SARATOGA ST S *Ward: 3		*** Owner and Taxpayer *** Total Assess This Payme	sment: nt:		\$50.82 \$0.00	
533 Saratoga St S St Paul MN 55116-1545 * 533 SARATOGA ST S		*** Owner and Taxpayer *** Total Assess	sment: nt: r Principal:		\$50.82	

Page 272

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Charles W Walker	KENNA'S RANDOLPH ADD. LOT 14	Street Sweeping - Residential Stre	ee 0.42	88.00	\$36.96	10-28-23-32-0032
Arica L Bjornberg Walker		Alley Sweeping	0.13	51.00	\$6.63	
540 Saratoga St S		Citywide Street Lighting	0.66	88.00	\$58.08	
St Paul MN 55116-1546				_	\$101.67	
*540 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	sessment:		\$101.67	
		This Pay	ment:		\$0.00	
		Current Y	Year Principal:		\$0.00	
		Current Y	Year Interest:		\$0.00	
		Payoff A	amount:		\$101.67	
Donald W Minni Jr	RANDOLPH VILLAS LOT 13	Street Sweeping - Residential Stre		80.50	\$33.81	10-28-23-32-0096
Teresa Ann Minni		Alley Sweeping	0.13	41.00	\$5.33 \$53.13	
543 Saratoga St S		Citywide Street Lighting	0.66	80.50		
St Paul MN 55116-1521					\$92.27	
*543 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019			sessment:		\$92.27	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$92.27	
	KENNA'S RANDOLPH ADD. LOT 18	Street Sweeping - Residential Stre	 — — — — — — — — — — — — — — — — — —	40.00		10-28-23-32-0068
556 Saratoga St S		Alley Sweeping	0.13	40.00	\$5.20	10-20-25-52-0000
St Paul MN 55116-1520		Citywide Street Lighting	0.66	40.00	\$26.40	
*556 SARATOGA ST S				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			Ψ10.10	
*Pending as of: 8/21/2019						
		Total As	sessment:	-	\$48.40	
		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

		Ratification Date: Resolution	n #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick J Ryan	OTTO HUNT'S ADDITION LOT 1 BLK	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0101
Aichaela F Ryan	3	Alley Sweeping	0.13	42.00	\$5.46	
63 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
t Paul MN 55116-1521				=	\$50.82	
563 SARATOGA ST S		*** Owner and Taxpayer ***				
Ward: 3 Pending as of: 8/21/2019		Total Asse	ssment:		\$50.82	
1 chang as of. 6/21/2017		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$50.82	
Gary J Fischbach	OTTO HUNT'S ADDITION LOT 2 BLK	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0102
Mary Huncha Fischbach	3	Alley Sweeping	0.13	42.00	\$5.46	
667 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1521				_	\$50.82	
*567 SARATOGA ST S		*** Owner and Taxpayer ***				
Ward: 3 Pending as of: 8/21/2019		Total Asse	essment:	-	\$50.82	
9		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$50.82	
David M Collins	OTTO HUNT'S ADDITION LOT 17 BLK	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-32-0065
Nicole E Collins	2	Alley Sweeping	0.13	42.00	\$5.46	
668 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1520				_	\$50.82	
*568 SARATOGA ST S *Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Asse	ssment:	=	\$50.82	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	

Payoff Amount:

\$50.82

fication Date: R	Resolution
------------------	------------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kristi K Mcnellis	OTTO HUNT'S ADDITION LOT 16 BLK	Street Sweeping - Residential	Stree 0.42	42.00	\$17.64	10-28-23-32-0064
Ryan P Mcnellis	2	Alley Sweeping	0.13	42.00	\$5.46	
72 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1520				_	\$50.82	
572 SARATOGA ST S		*** Owner and Taxpayer ***				
Ward: 3						
Pending as of: 8/21/2019		Total	Assessment:		\$50.82	
		This	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$50.82	
Joy E Albrecht	OTTO HUNT'S ADDITION LOT 15 BLK 2	Street Sweeping - Residential	Stree 0.42 0.13	42.00 42.00	\$17.64 \$5.46	10-28-23-32-0063
2200 Doswell Ave	-	Alley Sweeping Citywide Street Lighting	0.13	42.00	\$3.46 \$27.72	
St Paul MN 55108-1703		Citywide Street Lighting	0.00	42.00		
578 SARATOGA ST S		*** 0 1 T ***			\$50.82	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
1 chaing as of. 6/21/201)		Total	Assessment:	-	\$50.82	
		This	Payment:		\$0.00	
		Curre	ent Year Principal:		\$0.00	
		Curre	ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$50.82	
Patrick Andrew Foley	OTTO HUNT'S ADDITION LOT 13 BLK 2	Street Sweeping - Residential Alley Sweeping	Stree 0.42 0.13	42.00 42.00	\$17.64 \$5.46	10-28-23-32-0061
586 Saratoga St S	_	Citywide Street Lighting	0.13	42.00	\$3.46 \$27.72	
St Paul MN 55116-1520		Citywide Street Lighting	0.00	42.00		
586 SARATOGA ST S		*** 0 15 ***			\$50.82	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total	Assessment:	-	\$50.82	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			ff Amount:		\$50.82	
		rayo	n Amvuiit.		\$30.02	

Page 275

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Paul Feng	OTTO HUNT'S ADDITION LOT 7 BLK	Street Sweeping - Residential Street	0.42	42.00	\$17.64	10-28-23-32-0107
Camille R Feng	3	Alley Sweeping	0.13	42.00	\$5.46	
589 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1521				_	\$50.82	
*589 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$50.82	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$50.82	
			· — — — –			
Joseph A Young	OTTO HUNT'S ADDITION LOT 8 BLK	Street Sweeping - Residential Street		42.00	\$17.64	10-28-23-32-0108
Hannah M Mason	3	Alley Sweeping	0.13	42.00	\$5.46	
593 Saratoga St S		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1521					\$50.82	
*593 SARATOGA ST S		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass			\$50.82	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$50.82	
	OTTO HUNT'S ADDITION LOT 9 BLK	Street Sweeping - Residential Street		- — — —		10 20 22 22 0100
Tyler Lueck	3	Alley Sweeping	0.13	55.00	\$7.15	10-28-23-32-0109
599 Saratoga St S		Citywide Street Lighting	0.66	87.50	\$57.75	
St Paul MN 55116-1521		,		=	\$101.65	
*599 SARATOGA ST S		*** Owner and Taxpayer ***			\$101.03	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$101.65	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$101.65	

Denia M Selicit Original Street Sweeping - Residential Stree 0.42 0.00	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rosed D Klein 2	Desta M Klein	OTTO HUNT'S ADDITION LOT 10 BLK	Street Sweeping - Residential Street	ee 0.42	90.00	\$37.80	10-28-23-32-0058
Stead MN \$5116-1546 S104.35 S1	Russell D Klein	2					
***Owner and Taxpayor *** Total Assessment: \$104.35 This Payment: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$104.35 ***Owner and Taxpayor *** ***Owner and Taxpayor **	522 Saratoga St S		Citywide Street Lighting	0.66	90.00	\$59.40	
***Owner and Taxpayer *** ***Pending as of: 8/21/2019 **Pending as of: 8/21/2019 **Total Assessment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$104.35 **Cat Winge **TWIN CITY YEAR \$1.20 FLOT 5 AND ALL OF LOT 6 BLR \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	St Paul MN 55116-1546				=	\$104.35	
#Pending as of: 8/21/2019 Total Assessment: Side 35	*600 SARATOGA ST S		*** Owner and Taxpayer ***				
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$194.35 Carl Wings Carl Wings Carl Street Sweeping - Residential Street \$0.42	*Ward: 3						
Current Year Principal: S0.00	*Pending as of: 8/21/2019					\$104.35	
Current Year Interest: S0.00 Payoff Amount: S104.35						\$0.00	
Carl Winge				•			
Carl Winge							
All of Lot 6 BLK 5 All of Sureoping 0.13 60.00 \$7.80 \$1.00 \$			Payoff A	Amount:		\$104.35	
All of Lot 6 BLK 5 All of Sweeping 0.13 60.00 \$7.80 S19.60 S19.60 S29.60							
St. Paul MN 55116-1523 Citywide Street Lighting 0.66 60.00 \$39.60							10-28-23-33-0049
*625 SARATOGA ST S *Ward: 3 *Pending as of: 8/21/2019 **** Owner and Taxpayer **** Total Assessment: \$72.60 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$72.60 **** Owner and Taxpayer *** *** Owner and Taxpayer *** **** Own	=	ALL OF LOT 6 BLK 5					
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.60 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$72.60 James R Burt TWIN CITY VIEW EX \$14 FT LOT 16 AND EX N 20 FT LOT 17 BLK 4 Alley Sweeping - Residential Stree 0.42 46.00 \$19.32 10-28-23-33-0041 Alley Sweeping 0.13 46.00 \$5.98 St Paul MN 55116-1522 \$15.66 *628 SARATOGA ST S *** Owner and Taxpayer *** *Pending as of: 8/21/2019 *** Owner and Taxpayer *** *** Own			Citywide Street Lighting	0.66	60.00	\$39.60	
*Pending as of: 8/21/2019 Total Assessment: \$72.60 This Payment: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$72.60 Total Assessment: \$72.60 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$72.60 ***Owner and Taxpayer *** ***Owner and Taxpayer *** ***Owner and Taxpayer *** ***Owner and Taxpayer *** ***Outent Year Interest: \$0.00 Payoff Amount: \$72.60 ****Owner and Taxpayer *** ***Outent Year Interest: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*625 SARATOGA ST S					\$72.60	
Total Assessment: \$72.60			*** Owner and Taxpayer ***				
This Payment: S0.00 Current Year Principal: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S72.60	*Pending as of: 8/21/2019					AT2 (0)	
Current Year Principal: \$0.00							
Current Year Interest: Payoff Amount: \$0.00							
Payoff Amount: \$72.60				=			
James R Burt							
AND EX N 20 FT LOT 17 BLK 4 Alley Sweeping 0.13 46.00 \$5.98 St Paul MN 55116-1522 Citywide Street Lighting 0.66 46.00 \$30.36 *628 SARATOGA ST S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			rayon A	Amount:		\$72.00	
AND EX N 20 FT LOT 17 BLK 4 Alley Sweeping 0.13 46.00 \$5.98 St Paul MN 55116-1522 Citywide Street Lighting 0.66 46.00 \$30.36 *628 SARATOGA ST S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	Iouras D Drust	TWIN CITY VIEW EYS 14 ET LOT 16	Street Sweening - Residential Street		_	— — _	10 20 22 22 0041
St Paul MN 55116-1522 *628 SARATOGA ST S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: This Payment: St Paul MN 55116-1522 Citywide Street Lighting 0.66 46.00 \$30.36 *** Owner and Taxpayer *** *Total Assessment: This Payment: St Paul MN 55116-1522 *** Owner and Taxpayer *** *** Owner and Ta							10-28-23-33-0041
*628 SARATOGA ST S *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	_						
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			,		_		
*Pending as of: 8/21/2019 Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** Owner and Taxpaver ***			\$33.00	
Total Assessment: \$55.66 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			o wher and rampay or				
This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	1 Chaing as 01. 0/21/2017		Total As	sessment:	=	\$55.66	
Current Year Principal: \$0.00 Current Year Interest: \$0.00						****	
Current Year Interest: \$0.00							
				=			
			Payoff A	Amount:		\$55.66	

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 47.00 \$19.74 TWIN CITY VIEW N 6 FT OF LOT 12 Steven E Segl 10-28-23-33-0038 AND EX N 39 FT LOT 14 AND ALL OF 0.13 47.00 Alley Sweeping \$6.11 Suzanne M Segl LOT 13 BLK 4 Citywide Street Lighting 47.00 0.66 \$31.02 640 Saratoga St S \$56.87 St Paul MN 55116-1522 *** Owner and Taxpayer *** *640 SARATOGA ST S *Ward: 3 Total Assessment: \$56.87 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$56.87 TWIN CITY VIEW LOT 10 BLK 5 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Rosemary L Duffy 10-28-23-33-0052 Alley Sweeping 0.13 40.00 \$5.20 641 Saratoga St S Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1523 *641 SARATOGA ST S \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$48.40 Richard R Morrison Trustee TWIN CITY VIEW N 14 FT OF LOT A Street Sweeping - Residential Stree 0.42 67.00 \$28.14 10-28-23-33-0053 IDEAL HOMESITES AND OF LOT 7 0.13 67.00 \$8.71 Alley Sweeping Claire L Hoyum Trustee HARKNESS SUNNYSLOPE AND IN SD Citywide Street Lighting 0.66 67.00 \$44.22 645 Saratoga St S TWIN CITY VIEW LOT 11 BLK 5 St Paul MN 55116-1523 \$81.07 *** Owner and Taxpayer *** *645 SARATOGA ST S *Ward: 3 Total Assessment: \$81.07 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$81.07

Page 278

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Owen L Hall	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential Stree	0.42	81.00	\$34.02	10-28-23-44-0079
Margaret L Kasting	COUNTY, MINNESOTA VAC ALLEY IN DOC 2171391 ACCRUING & FOL;	Alley Sweeping	0.13	138.00	\$17.94	
1200 Scheffer Ave	E1/2 OF LOT 15 & ALL OF LOT 16 BLK	Citywide Street Lighting	0.66	81.00	\$53.46	
St Paul MN 55116-1713	6			_	\$105.42	
*1200 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asso	essment:	-	\$105.42	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$105.42	
Benjamin J Tarnowski	SUBDIVISION OF BLOCK 2,	Street Sweeping - Residential Stree		59.00	\$24.78	10-28-23-44-0049
Margaret R Hawkinson	LEXINGTON PARK PLAT 5 LOT 10 BLK 2	Citywide Street Lighting	0.66	59.00	\$38.94	
1215 Scheffer Ave	32.1. 2			_	\$63.72	
St Paul MN 55116-1714		*** Owner and Taxpayer ***				
*1215 SCHEFFER AVE						
*Ward: 3		Total Asse			\$63.72	
*Pending as of: 8/21/2019		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$63.72	
 Brian Doyle	SUBDIVISION OF BLOCK 2,	Street Sweeping - Residential Stree		97.50		
Michelle Doyle	LEXINGTON PARK PLAT 5 LOT 9	Citywide Street Lighting	0.66	97.50	\$64.35	10 20 20 11 00 10
1217 Scheffer Ave	BLK 2			_	\$105.30	
St Paul MN 55116-1714		*** Owner and Taxpayer ***			*	
*1217 SCHEFFER AVE						
*Ward: 3		Total Asse	essment:		\$105.30	
*Pending as of: 8/21/2019		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$105.30	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sarah A Swenson	EINAR T. SCHULSTAD SUBD. LOTS 29	Street Sweeping - Residential Stre	ee 0.42	104.00	\$43.68	10-28-23-43-0079
John E Swenson	AND LOT 30	Alley Sweeping	0.13	83.00	\$10.79	
1229 Scheffer Ave		Citywide Street Lighting	0.66	104.00	\$68.64	
St Paul MN 55116-1716				_	\$123.11	
*1229 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total As	sessment:		\$123.11	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$123.11	
Adam J Bartel	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 6 BLK 7	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-43-0115
1242 Scheffer Ave	COUNTT, WINNESOTA LOT OBEK /	Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
St Paul MN 55116-1715		Citywide Street Lighting	0.66	40.00		
*1242 SCHEFFER AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
			 -			
Timothy Pautz	EINAR T. SCHULSTAD SUBD. W 1/2 OF LOT 25 AND ALL OF LOT 24	Street Sweeping - Residential Stre	0.42 0.13	60.00 60.00	\$25.20 \$7.80	10-28-23-43-0076
Elizabeth J Pautz	201201112011220120121	Alley Sweeping Citywide Street Lighting	0.13	60.00	\$7.80	
1245 Scheffer Ave		Citywide Street Lighting	0.00	60.00		
St Paul MN 55116-1716					\$72.60	
*1243 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				=	072.60	
*Pending as of: 8/21/2019			sessment:		\$72.60	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	amount:		\$72.60	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Scott H Mcmahon	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0121
Melanie Mcmahon	COUNTY, MINNESOTA LOT 12 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1266 Scheffer Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1715				_	\$48.40	
*1266 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Paym	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
Donald C Knudsen	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-43-0142
1290 Scheffer Ave	COUNTY, MINNESOTA LOT 3 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1717		Citywide Street Lighting	0.66	40.00	\$26.40	
*1290 SCHEFFER AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Darin J Kluck	HACKETT'S SUBDIVISION OF BLOCK 4, LEXINGTON PARK PLAT 5,	Street Sweeping - Residential Stree	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-43-0105
Nicole J Kluck	RAMSEY CO., MINN LOT 26	Alley Sweeping Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1299 Scheffer Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-1718		*** Owner and Taxpayer ***			\$48.40	
*1299 SCHEFFER AVE		Owner and Taxpayer				
*Ward: 3		T + 1 A		=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff Ar			\$0.00 \$48.40	
		rayon An	nount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM **Ratification Date:** Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 40.00 \$16.80 LEXINGTON PARK PLAT 11, RAMSEY Ann Labonne 10-28-23-43-0146 COUNTY, MINNESOTA LOT 7 BLK 8 0.13 40.00 Alley Sweeping \$5.20 1304 Scheffer Ave Citywide Street Lighting 40.00 0.66 \$26.40 St Paul MN 55116-1717 \$48.40 *1304 SCHEFFER AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Millard G Haley Jr HACKETT'S SUBDIVISION OF BLOCK 10-28-23-43-0103 4, LEXINGTON PARK PLAT 5, Alley Sweeping 0.13 40.00 \$5.20 1305 Scheffer Ave RAMSEY CO., MINN LOT 24 Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1718 *1305 SCHEFFER AVE \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 \$0.00 Current Year Interest: **Payoff Amount:** \$48.40 William K Grant LEXINGTON PARK PLAT 11, RAMSEY Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-43-0147 COUNTY, MINNESOTA LOT 8 BLK 8 0.13 40.00 \$5.20 Alley Sweeping 1308 Scheffer Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1717 *1308 SCHEFFER AVE \$48.40 *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 40.00 \$16.80 HACKETT'S SUBDIVISION OF BLOCK Michael J Rischette 10-28-23-43-0100 4, LEXINGTON PARK PLAT 5, 0.13 40.00 Alley Sweeping \$5.20 1317 Scheffer Ave RAMSEY CO., MINN LOT 21 Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55116-1718 \$48.40 *1317 SCHEFFER AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 SATTLER'S ADDITION LOT 28 BLK 4 41.00 Street Sweeping - Residential Stree 0.42 \$17.22 Michelle Thom 10-28-23-34-0050 Alley Sweeping 0.13 82.50 \$10.73 1357 Scheffer Ave Citywide Street Lighting 0.66 41.00 \$27.06 St Paul MN 55116-2245 \$55.01 *1357 SCHEFFER AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$55.01 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$55.01 Robert A Lauer SATTLER'S ADDITION E 4 5/10 FT OF Street Sweeping - Residential Stree 0.42 45.00 \$18.90 10-28-23-34-0049 LOT 26 AND ALL OF LOT 27 BLK 4 0.13 45.00 \$5.85 Alley Sweeping Elaine Lauer Citywide Street Lighting 0.66 45.00 \$29.70 1361 Scheffer Ave St Paul MN 55116-2245 \$54.45 *** Owner and Taxpayer *** *1361 SCHEFFER AVE *Ward: 3 Total Assessment: \$54.45 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$54.45

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Erin Shannon	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential S	treε 0.42	41.00	\$17.22	10-28-23-34-0061
Marc D Shannon	ST. PAUL LOT 11 BLK 4	Alley Sweeping	0.13	41.00	\$5.33	
1368 Scheffer Ave		Citywide Street Lighting	0.66	41.00	\$27.06	
St Paul MN 55116-2244				_	\$49.61	
*1368 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	Assessment:		\$49.61	
		This P	ayment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
		Curren	nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$49.61	
Andrew M Koch	SATTLER'S ADDITION E 13 5/10 FT OF LOT 24 AND W 31 5/10 FT OF LOT 25	Street Sweeping - Residential S		45.00	\$18.90	10-28-23-34-0047
Rebecca S Koch	BLK 4	Alley Sweeping	0.13 0.66	45.00 45.00	\$5.85 \$29.70	
1369 Scheffer Ave		Citywide Street Lighting	0.00	45.00		
St Paul MN 55116-2245		*** 0 17 ***			\$54.45	
*1369 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3		T 1			Φ54.45	
*Pending as of: 8/21/2019			Assessment: ayment:		\$54.45 \$0.00	
			ayment: nt Year Principal:		\$0.00	
			nt Year Principal:		\$0.00	
			f Amount:		\$54.45	
		1 ayon	Amount.		GF.FGQ	
	SATTLER'S ADDITION E 22 5/10 FT OF	Street Sweeping - Residential S		45.00	<u> </u>	10-28-23-34-0045
Julia F Leahy	LOT 22 AND W 22 5/10 FT OF LOT 23	Alley Sweeping	0.13	45.00	\$5.85	10 20 20 01 00 10
1377 Scheffer Av	BLK 4	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-2245				_	\$54.45	
*1377 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$54.45	
		This P	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
		Currer	nt Year Interest:		\$0.00	
		Payof	f Amount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gail K Stremel	SATTLER'S ADDITION W 18 FT OF LOT	Street Sweeping - Residential Stre	ee 0.42	45.00	\$18.90	10-28-23-34-0044
383 Scheffer Ave	22 AND E 27 FT OF LOT 21 BLK 4	Alley Sweeping	0.13	45.00	\$5.85	
St Paul MN 55116-2245		Citywide Street Lighting	0.66	45.00	\$29.70	
*1383 SCHEFFER AVE				_	\$54.45	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total As	ssessment:		\$54.45	
		This Pay			\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$54.45	
Mark D Farrington	SATTLER'S ADDITION W 13 5/10 FT OF LOT 21 AND E 31 5/10 FT OF LOT	Street Sweeping - Residential Str		45.00	\$18.90	10-28-23-34-0043
1387 Scheffer Ave	20 BLK 4	Alley Sweeping	0.13	45.00	\$5.85 \$29.70	
St Paul MN 55116-2245		Citywide Street Lighting	0.66	45.00		
*1387 SCHEFFER AVE					\$54.45	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
reliding as of. 6/21/2019		Total As	ssessment:	-	\$54.45	
		This Pay	ment:		\$0.00	
		Current	Current Year Principal: Current Year Interest: Payoff Amount:			
		Current				
		Payoff A				
Elizabeth L Tietz	SATTLER'S ADDITION W 9 FT OF LOT	Street Sweeping - Residential Stre		50.00	\$21.00	10-28-23-34-0042
391 Scheffer Ave	20 AND ALL OF LOT 19 BLK 4	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-2245		Citywide Street Lighting	0.66	50.00	\$33.00	
1391 SCHEFFER AVE				_	\$60.50	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	ssessment:	-	\$60.50	
		This Pay	ment:		\$0.00	
		•	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	\mount•		\$60.50	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas A Lauer	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Street	0.42	48.00	\$20.16	10-28-23-34-0066
Carol A Lauer	ST. PAUL E 30 FT OF LOT 17 AND EX E 22 5/10 FT LOT 16 BLK 4	Alley Sweeping	0.13	48.00	\$6.24	
1392 Scheffer Ave	L 22 S/1011 LOT TO BER 4	Citywide Street Lighting	0.66	48.00	\$31.68	
St Paul MN 55116-2244					\$58.08	
*1392 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Ass			\$58.08	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00 \$58.08	
		Payoff Ar	mount:		\$30.00	
James Kimlinger	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree		88.00		10-28-23-34-0067
Erin K Kimlinger	ST. PAUL EX E 30 FT LOT 17 AND ALL	Alley Sweeping	0.13	51.00	\$6.63	10-20-25-54-0007
1396 Scheffer Ave	OF LOT 18 BLK 4	Citywide Street Lighting	0.66	88.00	\$58.08	
St Paul MN 55116-2244				_	\$101.67	
*1396 SCHEFFER AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$101.67	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	mount:		\$101.67	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stree				
Claire T Kocik 1400 Scheffer Ave	ST. PAUL LOT 1 BLK 3	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-34-0157
St Paul MN 55116-2246		Citywide Street Lighting	0.66	82.50	\$54.45	
*1400 SCHEFFER AVE		, , ,		_	\$94.30	
*Ward: 3		*** Owner and Taxpayer ***			\$24.30	
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$94.30	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$94.30	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre	0.42	55.00	\$23.10	10-28-23-34-0146
1415 Scheffer Ave	ST. PAUL W 20 FT OF LOT 3 AND EX	Alley Sweeping	0.13	55.00	\$7.15	
St Paul MN 55116-2247	W 5 FT LOT 4 BLK 2	Citywide Street Lighting	0.66	55.00	\$36.30	
*1415 SCHEFFER AVE				_	\$66.55	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					0.66.55	
			sessment:		\$66.55	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	mount:		\$66.55	
	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre		45.00		10-28-23-34-0147
Kathleen Ryan Kramer	ST. PAUL W 5 FT OF LOT 4 AND ALL	Alley Sweeping	0.13	45.00	\$5.85	10-28-23-34-014/
1419 Scheffer Ave	OF LOT 5 BLK 2	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-2247		,		=	\$54.45	
*1419 SCHEFFER AVE		*** Owner and Taxpayer ***			\$34.43	
*Ward: 3		owner and ranpayer				
*Pending as of: 8/21/2019		Total Ass	sessment:	_	\$54.45	
		This Pay	ment:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Y	Current Year Interest:			
		Payoff A	mount:		\$54.45	
Kate F Downey	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre	<u> </u>			10 20 22 24 01/2
Wesley Fredenburg	ST. PAUL LOT 7 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-34-0163
		Citywide Street Lighting	0.66	40.00	\$26.40	
1251 Berkeley Ave		,	0.00	=	·	
St Paul MN 55105-2802		*** Owner and Taxpayer ***			\$48.40	
*1426 SCHEFFER AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	=	\$48.40	
*Pending as of: 8/21/2019		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
		rayon A	amoulit.		J40.4U	

Ratification Date:

Owner or Taxpayer Property Description Item Description Unit Rate	te Quantity	Charge Amts	Property ID
Scheffer Highland Llc KENSINGTON PARK ADDITION TO Street Sweeping - Residential Street 0.42	45.00	\$18.90	10-28-23-34-0149
5343 Monarda Ave ST. PAUL E 10 FT OF LOT 8 AND EX E Alley Sweeping 0.13		\$5.85	
Stillwater MN 55082-2159 Stillwater MN 55082-2159 Citywide Street Lighting 0.66	66 45.00	\$29.70	
*1427 SCHEFFER AVE	_	\$54.45	
*Ward: 3 *** Owner and Taxpayer ***			
*Pending as of: 8/21/2019			
Total Assessment:		\$54.45	
This Payment:		\$0.00	
Current Year Principal:		\$0.00	
Current Year Interest:		\$0.00	
Payoff Amount:		\$54.45	
Rodney N Brewer KENSINGTON PARK ADDITION TO Street Sweeping - Residential Street 1434 Scheffer Ave ST. PAUL LOT 9 BLK 3 Alley Sweeping 0.13		\$16.80 \$5.20	10-28-23-34-0165
1434 Scheffer Ave		\$3.20 \$26.40	
561 dai 141 (5511		-	
*1434 SCHEFFER AVE *Ward: 3 *** Owner and Taxpayer ***		\$48.40	
*Ward: 3			
Total Assessment:	-	\$48.40	
This Payment:		\$0.00	
Current Year Principal:		\$0.00	
Current Year Interest:		\$0.00	
Payoff Amount:		\$48.40	
Sandra J Gillispie KENSINGTON PARK ADDITION TO Street Sweeping - Residential Stree 0.42		\$18.90	10-28-23-34-0152
1441 Scheffer Ave ST. PAUL E 25 FT OF LOT 11 AND EX E Alley Sweeping O.13		\$5.85	
St Paul MN 55116-2247 Citywide Street Lighting 0.60	45.00	\$29.70	
*1441 SCHEFFER AVE	_	\$54.45	
*Ward: 3 *** Owner and Taxpayer ***			
*Pending as of: 8/21/2019 Total Assessment:	-	\$54.45	
This Payment:		\$0.00	
Current Year Principal:		\$0.00	
Current Year Interest:		\$0.00	
Payoff Amount:		\$54.45	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Shannon Gourley	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre	ee 0.42	40.00	\$16.80	10-28-23-34-0168
1446 Scheffer Ave	ST. PAUL LOT 12 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-2246		Citywide Street Lighting	0.66	40.00	\$26.40	
*1446 SCHEFFER AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay			\$0.00	
		·	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$48.40	
Barrett W Stoks	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Street		60.00	\$25.20	10-28-23-34-0169
Amy L Stoks	ST. PAUL LOT 13 AND EX W 20 FT LOT 14 BLK 3	Alley Sweeping	0.13	60.00	\$7.80	
1450 Scheffer Ave	LOT 14 BLK 3	Citywide Street Lighting	0.66	60.00	\$39.60	
St Paul MN 55116-2246				_	\$72.60	
*1450 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$72.60	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$72.60	
Kevin L Baltus	KENSINGTON PARK ADDITION TO	Street Sweeping - Residential Stre		45.00	\$18.90	10-28-23-34-0155
Michelle G Baltus	ST. PAUL EX E 35 FT LOT 13 AND ALL OF LOT 14 BLK 2	Alley Sweeping	0.13	45.00	\$5.85	
1453 Scheffer Ave	01 D01 11 DD11 2	Citywide Street Lighting	0.66	45.00	\$29.70	
St Paul MN 55116-2247				_	\$54.45	
*1453 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:	-	\$54.45	
1 Chaing as 01. 0/21/2017		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Current	y ear interest:		50.00	

Dorene M Manchi 1466 Scheffer Ave Street Sweeping - Residential Str 1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 *Total A This Pag Current	nent: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	91.00 56.00 91.00 = 56.00 56.00 56.00	\$38.22 \$7.28 \$60.06 \$105.56 \$105.56 \$0.00 \$0.00 \$0.00 \$105.56 \$33.52 \$7.28 \$36.96 \$67.76	10-28-23-33-0086
Am Davis 1462 Scheffer Ave \$1462 SCHEFFER AVE *1462 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 Dorene M Manchi 1466 Scheffer Ave \$1466 Scheffer Ave \$1466 SCHEFFER AVE *1466 SCHEFFER AVE *To a la manchi 1466 SCHEFFER AVE *To a la manchi To a la	0.66 essment: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	91.00 =	\$60.06 \$105.56 \$0.00 \$0.00 \$0.00 \$105.56 	10-28-23-33-0087
ALLEY BET LOTS 20 AND 21 St Paul MN 55116-2248 *1462 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer ***	essment: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00 56.00	\$105.56 \$0.00 \$0.00 \$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
St Paul MN 55116-2248 *1462 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 **Owner and Taxpayer *** **Owner and Taxpayer *** **Owner and Taxpayer *** ***Owner and Taxpayer ***	nent: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$105.56 \$0.00 \$0.00 \$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
Ward: 3 *Pending as of: 8/21/2019 **Dorene M Manchi Dorene M Manchi 1466 Scheffer Ave Street Sweeping - Residential Str Alley Sweeping Citywide Street Lighting **1466 SCHEFFER AVE **Ward: 3 *Pending as of: 8/21/2019 **Total A Total A Street Sweeping - Residential Str Alley Sweeping Citywide Street Lighting ** Owner and Taxpayer **** Ourrent Current Current Current Current	nent: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$0.00 \$0.00 \$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
*Pending as of: 8/21/2019 Total A This Pay Current Payoff Dorene M Manchi 1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 *Total A SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 ***Owner and Taxpayer *** Total A This Pay Current Current	nent: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$0.00 \$0.00 \$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
This Pay Current Current Payoff. Dorene M Manchi Dorene M Manchi SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART'S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE Ward: 3 *Pending as of: 8/21/2019 Total A This Pay Current Current	nent: ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$0.00 \$0.00 \$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
Current Payoff Dorene M Manchi 1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 ***Owner and Taxpayer *** Total A This Pay Current Current	ear Principal: ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$0.00 \$0.00 \$105.56 	10-28-23-33-0087
Current Payoff A Dorene M Manchi 1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 Total A This Pay Current Current	ear Interest: nount: 0.42 0.13 0.66 essment:	56.00	\$0.00 \$105.56 \$23.52 \$7.28 \$36.96	10-28-23-33-0087
Dorene M Manchi 1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 *** Owner and Taxpayer *** Total A This Pay Current Current	0.42 0.13 0.66	56.00	\$23.52 \$7.28 \$36.96	10-28-23-33-0087
Dorene M Manchi SECTION 10 TOWN 28 RANGE 23 W 56 1466 Scheffer Ave Street Sweeping - Residential Str Alley Sweeping Citywide Street Lighting *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 SECTION 10 TOWN 28 RANGE 23 W 56 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 *** Owner and Taxpayer *** Total A This Pay Current Current	0.42 0.13 0.66	56.00	\$23.52 \$7.28 \$36.96 \$67.76	10-28-23-33-0087
1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF Citywide Street Lighting Citywide Street Lighting **** Owner and Taxpayer *** Total A This Pay Current Current	0.13 0.66	56.00	\$7.28 \$36.96 \$67.76	10-28-23-33-0087
1466 Scheffer Ave St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 FT OF E 142 FT OF PART S OF SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS *20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 ***Owner and Taxpayer *** Total A This Pay Current Current	0.13 0.66	56.00	\$7.28 \$36.96 \$67.76	10-28-23-33-0087
SCHEFFER AVE AND N OF St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 SCHEFFER AVE AND N OF EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 Total A This Pay Current Current	0.66 essment:		\$36.96	
St Paul MN 55116-2248 *1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 EXTENDED N L OF ALLEY BET LOTS 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 *** Owner and Taxpayer *** Total A This Pay Current Current	essment:	56.00 =	\$67.76	
*1466 SCHEFFER AVE *Ward: 3 *Pending as of: 8/21/2019 20 AND 21 HARKNESS SUNNYSLOPE OF SW 1/4 OF SW 1/4 OF SEC 10 TN 28 *** Owner and Taxpayer *** Total A This Pay Current Current				
*Ward: 3 *Pending as of: 8/21/2019 Total A This Pa Current Current		_		
Total A This Pay Current Current		-	0.77.76	
This Pay Current Current			\$67.76	
Current Current	ent [,]		\$0.00	
Current	ear Principal:		\$0.00	
	ear Interest:		\$0.00	
Tayvii			\$67.76	
	nount.		507.70	
John J Kelzenberg HARKNESS SUNNYSLOPE W 20 FT Street Sweeping - Residential Str		95.50		10-28-23-33-0014
1487 Scheffer Ave OF E 264 FT OF PART N OF SCHEFFER Citywide Street Lighting	0.66	95.50	\$63.03	10 20 20 00 0011
AVE OF S 825 FT OF SW 1/4 OF SW 1/4 St Paul MN 55116-2267 OF SEC 10 T 28 R 23 AND IN SD		_	\$103.14	
*1487 SCHEFFER AVE HARKNESS SUNNYSLOPE LOT A *** Owner and Taxpayer ***			Ψ105.17	
*Ward: 3				
*Pending as of: 8/21/2019 Total A	essment:	=	\$103.14	
This Pa			\$0.00	
	ear Principal:		\$0.00	
	_		\$0.00	
Payoff A	ear Interest:		ψ0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert G Strain	HARKNESS SUNNYSLOPE W 22 FT OF	Street Sweeping - Residential Stree	0.42	66.00	\$27.72	10-28-23-33-0092
1494 Scheffer Ave	LOT 18 AND ALL OF LOT 17	Alley Sweeping	0.13	66.00	\$8.58	
St Paul MN 55116-2248		Citywide Street Lighting	0.66	66.00	\$43.56	
*1494 SCHEFFER AVE					\$79.86	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:		\$79.86	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$79.86	
Idelle L Erickson	HARKNESS SUNNYSLOPE LOT 15	Street Sweeping - Residential Stree	0.42	44.00	\$18.48	10-28-23-33-0094
Katherine J Duyfhuizen		Alley Sweeping	0.13	44.00	\$5.72	
1502 Scheffer Ave		Citywide Street Lighting	0.66	44.00	\$29.04	
St Paul MN 55116-2263				_	\$53.24	
*1502 SCHEFFER AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	essment:		\$53.24	
Feliding as 01. 6/21/2019		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$53.24	
Sharyn Lee Sadowski	HARKNESS SUNNYSLOPE EX E 64 FT	Street Sweeping - Residential Stree	0.42	64.00	\$26.88	10-28-23-33-0034
1503 Scheffer Ave	LOTS 1 2 AND LOT 3	Alley Sweeping	0.13	135.00	\$17.55	
St Paul MN 55116-2273		Citywide Street Lighting	0.66	64.00	\$42.24	
*1503 SCHEFFER AVE				_	\$86.67	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	_ _	\$86.67	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Paul D Brown	HARKNESS SUNNYSLOPE EX W 17	Street Sweeping - Residential S	Stree 0.42	108.00	\$45.36	10-28-23-33-0095
1512 Scheffer Ave	92/100 FT LOT 12 AND ALL OF LOTS 13 AND LOT 14	Alley Sweeping	0.13	108.00	\$14.04	
St Paul MN 55116-2263	13 AND LOT 14	Citywide Street Lighting	0.66	108.00	\$71.28	
*1512 SCHEFFER AVE				_	\$130.68	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$130.68	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payot	f Amount:		\$130.68	
Adapted Living Re Est Ptnshp	HARKNESS SUNNYSLOPE VAC 12 FT WALK ADJ AND W 17 92/100 FT OF	Street Sweeping - Residential S Alley Sweeping	0.42 0.13	56.00 56.00	\$23.52 \$7.28	10-28-23-33-0096
C/O Sws Real Estate	LOT 12 AND EX W 15 92/100 FT LOT	Citywide Street Lighting	0.13	56.00	\$36.96	
913 Daybreak Dr	11	City wide Succe Digitaling	0.00	=		
Prescott AZ 86303-6300		*** Owner and Taxpayer ***			\$67.76	
*1518 SCHEFFER AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:	=	\$67.76	
1 chang as of. 0/21/2019			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$67.76	
Aynsley D Smith	HARKNESS SUNNYSLOPE W 15	Street Sweeping - Residential S	Streε 0.42	50.00	\$21.00	10-28-23-33-0097
1522 Scheffer Ave	92/100 FT OF LOT 11 AND EX W 7 92/100 FT LOT 10	Alley Sweeping	0.13	16.00	\$2.08	
St Paul MN 55116-2263	92/10011 LOT 10	Citywide Street Lighting	0.66	50.00	\$33.00	
*1522 SCHEFFER AVE				_	\$56.08	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Assessment:		\$56.08	
		This F	Payment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$56.08	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Terence C Eason	HARKNESS SUNNYSLOPE E 20 FT OF	Street Sweeping - Residential Street	0.42	70.00	\$29.40	10-28-23-33-0098
Heidi R Raschke	LOT 1 MAC ARTHUR AND IN SD HARKNESS SUNNYSLOPE THE W 7	Citywide Street Lighting	0.66	70.00	\$46.20	
1526 Scheffer Ave	92/100 FT OF LOT 10 AND ALL OF			_	\$75.60	
St Paul MN 55116-2263	LOT 9	*** Owner and Taxpayer ***				
*1526 SCHEFFER AVE						
*Ward: 3		Total Ass			\$75.60	
*Pending as of: 8/21/2019		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$75.60	
	IDEAL HOME SITES EX W 52 FT LOTS	Street Sweeping - Residential Street				10-28-23-33-0077
1555 Scheffer Ave	4 5 AND LOT 6	Citywide Street Lighting	0.66	103.00	\$67.98	10-20-23-33-0077
St Paul MN 55116-2275				=	\$111.24	
*1555 SCHEFFER AVE		*** Owner and Taxpayer ***			Ψ111.24	
*Ward: 3		1 3				
*Pending as of: 8/21/2019		Total Ass	essment:		\$111.24	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$111.24	
David J Cheesebrow	MACARTHUR LOT 6	Street Sweeping - Residential Stree				
Norma J Cheesebrow		Citywide Street Lighting	0.66	48.00	\$31.68	10-28-23-33-0103
1556 Scheffer Ave		City wide Street Eighting	0.00	=		
St Paul MN 55116-2263		*** Owner and Taxpayer ***			\$51.84	
*1556 SCHEFFER AVE		Owner and Taxpayer				
*Ward: 3		Total Ass	aggment:		\$51.84	
*Pending as of: 8/21/2019		This Payr			\$0.00	
1 chaing as 01. 0/21/2017		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$51.84	
		1 ayon A	nvant.		φ31.0 4	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Frederick R Sande Sr	IDEAL HOME SITES W 52 FT OF LOTS	Street Sweeping - Residential Stree	0.42	52.00	\$21.84	10-28-23-33-0078
1561 Scheffer Ave	4 5 AND LOT 6	Alley Sweeping	0.13	135.00	\$17.55	
St Paul MN 55116-2275		Citywide Street Lighting	0.66	52.00	\$34.32	
*1561 SCHEFFER AVE				_	\$73.71	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse			\$73.71	
		This Paym			\$0.00	
		-	ent. ear Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$73.71	
		1 uyon 1 u			<i>\$70.71</i>	
Snelling 472 Property Llc	Ex N 20 Ft Lot 10 Blk 13	Street Sweeping - Commercial/Art		30.00		10-28-23-23-0196
1342 Grand Ave		Alley Sweeping	0.13	30.00	\$3.90	10-20-23-23-0170
St Paul MN 55105-3568		Citywide Street Lighting	0.66	30.00	\$19.80	
*470 SNELLING AVE		Snelling/Randolph Area ASL	1.12	30.00	\$33.60	
*Ward: 3				_	\$87.90	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	-	\$87.90	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$87.90	
		Start Same in Community Art				
Joseph H Burkhardt Trustee	EVERGREEN REARRANGEMENT LOT 3	Street Sweeping - Commercial/Art Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0210
314 Snelling Ave S St Paul MN 55105-2048		Citywide Street Lighting	0.66	40.00	\$26.40	
*314 SNELLING AVE S				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019				-		
		Total Asse			\$72.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	iount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Tammie L Follett	EVERGREEN REARRANGEMENT LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-22-0206
328 Snelling Ave S	7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2048		Citywide Street Lighting	0.66	40.00	\$26.40	
*328 SNELLING AVE S				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	eccment:		\$72.40	
		This Payr			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$72.40	
	EVERGREEN REARRANGEMENT LOT	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-22-0202
1329 Juno Ave	12	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 22 0202
St Paul MN 55116-1628		Citywide Street Lighting	0.66	40.00	\$26.40	
*346 SNELLING AVE S				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$72.40	
		This Payr			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
		Payoff A			\$0.00 \$72.40	
		rayon A	mount:		\$72.40	
Pinpoint Homes Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	50.00		10-28-23-23-0169
2900 Washington Ave	CITY OF SAINT PAUL LOT 6 BLK 12	Alley Sweeping	0.13	50.00	\$6.50	10 20 20 0103
Minneapolis MN 55411-6857		Citywide Street Lighting	0.66	50.00	\$33.00	
*388 SNELLING AVE S				_	\$90.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass			\$90.50	
		This Payr			\$90.30	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$90.50	
		1 ayon A			Ψ70.50	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — — — — — — — — — — —	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial	Art 1.02	25.00	\$25.50	10-28-23-23-0188
424 Snelling Ave S	CITY OF SAINT PAUL LOT 1 BLK 13	Street Sweeping - Residential S	tree 0.42	61.50	\$25.83	
St Paul MN 55105-2147		Alley Sweeping	0.13	50.00	\$6.50	
*424 SNELLING AVE S		Citywide Street Lighting	0.66	86.50	\$57.09	
*Ward: 3				_	\$114.92	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total	Assessment:	-	\$114.92	
		This I	ayment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	f Amount:		\$114.92	
Stephen J Gergen Jr	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 4 BLK 13	Street Sweeping - Commercial		50.00	\$51.00	10-28-23-23-0191
442 Snelling Ave S	err er similitines ser i sen is	Alley Sweeping Citywide Street Lighting	0.13 0.66	50.00 50.00	\$6.50 \$33.00	
St Paul MN 55105-2147		Citywide Street Lighting	0.00	30.00 =		
*442 SNELLING AVE S		*** Owner and Taxpayer ***			\$90.50	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Tending us of: 0/21/2017		Total	Assessment:	=	\$90.50	
		This I	ayment:		\$0.00	
		Curre	nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payor	f Amount:		\$90.50	
		Start Savaria Communication				· — — — — — —
Thomas I Edelstein	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 6 BLK 13	Street Sweeping - Commercial Alley Sweeping	Art 1.02 0.13	50.00 50.00	\$51.00 \$6.50	10-28-23-23-0193
1991 Ford Pky		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1923		ony wide bucci Lighting	0.00	50.00 =		
*450 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***			\$90.50	
*Pending as of: 8/21/2019		Total	Assessment:	_	\$90.50	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Pavot	f Amount:		\$90.50	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Rita Ambourn Hair Designs Inc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	70.00	\$71.40	10-28-23-23-0195
464 Snelling Ave S	CITY OF SAINT PAUL N 20 FT OF LOT 10 AND ALL OF LOT 9 BLK 13	Alley Sweeping	0.13	70.00	\$9.10	
St Paul MN 55105-2147		Citywide Street Lighting	0.66	70.00	\$46.20	
*464 SNELLING AVE S		Snelling/Randolph Area ASL	1.12	70.00	\$78.40	
*Ward: 3		*** 0 1.5			\$205.10	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	ssment:	-	\$205.10	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$205.10	
	CVI VAN DADIZ A DIVITION TO THE	Stand Syraming Communication		50.00		
Snelling 476 Property Llc	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 11 BLK 13	Street Sweeping - Commercial/Art Alley Sweeping	0.13	50.00	\$51.00 \$6.50	10-28-23-23-0197
Attn Paul Dzubnar D&D Properties Llc 1342 Grand Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-3568		Snelling/Randolph Area ASL	1.12	50.00	\$56.00	
*474 SNELLING AVE S				_	\$146.50	
*Ward: 3		*** Owner and Taxpayer ***			ψ1.0i20	
*Pending as of: 8/21/2019						
5 g		Total Assessment:			\$146.50	
		This Paym	ent:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$146.50	
		Stand Same in Community Art				
Daniel P Mcquillan	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL EX RANDOLPH	Street Sweeping - Commercial/Art Alley Sweeping	0.13	44.00	\$5.72	10-28-23-23-0198
Patricia Jo Mcquillan 512 Montcalm Pl	AVE LOT 12 BLK 13	Citywide Street Lighting	0.66	167.00	\$110.22	
St Paul MN 55116-1730		Snelling/Randolph Area ASL	1.12	166.37	\$186.33	
*480 SNELLING AVE S				_	\$472.61	
*Ward: 3		*** Owner and Taxpayer ***			ψ1/2.01	
*Pending as of: 8/21/2019		Total Asse	ssment:		\$472.61	
		This Paym			\$0.00	
		•	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$472.61	

Rauncauon Date: Resolution #.	Ratification	Date:	Resolution #:
-------------------------------	--------------	-------	---------------

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
David C Coen	RUSSELL'S ADDITION LOT 10 BLK 2	Street Sweeping - Commercial/Art	1.02	41.00	\$41.82	10-28-23-32-0164
Joann K Coen		Street Sweeping - Residential Stree	0.42	123.00	\$51.66	
10330 E Spring Creek Rd		Alley Sweeping	0.13	41.00	\$5.33	
Sun Lakes AZ 85248-6886		Citywide Street Lighting	0.66	164.00	\$108.24	
*542 SNELLING AVE S				_	\$207.05	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asso	essment:		\$207.05	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$207.05	
Jeffrey T Micko	RUSSELL'S ADDITION SUBJ TO ESMT; THE N 9.8 FT OF LOT 8 & ALL OF LOT	Street Sweeping - Commercial/Art	1.02	52.00	\$53.04	10-28-23-32-0163
Patricia J Micko	9 BLK 2	Alley Sweeping	0.13	52.00	\$6.76	
645 Hillwood Ct		Citywide Street Lighting	0.66	52.00	\$34.32	
St Paul MN 55119-5357					\$94.12	
*548 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:	-	\$94.12	
č		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$94.12	
Medhanie Alem Evangelical Eritrean Chrch	OTTO HUNT'S ADDITION LOT 6 BLK 2	Street Sweeping - Commercial/Art	1.02	168.00	\$171.36	10-28-23-32-0169
562 Snelling Ave S	IN RUSSELL'S ADD & IN SD OTTO HUNT'S ADD LOTS 16,17 AND LOT 18	Alley Sweeping	0.13	168.00	\$21.84	
St Paul MN 55116-6744	BLK 4	Citywide Street Lighting	0.66	168.00	\$110.88	
*562 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***			\$304.08	
*Pending as of: 8/21/2019						
		Total Asse	essment:		\$304.08	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$304.08	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Phyllis M K Smith	OTTO HUNT'S ADDITION LOT 15 BLK	Street Sweeping - Commercial/Art	1.02	42.00	\$42.84	10-28-23-32-0159
1756 Pinehurst Ave	4	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-2117		Citywide Street Lighting	0.66	42.00	\$27.72	
*576 SNELLING AVE S				_	\$76.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=	07.600	
		Total Asso			\$76.02	
		This Payn			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00	
		Payoff Ar			\$76.02	
		1 ayvii Ai	nount.		\$70.02	
Rebecca Marie Morris Ostrom	COMMON INTEREST COMMUNITY	Street Sweeping - Commercial/Art	1.02	8.40		10-28-23-32-0171
Randall L Morris Ostrom	NUMBER 448 CAPITOL CREST	Alley Sweeping	0.13	8.40	\$1.09	10-20-23-32-0171
580 Snelling Ave S Unit 2	CONDOMINIUM UNIT NO.2	Citywide Street Lighting	0.66	8.40	\$5.54	
St Paul MN 55116-1562				_	\$15.20	
*580 SNELLING AVE S 2		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asso	essment:		\$15.20	
1 chang as 01. 6/21/2017		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$15.20	
Jon P Gilbertsen	COMMON INTEREST COMMUNITY	Street Sweeping - Commercial/Art	1.02	8.40	\$8.57	10-28-23-32-0173
5345 14th Ave S	NUMBER 448 CAPITOL CREST CONDOMINIUM UNIT NO.4	Alley Sweeping	0.13	8.40	\$1.09	
Minneapolis MN 55417-1805		Citywide Street Lighting	0.66	8.40	\$5.54	
*580 SNELLING AVE S 4				_	\$15.20	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	ecement:		\$15.20	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$15.20	
		, VII 121				

•

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Phyllis M K Smith	OTTO HUNT'S ADDITION LOT 13 BLK	Street Sweeping - Commercial/Art		42.00	\$42.84	10-28-23-32-0157
1756 Pinehurst Ave	4	Alley Sweeping	0.13	42.00	\$5.46	
St Paul MN 55116-2117		Citywide Street Lighting	0.66	42.00	\$27.72	
*584 SNELLING AVE S				=	\$76.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$76.02	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$76.02	
Ford Snelling Llc	TWIN CITY VIEW N 13 1/3 FT OF LOT	Street Sweeping - Commercial/Art				10-28-23-33-0085
3646 Zenith Ave S	19 AND ALL OF LOTS 20 21 AND LOT	Street Sweeping - Residential Street		123.00	\$51.66	10-28-23-33-0085
Mpls MN 55410-1165	22 BLK 6	Alley Sweeping	0.13	146.00	\$18.98	
*604 SNELLING AVE S		Citywide Street Lighting	0.66	269.00	\$177.54	
		,		=	\$397.10	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***			\$397.10	
-		Total Ass		-	\$397.10	
		This Payr			\$397.10	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$397.10	
		1 ayon A	nount.		5377.10	
	TWIN CITY VIEW LOT 14 BLK 6	Street Sweeping - Commercial/Art				10-28-23-33-0082
Nancy T Coffeen		Alley Sweeping	0.13	40.00	\$5.20	
292 Irvine Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55102-2322				_	\$72.40	
*634 SNELLING AVE S *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$72.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Arbys Properties Llc	IDEAL HOME SITES LOTS 1, 2 & LOT	Street Sweeping - Commercial/Art	1.02	135.00	\$137.70	10-28-23-33-0079
C/O Arbys Restaurant Group Inc	3	Street Sweeping - Residential Stree	0.42	123.00	\$51.66	10 20 20 00 00.9
3 Glenlake Pky		Alley Sweeping	0.13	135.00	\$17.55	
Atlanta GA 30328-8639		Citywide Street Lighting	0.66	258.00	\$170.28	
*654 SNELLING AVE S				_	\$377.19	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		• •				
1 ording as of. 0/21/2019		Total Asse	ssment:	=	\$377.19	
		This Payn	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$377.19	
	NUTTUS ADDITION OF H					
Jaime Delage	RUETH'S ADDITION LOT 11	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-11-0011
Constance Delage		Citywide Street Lighting	0.66	40.00	\$26.40	
1126 St Clair Ave					\$67.20	
St Paul MN 55105-2846		*** Owner and Taxpayer ***				
*1126 ST CLAIR AVE				-		
*Ward: 2		Total Asso			\$67.20	
*Pending as of: 8/21/2019		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$67.20	
Sugar E Wagaran	RUETH'S ADDITION LOT 14	Street Sweeping - Commercial/Art				
Susan E Wagner		Citywide Street Lighting	0.66	40.00	\$26.40	10-28-23-11-0014
1138 St Clair Ave		City wide Street Lighting	0.00	- 0.00		
St Paul MN 55105-2846		*** 0 17 ***			\$67.20	
*1138 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 2				=	0.5-20	
*Pending as of: 8/21/2019		Total Asso			\$67.20	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	10unt:		\$67.20	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Tonya Walker	RUETH'S ADDITION LOT 16	Street Sweeping - Commercial/Art	1.02	50.00	\$51.00	10-28-23-11-0016
1146 St Clair Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55105-2846				_	\$84.00	
*1146 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 2		T-4-1 A		=	£94.00	
*Pending as of: 8/21/2019		Total Asse This Paym			\$84.00 \$0.00	
		•	ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff An			\$84.00	
William P Martin	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0058
Maripat Martin	WILDER PARK CONDOMINIUM UNIT NO 1170 - ST CLAIR AVE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1170 St Clair Ave		Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2852					\$3.06	
*1170 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$3.06	
Tending as 01. 6/21/2019		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	-		\$0.00	
		Payoff Am	ount:		\$3.06	
Jacob W Niva	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0064
1176 St Clair Ave	NO 1176 - ST CLAIR AVE	Street Sweeping - Residential Street Citywide Street Lighting	0.42 0.66	0.50 2.00	\$0.21 \$1.32	
St Paul MN 55105-2852		Citywide Street Lighting	0.00	=		
*1176 ST CLAIR AVE		*** Owner and Taxpayer ***			\$3.06	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayer				
Fending as 01. 8/21/2019		Total Asse	ssment:	=	\$3.06	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

ion	Date:	Resolution	:
ион	Date.	IXCSUIUUUII	ı

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Janis Batt	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0066
1178 St Clair Ave	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2852	NO 1178 - ST CLAIR AVE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1178 ST CLAIR AVE				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asses			\$3.06	
		This Payme			\$0.00 \$0.00	
		Current Ye	=			
		Current Yes			\$0.00 \$3.06	
		Payoff Am	ount:		\$3.00	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50	\$1.53	10-28-23-11-0072
1188 St Clair Ave	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-28-23-11-00/2
St Paul MN 55105-2852	NO 1188 - ST CLAIR AVE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1188 ST CLAIR AVE		,		_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***			\$3.00	
*Pending as of: 8/21/2019			02.06			
		Total Asses	\$3.06			
		This Payme	\$0.00			
		Current Yes	\$0.00			
		Current Yea			\$0.00	
		Payoff Am	ount:		\$3.06	
Lodewijk J M Seghers	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art		1.50		10-28-23-11-0073
Linda M Hoffman	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10 20 20 11 0070
1190 St Clair Ave	NO 1190 - ST CLAIR AVE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2852				=	\$3.06	
*1190 ST CLAIR AVE		*** Owner and Taxpayer ***			*****	
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses	sment:		\$3.06	
		This Payme	nt:		\$0.00	
		Current Yea	r Principal:		\$0.00	
		Current Yea	r Interest:		\$0.00	
		Payoff Am	ount:		\$3.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Linda B Vasquez	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0079
1202 St Clair Ave	WILDER PARK CONDOMINIUM UNIT NO 1202 - ST CLAIR AVE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
St Paul MN 55105-2842	NO 1202 - ST CLAIR AVE	Citywide Street Lighting	0.66	2.00	\$1.32	
*1202 ST CLAIR AVE				_	\$3.06	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asses	sment:		\$3.06	
		This Payme			\$0.00	
		Current Yea	ar Principal:		\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$3.06	
Richard A Meyer	APARTMENT OWNERSHIP NO 75 THE WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Commercial/Art	1.02	1.50	\$1.53	10-28-23-11-0080
Julia Marie Elliott	NO 1204 - ST CLAIR AVE	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	
1204 St Clair Ave		Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2842					\$3.06	
*1204 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_ _		
*Pending as of: 8/21/2019		Total Asses			\$3.06	
		This Payme			\$0.00	
		Current Yea			\$0.00	
		Current Yea			\$0.00	
		Payoff Amo	ount:		\$3.06	
	APARTMENT OWNERSHIP NO 75 THE	Street Sweeping - Commercial/Art				
Bryana N Harty Agbo	WILDER PARK CONDOMINIUM UNIT	Street Sweeping - Residential Stree	0.42	0.50	\$0.21	10-20-25-11-0001
1206 Saint Clair Ave	NO 1206 - ST CLAIR AVE	Citywide Street Lighting	0.66	2.00	\$1.32	
St Paul MN 55105-2842				_	\$3.06	
*1206 ST CLAIR AVE		*** Owner and Taxpayer ***			φ2.00	
*Ward: 3		• •				
*Pending as of: 8/21/2019		Total Asses	sment:	-	\$3.06	
		This Payme			\$0.00	
		Current Yea			\$0.00	
		Current Yea	=		\$0.00	
		Payoff Ame	ount:		\$3.06	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brooks Design Group Inc	REDWING ADDITION LOT 1 BLK 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-12-0001
1754 James Rd		Street Sweeping - Residential Stree	0.42	124.00	\$52.08	
Mendota Heights MN 55118-3645		Alley Sweeping	0.13	40.00	\$5.20	
*1220 ST CLAIR AVE		Citywide Street Lighting	0.66	164.00	\$108.24	
*Ward: 3				_	\$206.32	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asse	essment:		\$206.32	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$206.32	
Grete Goetz	REDWING ADDITION LOT 4 BLK 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-12-0004
Mark C Goetz		Alley Sweeping	0.13	40.00	\$5.20	
4341 Wooddale Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
Saint Louis Park MN 55424-1060				_	\$72.40	
*1234 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				-	<u> </u>	
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	10unt:		\$72.40	
	REDWING ADDITION LOTS 5 AND	Street Sweeping - Commercial/Art		80.00		
Elizabeth Lewis	LOT 6 BLK 2	Alley Sweeping	0.13	80.00	\$10.40	10-28-23-12-0005
1254 St Clair Ave		Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2870		City wide Succe Eighting	0.00	=		
*1240 ST CLAIR AVE *Ward: 3		*** Owner and Taxpayer ***			\$144.80	
*Pending as of: 8/21/2019				_		
Č		Total Asse	essment:		\$144.80	
		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$144.80	

Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** REDWING ADDITION LOTS 7 AND Street Sweeping - Commercial/Art 1.02 80.00 \$81.60 Elizabeth Lewis 10-28-23-12-0006 LOT 8 BLK 2 0.13 80.00 Alley Sweeping \$10.40 1254 St Clair Ave Citywide Street Lighting 0.66 80.00 \$52.80 St Paul MN 55105-2817 \$144.80 *1248 ST CLAIR AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$144.80 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$144.80 REDWING ADDITION LOT 9 BLK 2 1.02 40.00 Street Sweeping - Commercial/Art \$40.80 Elizabeth Lewis 10-28-23-12-0007 Alley Sweeping 0.13 40.00 \$5.20 1254 St Clair Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-2870 \$72.40 *1254 ST CLAIR AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$72.40 FRIENDSVILLE LOT 1 BLK 1 Diane L Dahl-Trojack Street Sweeping - Commercial/Art 1.02 40.00 \$40.80 10-28-23-12-0043 0.13 40.00 Alley Sweeping \$5.20 1270 St Clair Ave Citywide Street Lighting 0.66 40.00 \$26.40 St Paul MN 55105-2817 \$72.40 *1270 ST CLAIR AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$72.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 \$72.40 **Payoff Amount:**

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
John J Bitenc	FRIENDSVILLE SUBJ TO PARTY	Street Sweeping - Commercial/Art	1.02	24.00	\$24.48	10-28-23-12-0045
1276 Saint Clair Ave	WALL AGMT PART OF LOT 3 NLY OF L BEG AT PT ON W L OF AND 70 5/10	Street Sweeping - Residential Street	0.42	35.50	\$14.91	
St Paul MN 55105-2817	FT FROM NW COR THEREOF TH E 20	Citywide Street Lighting	0.66	59.50	\$39.27	
*1276 ST CLAIR AVE	1/10 FT TH S 15 5/10 FT TH E TO E L			_	\$78.66	
*Ward: 3	OF SD LOT 3 BLK 1	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$78.66	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$78.66	
Sheila M Foster	FRIENDSVILLE LOT 1 BLK 2	Street Sweeping - Commercial/Art	1.02	20.00	\$20.40	10-28-23-12-0057
1280 St Clair Ave		Street Sweeping - Residential Street	0.42	62.00	\$26.04	
St Paul MN 55105-2823		Citywide Street Lighting	0.66	82.00	\$54.12	
*1280 ST CLAIR AVE				_	\$100.56	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$100.56	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$100.56	
Michelle Walter	FRIENDSVILLE SUBJ TO ESMT LOT 2	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-12-0058
Matthew M Schwer	BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
1286 St Clair Ave				_	\$67.20	
St Paul MN 55105-2823		*** Owner and Taxpayer ***				
*1286 ST CLAIR AVE *Ward: 3		Total Ass	essment:		\$67.20	
*Pending as of: 8/21/2019		This Payr	nent:		\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nounte		\$67.20	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jacqueline K Schaenzer	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial/Art	1.02	21.50	\$21.93	10-28-23-12-0085
1316 St Clair Ave	6 BLK 2	Street Sweeping - Residential Stree	0.42	62.50	\$26.25	
St Paul MN 55105-2822		Citywide Street Lighting	0.66	84.00	\$55.44	
*1316 ST CLAIR AVE				_	\$103.62	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	eemant.		\$103.62	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$103.62	
						. — — — — — —
Michael J Wickmann	HAUPT'S ADDITION TO ST. PAUL LOT	Street Sweeping - Commercial/Art	1.02	43.00	\$43.86	10-28-23-12-0084
1320 St Clair Ave	5 BLK 2	Citywide Street Lighting	0.66	43.00	\$28.38	
St Paul MN 55105-2822				_	\$72.24	
*1320 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:		\$72.24	
1 on any as on 0,21,2019		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$72.24	
Brian J Arbuckle	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0003
1350 St Clair Ave	OF ST. PAUL, MINN. LOT 17 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2335		Citywide Street Lighting	0.66	40.00	\$26.40	
*1350 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:		\$72.40	
		This Paym			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$72.40	

Rat	ification	Date:	Resol	lutio
Kat	шсаноп	Date:	Resor	เนเบ

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Aaron J Courteau	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0004
1352 St Clair Ave	OF ST. PAUL, MINN. LOT 16 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2335		Citywide Street Lighting	0.66	40.00	\$26.40	
*1352 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass			\$72.40	
		This Payr				
		-			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$72.40	
		1 ayon A	iount.		9/2.40	
	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art		40.00		10-28-23-21-0006
Po Box 4158	OF ST. PAUL, MINN. LOT 14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	10-26-23-21-0000
St Paul MN 55104-0158		Citywide Street Lighting	0.66	40.00	\$26.40	
*1362 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***			\$72.40	
*Pending as of: 8/21/2019					4-2.40	
		Total Ass			\$72.40	
		This Payment: Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
					\$0.00	
		Payoff A	nount:		\$72.40	
	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art		40.00	\$40.80	10-28-23-21-0007
Avesha E Shariff	OF ST. PAUL, MINN. LOT 13 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1364 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2335				_	\$72.40	
*1364 ST CLAIR AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	-	\$72.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A				

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian D Hughs	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0008
Lara L Rindfleisch	OF ST. PAUL, MINN. LOT 12 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1368 St Clair Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2335				_	\$72.40	
*1368 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Payı	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
Jonathan J Rylander	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art		40.00	\$40.80	10-28-23-21-0009
1372 St Clair Ave	OF ST. PAUL, MINN. LOT 11 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2335		Citywide Street Lighting	0.66	40.00	\$26.40	
*1372 ST CLAIR AVE					\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	accus out.		\$72.40	
					\$0.00	
		This Pays			\$0.00	
			Current Year Principal: Current Year Interest:			
		Payoff A			\$0.00 \$72.40	
		rayon A	mount.		\$72.40	
Colleen M Callahan Russell	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0010
1376 St Clair Ave	OF ST. PAUL, MINN. LOT 10 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2335		Citywide Street Lighting	0.66	40.00	\$26.40	
*1376 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$72.40	
		This Payı			\$0.00	
		Current Y	ear Principal:		\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian M Dewhirst	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0011
Lisa L Dewhirst	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1380 St Clair Ave	COUNTY, MINNESOTA LOT 1 BLK 1	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2335				=	\$72.40	
*1380 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$72.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$72.40	
Erik S Peterson-Nafziger	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	40.00 40.00	\$40.80 \$5.20	10-28-23-21-0012
Melanie C Peterson-Nafziger	COUNTY, MINNESOTA LOT 2 BLK 1	Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1386 St Clair Ave		City wide Street Eighting	0.00	40.00		
St Paul MN 55105-2335		*** Owner and Taxpayer ***			\$72.40	
*1386 ST CLAIR AVE *Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Assessment:			\$72.40	
1 Cliding as of. 6/21/2017			This Payment: Current Year Principal: Current Year Interest:			
		· ·				
		Payoff Ar	nount:		\$72.40	
						ESCROW
Dadders Estates Llc	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	69.00		10-28-23-21-0014
351 Kellogg Blvd E	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOTS 4 AND	Street Sweeping - Residential Stree	0.42	124.00	\$52.08	
St Paul MN 55101-1411	LOT 5 BLK 1	Alley Sweeping	0.13	69.00	\$8.97	
*1396 ST CLAIR AVE		Citywide Street Lighting	0.66	193.00	\$127.38	
*Ward: 3				_	\$258.81	
*Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
		Total Asso		-	\$258.81	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$258.81	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Erik W Davis	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0107
Leah Bowe	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1410 St Clair Ave	COUNTY, MINNESOTA LOT 3 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2337				_	\$72.40	
*1410 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$72.40	
		This Payr	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	mount:		\$72.40	
			. — — — -			
Dean D Johnson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Commercial/Art	1.02	40.00	\$40.80	10-28-23-21-0111
Mary C Johnson	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 7 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1424 St Clair Ave	COUNTY, WHINNESOTA EOT / BER 2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2337				_	\$72.40	
*1424 ST CLAIR AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	\$72.40			
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest: Payoff Amount:			\$0.00	
					\$0.00	
					\$72.40	
Debra K Juarez	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Commercial/Art Alley Sweeping	1.02 0.13	35.00 35.00	\$35.70 \$4.55	10-28-23-21-0116
1446 St Clair Ave	COUNTY, MINNESOTA E 35 FT OF LOT	Citywide Street Lighting	0.13	35.00	\$4.33 \$23.10	
St Paul MN 55105-2337	12 BLK 2	Citywide Sirect Lighting	0.00	33.00	_	
*1446 ST CLAIR AVE		**** 0 1.77 ***			\$63.35	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
rending as 01: 6/21/2019		Total Assessment:			\$63.35	
		This Payment:			\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$63.35	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Thomas J Hubred	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Commercial/A	art 1.02	40.00	\$40.80	10-28-23-21-0117
1448 St Clair Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA W 5 FT OF LOT	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2337	12 AND E 35 FT OF LOT 13 BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1448 ST CLAIR AVE				_	\$72.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
			ssessment:		\$72.40	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payott	Amount:		\$72.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial/A				
1472 St Clair Ave	CITY OF SAINT PAUL LOT 30 BLK 1	Alley Sweeping	0.13	120.00	\$15.60	10-20-23-22-0027
St Paul MN 55105-2339		Citywide Street Lighting	0.66	41.00	\$27.06	
*1470 ST CLAIR AVE				=	\$84.48	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	Total Assessment:			
		This Pa			\$0.00	
			Current Year Principal:			
			Year Interest:		\$0.00	
		Payoff	Amount:		\$84.48	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Commercial/A				
Kevin G Hoglund Caia E Hoglund	CITY OF SAINT PAUL LOT 1 BLK 1	Street Sweeping - Residential Str		60.00	\$25.20	10-28-23-22-0001
1488 St Clair Ave		Citywide Street Lighting	0.66	81.50	\$53.79	
St Paul MN 55105-2339		,		=	\$100.92	
*1488 ST CLAIR AVE		*** Owner and Taxpayer ***			\$100.92	
*Ward: 3		1 7				
*Pending as of: 8/21/2019		Total A	ssessment:	_	\$100.92	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$100.92	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Mcmanus	REDWING ADDITION LOT 22 BLK 3	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-12-0040
Laurel M Mcmanus		Alley Sweeping	0.13	40.00	\$5.20	
1229 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2810				_	\$48.40	
*1229 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
		This P	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payofi	Amount:		\$48.40	
Charles A Sadder	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-12-0111
1230 Stanford Ave	SUBDIVISION EX ALLEY LOT 3 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2853		Citywide Street Lighting	0.66	40.00	\$26.40	
*1230 STANFORD AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total /	Assessment:	\$48.40		
			This Payment: Current Year Principal:			
			t Year Interest:		\$0.00 \$0.00	
			Amount:		\$48.40	
Stacy A Alexander	REDWING ADDITION LOT 21 BLK 3	Street Sweeping - Residential S	tree 0.42	40.00	\$16.80	10-28-23-12-0039
1233 Stanford Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2810		Citywide Street Lighting	0.66	40.00	\$26.40	
*1233 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	Assessment:		\$48.40	
			ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payofi	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Toni M Carlson	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stre	Θε 0.42	40.00	\$16.80	10-28-23-12-0113
1238 Stanford Ave	SUBDIVISION EX ALLEY LOT 5 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2853	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1238 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total As	ssessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Jennifer A Forliti	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 6 BLK	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-12-0114
1242 Stanford Ave	1	Alley Sweeping	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55105-2853		Citywide Street Lighting	0.00	40.00	\$26.40	
*1242 STANFORD AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
			This Payment:			
			Year Principal:		\$0.00 \$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Jeffrey J Quinn	REDWING ADDITION LOT 18 BLK 3	Street Sweeping - Residential Stre	Θε 0.42	40.00	\$16.80	10-28-23-12-0037
Jessica M Sonnen		Alley Sweeping	0.13	40.00	\$5.20	
1245 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2810				=	\$48.40	
*1245 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kathleen J Reiter	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-12-0115
1246 Stanford Ave	SUBDIVISION EX ALLEY LOT 7 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2853	•	Citywide Street Lighting	0.66	40.00	\$26.40	
*1246 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	acemant:		\$48.40	
		This Payn			\$0.00	
		•	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$48.40	
Craig G Sturm	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree		40.00	\$16.80	10-28-23-12-0116
Heidi A Sturm	SUBDIVISION EX ALLEY LOT 8 BLK	Alley Sweeping	0.13	40.00	\$5.20	
1250 Stanford Ave	•	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2853				_	\$48.40	
*1250 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		Total Acc	agamant:		\$48.40	
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$0.00	
			Current Year Principal: Current Year Interest:			
		Payoff A			\$0.00 \$48.40	
Mary K Klarich	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-12-0118
1258 Stanford Ave	SUBDIVISION EX ALLEY LOT 10 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2853	1	Citywide Street Lighting	0.66	40.00	\$26.40	
*1258 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass			\$48.40	
		This Payn			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$48.40	
		rayon Al	nodiit.		\$40.4U	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas Ardinger	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	10-28-23-12-0122
Kristy Ardinger	SUBDIVISION EX ALLEY LOT 14 BLK	Alley Sweeping	0.13	40.00	\$5.20	
1272 Stanford Ave	I	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2853				_	\$48.40	
*1272 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Adam Wernick	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 15 BLK	Street Sweeping - Residential St		82.00	\$34.44	10-28-23-12-0123
Thyra A Fossum	1	Alley Sweeping Citywide Street Lighting	0.13 0.66	44.00 82.00	\$5.72 \$54.12	
1276 Stanford Ave		Citywide Street Lighting	0.00	82.00		
St Paul MN 55105-2853					\$94.28	
*1276 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3		T + 1 A		=	004.20	
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal:			\$94.28	
					\$0.00	
					\$0.00 \$0.00	
			Current Year Interest: Payoff Amount:			
		Рауоп	Amount:		\$94.28	
	FRIENDSVILLE LOT 12 BLK 1	Street Sweeping - Residential Str	reε 0.42	86.00	\$36.12	10-28-23-12-0054
Jacqueline Cartier		Alley Sweeping	0.13	48.00	\$6.24	
1277 Stanford Ave		Citywide Street Lighting	0.66	86.00	\$56.76	
St Paul MN 55105-2810				_	\$99.12	
*1277 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$99.12	
-		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$99.12	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian L Cramer Trustee	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0139
Mary E Cramer Trustee	SUBDIVISION EX ALLEY LOT 3 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1290 Stanford Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2811				_	\$48.40	
*1290 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses	ssment:		\$48.40	
-		This Paymo	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
	-					
Peter D Larson	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0140
Jill K Swenson	SUBDIVISION EX ALLEY LOT 4 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1294 Stanford Ave	-	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2811				_	\$48.40	
*1294 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$48.40	
					\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Joe Tupy	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 8 BLK	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0144
Chelsea A Tupy	2	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1310 Stanford Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2811					\$48.40	
*1310 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Paymo			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jill M Neske	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	10-28-23-12-0145
1314 Stanford Ave	SUBDIVISION EX ALLEY LOT 9 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2811	2	Citywide Street Lighting	0.66	40.00	\$26.40	
*1314 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Paul W Kendall Trustee	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-12-0147
Eva M Kendall Trustee	SUBDIVISION EX ALLEY LOT 11 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1322 Stanford Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2811					\$48.40	
*1322 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Assessment:			\$48.40 \$0.00	
			This Payment: Current Year Principal:			
			Year Interest:		\$0.00	
		rayon	Amount:		\$48.40	
— — — — — — — — — Michelle M Montgomery	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential St				10 20 22 21 0075
Brad D Dettman	OF ST. PAUL, MINN. E 1/2 OF LOT 14	Alley Sweeping	0.13	62.00	\$8.06	10-28-23-21-0075
1370 Stanford Ave	AND ALL OF LOT 15 BLK 3	Citywide Street Lighting	0.66	62.00	\$40.92	
St Paul MN 55105-2413		,		_	\$75.02	
*1370 STANFORD AVE		*** Owner and Taxpayer ***			\$75.02	
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	-	\$75.02	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$75.02	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jamin M Omalley	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-21-0036
Damara L Omalley	OF ST. PAUL, MINN. LOT 10 BLK 2	Alley Sweeping	0.13	42.00	\$5.46	
1371 Stanford Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2414				_	\$50.82	
*1371 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$50.82	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$50.82	
Benjamin S Smith	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Stree	0.42	42.00	\$17.64	10-28-23-21-0038
Koshiki Y Smith	OF ST. PAUL, MINN. LOT 12 BLK 2	Alley Sweeping	0.13	42.00	\$5.46	
1381 Stanford Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2414				_	\$50.82	
*1381 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$50.82	
					\$0.00	
			Current Year Principal:			
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:	\$50.82		
Lisa J Donald	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-21-0072
Alison Costello	COUNTY, MINNESOTA LOT 2 BLK 5	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1388 Stanford Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2413		*** 0 17 ***			\$48.40	
*1388 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Theresa R Kinne	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	treε 0.42	82.00	\$34.44	10-28-23-21-0164
1401 Stanford Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2416	COUNTY, MINNESOTA LOT 30 BLK 3	Citywide Street Lighting	0.66	82.00	\$54.12	
*1401 STANFORD AVE				_	\$93.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$93.76	
			ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$93.76	
Teresa L Hayes	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-21-0167
1410 Stanford Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 3 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2415	,	Citywide Street Lighting	0.66	40.00	\$26.40	
*1410 STANFORD AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Assessment:			\$48.40 \$0.00	
			This Payment:			
			nt Year Principal: nt Year Interest:		\$0.00 \$0.00	
			f Amount:		\$48.40	
		rayon	Amount.		\$40.4U	
Robert D Young	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S		40.00		10-28-23-21-0161
1415 Stanford Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10-28-25-21-0101
St Paul MN 55105-2416	COUNTY, MINNESOTA LOT 27 BLK 3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1415 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			ψ 10. To	
*Pending as of: 8/21/2019		Total 4	Total Assessment:			
		This P	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payofi	f Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Frederick G Veinfurt	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-21-0170
Kelly M Veinfurt	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
1422 Stanford Ave	COUNTY, MINNESOTA LOT 6 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2415				_	\$48.40	
*1422 STANFORD AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	
Richard M Currier	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-21-0159
Amy F Currier	COUNTY, MINNESOTA LOT 25 BLK 3	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1423 Stanford Ave		City wide Street Lighting	0.00	+0.00	-	
St Paul MN 55125-2416		*** Owner and Taxpayer ***			\$48.40	
*1423 STANFORD AVE		Owner and Taxpayer				
*Ward: 3 *Pending as of: 8/21/2019		Total	Assessment:	-	\$48.40	
rending as of. 8/21/2019		This Payment:			\$0.00	
			Current Year Principal:			
			nt Year Interest:		\$0.00 \$0.00	
		Payof	Payoff Amount:			
David S Martinson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-21-0171
1426 Stanford Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2415	COUNTY, MINNESOTA LOT 7 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
*1426 STANFORD AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total	Total Assessment:			
		This F	Payment:		\$0.00	
		Curren	nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Ratification Date:

Resect No Goodman	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
Alley Sweeping 0.13 40.00 55.20	Russell W Goodman	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-21-0172
Streat Stanford Ave Streat Sweeping - Residential Stree 0.42 40.00 516.80 10-28-23-21-0174	687 Lexington Pky S				40.00	\$5.20	
**** Owner and Taxpayer *** *** Owner and Taxpayer *** **** Owner and Ta	St Paul MN 55116-1770	COUNTY, MINNESOTA LOT 8 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
Pending as of: \$21/2019 Total Assessment:	*1430 STANFORD AVE				_	\$48.40	
Total Assessment: \$48,40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48,40 Margaret A Roser Wright #IFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY COINTY, MINNESOTA LOT 10 BLK \$40.00 \$16,80 Payoff Amount: \$40.00 \$16,80 Alley Sweeping	*Ward: 3		*** Owner and Taxpayer ***				
This Payment: S0.00 Current Year Principal: S0.00 Current Year Principal: S0.00 Current Year Interest: S0.00 Payoff Amount: S48.40	*Pending as of: 8/21/2019				=		
Current Year Principal: S0.00			Total Assessment:		\$48.40		
Current Year Interest: S0.00 Payoff Amount: S48.40			This I	Payment:		\$0.00	
Margaret A Roser Wright BEFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY COENTY, MINNESOTA LOT 10 BLK 6 COENTY, MINNES			Curre	Current Year Interest:			
Margaret A Roser Wright 1438 Stanford Ave St Paul MN 55105-2415 **1438 STANFORD AVE ****Owner and Taxpayer *** Christine M Capelle 1454 Stanford Ave St Paul MN 55105-2415 Christine M Capelle 1454 Stanford Ave St Paul MN 55105-2415 Christine M Capelle 1454 Stanford Ave St Paul MN 55105-2415 Street Sweeping - Residential Stree			Curre			\$0.00	
1438 Stanford Ave CITY OF SAINT PAUL, RANSEY COUNTY, MINNESOTA LOT 10 BLK 6 Citywide Street Lighting 0.13 40.00 \$5.20 **1438 STANFORD AVE **** Owner and Taxpayer **** **** Owner and Taxpayer *** **** Owner and Taxpayer ****			Payor			\$48.40	
1438 Stanford Ave CITY OF SAINT PAUL, RANSEY COUNTY, MINNESOTA LOT 10 BLK 6 Citywide Street Lighting 0.13 40.00 \$5.20 **1438 STANFORD AVE **** Owner and Taxpayer **** **** Owner and Taxpayer *** **** Owner and Taxpayer ****							
Stanton Mode County, Minnesota Lot 10 BLK 6 Citywide Street Lighting 0.66 40.00 \$26.40	Margaret A Roser Wright						10-28-23-21-0174
Steel Lighting Street Lighting State S	1438 Stanford Ave						
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Christine M Capelle 1454 Stanford Ave CITY OF SAINT PAUL, RAMSEY SI PAUL, RAMSEY COUNTY, MINNESOTA LOT 14 BLK 6 **1454 STANFORD AVE **4154 STANFORD AVE **Ward: 3 *Pending as of: 8/21/2019 ***Owner and Taxpayer *** ***Owner and Taxpaye	St Paul MN 55105-2415	0001111,111111120011120111011111	Citywide Street Lighting	0.66	40.00	\$26.40	
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Christine M Capelle	*1438 STANFORD AVE					\$48.40	
Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Christine M Capelle Jefferson Park Addition to the City of Sanny Pauli, Ramsery County, Minnesota Lot 14 BLk 6 St Paul Mn \$5105-2415 \$1454 \$STANFORD AVE *Ward: 3	*Ward: 3		*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019				=		
Current Year Principal: \$0.00							
Current Year Interest: S0.00 Payoff Amount: \$48.40			· · · · · · · · · · · · · · · · · · ·				
Payoff Amount: \$48.40							
Christine M Capelle 1454 Stanford Ave St Paul MN 55105-2415 **Ward: 3 *Pending as of: 8/21/2019 JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 14 BLK 6 **T454 STANFORD AVE **** Owner and Taxpayer *** **** Owner and Taxpayer *** Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00							
1454 Stanford Ave St Paul MN 55105-2415 *1454 STANFORD AVE *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: This Payment: Current Year Principal: Stanford Ave City of Saint Paul, Ramsey City wide Street Lighting 0.13 40.00 \$26.40 **** Owner and Taxpayer *** **** Owner and Taxpayer *			Payo	Payoff Amount:		\$48.40	
1454 Stanford Ave St Paul MN 55105-2415 *1454 STANFORD AVE *Ward: 3 *Pending as of: 8/21/2019 *Total Assessment: This Payment: Current Year Principal: Stanford Ave City of Saint Paul, Ramsey City wide Street Lighting 0.13 40.00 \$26.40 **** Owner and Taxpayer *** **** Owner and Taxpayer *		IEFERSON BARK ADDITION TO THE	Street Syraming Pacidantial				
St Paul MN 55105-2415 *1454 STANFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: This Payment: Stanger *** \$48.40 Current Year Principal: Stanger *** *COUNTY, MINNESOTA LOT 14 BLK 6 Citywide Street Lighting Citywide Street Lighting O.66 40.00 \$48.40 Total Assessment: \$48.40 Current Year Principal: \$0.00 Current Year Interest: \$0.00							10-28-23-21-0178
*1454 STANFORD AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00		COUNTY, MINNESOTA LOT 14 BLK 6					
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			, , ,		_		
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00			*** Owner and Taxpayer ***			\$48.40	
Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00							
Current Year Principal: \$0.00 Current Year Interest: \$0.00			Total	Total Assessment:			
Current Year Principal: \$0.00 Current Year Interest: \$0.00			This I	Current Year Principal:		\$0.00	
• · ·						\$0.00	
Payoff Amount: \$48.40			Curre			\$0.00	
			Payo	ff Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Anna Gutknecht	FRIENDSVILLE LOT 6 BLK 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-12-0061
Steven Boekenhauer		Citywide Street Lighting	0.66	40.00	\$26.40	
263 Syndicate St S				_	\$43.20	
St Paul MN 55105-2812		*** Owner and Taxpayer ***				
*263 SYNDICATE ST S						
*Ward: 3			Total Assessment:		\$43.20	
*Pending as of: 8/21/2019		This Payme			\$0.00	
			Current Year Principal: Current Year Interest:		\$0.00	
					\$0.00	
		Payoff Am	Payoff Amount:		\$43.20	
	FRIENDSVILLE N 1/2 OF LOT 8 AND	Street Sweeping - Residential Stree		60.00		
Mary K Katynski Johnson	ALL OF LOT 7 BLK 2	Citywide Street Lighting	0.66	60.00	\$39.60	10 20 20 12 0002
1007 Fairview Ave S				_	\$64.80	
St Paul MN 55116-2454		*** Owner and Taxpayer ***			ψοου	
*265 SYNDICATE ST S						
*Ward: 3		Total Asse	Total Assessment:		\$64.80	
*Pending as of: 8/21/2019		This Payme	This Payment:		\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff Amount:		\$64.80		
	FRIENDSVILLE WITH ESMT LOT 11	Street Sweeping - Residential Stree				10-28-23-12-0065
Timothy D Oconnell	BLK 2	Citywide Street Lighting	0.66	40.00	\$26.40	10-20-23-12-0003
283 Syndicate St S		, , ,		_	\$43.20	
St Paul MN 55105-2812		*** Owner and Taxpayer ***			\$43.20	
*283 SYNDICATE ST S		Owner and Taxpayer				
*Ward: 3		Total Assessment:		\$43.20		
*Pending as of: 8/21/2019			This Payment:		\$0.00	
*Pending as of: 8/21/2019		Current Year Principal:			\$0.00	
			Current Year Interest:		\$0.00	
			Payoff Amount:			
		rayon Am	ount.		\$43.20	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Alan E Richter	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Commercial/Art	1.02	20.00	\$20.40	10-28-23-43-0226
Diana E Richter	LOT 30 BLK 8	Street Sweeping - Residential Stree	0.42	62.50	\$26.25	
719 Syndicate St S		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1722		Citywide Street Lighting	0.66	82.50	\$54.45	
*719 SYNDICATE ST S				_	\$106.30	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$106.30	
		This Payment: Current Year Principal: Current Year Interest:		\$0.00		
				\$0.00		
				\$0.00		
		Payoff Amount:			\$106.30	
Michele T Wadenstierna	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	38.00	\$15.96	10-28-23-22-0004
254 Warwick St	CITY OF SAINT PAUL LOT 4 BLK 1	Alley Sweeping	0.13	38.00	\$4.94	
St Paul MN 55105-2446		Citywide Street Lighting	0.66	38.00	\$25.08	
*254 WARWICK ST					\$45.98	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment: This Payment: Current Year Principal: Current Year Interest:		\$45.98		
				\$0.00		
				\$0.00		
				\$0.00		
		Payoff Am	Payoff Amount:			
Heitz Holdings Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0081
Co Heitz Holdings	CITY OF SAINT PAUL LOT 26 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
18069 Tamarack Dr		Citywide Street Lighting	0.66	40.00	\$26.40	
Minnetonka MN 55345-4252					\$48.40	
*257 WARWICK ST	57 WARWICK ST *** Owner and Taxpayer ***					
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Assessment: This Payment:			\$48.40	
					\$0.00 \$0.00	
			Current Year Principal: Current Year Interest: Payoff Amount:			
		Payoff Am	ount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret C Flanagan	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-22-0077
275 Warwick St	CITY OF SAINT PAUL LOT 22 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2452		Citywide Street Lighting	0.66	40.00	\$26.40	
*275 WARWICK ST				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total	Total Assessment:			
			Payment:		\$48.40 \$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
			f Amount:		\$48.40	
Lyle W Baker	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential S		40.00	<u>\$16.80</u>	10-28-23-22-0076
Eunice R Baker	CITY OF SAINT PAUL LOT 21 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-22-0070
277 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2452				_	\$48.40	
*277 WARWICK ST		*** Owner and Taxpayer ***			\$10.10	
*Ward: 3				=======================================		
Pending as of: 8/21/2019		Total	Assessment:	\$48.40		
		This Payment:			\$0.00	
		Current Year Principal: Current Year Interest:			\$0.00	
					\$0.00	
		Payoff Amount:			\$48.40	
		Charles Commission Decidentials				
Marc Schwartz	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 10 BLK 1	Street Sweeping - Residential S Alley Sweeping	0.42	40.00	\$5.20	10-28-23-22-0010
280 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2446		City wide Street Lighting	0.00	-10.00		
280 WARWICK ST		*** Owner and Taxpayer ***			\$48.40	
Ward: 3 Pending as of: 8/21/2019		Owner and Taxpayer				
1 chang as 01. 0/21/2019		Total Assessment:			\$48.40	
		This F	ayment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payof	f Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Mary M Finnerty	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-22-0074
285 Warwick St	CITY OF SAINT PAUL LOT 19 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2452		Citywide Street Lighting	0.66	40.00	\$26.40	
*285 WARWICK ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Ass	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
	. — — — — — — —					
William P Jones	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-22-0013
Christina Ewig	CITY OF SAINT PAUL LOT 13 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
292 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2446					\$48.40	
*292 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3					***	
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Gerald P Petersen	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre				
Joan M Petersen	CITY OF SAINT PAUL LOT 14 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0014
294 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2446		,		_	\$48.40	
*294 WARWICK ST		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		o what and rampayer				
*Pending as of: 8/21/2019		Total Ass	sessment:	-	\$48.40	
1 chang as of. 6/21/2017		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kyle Boon	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str	<u>eε</u> 0.42	83.50	\$35.07	10-28-23-22-0015
Ann Palosaari	CITY OF SAINT PAUL LOT 15 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
298 Warwick St		Citywide Street Lighting	0.66	83.50	\$55.11	
St Paul MN 55105-2446				_	\$95.38	
*298 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total A	ssessment:		\$95.38	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$95.38	
						. — — — — — —
Joanna Willis	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 16 BLK 2	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	83.50 40.00	\$35.07 \$5.20	10-28-23-22-0071
Michael Dawson		Citywide Street Lighting	0.13	83.50	\$5.20 \$55.11	
299 Warwick St		Citywide Succe Lighting	0.00	=		
St Paul MN 55105-2452		*** 0 1 T ***			\$95.38	
*299 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total A	ssessment:	=1	\$95.38	
Fending as of. 8/21/2019		This Pa			\$0.00	
			Year Principal:		\$0.00	
		Current Year Interest:			\$0.00	
			Amount:	\$95.38		
Katherine A Andresen	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-22-0111
Nathan J Dammann	CITY OF SAINT PAUL LOT 29 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
307 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2447				_	\$48.40	
*307 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brian C Moser	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-22-0108
Sharon F Moser	CITY OF SAINT PAUL LOT 26 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
319 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2447				_	\$48.40	
*319 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr	nent:		\$0.00	
			ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
Timothy J Salo	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street		40.00	\$16.80	10-28-23-22-0035
Wendie J Ashmore	CITY OF SAINT PAUL LOT 6 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
322 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2448					\$48.40	
*322 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street		40.00		
Daniel Jones 323 Warwick St	CITY OF SAINT PAUL LOT 25 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0107
St Paul MN 55105-2447		Citywide Street Lighting	0.66	40.00	\$26.40	
		, <u></u> gg		_		
*323 WARWICK ST		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payr			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A			\$48.40	
		Tuyon I			Ψ	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cynthia A Karnowski	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	es 0.42	40.00	\$16.80	10-28-23-22-0106
Eric D Johnson	CITY OF SAINT PAUL LOT 24 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
325 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2447					\$48.40	
*325 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Frances Cecile Nelson Lesicko	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL S 1/2 OF LOT 8	Street Sweeping - Residential Street Alley Sweeping	0.42 0.13	60.00 60.00	\$25.20 \$7.80	10-28-23-22-0037
334 Warwick St	AND LOT 9 BLK 8	Citywide Street Lighting	0.13	60.00	\$39.60	
St Paul MN 55105-2448		City wide Street Eighting	0.00	=	-	
*334 WARWICK ST		*** Owner and Taxpayer ***			\$72.60	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total As	sessment:	=	\$72.60	
		This Pay	ment:		\$0.00	
			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff A	Amount:		\$72.60	
Jennifer Mattocks	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Street	ee 0.42	40.00	<u>\$16.80</u>	10-28-23-22-0038
338 Warwick St	CITY OF SAINT PAUL LOT 10 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2448		Citywide Street Lighting	0.66	40.00	\$26.40	
*338 WARWICK ST					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			sessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Sheilagh Lynch Johnson	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-22-0102
341 Warwick St	CITY OF SAINT PAUL LOT 20 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2447		Citywide Street Lighting	0.66	40.00	\$26.40	
*341 WARWICK ST					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					<u> </u>	
		Total Asso			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
		Payoff Ar	ear Interest:		\$0.00 \$48.40	
		rayon Ai	nount:		\$40.4U	
Kathleen A Childers	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10-28-23-22-0100
Ralph S Lehman	CITY OF SAINT PAUL LOT 18 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-20-23-22-0100
351 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2447				_	\$48.40	
*351 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree				10-28-23-22-0099
357 Warwick St	CITY OF SAINT PAUL LOT 17 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-22-0099
St Paul MN 55105-2447		Citywide Street Lighting	0.66	40.00	\$26.40	
*357 WARWICK ST				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	essment:	=	\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael P Sweet	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre	ee 0.42	84.50	\$35.49	10-28-23-23-0083
663 Warwick St	CITY OF SAINT PAUL N 2 FT OF LOT	Alley Sweeping	0.13	41.00	\$5.33	
St Paul MN 55105-2546	29 AND ALL OF LOT 30 BLK 10	Citywide Street Lighting	0.66	84.50	\$55.77	
*363 WARWICK ST				_	\$96.59	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total As	sessment:		\$96.59	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$0.00 \$96.59	
Tehout Selameab Michael Coenen 364 Warwick St	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 1 BLK 9	Street Sweeping - Residential Street Alley Sweeping Citywide Street Lighting	0.42 0.13 0.66	83.50 39.00 83.50	\$35.07 \$5.07 \$55.11	10-28-23-23-0001
St Paul MN 55105-2547					\$95.25	
*364 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total As	sessment:		\$95.25	
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current `	Current Year Interest:			
		Payoff A	Amount:	\$95.25		
Pinpoint Homes Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-23-0002
2900 Washington Ave	CITY OF SAINT PAUL LOT 2 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	
Minneapolis MN 55411-6857		Citywide Street Lighting	0.66	40.00	\$26.40	
368 WARWICK ST					\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Assessment:			\$48.40	
		This Pay	ment:		\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: 2019SMSP Assmt: 190025 Manager: LM

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jim D Strudell	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0003
Amy L Hartman	CITY OF SAINT PAUL LOT 3 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	
372 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2547				_	\$48.40	
*372 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
		This Payn	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	
			· — — _ — -			
Brandon K Dircks	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 4 BLK 9	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0004
Heather A Dircks	CITT OF SAINT FAUL LOT 4 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	
374 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2547					\$48.40	
*374 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Ass			\$48.40	
		This Payn		\$0.00		
			ear Principal:	\$0.00		
			ear Interest:		\$0.00	
		Payoff Ar	nount:	\$48.40		
Steven M Schweda	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		10-28-23-23-0006
Susan K Schaefer	CITY OF SAINT PAUL LOT 6 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-23-0000
382 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2547		, , ,		_	\$48.40	
*382 WARWICK ST		*** Owner and Taxpayer ***			\$46.40	
*Ward: 3		Owner and Taxpayer				
		Total Ass	essment:	-	\$48.40	
*Pending as of: 8/21/2019		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
		Current 1	cai i imeipai.		φυ.υυ	
		Current V	ear Interest:		\$0.00	

		Ratification Date: Resolu	ıtion #:			
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Jodie L Carlson	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str	ree 0.42	40.00	\$16.80	10-28-23-23-0076
Matthew J Huron	CITY OF SAINT PAUL LOT 23 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
389 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2546					\$48.40	
*389 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				-		
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payon	Amount:		\$48.40	
		Street Severille Decidential St				
Chris R Jensen	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 8 BLK 9	Street Sweeping - Residential Str Alley Sweeping	reε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-23-0008
392 Warwick St St Paul MN 55105-2547		Citywide Street Lighting	0.66	40.00	\$26.40	
*392 WARWICK ST		, 5 5		_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			φ+6.+0	
*Pending as of: 8/21/2019		1 3				
rename as on 6/21/2019		Total A	ssessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Robert M Afflerbaugh	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 9 BLK 9	Street Sweeping - Residential Str		40.00	\$16.80	10-28-23-23-0009
394 Warwick St	CITY OF SAINT PAUL LOT 9 BLK 9	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2547		Citywide Street Lighting	0.66	40.00	\$26.40	
*394 WARWICK ST		***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
5		Total A	ssessment:		\$48.40	
		This Pa	-		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Brent E Lasalle	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0075
Lisbeth A Lasalle	CITY OF SAINT PAUL LOT 22 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
395 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2546				_	\$48.40	
*395 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Jared Newberry	LOT 20 BLK 10	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0219
Tamar Newberry		Alley Sweeping	0.13	40.00	\$5.20	
401 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2546				_	\$48.40	
*401 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:	\$0.00		
		Current Ye			\$0.00	
		Payoff An	ount:		\$48.40	
	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree		40.00		
Julie A Olson James P Olson	CITY OF SAINT PAUL LOT 19 BLK 10	Alley Sweeping	0.42	40.00	\$5.20	10-28-23-23-0073
405 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2546		, , ,		_	\$48.40	
*405 WARWICK ST		*** Owner and Taxpayer ***			\$40.40	
*Ward: 3		owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	ssment.	=	\$48.40	
1 chang as of. 0/21/2017		This Paym			\$0.00	
		-	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$48.40	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael E Schoenberg	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	\$16.80	10-28-23-23-0072
Marlene C Schoenberg	CITY OF SAINT PAUL LOT 18 BLK 10	Alley Sweeping	0.13	40.00	\$5.20	
411 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2546				_	\$48.40	
*411 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019			ssessment:		\$48.40	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Ross Gregerson	SYLVAN PARK ADDITION TO THE CITY OF SAINT PAUL LOT 17 BLK 10	Street Sweeping - Residential Str Alley Sweeping	eε 0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-23-0071
415 Warwick St St Paul MN 55105-2546		Citywide Street Lighting	0.66	40.00	\$26.40	
		eny mae succe Eigning	0.00	=	-	
*415 WARWICK ST		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3 *Pending as of: 8/21/2019		owner and Taxpayer				
reliding as of. 6/21/2019		Total As	ssessment:		\$48.40	
		This Pay			\$0.00	
		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$48.40	
Houghton And Holm Made Llc	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Str		84.00	\$35.28	10-28-23-23-0113
605 Ottawa Ave	CITY OF SAINT PAUL LOT 30 BLK 15	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55107-2551		Citywide Street Lighting	0.66	84.00	\$55.44	
*423 WARWICK ST				_	\$95.92	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			ssessment:		\$95.92	
		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A	Amount:		\$95.92	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eugene J Nekowitsch	SYLVAN PARK ADDITION TO THE	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-23-0109
Kathleen V Nekowitsch	CITY OF SAINT PAUL LOT 26 BLK 15	Alley Sweeping	0.13	40.00	\$5.20	
439 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2548				=	\$48.40	
*439 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
Gold Path Real Estate Llc	FOOSHE ADD. LOT 1	Street Sweeping - Residential Stree				
7635 148th St W Unit 116		Alley Sweeping	0.13	47.00	\$6.11	10-20-23-23-0040
St Paul MN 55124-7800		Citywide Street Lighting	0.66	47.00	\$31.02	
*462 WARWICK ST				_	\$56.87	
*Ward: 3		*** Owner and Taxpayer ***			φ20.07	
*Pending as of: 8/21/2019		Total Asse	\$56.87			
		This Payment:			\$0.00	
		Current Year Principal:			\$0.00	
		Current Year Interest:			\$0.00	
		Payoff An	ount:		\$56.87	
Gold Path Real Estate Llc		Street Sweeping - Residential Stree		47.00		
7635 148th St W #116-258		Alley Sweeping	0.13	47.00	\$6.11	10-28-23-23-0041
St Paul MN 55124-7800		Citywide Street Lighting	0.66	47.00	\$31.02	
		,		_	\$56.87	
*468 WARWICK ST		*** Owner and Taxpayer ***			\$30.87	
*Ward: 3 *Pending as of: 8/21/2019		S and Tanpayor				
1 chaing as of. 0/21/2019		Total Asse	ssment:	-	\$56.87	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An			\$56.87	

Ratification Date:

Veena A Lyer FOOSHE ADD. SUBJ TO ESMTS; LOT 3 Street Sweeping - Residential Streε 0.42 50.00 \$21.00 10-2 Mohammad F Hadi Citywide Street Lighting 0.66 50.00 \$33.00 \$33.00 \$54	8-23-23-0216
### Owner and Taxpayer *** #### Total Assessment: \$54.00	
St Paul MN 55105-2549 *** Owner and Taxpayer *** *472 WARWICK ST Total Assessment: \$54.00	
*472 WARWICK ST *Ward: 3	
*Ward: 3 Total Assessment: \$54.00	
· · · · · · · · · · · · · · · · · · ·	
*Pending as of: 8/21/2019 This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$54.00	
LOT (AND ALL OF LOTS 7 AND LOT	8-23-32-0006
Monica M Vik 8BLK 1 8 SUN 1 SU	
50/145641515	
St Paul MN 55116-1505 \$140.36 *520 WARWICK ST *** Owner and Taxpayer ***	
*** Owner and Taxpayer *** *Ward: 3	
*Pending as of: 8/21/2019 Total Assessment: \$140.36	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$140.36	
	8-23-32-0036
525 Warwick St Alley Sweeping 0.13 40.00 \$5.20	
St Paul MN 55116-1543 Citywide Street Lighting 0.66 40.00 \$26.40	
*525 WARWICK ST \$48.40	
*Ward: 3	
Total Assessment: \$48.40	
This Payment: \$0.00	
Current Year Principal: \$0.00	
Current Year Interest: \$0.00	
Payoff Amount: \$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	SECTION 10 TOWN 28 RANGE 23	Street Sweeping - Residential Stree	0.42	683.00	\$286.86	10-28-23-32-0167
360 Colborne St	PART OF N 1/2 OF SW 1/4 DESC AS	Alley Sweeping	0.13	102.00	\$13.26	
St Paul MN 55102-3299	BEG AT A PT ON EL OF WARWICK ST DIST 508.14 FT S FROM NL OF SW 1/4;	Citywide Street Lighting	0.66	683.00	\$450.78	
*540 WARWICK ST	TH S 89 DEG 47 MIN 05 SEC E 343.18			_	\$750.90	
*Ward: 3	FT; TH N 0 DEG 03 MIN 57 SEC E	*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse	ssment:		\$750.90	
		This Paym			\$0.00	
		Current Ye	ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An	ount:		\$750.90	
	KENNA'S RANDOLPH ADD. LOT 24	Street Sweeping - Residential Stree		- 87. 00	\$36.54	
Susan J Maykoski 543 Warwick St	10.1.0.10.10.1.0.00.1.1.1.00.2.0.1.2.1	Alley Sweeping	0.42	49.00	\$6.37	10-28-23-32-0044
St Paul MN 55116-1539		Citywide Street Lighting	0.66	87.00	\$57.42	
				_	\$100.33	
*543 WARWICK ST		*** Owner and Taxpayer ***			\$100.33	
*Ward: 3 *Pending as of: 8/21/2019		Owner and Taxpayor				
1 chang as of. 0/21/2017		Total Asse	\$100.33			
		This Paym	This Payment:			
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An	ount:		\$100.33	
	KENNA'S RANDOLPH ADD. LOT 23	Street Sweeping - Residential Stree				10 20 22 22 00 45
Jill Ramadan		Alley Sweeping	0.13	40.00	\$5.20	10-28-23-32-0045
547 Warwick St		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1539		,		_	\$48.40	
*547 WARWICK ST		*** Owner and Taxpayer ***			\$48.40	
		owner and Taxpayer				
*Ward: 3		Total Asse	ssment:	=	\$48.40	
*Danding og of: 9/21/2010		Total Asse				
*Pending as of: 8/21/2019		This Daven	ent [.]		\$0.00	
*Pending as of: 8/21/2019		This Paym			\$0.00 \$0.00	
*Pending as of: 8/21/2019		Current Ye	ent: ear Principal: ear Interest:		\$0.00 \$0.00 \$0.00	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — — — — — — — — — — —	KENNA'S RANDOLPH ADD. LOT 22	Street Sweeping - Residential Str	<u>eε</u> 0.42	40.00	<u>\$16.80</u>	10-28-23-32-0046
551 Warwick St		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1539		Citywide Street Lighting	0.66	40.00	\$26.40	
551 WARWICK ST				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019						
			ssessment:		\$48.40	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .	Amount:		\$48.40	
	THAT BY OF ANY VOE SWAY OF SEC 10	Stand Syraming Decidential St	<u> </u>	49.00		
Andrew Decrans	THAT PT OF NW ¼ OF SW ¼ OF SEC 10 TN 28 RN 23 LYING S OF N 27 ACRES	Street Sweeping - Residential Str Alley Sweeping	0.42	49.00	\$20.58 \$5.46	10-28-23-32-0180
Kamila Zasowska	VSKA THEREOF N OF THE N L OF LOT 18	Citywide Street Lighting	0.13	42.00	\$3.40	
1321 Upland Dr # 7633	BLK 1 OTTO HUNT'S ADD AND ITS	City wide Street Lighting	0.00	49.00 =		
Houston TX 77043-4718	ELY AND WLY EXTENSION W OF THE NLY EXTENSION OF THE CL OF	***			\$58.38	
*564 WARWICK ST *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$58.38	
		This Pa	yment:		\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff .	Amount:		\$58.38	
Marion J Kallin Life Estate	OTTO HUNT'S ADDITION LOT 16 BLK 1	Street Sweeping - Residential Str		42.00	\$17.64	10-28-23-32-0014
4800 Portland Ave	•	Alley Sweeping	0.13	42.00 42.00	\$5.46 \$27.72	
Minneapolis MN 55417-1034		Citywide Street Lighting	0.66	42.00		
*572 WARWICK ST					\$50.82	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$50.82	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff .			\$50.82	

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
Zachary Garrison	OTTO HUNT'S ADDITION LOT 5 BLK	Street Sweeping - Residential Stree	0.42	42.00	<u>\$17.64</u>	10-28-23-32-0053
Kathryn Blum	2	Alley Sweeping	0.13	42.00	\$5.46	
581 Warwick St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1539				_	\$50.82	
*581 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:		\$50.82	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$50.82	
Ross P Fleming	OTTO HUNT'S ADDITION LOT 13 BLK	Street Sweeping - Residential Stree				
Christine A Fleming	1	Alley Sweeping	0.13	42.00	\$5.46	10-28-23-32-0011
584 Warwick St		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55116-1538				_	\$50.82	
*584 WARWICK ST		*** Owner and Taxpayer ***			\$30.82	
*Ward: 3		owner and Taxpayer				
*Pending as of: 8/21/2019		Total Asse	essment:	=	\$50.82	
1 chaing as of. 0/21/2019		This Payment:			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$50.82	
Paige C Wozniak	OTTO HUNT'S ADDITION LOT 6 BLK 2	Street Sweeping - Residential Stree Alley Sweeping	0.42 0.13	42.00 42.00	\$17.64 \$5.46	10-28-23-32-0054
Donald E Wozniak		Citywide Street Lighting	0.66	42.00	\$3.40 \$27.72	
585 Warwick St		Citywide Succi Lighting	0.00	- 42.00	<u> </u>	
St Paul MN 55116-1539		*** O ***			\$50.82	
*585 WARWICK ST		*** Owner and Taxpayer ***				
*Ward: 3		T / 1 A		=	¢50.92	
*Pending as of: 8/21/2019		Total Asso			\$50.82	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$50.82	

Ratification Date: Resolution #:

Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** OTTO HUNT'S ADDITION LOT 7 BLK Street Sweeping - Residential Stree 0.42 42.00 \$17.64 Joel W Chirhart 10-28-23-32-0055 2 0.13 42.00 Alley Sweeping \$5.46 Noel M Chirhart Citywide Street Lighting 0.66 42.00 \$27.72 589 Warwick St \$50.82 St Paul MN 55116-1539 *** Owner and Taxpayer *** *589 WARWICK ST *Ward: 3 Total Assessment: \$50.82 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$50.82 90.00 \$37.80 OTTO HUNT'S ADDITION LOT 10 BLK Street Sweeping - Residential Stree 0.42 David J Clark 10-28-23-32-0008 Alley Sweeping 0.13 55.00 \$7.15 Margaret A Reedquist Citywide Street Lighting 0.66 90.00 \$59.40 598 Warwick St St Paul MN 55116-1538 \$104.35 *** Owner and Taxpayer *** *598 WARWICK ST *Ward: 3 Total Assessment: \$104.35 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: \$0.00 Current Year Interest: **Payoff Amount:** \$104.35 Robert Wojcicki OTTO HUNT'S ADDITION LOT 9 BLK Street Sweeping - Residential Stree 0.42 90.00 \$37.80 10-28-23-32-0057 2 0.13 55.00 Alley Sweeping \$7.15 Ingrid Verhagen Citywide Street Lighting 0.66 90.00 \$59.40 599 Warwick St St Paul MN 55116-1539 \$104.35 *** Owner and Taxpayer *** *599 WARWICK ST *Ward: 3 \$104.35 Total Assessment: *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$104.35

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Cynthia P Arends	TWIN CITY VIEW N 20 FT OF LOT 18	Street Sweeping - Residential Stree	0.42	60.00	\$25.20	10-28-23-33-0020
616 Warwick St	AND ALL OF LOT 19 BLK 3	Alley Sweeping	0.13	60.00	\$7.80	
St Paul MN 55116-1540		Citywide Street Lighting	0.66	60.00	\$39.60	
*616 WARWICK ST				_	\$72.60	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					070.00	
		Total Ass			\$72.60	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
		Current Y Payoff Aı	ear Interest:		\$0.00 \$72.60	
		1 ayon Ai	nount.		\$72.00	
Roger Alan Cummelin	TWIN CITY VIEW S 1/2 OF LOT 6 AND	Street Sweeping - Residential Stree			\$21.00	10-28-23-33-0028
627 Warwick St	N 3O FT OF LOT 7 BLK 4	Alley Sweeping	0.13	50.00	\$6.50	10-20-23-33-0020
St Paul MN 55116-1541		Citywide Street Lighting	0.66	50.00	\$33.00	
*627 WARWICK ST				_	\$60.50	
*Ward: 3		*** Owner and Taxpayer ***			Ψ00.50	
*Pending as of: 8/21/2019		Total Assessment:			\$60.50	
		This Payment:			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$60.50	
	TWIN CITY VIEWS TO ET OF LOT 12	Street Sweening Decidential Street		<u> </u>		
Dennis Getten Trustee	TWIN CITY VIEW S 10 FT OF LOT 13 AND ALL OF LOT 12 BLK 3	Street Sweeping - Residential Stree Alley Sweeping	0.42	63.00	\$26.46 \$8.19	10-28-23-33-0015
Kathryn Marie Getten Trustee		Citywide Street Lighting	0.66	63.00	\$41.58	
644 Warrick St St Paul MN 55116-1540		en,ac succe Eighting	0.00	=		
*644 WARWICK ST		*** Owner and Taxpayer ***			\$76.23	
*Ward: 3						
*Pending as of: 8/21/2019		Total Ass	essment:		\$76.23	
g vy		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	nount:		\$76.23	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael T Browne	LEXINGTON PARK PLAT 3 LOT 11	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-41-0110
Shannon Browne	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	
1210 Watson Ave		Citywide Street Lighting	0.66	50.00	\$33.00	
St Paul MN 55116-1657				==	\$60.50	
*1210 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total Asso	essment:		\$60.50	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$60.50	
		-				
Marilyn Bronner Trustee	LEXINGTON PARK PLAT 3 LOT 10 BLK 2	Street Sweeping - Residential Stree	0.42	50.00	\$21.00	10-28-23-41-0109
1214 Watson Ave	BLK 2	Alley Sweeping	0.13	50.00	\$6.50	
St Paul MN 55116-1657		Citywide Street Lighting	0.66	50.00	\$33.00	
*1214 WATSON AVE					\$60.50	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asso	essment:	-	\$60.50	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$60.50	
Peter Burton Karle	DANIELS SUB. NO. 1 LOT 2	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0142
1227 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1634		Citywide Street Lighting	0.66	40.00	\$26.40	
*1227 WATSON AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Harold N Kingsbury	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0159
1234 Watson Ave	SUBDIVISION LOT 4	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1633		Citywide Street Lighting	0.66	40.00	\$26.40	
*1234 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asses			\$48.40	
		This Payme			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
William Cronin	DANIELS SUB. NO. 1 LOT 4	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0144
Kade Cronin		Alley Sweeping	0.13	40.00	\$5.20	
1235 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1634					\$48.40	
*1235 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asses			\$48.40	
		This Paymo			\$0.00	
		Current Ye	ar Principal:		\$0.00 \$0.00	
		Payoff Am			\$48.40	
		rayon Alli	ount.		\$40.40	
	DANIELS SUB. NO. 1 LOT 5	Street Sweeping - Residential Stree		40.00		10-28-23-42-0145
1239 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	10-20-25-42-0145
St Paul MN 55116-1634		Citywide Street Lighting	0.66	40.00	\$26.40	
*1239 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$10.10	
*Pending as of: 8/21/2019						
5		Total Asset	ssment:		\$48.40	
		This Paymo	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Eric Bilgrien	MICHAEL J. HOFFMANN	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0162
1244 Watson Ave	SUBDIVISION LOT 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1633		Citywide Street Lighting	0.66	40.00	\$26.40	
*1244 WATSON AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
		Total Asse			\$48.40	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff Am	ount:		\$48.40	
	DANIELS SUB. NO. 1 LOT 8	Street Sweeping - Residential Stree				10-28-23-42-0148
1251 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-42-0140
St Paul MN 55116-1634		Citywide Street Lighting	0.66	40.00	\$26.40	
*1251 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			\$10.10	
*Pending as of: 8/21/2019						
		Total Asse	ssment:	_	\$48.40	
		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff Am	ount:		\$48.40	
Christopher T Tolbert	DANIELS SUB. NO. 1 LOT 10	Street Sweeping - Residential Stree		- - 40 .00		10-28-23-42-0150
1257 Watson Ave		Alley Sweeping	0.13	40.00	\$5.20	10-20-23-42-0130
St Paul MN 55116-1634		Citywide Street Lighting	0.66	40.00	\$26.40	
*1257 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***			υτ.υτυ	
*Pending as of: 8/21/2019						
		Total Asse	ssment:	-	\$48.40	
		This Paym	ent:		\$0.00	
			ar Principal:		\$0.00	
		Current Ye			\$0.00	
		Payoff An	ount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Robert J Koenig	MICHAEL J. HOFFMANN	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-42-0226
Emily A Koenig	SUBDIVISION LOT 11	Alley Sweeping	0.13	40.00	\$5.20	
1260 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1633				_	\$48.40	
*1260 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asso	essment:		\$48.40	
		This Payn	ent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Peter J H Sylvestre	MICHAEL J. HOFFMANN SUBDIVISION LOT 12	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0166
Alicia K Dale	SUBDIVISION LOT 12	Alley Sweeping	0.13	40.00	\$5.20	
1266 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1633					\$48.40	
*1266 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00 \$0.00	
			Current Year Interest:			
		Payoff Ar	nount:		\$48.40	
	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree		83.00		
110 Malcolm Ave Se	LOT 1 BLK 2	Alley Sweeping	0.13	41.00	\$5.33	10-26-23-42-0196
Minneapolis MN 55414-3502		Citywide Street Lighting	0.66	83.00	\$54.78	
*1280 WATSON AVE		, ,		_	\$94.97	
*Ward: 3		*** Owner and Taxpayer ***			\$94.97	
*Pending as of: 8/21/2019		1 3				
1 chaing as of. 0/21/2017		Total Asso	essment:	=	\$94.97	
		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar			\$94.97	
		·				

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Rose M Martinson	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree	0.42	83.00	\$34.86	10-28-23-42-0184
Reid A Martinson	LOT 1 BLK 1	Alley Sweeping	0.13	41.00	\$5.33	
1283 Watson Ave		Citywide Street Lighting	0.66	83.00	\$54.78	
St Paul MN 55116-1636				_	\$94.97	
*1283 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total Asse	ssment:		\$94.97	
		This Paym	ent:		\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	nount:		\$94.97	
	-	-				
Richard J Walsh	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0199
Kirsten A Walsh	LOT 2 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1284 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1635					\$48.40	
*1284 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3					<u> </u>	
*Pending as of: 8/21/2019		Total Asse			\$48.40	
		This Paym			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff An	iount:		\$48.40	
	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree				10 20 22 42 0105
Ryan P Hover	LOT 2 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-42-0185
1285 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1636		,		_	\$48.40	
*1285 WATSON AVE		*** Owner and Taxpayer ***			\$46.40	
*Ward: 3 *Pending as of: 8/21/2019		Total Asse	ssment:	-	\$48.40	
Č		This Paym	ent:		\$0.00	
		Current Ye	ear Principal:		\$0.00	
		Current Ye	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Kraig L Larson	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-42-0186
1289 Watson Ave	LOT 3 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1636		Citywide Street Lighting	0.66	40.00	\$26.40	
*1289 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
		Street Consultant Decidential Street				. — — — — —
Brett C Aurit	EDWARD L. MCADAM ADDITION LOT 5 BLK 1	Street Sweeping - Residential Street Alley Sweeping	0.42	40.00	\$16.80 \$5.20	10-28-23-42-0188
Rebecca L Meeks Aurit		Citywide Street Lighting	0.66	40.00	\$26.40	
1299 Watson Ave St Paul MN 55116-1636		only mad Substituting	0.00	=	\$48.40	
*1299 WATSON AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total Ass	essment:	=	\$48.40	
1 chang as of. 6/21/2017		This Payn			\$0.00	
		-	ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
						. — — — — — —
Elena A Leikikh	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0203
1306 Watson Ave	LOT 7 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1635		Citywide Street Lighting	0.66	40.00	\$26.40	
*1306 WATSON AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=	0.40.40	
		Total Ass			\$48.40	
		This Payn			\$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff Ar	nount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Theodore R Olson	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stre	ee 0.42	40.00	<u>\$16.80</u>	10-28-23-42-0230
Karen P Olson	LOT 7 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1307 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1636				_	\$48.40	
*1307 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	
	TOWARD A MADDITION	Short San Jan David State 1 State				. — — — — -
Frederic A Smith	EDWARD L. MCADAM ADDITION LOT 9 BLK 2	Street Sweeping - Residential Stre	0.42 0.13	40.00 40.00	\$16.80 \$5.20	10-28-23-42-0227
Kaitlyn E Smith	201 7 2211 2	Alley Sweeping Citywide Street Lighting	0.13	40.00	\$3.20 \$26.40	
1314 Watson Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55116-1635		*** 0 1.5			\$48.40	
*1314 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3		T-4-1 A-	sessment:	-	\$48.40	
*Pending as of: 8/21/2019		This Pay		\$48.40 \$0.00		
		-	ment: Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff A			\$0.00 \$48.40	
		1 ayun A	amount.		940.40	
Joseph P Thornton	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stre	ee	40.00		10-28-23-42-0192
Kathleen A Thornton	LOT 10 BLK 1	Alley Sweeping	0.13	40.00	\$5.20	
1317 Watson Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-1636				_	\$48.40	
*1317 WATSON AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total As	sessment:		\$48.40	
-		This Pay	ment:		\$0.00	
		Current '	Year Principal:		\$0.00	
		Current '	Year Interest:		\$0.00	
		Payoff A	amount:		\$48.40	

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Marcia G Hammelman	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Street	0.42	40.00	\$16.80	10-28-23-42-0206
1322 Watson Ave	LOT 11 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1635		Citywide Street Lighting	0.66	40.00	\$26.40	
*1322 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				_		
		Total Asse			\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Brian T Bergie Trustee	EDWARD L. MCADAM ADDITION LOT 12 BLK 1	Street Sweeping - Residential Stree	0.42 0.13	40.00	\$16.80	10-28-23-42-0194
1325 Watson Ave	201 12 2211 1	Alley Sweeping Citywide Street Lighting	0.13	40.00 40.00	\$5.20 \$26.40	
St Paul MN 55116-1636		Citywide Street Lighting	0.00	40.00	_	
*1325 WATSON AVE		*** 0 17 ***			\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
		This Payn			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff Ar	nount:		\$48.40	
Nicholas R Kopp	EDWARD L. MCADAM ADDITION	Street Sweeping - Residential Stree	0.42	40.00	\$16.80	10-28-23-42-0208
1328 Watson Ave	LOT 13 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55116-1635		Citywide Street Lighting	0.66	40.00	\$26.40	
*1328 WATSON AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		T 1 A			£49.40	
		Total Ass			\$48.40	
		This Payn			\$0.00 \$0.00	
			ear Principal: ear Interest:		\$0.00 \$0.00	
		Payoff A			\$0.00 \$48.40	
		rayon Ai	nount.		J40.4U	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Matthew Marshall	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree	0.42	80.00	\$33.60	10-28-23-12-0165
Carla Z De Marshall	SUBDIVISION EX ALLEY LOT 1 BLK	Alley Sweeping	0.13	40.00	\$5.20	
1220 Wellesley Ave	3	Citywide Street Lighting	0.66	80.00	\$52.80	
St Paul MN 55105-2814				_	\$91.60	
*1220 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				=		
*Pending as of: 8/21/2019		Total Asse	essment:		\$91.60	
		This Paym	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$91.60	
			. <u> </u>			
New Direction Ira Inc	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 30 BLK	Street Sweeping - Residential Stree	0.42	80.00	\$33.60	10-28-23-12-0136
C/O Kimberly J Harris	1	Alley Sweeping Citywide Street Lighting	0.13	40.00	\$5.20	
2904 Wind Cave Ct		Citywide Street Lighting	0.66	80.00	\$52.80	
Burnsville MN 55337-3492		****			\$91.60	
*1223 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3		T . 1 A		=	#01.60	
*Pending as of: 8/21/2019		Total Asse			\$91.60 \$0.00	
		This Paym	ear Principal:		\$0.00 \$0.00	
			ear Frincipal: ear Interest:		\$0.00	
		Payoff Ar			\$91.60	
		rayon Ai	nount.		391.00	
William A Walsh	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential Stree	0.42	40.00		10-28-23-12-0167
Caron J Brache	SUBDIVISION EX ALLEY LOT 3 BLK 3	Alley Sweeping	0.13	40.00	\$5.20	
1230 Wellesley Ave	3	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2814				_	\$48.40	
*1230 WELLESLEY AVE *Ward: 3		*** Owner and Taxpayer ***		_		
*Pending as of: 8/21/2019		Total Asse	essment:		\$48.40	
Ž		This Paym	nent:		\$0.00	
		Current Y	ear Principal:		\$0.00	
		Current Y	ear Interest:		\$0.00	
		Payoff An	nount:		\$48.40	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Maria Fenner Scherber	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St	reε 0.42	40.00	\$16.80	10-28-23-12-0169
238 Wellesley Ave	SUBDIVISION EX ALLEY LOT 5 BLK	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2814	3	Citywide Street Lighting	0.66	40.00	\$26.40	
*1238 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	-	\$48.40	
		This Pa	yment:		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
Dennis M Diederich	ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 11 BLK	Street Sweeping - Residential St		40.00	\$16.80	10-28-23-12-0175
Jennifer M Diederich	3	Alley Sweeping Citywide Street Lighting	0.13 0.66	40.00 40.00	\$5.20 \$26.40	
1262 Wellesley Ave		Citywide Street Lighting	0.00	40.00		
St Paul MN 55105-2814		***			\$48.40	
*1262 WELLESLEY AVE *Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total A	ssessment:	_	\$48.40	
		This Pa	•		\$0.00	
		Curren	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St		81.50		
279 Wellesley Ave	SUBDIVISION EX ALLEY AND EX E 1	Alley Sweeping	0.13	43.00	\$5.59	10-20-25-12-012-
St Paul MN 55105-2815	FT LOT 16 BLK 1	Citywide Street Lighting	0.66	81.50	\$53.79	
1279 WELLESLEY AVE				=	\$93.61	
Ward: 3		*** Owner and Taxpayer ***			Ψ/3.01	
Pending as of: 8/21/2019		Total A	ssessment:		\$93.61	
		This Pa			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff			* * * *	

Ratification Date:

Solidary Street Sweeping Solidary Solidary Street Sweeping Solidary Street Sweeping Solidary	Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Patrick CRussell 2	Kathrine Russell	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-12-0163
1287 WELLESLEY AVE	Patrick C Russell				40.00	\$5.20	
**** Owner and Taxpayor *** **** Owner and T	1287 Wellesley Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
#Pending as of: 8/21/2019 **Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$48.40 **Casey Jarchow** \$18.80 Payoff Amount: \$48.40 ***Control Year Principal: \$48.40 ***Owner and Taxpayer **** ***Owner and Taxpayer *** ***Owner and Taxpayer *** ***Owner and Taxpayer *** ****Owner and Taxpayer *** ***Owner and Taxpayer ***	St Paul MN 55105-2816				_	\$48.40	
#Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 This Payment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 This Payment: \$48.40 This Payoff Amount: \$48.40 This Payment: \$48.40 This Payment: \$48.40 This Payment: \$48.40 This Payment: \$40.00 Thi	*1287 WELLESLEY AVE		*** Owner and Taxpayer ***				
This Payment	*Ward: 3				_		
Current Year Principal: S0.00 Payoff Anount: S48.40	*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
Current Year Interest: S0.00 Payoff Amount: S48.40			This I	Payment:		\$0.00	
Casey Jarchow ROBERT P. LEWIS COMPANY Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-12-0162 1291 Wellesley Ave SUBDIVISION EX ALLEY LOT 28 BLK Alley Sweeping 0.13 40.00 \$5.20 1291 WELLESLEY AVE				•			
Casey Jarchow ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 28 BLK 2 28 28 28 28 28 28 28						\$0.00	
SUBDIVISION EX ALLEY LOT 28 BLK 2 SUBDIVISION EX ALLEY LOT 28 BLK 2 Streat MN 55105-2816 S48.40 S			Payo	ff Amount:		\$48.40	
SUBDIVISION EX ALLEY LOT 28 BLK 2 SUBDIVISION EX ALLEY LOT 28 BLK 2 Streat MN 55105-2816 S48.40 S							
St Paul MN 55105-2816 2 Citywide Street Lighting 0.66 40.00 \$256.40	•						10-28-23-12-0162
****Owner and Taxpayer *** *Ward: 3 ***Pending as of: 8/21/2019 ****Owner and Taxpayer *** ***Owner and Taxpayer *** ****Owner and Taxpayer *** ***Owner and Taxpayer *** ***Own							
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 John Boor ROBERT P. LEWIS COMPANY SUBDIVISION EX ALLEY LOT 20 BLK SUPPLIEWIS 20 BLK SUBDIVISION EX ALLEY LOT 20 BLK SIT 21 WELLESLEY AVE **1321 WELLESLEY AVE **Yending as of: 8/21/2019 **Pending as of: 8/21/2019 ***Owner and Taxpayer *** ***Owner and Taxpayer			Citywide Street Lighting	0.00	40.00	-	
*Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Payoff Amount: \$48.40 This Payment: \$48.40 Total Assessment: \$48.40 Total Assessment: \$0.00 Current Year Interest: \$0.00 Payoff Amount: \$48.40 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00 Current Year Interest: \$0.00			****			\$48.40	
Total Assessment: \$48.40			*** Owner and Taxpayer ***				
This Payment: \$0.00	*Pending as of: 8/21/2019		Total	A sa asam anti	=	\$49.40	
Current Year Principal: \$0.00							
Current Year Interest: \$0.00				-			
Payoff Amount: \$48.40				=			
John Boor ROBERT P. LEWIS COMPANY Street Sweeping - Residential Street 0.42 40.00 \$16.80 10-28-23-12-0155 1321 Wellesley Ave SUBDIVISION EX ALLEY LOT 20 BLK Alley Sweeping 0.13 40.00 \$5.20 St Paul MN 55105-2816 Citywide Street Lighting 0.66 40.00 \$26.40 **Ward: 3							
1321 Wellesley Ave SUBDIVISION EX ALLEY LOT 20 BLK Alley Sweeping 0.13 40.00 \$5.20			1 ayu.	ii / xiii vuiit.		9-1010	
1321 Wellesley Ave SUBDIVISION EX ALLEY LOT 20 BLK 2 Alley Sweeping 0.13 40.00 \$5.20		ROBERT P. LEWIS COMPANY	Street Sweeping - Residential S	<u> </u>	40.00	\$16.80	10-28-23-12-0155
St Paul MN 55105-2816 *1321 WELLESLEY AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	1321 Wellesley Ave		Alley Sweeping	0.13	40.00	\$5.20	10 20 20 12 0100
*1321 WELLESLEY AVE *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00		2	Citywide Street Lighting	0.66	40.00	\$26.40	
*Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00					_	\$48.40	
Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00	*Ward: 3		*** Owner and Taxpayer ***				
Current Year Principal: \$0.00 Current Year Interest: \$0.00	*Pending as of: 8/21/2019		Total	Assessment:	-	\$48.40	
Current Year Principal: \$0.00 Current Year Interest: \$0.00			This l	Payment:		\$0.00	
••••						\$0.00	
Payoff Amount: \$48.40			Curre	nt Year Interest:		\$0.00	
			Payo	ff Amount:		\$48.40	

Public Improvement Assessment Roll by Address (Fee to Asmt)	Project: 2019SMSP	Assmt: 190025	Manager: LM
Ratification Date:	Resolution #:		

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Walter R Meihofer	ROBERT P. LEWIS COMPANY	Street Sweeping - Residential St	ree 0.42	40.00	\$16.80	10-28-23-12-0154
Jane E Meihofer	SUBDIVISION EX ALLEY LOT 19 BLK 2	Alley Sweeping	0.13	40.00	\$5.20	
1325 Wellesley Ave	2	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2816				_	\$48.40	
*1325 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:		\$48.40	
		This Pa	yment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	CINNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential St		<u> </u>		
George C Janisch	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 16 BLK 4	Alley Sweeping - Residential St	0.42 0.13	42.00	\$17.64 \$5.46	10-28-23-21-0102
Kimberly C Janisch	,	Citywide Street Lighting	0.66	42.00	\$3.40 \$27.72	
1366 Wellesley Ave		City wide Street Eighting	0.00	-12.00 -	<u> </u>	
St Paul MN 55105-2417		*** Owner and Taxpayer ***			\$50.82	
*1366 WELLESLEY AVE		Owner and Taxpayer				
*Ward: 3		Total A	Assessment:	=	\$50.82	
*Pending as of: 8/21/2019		This Pa			\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
			Amount:		\$50.82	
		1 4,000	1 mivuiti		\$5002	
Richard Edward Student Iii	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential St		42.00	\$17.64	10-28-23-21-0101
Caroline Grace Davis	OF ST. PAUL, MINN. LOT 15 BLK 4	Alley Sweeping	0.13	42.00	\$5.46	
1370 Wellesley Ave		Citywide Street Lighting	0.66	42.00	\$27.72	
St Paul MN 55105-2417					\$50.82	
*1370 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total A	Assessment:		\$50.82	
-		This Pa	yment:		\$0.00	
			t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Pavoff	Amount:		\$50.82	

Ratification Date: Resolution #:

Owner or Taxpayer	Property Description	<u>Item Description</u>	Unit Rate	Quantity	Charge Amts	Property ID
	SUNNYSIDE ADDITION TO THE CITY	Street Sweeping - Residential Stree	0.42	43.00	\$18.06	10-28-23-21-0062
371 Wellesley Ave	OF ST. PAUL, MINN. EX W 40 FT LOT	Alley Sweeping	0.13	43.00	\$5.59	
St Paul MN 55105-2418	11 AND ALL OF LOT 10 BLK 3	Citywide Street Lighting	0.66	43.00	\$28.38	
*1371 WELLESLEY AVE				_	\$52.03	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019		Total Asse	semant:		\$52.03	
		This Paym			\$0.00	
			ar Principal:		\$0.00	
			ar Interest:		\$0.00	
		Payoff An			\$52.03	
Annette M Barton 1375 Wellesley Ave St Paul MN 55115-2418 *1375 WELLESLEY AVE *Ward: 3 *Pending as of: 8/21/2019	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. W 40 FT OF LOT 11 BLK 3		ent: ar Principal:	40.00 40.00 40.00 =	\$16.80 \$5.20 \$26.40 \$48.40 \$48.40 \$0.00 \$0.00	10-28-23-21-0063
		Payoff An	ear Interest:		\$0.00 \$48.40	
				 -		
Brett Mernin	SUNNYSIDE ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 12 BLK 3	Street Sweeping - Residential Stree	0.42 0.13	42.00 42.00	\$17.64 \$5.46	10-28-23-21-0064
Madelyne Mernin		Alley Sweeping Citywide Street Lighting	0.13	42.00	\$5.46 \$27.72	
377 Wellesley Ave		City wide Succi Lighting	0.00	42.00	-	
St Paul MN 55105-6974		*** 0 17			\$50.82	
*1377 WELLESLEY AVE *Ward: 3		*** Owner and Taxpayer ***				
Pending as of: 8/21/2019		Total Asse	ssment:		\$50.82	
-		This Paym	ent:		\$0.00	
		Current Ye	ar Principal:		\$0.00	
		Current Ye	ar Interest:		\$0.00	
		Payoff An				

Ratification Date:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret Jesson	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-21-0098
1382 Wellesley Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0000
St Paul MN 55105-2417	COUNTY, MINNESOTA LOT 1 BLK 8	Citywide Street Lighting	0.66	40.00	\$26.40	
*1382 WELLESLEY AVE				=	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
		Total Ass			\$48.40	
		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Matthew Smith	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential Stre		40.00	\$16.80	10-28-23-21-0066
Tatiana D Smith	COUNTY, MINNESOTA LOT 9 BLK 5	Alley Sweeping	0.13	40.00	\$5.20 \$26.40	
1385 Wellesley Ave		Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2418		*** 0 1 T ***			\$48.40	
*1385 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3 *Pending as of: 8/21/2019		Total Ass	essment:		\$48.40	
Feliding as 01. 8/21/2019		This Pay			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	
Kristine K Fowler	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential Stre	0.42	40.00	\$16.80	10-28-23-21-0096
1388 Wellesley Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 3 BLK 8	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2417	COOKII, MINKESOIA EOI 3 BER 6	Citywide Street Lighting	0.66	40.00	\$26.40	
*1388 WELLESLEY AVE				_	\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				-		
		Total Ass			\$48.40	
		This Paye			\$0.00	
			ear Principal:		\$0.00	
			ear Interest:		\$0.00	
		Payoff A	mount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	ree 0.42	82.00	\$34.44	10-28-23-21-0194
1402 Wellesley Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2419	COUNTY, MINNESOTA LOT 1 BLK 7	Citywide Street Lighting	0.66	82.00	\$54.12	
*1402 WELLESLEY AVE				_	\$93.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019					402.75	
			Assessment:		\$93.76	
			ayment:		\$0.00	
			t Year Principal:		\$0.00	
			t Year Interest:		\$0.00	
		Payofi	Amount:		\$93.76	
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S				——————————————————————————————————————
Brady D Cordes	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-21-0192
1407 Wellesley Ave	COUNTY, MINNESOTA LOT 29 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2420		,		_	\$48.40	
*1407 WELLESLEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3						
*Pending as of: 8/21/2019		Total A	Assessment:	_	\$48.40	
		This Pa	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S				
Glacier Properties 1 Llc	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10-28-23-21-0189
12153 Marquess Ln N	COUNTY, MINNESOTA LOT 26 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
Lake Elmo MN 55042-4432		City wide Succe Eighting	0.00	=		
*1417 WELLESLEY AVE *Ward: 3		*** Owner and Taxpayer ***			\$48.40	
*Pending as of: 8/21/2019				_		
		Total A	Assessment:		\$48.40	
		This P	ayment:		\$0.00	
		Curren	t Year Principal:		\$0.00	
		Curren	t Year Interest:		\$0.00	
		Payoff	Amount:		\$48.40	

Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Anne R Ramey	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S	Stree 0.42	40.00	\$16.80	10-28-23-21-0198
Raymond J Ramey	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 5 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
1418 Wellesley Ave	COUNTY, WINNESOTA LOT 3 BLK /	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55105-2419					\$48.40	
*1418 WELLESLEY AVE		*** Owner and Taxpayer ***				
*Ward: 3				_		
*Pending as of: 8/21/2019		Total	Assessment:		\$48.40	
		This I	Payment:		\$0.00	
			nt Year Principal:		\$0.00	
		Curre	nt Year Interest:		\$0.00	
		Payot	ff Amount:		\$48.40	
John M Nance Iv	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential S		40.00	\$16.80	10-28-23-21-0200
1424 Wellesley Ave	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 7 BLK 7	Alley Sweeping	0.13	40.00	\$5.20	
St Paul MN 55105-2419		Citywide Street Lighting	0.66	40.00	\$26.40	
*1424 WELLESLEY AVE					\$48.40	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019						
			Assessment:		\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payot	ff Amount:		\$48.40	
		Ctured Courseins Decidential		40.00		
John C Pihaly	JEFFERSON PARK ADDITION TO THE CITY OF SAINT PAUL, RAMSEY	Street Sweeping - Residential S Alley Sweeping	0.42 0.13	40.00	\$16.80 \$5.20	10-28-23-21-0187
1887 Saunders Ave	COUNTY, MINNESOTA LOT 24 BLK 6	Citywide Street Lighting	0.66	40.00	\$26.40	
St Paul MN 55116-2034		City wide Street Eighting	0.00	10.00		
*1425 WELLESLEY AVE		*** Owner and Taxpayer ***			\$48.40	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 8/21/2019		Total	Assessment:	-	\$48.40	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payot	ff Amount:		\$48.40	

Ratification Date: Resolution #: Owner or Taxpayer **Property Description Item Description Unit Rate** Quantity **Charge Amts Property ID** Street Sweeping - Residential Stree 0.42 40.00 \$16.80 JEFFERSON PARK ADDITION TO THE Donna L Garceau 10-28-23-21-0186 CITY OF SAINT PAUL, RAMSEY 0.13 40.00 Alley Sweeping \$5.20 1429 Wellesley Ave COUNTY, MINNESOTA LOT 23 BLK 6 Citywide Street Lighting 40.00 0.66 \$26.40 St Paul MN 55105-2420 \$48.40 *1429 WELLESLEY AVE *** Owner and Taxpayer *** *Ward: 3 *Pending as of: 8/21/2019 Total Assessment: \$48.40 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Pavoff Amount:** \$48.40 40.00 Street Sweeping - Residential Stree 0.42 \$16.80 Christopher A Vega JEFFERSON PARK ADDITION TO THE 10-28-23-21-0223 CITY OF SAINT PAUL, RAMSEY Alley Sweeping 0.13 40.00 \$5.20 Jane E Vega COUNTY, MINNESOTA LOT 20 BLK 6 Citywide Street Lighting 0.66 40.00 \$26.40 1443 Wellesley Ave St Paul MN 55105-2420 \$48.40 *** Owner and Taxpayer *** *1443 WELLESLEY AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 \$0.00 Current Year Principal: Current Year Interest: \$0.00 **Payoff Amount:** \$48.40 Michael K Westerlund JEFFERSON PARK ADDITION TO THE Street Sweeping - Residential Stree 0.42 40.00 \$16.80 10-28-23-21-0182 CITY OF SAINT PAUL, RAMSEY 0.13 40.00 Alley Sweeping \$5.20 Heather P Westerlund COUNTY, MINNESOTA LOT 18 BLK 6 Citywide Street Lighting 0.66 40.00 \$26.40 1449 Wellesley Ave St Paul MN 55105-2420 \$48.40 *** Owner and Taxpayer *** *1449 WELLESLEY AVE *Ward: 3 Total Assessment: \$48.40 *Pending as of: 8/21/2019 This Payment: \$0.00 Current Year Principal: \$0.00 Current Year Interest: \$0.00 **Payoff Amount:** \$48.40

Ratification Date:

Resolution #:

Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
— — — — — — — — — — — — — — — — — — —	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential	Streε 0.42	40.00	\$16.80	10-28-23-21-0181
6913 Antrim Rd	CITY OF SAINT PAUL, RAMSEY COUNTY, MINNESOTA LOT 17 BLK 6	Alley Sweeping	0.13	40.00	\$5.20	
Edina MN 55439-1707	COUNTY, MINNESOTA LOT 17 BLK 0	Citywide Street Lighting	0.66	40.00	\$26.40	
*1455 WELLESLEY AVE				_	\$48.40	
Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 8/21/2019				=		
			Assessment:		\$48.40	
			Payment:		\$0.00	
			nt Year Principal: nt Year Interest:		\$0.00 \$0.00	
			ff Amount:		\$0.00 \$48.40	
	JEFFERSON PARK ADDITION TO THE	Street Sweeping - Residential		82.00		10-28-23-21-0180
891 Lakeview Ave	CITY OF SAINT PAUL, RAMSEY	Alley Sweeping	0.13	40.00	\$5.20	10 20 20 21 0100
St Paul MN 55117-4024	COUNTY, MINNESOTA LOT 16 BLK 6	Citywide Street Lighting	0.66	82.00	\$54.12	
*1459 WELLESLEY AVE				=	\$93.76	
*Ward: 3 *Pending as of: 8/21/2019		*** Owner and Taxpayer ***				
reliding as of. 6/21/2019		Total	Assessment:	=	\$93.76	
			Payment:		\$0.00	
			nt Year Principal:		\$0.00	
			nt Year Interest:		\$0.00	
		Payo	ff Amount:		\$93.76	
Report Totals:						
1,077 Parcel(s)			l Assessment:		\$76,938.42	
2 Cert. Exempt Parcel(s)			Payment:		\$0.00	
		Curi	ent Year Principal		\$0.00	

Current Year Interest:

Payoff Amount:

\$0.00

\$76,938.42